SPECIAL ORDINANCE NO. S-

AN ORDINANCE approving CONSTRUCTION CONTRACT – COMMUNITY CROSSINGS GRANT 2025 - WORK ORDER #0721C – (\$6,680,662.37) – between MALOTT CONTRACTING, INC. and the City of Fort Wayne, Indiana, by and through its Board of Public Works.

NOW, THEREFORE, BE IT ORDAINED BY THE COMMON COUNCIL OF THE CITY OF FORT WAYNE, INDIANA:

SECTION 1. That the CONSTRUCTION CONTRACT - COMMUNITY CROSSINGS GRANT 2025 - WORK ORDER #0721C - between MALOTT CONTRACTING, INC. and the City of Fort Wayne, Indiana, by and through its Board of Public Works, is hereby ratified, and affirmed and approved in all respects, respectfully for:

All labor, insurance, material, equipment, tools, power, transportation, miscellaneous equipment, etc., necessary to IMPROVE THE WESTCHESTER NEIGHBORHOOD AND S.W. WAYNEDALE NEIGHBORHOOD, BY THE REMOVAL OF THE EXISTING CONCRETE STREETS AND REPLACING WITH NEW CONCRETE STREETS. THE REMOVAL AND REPLACEMENT OF SELECT EXISTING SIDEWALK AND DRIVE APPROACHES. REMOVING EXISTING CURB RAMPS AND REPLACING WITH NEW ADA COMPLIANT CURB RAMPS. THERE WILL BE SUBSURFACE DRAINAGE INSTALLED AND THE REPLACEMENT AND ADJUSTMENT OF EXISTING CASTINGS WITH THE RESTORATION OF DISTURBED AREAS;

involving a total cost of SIX MILLION SIX HUNDRED EIGHTY THOUSAND SIX HUNDRED SIXTY-TWO and 37/100 DOLLARS - (\$6,680,662.37). A copy of said Contract is on file with the Office of the City Clerk and made available for public inspection, according to law.

1	SECTION 2. That this Ordinance shall be in full force and effect from
2	and after its passage and any and all necessary approval by the Mayor.
3	
4	
5	Council Member
6	APPROVED AS TO FORM AND LEGALITY
7	
8	Malak Heiny, City Attorney
9	
10	
11	
12	
13	
14	
15	
16	
17	
18	
19	
20	
21	
22	

		!	1		TOTAL:	\$5,761,000.60	TOTAL:	\$6,660,662.37	TOTAL:	\$6,733,409.35	TOTAL:	\$8,293,759 92
·4	totally		1			,	% over % under		% over % under		5 % over 6 % under	22 67 % 0 00%
roj: Xd		Continually Crossings Grant 2075		RES. NO. / W.C			B/DOER: [Malett Contracting	BIDDER:	Hipskind Concrete	BIDDER: [Niestone Contract
Date: UNE VO.	ITEM CODE	ONONO TEM	PLAN QTY	UNIT Est	UNIT COST Est (3)	AWOUNT Est (5)	Utat Cost	AVOUNT (\$)	UNIT COST	AVOUNT (8)	UNIT COST	AMOURT (\$)
	105- 06845	CONSTRUCTION ENGINEERING	1	LS	\$2,000,00	\$2,000.50	\$2,563.50	\$2,553.50	\$12,000.00			(S) 82.777.78
_	110- 01001 201-	MOBILIZATION AND DEMOBILIZATION	<u>'</u>	LS	\$4,000,00	\$4,000 00	1 1					
	02255 201-	TREE 18 IN , REMOVE (INCLUDES STUMP GRINDING)	1	EACH	\$1,600.00	\$1,600.00					1	
	201-	TREE 30 IN , REMOVE (INCLUDES STUVP GRINDING) TREE 48 IN , REMOVE (INCLUDES STUVP GRINDING)	5 0	EACH EACH	\$2,400.00	\$12,000.00 \$0.00			\$2,500,00		1 [
	201- 02270	TREE 60 IN , REMOVE	0	EACH EACH	\$2,600 G0 \$2,800 G0	\$0.00 \$0.00		1				
	202- 02240	PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	2150	SYS	\$1450	\$31,510.00		1	355000			
_	202- 93615 203-	CONCRETE REMOVE	520	SYS	\$1650	\$8,560.00						
_	02000 205-	EXCAVATION, COMMON (UNDISTRUTED)	5	cys	\$3250	\$150.00						
2 !	214	TEMPORARY INLET PROTECTION GEOGRID, TYPE 1B, BX.1200 OR APPROVED EQUAL (INCLUDES EXCAVATIOLI) (UNDISTRABILED)	1 260	EACH SYS	\$70 CO \$8 CO				}			*
2	30f- FWR0	EXCAVATION) (UNDISTRIBUTED) COMPATED AGGREGATE NO. 53	7343	TON	\$8.00 \$28.50	\$2,060.00 \$20,927.55						
	304 07490	HWA PATCH NG, TYPE B (UNDISTRIBUTED)	5	TON	\$300.00	\$1,500.00		1	i .	1		i
4	502-	PCCP, 7"EL WITH MONOLITIES CURB	2180	sys	\$48.00	\$104,649.00	\$47.00	\$162,460.00	\$-48.00	0 \$104,640.00	0 \$58.75	5 \$128,075,00
5	11564 604-	PCCP, 7 IN (PAVENENT)	0	sys	\$48 00	\$0.00			1			1
5 7	FWR0 604-	DETECTABLE WARNING SURFACES SIDEWALK, CONCRETE (4 IN.) (INCLUDE YARD WALKS) HINDSTREAMED	2 240	EACH SYS	\$350.00 \$57.00	\$700.00 \$13.650.00) i	i I	1 ' '			
7 8	604- 66066	(UNDISTRIBUTED) CURB RAMP, CONCRETE	240 8	SYS SYS	\$57.00 \$125.00	\$13,650,00 \$1,002,00						
<u></u>	605- 05120	CURB. CONCRETE (TYPE #A. P:N CURB ON AFTER STREET POURED)	o	UFT	\$1600	\$0.00		1				
o	610- 07713	PCCP FPR APPROACHES, BIN. (COMMERCIAL APPROACHES) PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES)	0	மா	\$70.00	50 00			1			
<u> </u>	08446 611-	(UNDISTRIBUTED) MAYLBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL	260	sys	\$55.00	\$18,200 50						
<u>}</u>	621-	MA'LBOXES AND TYPESHIF IN CONFLICT) HYDROSEED, WITH HYDROSTICK TACKFIER OR EQUIVALENT	0 1100	EACH	\$150,00	\$0.00	1		1		1	
3 4	FWR0 621- FWR1	POLYMER FOR EROSION CONTROL AND STRAW MULCH TOPSOIL	1100	5YS TON	\$5 00 \$55 00	\$5,500.00 \$3,300.00						
	715- F\VR2	P.PE - 12" CMP	30	LFT	\$300.00	\$3,300.00	1 1		1			
}	715- FWR3	P.PE, TYPE 4, CIRCULAR, 6 IN WAGGREGATE FOR UNDERDRAIN	1420	LFT	\$12.00	\$17,040 60	1					
	715-	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(U::DISTR:BUTED)	2	EACH	\$200.00	\$400.00	\$203.50	\$407,60	\$150.60	0 \$300.00	\$216.50	
<u>}</u>	FVR1 720-	CASTING, ADJUST TO GRADE (UND)STRIBUTED) CASTING, 24' SOUD SANTARY MANHOLE, FURNISH AND ADJUST TO	0	EACH	\$500.00	\$0.00	1 1					
<u>}</u>	FWR3 720- FWR3	GRADE (UNDISTRIBUTED)	0	EACH FACH	\$1,200.00	\$0.00 \$0.00			1			0 50.00
	501- FWR0	CASTING - 2 X 2 CURB & GUTTER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC	1	EACH LS	\$500.00 \$3,500.00	\$0.00 \$3,500.00						
2	608- 10033	LINE MULTI-COMPONENT, SOLID, WHITE, 4 IN		uFT	\$0.60	\$000		\$000				
_	808- 10034 608-	UNE, MULTI-COMPONENT, SOLID, YELLOW, 41N	0	ர	80 60	\$0.00		1	1			
_	10036	LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 INL	0	LFT	\$0.55	\$0.00						
3	10037 808-	UNE MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24	0) JET	\$0.75	\$0.00						
,	10051 608- 10052	PAVEMENT MESSAGE MARKING, MULTI-COVPONENT, ONLY	0	LFT EACH	\$15.00 \$300.00	\$0.00 \$0.00	1					
	808- 10053	PAVENEHT MESSAGE MARKING, MULTI-COMPONENT, RIXIR	0	EACH	\$450.00	\$0.00	1 1		1			1
9		TRANSVERSE MARKING, MULTI-COVPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COVPONENT LANE	0	ᄪ	\$0.70	\$9.00	\$690	\$0.00				
)	10077	INDICATION AR ROW	0	EACH	\$250 00	\$0.00			1			
1	06845 110-	CONSTRUCTION ENGINEERING	1-1-	LS	\$200000	\$2,000,00						
3	201-	MOSILIZATION AND DEMOBLIZATION TREE 18 IN , REMOVE (INCLUDES STUVP GRINONG)	1	LS EACH	\$4,000.00	\$4,000.00			1			
4	201- 02260	TREE 30 IN REMOVE (INCLUDES STUDY GRINDING)	0	EACH	\$2,400.00	\$1,80000	1 1		1			
5	201-	TREE 48 IN , REMOVE (INCLUDES STUMP GRINDING)	0	EACH	\$2,600,00	50 00						
6	02270 202-	TREE 60 IN , REMOVE PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE	0	EACH	\$2,600.00	\$0.00			1			
7	202-	PAVEMENT)	5120	SYS	\$1450	\$74,240.00 \$15,840.00						
9	203-	CONCRETE REMOVE EXCAVATION, COMMON (UNDISTIBUTED)	960 10	SYS	\$16.50 \$32.00	\$15,840.00 \$320.00			1			
9 0	205-	EXCAVATION, COMMON (UNDISTIBUTED) TEMPORARY SILET PROTECTION GEOGRID, TYPE 1B, BX-1200 OR APPROVED EQUAL (NICLUDES	5 5	EACH	\$3200 57000	\$320.00 \$420.00						
1	11796	GEOGRID, TYPE 1B, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	2060	SYS	\$800	\$16,480 00	1		1			1
2	304	COMPATED AGGREGATE NO. 53	1418.1	TON	\$28 50	\$40,415.65						
3	07490 502-	HWA PATCH NG, TYPE B (UNDISTRIBUTED)	5	NOT	\$300.00	\$1,500.00						1
<u>4</u>	502-	PCCP, 7" PL VITH MONOLITIES CURB PCCP, 7 PL (PAVENEIT)	5120 0	sys sys	\$48 00 \$48 00	\$245,760.00 \$0.00						
55 56	604 FAVRO	DETECTABLE WARNING SURFACES	6	SYS EACH	\$49.00 \$350.00	\$0.00 \$2,100.00			1		T	
~ 57	604- 06070	SOEWALK CONCRETE (4 IR) (INCLUDE YARD WALKS) [UNDISTRIBUTED]	580	SYS	\$57.00	\$33,060.00	1	I	1			1
58	605-	CURB RAMP, CONCRETE	26	SYS	\$125.00	\$3,250.00	\$110.00	\$2,560.00	\$150.00	\$3,500,00	0 \$158.25	5 \$4,374.50
59	06120 610-	CURB, CONCRETE (TYPE NA. P.Y. CURB ON AFTER STREET POURED)	٥	ப	\$1600							
60	07713 610-	PCCP FPR APPROACHES, 8 IN. (COMMERCIAL APPROACHES) PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES) INCOMERGE (INCOMERCIAL APPROACHES)	0	LFT	\$70 to	\$0.00						
61	611-	(INDESTRIBUTED) MALBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MALBOXES AND TYPES) (IF IN CONFLICT)	344	SYS EACH	\$65.00 \$150.00	\$22,360.00 \$0.00						
		HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT							+	+	+	

	621-											
T	715-	TOPSO:L	20	TON	\$55.00	\$1,100.00	\$51.00	\$1,020.00	\$45.00	\$900 00	\$45.00	\$900 00
1	715-	PiPE - 1Z CMP	0	LFY	\$300.00	\$9.00	\$78.71	\$0.00	\$100.00	\$0.00	\$112.50	\$0.00
	FWR3 715-	P.P.E. TYPE 4, C.R.CULAR, 6.IN VIIAGGREGATE FOR UNDERDRA'N ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE	3500	LFT	\$12.00	\$42,000.00	\$9.63	\$33,705.00	\$9.00	\$31,500 00	\$1600	\$56,000 00
	720-	BOX)(UNDISTRIBUTED)	6	EACH	\$200 00	\$1,200,00	\$203.50	\$1,221.00	\$150 00	\$900.00	\$216 50	\$1,299.00
68		CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO	4	EACH	\$500.00	\$1,000.00	\$203.50 \$660.00	\$407.00	\$750.00 \$850.00	\$1,500.00	\$211.50	\$423.00
	720-	GRADE (UNDISTRIBUTED) CASTING - 2 X 2 CURB & GUTTER CASTING & ADJUST TO GRADE	2	EACH EACH	\$1,200.00 \$500.00	\$4,600.00 \$1,000.00	\$858.00	\$2,640.00 \$1,746.00	\$650.00	\$3,400.00 \$1,700.00	\$669 50 \$747.50	\$2,678.00 \$1,495.00
	801·	MAINTENANCE OF TRAFFIG	1	LS	\$3,500.00	\$3,500.00	\$7,000.00	\$7,000,00	\$12,000,00	\$12,000.00	\$6,260.07	\$6,260.07
72	508-	LINE, MULTI-COMPONENT, SOLID, WHITE, 41M.	0	LET	\$0.60	\$0.00	\$1,000,00	\$0.00	50 00	\$0.00	\$1.00	\$0.00
73	508-	LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN	0	LFT	\$0.60	\$0.00	\$1.40	50 00	\$7.00	\$9.00	\$1.00	50.00
	808- 10036	UNE MULTI-COMPONENT, BROKEN, YELLOW, 4 PI	0	ĿΠ	\$0.56	\$0.00	\$1.40	\$0.00	\$0.00	\$0.00	\$1.00	\$0.00
75	508- 10037	LINE, MULTI-COMPONENT, SOLIO, WHITE, 8 PL	0	UFT	\$0.75	\$9.00	\$2 50	\$0,00	50 00	\$0 00	\$2.50	\$0.00
76	B08- 10051	TRANSVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 24 IN	0	দ	\$15.00	\$0.00	\$24.00	\$0.00	\$0.00	50 (c)	\$20.00	\$0.00
77	908- 10052	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	0	EACH	\$300.00	\$0.00	\$350.00	\$0.00	\$0.00	\$0.00	\$250.00	\$0.00
76	608- 10053	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R	0	EACH	\$450 00	\$0.00	\$2,000.00	\$0.00	\$0.00	\$0.00	\$1,750.00	\$0,00
79	908- 10056	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK UNE, WHITE, 61N.	0	UFT	\$0.70	\$0.00	\$6.90	\$0.00	\$0.00	\$0.00	\$600	\$0.00
60	608- 10077	PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW	0	EACH	\$250.00	\$0.00	\$350.00	\$0.00	\$0.00	\$0.00	\$250.00	\$0.00
	105- 05845 110-	CONSTRUCTION ENGINEERING	1	LS	\$2,000.00	\$2,000.00	\$2,548.00	\$2,548.00	\$12,000.00	\$12,000.00	\$2,777.78	\$2,777.78
82	01001 201-	MOBILIZATION AND DEMOBLIZATION	1	LS	\$4,000.00	\$4,000.00	\$5,693.50	\$5,693.50	\$12,000.00	\$12,000.00	\$23,038 17	\$23,038,17
83	02255 201-	TREE 1819, REMOVE (INCLUDES STUMP GRINDING)	2	EACH	\$1,600.00	\$3,200,00	\$1,358.50	\$2,717.00	\$1,500.00	\$3,000.00	\$1,400.00	\$2,500 00
84	02260 201-	TREE 30 IN , REMOVE (INCLUDES STUMP GRINDSNG)	0	EACH	\$2,400.00	\$0.00	\$1,800.00	50.00	\$2,500.00	50 ∞	\$1,950.00	\$0.00
86	02265	TREE 48 IN , REMOVE (INCLUDES STUMP GRINDING)	<u> </u>	EACH	\$2,600.00	\$0.00	\$2,200,00	\$0.00	\$3,500.00	\$0.00	\$2,500.00	\$0.00
86	02270	TREE 60 IN , REMOVE PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE	0	EACH	\$2,800,00	\$0.00	\$5,000,00	\$0.00	\$5,000.00	\$0.00	. \$5,500.00	\$0.00
87		PAVENENT)	1300	SYS	\$1450	\$18,650,00	\$12.71	\$16,523.00	\$11,00	\$14,300.00	\$16.25	\$21,125.00
63	93615 203-	CONCRETE REMOVE	270	SYS	\$16.50	\$4,455.00	\$1573	\$4,247.10	\$15 00	\$4,050,00	\$15.50	\$4,185,00
89	02000 205-	EXCAVATION, COMMON (UNDISTIBUTED)	5	CYS	\$3200	\$160.00	\$38 67	5193.35	\$30,00	\$150.00	\$61,00	\$305.00
90	06933 214-	TEMPORARY INLET PROTECTION GEOGRID, TYPE 1B, BX-1200 OR APPROVED EQUAL (INCLUDES	. 0	EACH	\$70.00	\$0.00	\$102.00	50.00	\$25 00	5000	\$90.00	\$0.00
91	301-	EXCAVATION) (UNDISTR-BUTED)	530	SYS	\$8.00	\$4,249.00	\$8.36	\$4,430 60	\$0.10	\$53.00	\$7.25	\$3,842.50
92	FV/R0 304-	COMPATED AGGREGATE NO. 53	504.1	TON	\$28.50	\$14,366.65	\$33.44		\$30.00		\$32.00	\$16,131.20
93	502-	HMA PATCHING, TYPE B (UNDISTRIBUTED)	5	TON	\$300.00	\$1,500.00	\$302.50		\$200.00		\$350.00	\$1,750.00
94	502-	PCCP, 7'N WITH MONOLITHIC CURB	1300 D	5YS SYS	\$48.00 \$48.00	\$62,400.00	\$48.00 \$50.00	\$62,400.00	\$48.00	\$52,400.00	\$59.75	\$76,375.00
96 96	604	PCCP, 7 IN. (PAVEMENT) DETECTABLE WARNING SURFACES	4	EACH	\$350.00	\$1,490.00	\$250.00	\$1,000 00	\$0.00 \$450.00	\$1,800.00	\$57.50 \$338.00	\$0.00 \$1,352.00
97	403	SPOEWALK, CONCRETE (4 IN) (INCLUDE YARD WALKS) [UNDISTRIBUTED]	130	SYS	\$57.00	\$7,410.00	\$250 CO \$58 CO	\$7,540.00	\$57.00	\$7,410.00	\$79.75	\$10,367.50
98	604	CURB RAMP, CONCRETE	22	SYS	\$125.00	\$2,750.00	\$110.00	\$2,420.00	\$150.00	\$3,300.00	\$169.25	\$3,701.50
99	605- 06120	CURB, CONCRETE (TYPE BA, P.N. CURB ON AFTER STREET POURED)	0	UFT	\$1600	\$0.00	\$12.50	\$0.00	\$0.00	\$0.00	\$15.75	\$200
100	610-	PCCP FPR APPROACHES, BIN (COMMERCIAL APPROACHES)	0	UFT	\$70.00	50 00	\$50.00		\$90.00	i	\$95.75	\$0.00
101	610- 08446	PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	108	SYS	\$65.00	\$7,020 00	\$68.00	\$7,344.00	\$67,00	\$7,236.00	\$90.50	\$9,774 00
102	08233	MA'LBOX ASSEMBLY, RESET S'MGLE AND DOUBLE (INCLUDES ALL MA'LBOXES AND TYPES) (IF IN CONFLICT)	0	EACH	\$150.00	\$0.00	\$250.00	\$0.00	\$250.00	\$200	\$254.50	\$0.00
103	FYRO	HYDROSEED, WITH HYDROSTICK TACK/FIER OR EQUIVALENT POLYMER FOR EROS:ON CONTROL AND STRAW MAJCH	620	SYS	\$5.00	\$3,100 00	\$2.53	\$1,568.60	S3 25	\$2,015.00	\$2.25	\$1,395.00
104		TOPSO:L	30	TON	\$55,00	\$1,650 00	\$51.00	\$1,530 00	\$45.00	\$1,350.00	\$45.00	\$1,350.00
105		P.PE - 12 C.V.P	30	LFT	\$300.00	\$9,000.00	\$77.00	\$2,310.00	\$100.00	\$3,000.00	\$112.50	\$3,375 00
106	715- FV/R3	P.PE, TYPE 4, C'RCULAR, 6 IN WAGGREGATE FOR UNDERDRAIN ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE	830	ᄕ	\$1200	\$9,960.00	\$10.18	\$8,449.40	\$9.00	\$7,470.00	\$1600	\$13,280.00
107		BOX(U::DSTRIBUTED)	22	EACH	\$200.00	\$400 00	\$203.50	\$407.00	\$150 00	\$300.00	\$216 50	\$433.00
108	FWR1	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24' SOLID SANTARY MARHOLE, FURNISH AND ADJUST TO	0	EACH	\$500.00	\$0.00	\$240.00	\$0.00	\$750.00	\$0.00	\$211.50	\$0.00
109	FWR3 720-	GRADE (UNDISTRIBUTED)	0	EACH	\$1,203.03	\$0.00	\$760 00	\$0.00	\$850 00	\$9.00	\$669 50	\$0.00
110	FWR3 801-	CASTING - 2 X Z CURB & GUTTER CASTING & ADJUST TO GRADE	2	EACH	\$500.00	\$1,000.00	\$558.00	\$1,716.00	\$850.00	\$1,700.00	\$747.50	\$1,495.00
111	FWR0 808	MAINTENANCE OF TRAFFIC	111	LS	\$3,500.00	\$3,500,00	\$5,000.00	\$5,000.00	\$12,000.60	\$12,000.00	\$6,260.07	\$6,280.07
112	10033 808-	LINE, MULTI-COMPONENT, SOUR, WHITE, 4 IN	a	LFT.	\$0.60	\$0.00	\$1.40	\$0.00	50.00		\$1.00	\$0.00
113	938	UNE, MIRTI-COMPONENT, SOUD, YELLOW, 4 IN.	0	<u>UFT</u>	\$9.60	\$0.00	\$1.40	\$0.00	\$0.00		\$1.00	\$0.00
114	10036 808-	UNE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN.	0	LFT	50.55	\$0.00			\$0.00		\$1.00	\$0,00
115	10037 808-	LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24	a	LFT	\$0.75	\$0.00	\$250	\$0.00	50:00	1	\$200	\$0.00
116	10051 808- 10062	IN . PAVENEIT MESSAGE MARKING, MULTI-COMPONENT, O'SLY	0	LFT EACH	\$15.00 \$300.00	\$0.00 \$0.00	\$24 00 \$350 00	\$0.00 \$0.00	\$0.00	(\$20.00	\$0.00
118	808-	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, DILLT PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R.X.R.	o o	EACH	\$450.00	\$0.00	\$2,000.00	\$0.00	\$0.00 \$0.00		\$250.00 \$1,750.00	\$0.00
119	10053 BJ8- 10056	PAYENT MESSAGE MARKINS, MULTI-COMPONENT, R.X.R. TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 SI.	0	LFT	\$450.00	\$0.00	\$2,00000	\$0.00	\$0.00		\$1,75000	\$0.00
120	608-	PAVENTI VESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW	a	EACH	\$250.00	\$9.00	\$350 00	\$0,00	\$0.00		\$250.00	\$0.00
121	105- 06845	CONSTRUCTION ENGINEERING	1	LS	\$2,000.00	\$200000	\$2,702.00	52,702.00	\$12,000.00		\$2,777.78	\$2,777.78
122	11B- 01001	MOBILIZATION AND DEMOBUZATION	1	LS	\$4,000.00	\$4,000.00	\$6,029.00	\$6,029.00	\$12,000.00		\$23,038,17	\$23,038,17
123	201- 02255	TREE 18 IN , REMOVE (INCLUDES STUMP GRINDING)	12	EACH	\$1,500.00	\$19,200.00	\$1,358.50	\$16,302.00	\$1,500.00		\$1,400.00	\$16,800.00
124	221- 02260	TREE 30 IN , REMOVE (INCLUDES STUMP GRINDING)	o	EACH	\$2,400.00	\$0.00	\$1,800.00	\$9.00	\$2,500.00		\$1,950.00	\$0.00
	201- 02265	TREE 48 IN , REMOVE (INCLUDES STUMP GRINDING)	o	EACH	\$2,500.00	\$0.00	\$2,200.00	\$0.00	\$3,500.00	1	\$2,500.00	\$0.00
126	201- 02270	TREE 50 IN., REMOVE	0	EACH	\$2,500.00	\$0.60	\$5,000.00	\$000	\$5,000,00	\$900	\$5,500,00	\$0.00
127		PAVENEIT REMOVAL (NICLUDES INTEGRAL CURB and COMPOSITE PAVENEIT)	3770	sys	\$14.50	\$54,665 00	\$1265	\$47,690.50	\$15,00	\$41,470 00	\$1625	\$61,262.50
128		CONCRETE REMOVE	1000	SYS	\$1650	\$16,500.00	\$14.65	\$14,850.00	\$15.00	\$15,000 00	\$15.50	\$15,500.00
129	203- 02000 205	EXCAVATION, COMMON (UND:STIBUTED)	10	CYS	\$32.00	\$320 00	\$38.61	\$385.10	\$30.00	\$300 00	\$61.00	\$610.00
130	205- 06933 214	TEMPORARY INLET PROTECTION GEOGRID, TYPE 18, 8X-1200 OR APPROVED EQUAL (ANCLUDES	a	EACH	\$70.00	\$0.00	\$102.00	50.00	\$25 00	\$0.00	\$90.00	\$0,00
131	214- 11796 301-	GEOGRIB, TYPE 1B, 8X-12X) OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	1500	sys	\$8.00	\$12,000.00	\$9,36	\$12,540.00	\$0.10	\$150.00	\$7.25	\$10,875.00
132		COMPATED AGGREGATE NO. 53	1023 3	TON	\$28 50	\$29,164.05	\$36.41	\$37,258.35	\$30 00	\$30,699.00	\$32.00	\$32,745.60

	304.				1							
133	07450 502-	HWA PATCH NG, TYPE B (UNDISTRIBUTED)	5	TON	\$300.00	\$1,500.00	\$302 50	\$1,512.50	\$200.00	\$1,000.00	\$350 00	\$1,750.00
134	FWR0 502-	PCCP, 7" IN WITH MONOLITHIC CURB	3770	8Y8	\$48.00	\$180,990.00	\$48.00	\$180,960.00	548 00	\$180,960,00	\$59.75	\$221,487.50
135	11564 604-	PCCP, 7 IN. (PAVEMENT)		SYS	\$49.00	50.00	\$50.00	\$0.00	\$0.00	\$0.00	\$57.50	\$0.00
136	604	DETECTABLE WARNING SURFACES S'DEWALK, CONCRETE (4 III.) (INCLUDE YARD WALKS)	6	EACH	\$350.00	\$2,100 00	\$250 00	\$1,500.00	\$450.00	\$2,700 00	\$338 00	\$2,020 00
	05070 E04-	(UNDISTRIBUTED)	590	\$YS	\$57.00	\$33,630 00	\$58.00	\$34,220.00	\$57.00	\$33,630.00	\$79.75	\$47,052.50
	06066 605- 06120	CURB RAYP, CONCRETE	30	SYS	\$125.00	\$3,750.00	\$110.00	\$3,300.00	\$150.00	\$4,500.00	\$158.25	\$5,047.50
	610- 07713	CURB, CONCRETE (TYPE I'A PAY CURB ON AFTER STREET POUREO)	0	UFT UFT	\$16.00	50 60	\$1250	\$0.00	\$0.00	50.00	\$15.75	\$0,00
	610- D3446	PCCP FPR APPROACHES, 8 IN. (COMMERCIAL APPROACHES) PCCP FOR APPROACHES, 6 IN. (RES DENTIAL DRIVES) (UND STR-BUTEO)	360		\$70.00 \$65.00	\$0,00	\$80.00	\$0.00	\$80.00	\$0.00	\$95.75	\$0.00
	611-	MAYLBOX ASSEMBLY, RESET SYNGLE AND DOUBLE (INCLUDES ALL MAYLBOXES AND TYPES) (IF IN CONFLICT)	0	SYS EACH	\$65 00 \$150 00	\$24,700.00 \$0.00	\$58.00 \$250.00	\$25,840.00 \$0.00	\$67.00 \$250.00	\$25,490.00 \$0.00	\$90.50 \$254.50	\$34,390.00
	621- FYVR0	HYDROSEED, WITH HYDROSTICK TACKFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAYS MULCH	1500	SYS	\$500	\$7,560.00	52 53	\$3,795.00	\$3.25	\$4,875.00	\$2.25	\$0.00 \$3.375.00
	621- FV/R1	TOPSOL	40	TON	\$55.00	\$2,200.00	\$51.00	\$2,040.00	\$45 to	\$1,800.00	\$45.00	\$1,800.00
	715- FV/R2	PIPE - 12' CMP	0	ᄪ	\$300.00	\$0.00	\$50.00	\$0.00	\$100.00	\$0.00	\$112.50	\$0.00
146	715- FV/R3	PIPE, TYPE 4, CIRCULAR, 6 01 WIAGGREGATE FOR UNDERDRAIN	2400	LFT	\$12.00	\$28,800.00	59 90	\$23,760.00	\$900	\$21,600.00	\$1600	\$38,400 CO
147	94530	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOXYUNDISTRIBUTED)	2	EACH	\$200.00	\$400.00	\$203 50	\$407.00	\$150.00	\$300.00	\$216.50	\$433.50
148	720- FWR1	CASTING, ADJUST TO GRADE (UND:STRIBUTED)	2	EACH	\$500.00	\$1,000,00	\$203.50	\$407.00	\$750 00	\$1,500.00	\$211.50	\$423,00
149		CASTING, 24" SOLID SANTARY MAINHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	0	EACH	\$1,200.00	\$0.00	\$760.00	50.00	\$650 00	\$9.00	\$669 50	50.00
150	720- FVVR3	CASTING - 2 X 2 CURB & GUTTER CASTING & ADJUST TO GRADE	2	EACH	\$500.00	\$1,000.00	\$858.00	\$1,716.00	\$850 00	\$1,700.00	\$747.50	\$1,495.00
151	801- FVYR0 808-	MAINTENANCE OF TRAFFIC	1	LS	\$3,500,00	\$3,500,00	\$6,000,00	\$6,000.00	\$12,000.00	\$12,000.60	\$6,280.07	\$6,280.07
152	10033	UNE, MULTI-COMPONENT, SOUD, WHITE, 4TN.	<u>D</u>	LFT	\$960	\$0.00	\$1,40	\$0.00	\$0.00	\$900	\$1.00	50 60
153	808- 10034 808-	UNE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN	Ð	LFT	\$0.60	\$0.00	\$1.40	\$0.00	\$0.00	5000	\$1,00	\$0.00
154	10036	LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN	0	UFT	\$ 0.55	\$0.00	\$1.40	\$0.00	\$0.00	\$0.00	\$1.00	\$0.00
155	10037	UNE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24	0	UFT	\$0.75	\$0.00	\$250	\$0.00	\$0.00	\$0.00	\$2.00	50 60
156	10051	N.	0	UFT.	\$15.00	\$0.00	\$24.00	\$0.00	\$0.00	\$9.00	\$20.00	\$0.00
157	10052	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	0	EACH	\$300.00	\$0.00	\$350.00	\$0.00	\$0.00	50 00	\$250.00	\$0.00
158	10053 508-	PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, R.X.R. TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE,	0	EACH	\$450 00	\$0.00	\$2,000 00	\$0.00	\$0.00	\$0.00	\$1,750.00	50.00
159	10056 608-	WHITE, 6 IN PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE	0	UFT	\$0.70	\$0.00	\$6.50	\$0.00	\$0.00	\$000	\$600	\$0.00
160	105-	INDICATION AR ROW	0	EACH	\$250.00	\$0.00	\$350.00	\$0.00	\$0.00	50.00	\$250.00	\$0.00
161	110-	CONSTRUCTION ENGINEERING	11	LS	\$2,000.00	\$2,600 00	\$2,625.00	\$2,625 00	\$12,000 00	\$12,000 00	\$2,777.78	\$2,777,78
162	01001 201-	MOBILIZATION AND DEMOBLIZATION	1	LS	\$4,000.00	\$4,000,00	\$6,700.00	\$6,700.00	\$12,000,00	\$12,000.00	\$23,038,17	\$23,030.17
163	02255 201-	TREE 181H, REMOVE (SYCLUDES STUMP GRINDING)	1	EACH	\$1,600.00	\$1,600.00	\$1,358,50	\$1,358.50	\$1,500.00	\$1,500.00	\$1,400.00	\$1,400.00
164	02260 201-	TREE SOLY, REMOVE (INCLUDES STUMP GRINDING)	5	EACH	\$2,400.00	\$12,000.00	\$1,430.00	\$7,150.00	\$2,500.00	\$12,500.00	\$1,950.00	\$9,750.00
165	02265 201- 02270	TREE 43 IV REMOVE (INCLUDES STUMP GRINDING) TREE 50 IN REMOVE	0	EACH	\$2,600.00	50 00	\$2,200.00	\$0.00	\$3,500 00	50 00	\$2,600,00	\$0.00
167	202-	PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE	0	EACH	\$2,800.00	\$0.00	\$5,000.00	\$0.00	\$5,000.00	\$0.00	\$5,500.00	\$0.00
168	02240 202- 93615	PAVEMENTI CONCRETE REMOVE	4240 850	SYS	\$1450 \$1650	\$61,450.00	\$12.71	\$53,890.40	\$11.00	\$46,640.00	\$1625	\$68,900.00
169	203-	EXCAVATION, COMMON (UNDISTIBUTED)	5	SYS CYS	\$3200	\$14.025.00 \$160.00	\$17.16 \$38.61	\$14,586.00 \$193.65	\$15.00 \$30.00	\$12,750 00 \$150 00	\$15.50 \$61.00	\$13,175.00
170	205- 06933	TEMPORARY INLET PROTECTION	5	EACH	\$70.00	\$350 80	\$102.00	\$510.00	\$25.00	\$12500	\$90.00	\$305.00 \$450.00
171	214- 11796	GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	1690	SYS	\$800	\$13,520.60	59 36	\$14,128.40	\$0.10	\$16900	\$7.25	\$12.252.50
172	301- FVYRO	COMPATED AGGREGATE NO. 63	1230	TON	\$28.50	\$35,056.00	\$35.09	\$43,160.70	\$30.00	\$36,900,00	\$32.00	\$39,360.00
173	304- 07490 :	HMA PATCHING, TYPE B (UNDISTRIBUTED)		TON	\$300.00	\$0.00	\$350.00	\$0.00	\$200.00	\$0.00	\$350.00	\$0.00
174		PCCP, 7" IN WITH MONOLITHIC CURB	4240	sys	\$48.00	\$203,520.00	\$48.25	\$204,580 00	\$49.00	\$203,520.00	\$58.75	\$249,100,00
175	502- 11564	PCCP, 7 IN (PAVEMENT)	0	ays	\$48.00	\$0.00	\$50.00	\$0.00	\$6.00	5000	\$57.50	\$0.00
176	FWR0	DETECTABLE WARNING SURFACES	0	EACH	\$350.00	50 00	5300.00	\$0.00	\$450.00	\$0.00	5338 00	\$0.00
		STREWALK, CONCRETE (4 IN.) (INCLUDE YARD WALKS) (UNDISTRIBUTED)	440	sys	\$57.00	\$25,080 00	\$58.00	\$25,520.00	\$57.00	\$25,030.00	\$79.75	\$35,090.00
178	604 08066 605-	CURB RAMP, CONCRETE	0	sys	\$12500	\$0.00	\$120.00	\$0.00	\$150.00	5000	\$158.25	\$0,00
179	05120 610-	CURB, CONCRETE (TYPE RA. P.N. CURB ON AFTER STREET POURED)	0	UFT	\$1600	\$0.00	\$12.50	\$0.00	\$0.00	\$0.00	\$ 15.75	\$0.00
180	07713 610-	PCCP FPR APPROACHES, BIN. (COMMERCIAL APPROACHES) PCCP FOR APPROACHES, 6 PL (RES DELITIAL DRIVES)	0	ਪ ਜ	\$70.00	\$0.00	\$80.00	\$0.00	\$80.00	\$000	\$95.75	\$0.00
181	611-	(UNDISTRIBUTED) MAILBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL	410	SYS	\$65.00	\$26,650.00	\$68.00	\$27,880.00	\$67.00	\$27,470 00	\$90.50	\$37,105.00
182	08233 621-	MA/LBOXES AND TYPESI (IF IN CONFLICT) HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT	0	EACH	\$150.00	\$0.00	\$250.00	\$0.00	\$250.00	\$0.00	\$254 50	\$0.00
	F\VR0 621-	POLYMER FOR EROSION CONTROL AND STRAW MULCH	2025	SYS	\$5,00	\$10,125 00	\$253	\$5,123.25	\$3.25	\$6,581.25	\$2.25	\$4,556.25
	F\VR1 715-	TOPSOL	60	TON	\$55.00	\$4,400.00	\$51.00	\$4,060.00	\$45.00	\$3,600,00	\$45.00	\$3,600.00
1 1	715	PSPE - 12° CMP	0	LFT	\$300.00	\$0.00	550 00	\$0.00	\$100.00	\$0.00	\$112.50	800
186	F\VR3	P.PE, TYPE 4, CIRCULAR, 6 IN. WIAGGREGATE FOR UNDERDRAIN ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE	2500	LFT	\$12.00	\$33,600.00	\$9.63	\$26,564.00	\$9 00	\$25,200.00	\$1800	\$44,600.00
187	720-	BOXIUNDISTRIBUTED)	3	EACH	\$200.00	\$600.00	\$203.50	\$610.50	\$150.00	\$450.00	\$216 50	\$649.50
188	FWR1 720-	CASTING, ADJUST TO GRADE (UNDSTRIBUTED) CASTING, 24' SOUR SANTIARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	0	EACH	\$500.00	\$0.00	\$250.00	\$0.00	\$750.00	\$0.00	\$211.50	\$0.00
189	720-	GRADE (UNDISTRIBUTED) CASTING - 2 X 2 CURB & GUTTER CASTING & ADJUST TO GRADE	5	EACH	\$1,200.00	\$0.00	\$760.00	\$0.00	\$850.00	50.00	\$869.50	\$0.00
190	FWR3 801- FWR0	CASTING - 2 X 2 CORB & GOTTER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC	1	EACH LS	\$500.00	\$2,500,00 \$3,500,00	\$858.00 \$8,000.00	\$4,290.00 \$9,000.00	\$850.00	\$4,250.00	\$747.50	\$3,737.50
	608-	WENTERSACE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN.	0	LS LFT	\$3,500.00	\$3,500,00	\$8,000.00	\$8,000.00 \$0.00	\$12,000.00 \$0.00	\$12,000,00 \$0,00	\$6,260.07	\$5,260.07
193	808- 10034	LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN.	0	មា មា	\$0.60	\$0.00	\$1.40 \$1.40	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00	\$1.00 \$1.00	\$0.00 \$0.00
194	808- 10036	LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN	0	LFT	\$0.55	\$0.00	\$1.40 \$1.40	\$0 00 \$0 00	\$0.00	\$900	\$1.00	\$0.00
	508-		0	UFI UFI	\$0.75	\$0.00	\$1.40 \$2.50	\$0 to	\$0.00	\$900	\$2.00	\$0.00
196	808- 10061	LINE MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN.	0	ufi U	\$1500	\$0.00	\$2400	50 00	\$0.00 \$0.00	5000	\$200 \$2000	\$0.00
	-608	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	С	EACH	\$300.60	\$0.00	\$350.00	\$0.00	\$000	8000	\$250.00	\$0.00
197	508-	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R	0	EACH	\$450.00	\$0.00	\$2,000.00	\$0.00	\$0.00	\$0.00	\$1,750.00	\$0.00
		THE SETT WE GOT OF BY CHEST, IN COLLEGE STORES TO SET STOR										
198 199	808- 10056	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN.	0	ਪੰਜ	\$0.70	\$0.00	\$6.90	\$0.00	\$9.00	\$0.00	\$6.00	so oo
198 199 200	808- 10056 608-	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE,	0	UFT EACH	\$0.70 \$250.00	\$0.00 \$0.00	\$6.90 \$350.00	\$0.00 \$0.00	\$0 00 \$0 00	\$0.00 \$0.00	\$6 00 \$250.00	\$0.00 \$0.00

r1	110-										,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
202		MOBILIZATION AND DEMOBILIZATION	1	LS	\$4,000.00	\$4,000,00	\$7,376 50	\$7,376.50	\$12,000.00	\$12,000.00	\$23,033.17	523,033.17
203	02255	TREE 18 IN , REMOVE (INCLUDES STUMP GRINDING)	5	EACH	\$1,600.00	\$8,000.00	\$1,358.50	\$6,792.50	\$1,500.00	\$7,500.00	\$1,400.00	\$7,000.00
204	201- 02260	TREE 30 IN . REMOVE (INCLUDES STUMP GRINDING)	2	EACH	\$2,400.00	\$4,600,00	\$1,43000	\$2,860.00	\$2,500.00	\$5,000.00	\$1,950.00	\$3 900 00
205		TREE 49 IN , REMOVE (INCLUDES STUMP GRINDING)	0	EACH	\$2,600.00	\$0.00	\$2,200.00	50 00	\$3,500.00	\$0.00	\$2,800 00	\$0 CC
206	201- 02270	TREE 60 IN , REMOVE	0	EACH	\$2,500.00	\$0.00	\$5,000.00	\$0.00	\$5,000.00	\$0.00	\$5,500.00	\$0.00
207	202- 02240	PAVEMENT REMOVAL (AIGLUDES INTEGRAL CUR8 and COMPOSITE PAVEMENT)	7250	SYS	\$1450	\$105,125,00	\$1271	\$92,147.50	\$11.00	\$79,750 03	\$1625	\$117,812.50
203	202- 93615	CONCRETE REMOVE	835	sys	\$16.50	\$13,777.50	\$17.49	\$14,604.15	\$15.00	\$12,525 00	\$15.50	\$12,942.50
209	203- 02000	EXCAVATION, COMMON (UNDISTRIBUTED)	5	CYS	\$32.00	\$160.00	\$38.67	\$193.35	\$3000	\$150 60	\$51.00	\$305.00
210	205- 06933	TEMPORARY INLET PROTECTION	. 5	EACH	\$70.00	\$350.00	\$102.00	\$510.00	\$25 00	\$12500	\$90.00	\$450.00
211	214	GEOGRID, TYPE 1B, BX-1200 OR APPROVED EQUAL (LICLUDES										
	301-	EXCAVATION) (UNDISTR-BUTED)	1820	SYS	\$8.00	\$14,560.00	\$9.36	\$15,215.20	50.10	\$182.00	\$7.25	\$13,195.00
212	304	COMPATED AGGREGATE NO. 53	1905	TON	\$28 50	\$54.292.50	\$3603	\$69,637.15	\$3000	\$57,150 00	\$32.00	\$60,960.00
213	07490 502-	HVA PATCHING, TYPE B (UNDISTRIBUTED)	0	TON	\$300.00	\$0.00	\$350.00	\$0.00	\$200.00	\$0.00	\$350.00	\$0.00
214	FVVR0 502	PCCP, 7" PL WITH MONOLITIES CURB	7250	SYS	\$48.00	\$348,000.00	\$47.00	\$340,750 00	\$48.00	\$348,000.60	\$58.75	\$425,937.50
215	11561 604	PCCP, 7 IN (PAVELYENT)	0	5Y\$	\$48.00	50 EO	\$50.00	\$0.00	\$48.00	\$0.60	\$57.50	\$0.00
216	FWR0	DETECTABLE WARNING SURFACES S'DEWALK, CONCRETE (4 IN.) (PICLUDE YARD WALKS)	. 2	EACH	\$350.00	\$700.00	\$250.00	\$500.00	\$450.00	\$900.00	\$338.00	\$676.00
217	05070 604	(UNIOISTRIBUTED)	800	SYS	\$57.00	\$45,600,00	\$5800	\$46,400.00	\$57.00	\$45,660.00	\$79.75	\$63,800.00
218	£6085	CURB RAMP, CONCREYE	20	575	\$12500	\$2,500.00	\$110.00	\$2,200.00	\$150.00	\$3,000 00	\$168.25	\$3,365.00
219	605- 06120	CURB, CONCRETE (TYPE BA, PIN CURB ON AFTER STREET POURED)	00	UT.	\$1600	\$0.00	\$1250	50.03	\$900	\$9.00	\$15.75	\$0.00
	610- 07713	PCCP FPR APPROACHES, 8 IN: (COMVERCIAL APPROACHES)	0	LFT	\$70.00	\$0.00	\$60.00	\$0.00	\$80.00	50 00	\$95.75	\$0.00
221	610- 08446	PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	375	SYS	\$65.00	\$24,375,00	\$68.00		\$67.00	\$25,125,00	\$90.50	\$33,937.50
222	611- D8233	MA'LBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MA'LBOXES AND TYPES) (IF IN CONFLICT)	0	EACH	\$150.00	\$0.00	\$250.00	\$0.00	\$250.00	\$0.00	\$254.50	\$0.00
	621·	HYDROSEED, WITH HYDROSTICK TACKFIER OR EQUIVALENT POLYMER FOR EROS:ON CONTROL AND STRAW MULCH	3500	sys	\$5.00	\$17,500.00	\$2.53	\$3,655.00	\$3 25	\$11,375.00	\$2.25	\$7,875.00
	621-	TOPSO:L	100	TON	\$55.00	\$5,500.00						
	715-						\$51.00	\$5,100.00	\$45.00	\$4,500.00	\$45.00	\$4,500.00
225	715-	P:PE - 12" CMP	0	மா	\$300.00	\$0.00	\$50.00	\$0.00	\$100.00	\$0.00	\$112.50	\$0.00
226	F\VR3 715-	P:PE, TYPE 4, CIRCULAR, 6 IN. WIAGGREGATE FOR UNDERDRAIN ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE	4840	LFT	\$1200	\$58,080 00	\$10.01	\$48,448.40	\$900	\$43,560,00	\$15.00	\$77,440.00
227	720-	BOXRONDISTR-BOTED)	5	EACH	\$200.00	\$1,000.00	\$203.50	\$1,017.50	\$150.00	\$750.00	\$216.50	\$1,082.50
228	F\VR1 720-	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24" SOUD SANTARY MANHOLE, FURIVEN AND ADJUST TO	2	EACH	\$500.00	\$1,000.00	\$203 50	\$407.00	\$750.00	\$1,500.00	\$211.50	\$423.00
229	FVR3	GRADE (UNDISTRIBUTED)	1	EACH	\$1,200.00	\$1,200.00	\$660.00	\$660.00	\$650.00	\$850.00	\$669.50	\$669.50
230	F\VR3	CASTING - 2 X 2 CURB & GUTTER CASTING & ADJUST TO GRADE	5	EACH	\$500.00	\$2,500.00	\$858.00	\$4,290.00	\$850.00	\$4,250.00	\$747.50	\$3,737.50
		MAINTENANCE OF TRAFFIC	1	l\$	\$3,500.00	\$3,500.00	\$8,000.00	\$8,000.00	\$12,000.00	\$12,000.00	\$5,260.07	\$6,280.07
232	10033	LINE MULTI-COMPONENT, SOUD, WHITE, 41%	0	LFT	\$0.60	\$0.00	\$1.40	\$0.00	\$0.00	\$0.60	\$1,00	\$0.00
233	608- 10034	LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN	0	UFT	\$0.60	\$0.00	\$1,40	\$0.00	\$0.00	\$0.00	\$1.00	\$0.00
234	808- 10036	LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN	0	LFT	\$0 55	50.00	\$1,40		\$0.00	\$0.00	\$1.00	\$0.00
235	808- 10037	LINE, MULTI-COMPONENT, SOUD, WHITE, BIN	٥	UFT	\$0.75	\$0.00	\$2.50	\$0.00	\$0.00	\$0.00	\$2.00	\$0.00
236	808-	TRANSVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 24 IN	0									
	808			UFT	\$15.00	\$0.00	\$24.00	\$0.00	\$0.00	50.00	\$20.00	\$0.00
237	10052 808-	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	D	EACH	\$300.00	\$0.00		\$0.00	\$0.00	50 00	\$250.00	\$0.00
238	10053 808-	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIXIR TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE,	0	EACH	\$450.00	\$0.00	\$2,000.00	50 00	\$0.00	\$0.00	\$1,750.00	\$0.00
239	10056 808-	WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE	0	UFT .	\$0.70	\$0.00	\$690	\$0.00	50 00	\$0.00	\$6.00	50.00
240	10077	INDICATION AR ROW	0	EACH	\$250.00	\$0.00	\$350.00	\$0.00	\$000	\$0.00	\$250.00	\$0.00
241	06845 110-	CONSTRUCTION ENGINEERING	1	LS	\$2,000.00	\$2,000 00	\$2,130.00	\$2,130.00	\$12,000.00	\$12,000.00	\$2,777.78	\$2,777.78
242		MOBILIZATION AND DEMOBILIZATION	1	LS	\$4,000.00	\$4,000.00	\$4,681.50	\$4,681.50	\$12,000.00	\$12,000 60	\$23,038,17	\$23,038,17
243	02255	TREE 18 IN , REMOVE (INCLUDES STUMP GRINDING)	1	EACH	\$1,600.00	\$1,600.00	\$1,358.50	\$1,359.50	\$1,500.00	\$1,500.00	\$1,400,00	\$1,400.00
244	201- 02260	TREE 30 IN , REMOVE (INCLUDES STUMP GRINDING)		EACH	\$2,400.00	\$0.00	\$1,800.00	\$0.00	\$2,500.00	50,00	\$1,950.00	\$0.00
245	201- 02265	TREE 48 IN, REMOVE (INCLUDES STUMP GRINDING)	0	EACH	\$2,600,00	\$0.00	\$2,200.00	\$000	\$3,500.00	\$0.00	\$2,800.00	\$0.00
246	201- 02270	TREE 60 IN , REMOVE	0	EACH	\$2,800.00	50.00		5000	\$5,000.00	\$0.00	\$5,500.00	\$0.00
	202-	PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	550	SYS	\$14.50	\$7,975.00	\$1320	\$7,260.60	\$11 00	\$6,050.00	\$16.25	\$8,937.50
248	202-	CONCRETE REMOVE	45	SYS	\$1650	\$742.50	\$15.57	\$700.65	\$1500	\$675.00	\$15.50	\$697.50
	203-	EXCAVATION, COMMON (UNDISTIBUTED)	0	CYS	\$32.00	\$0.00	\$40.00			\$0.00	\$61.00	\$0.00
	205		,	EACH								
250	214	TEMPORARY INLET PROTECTION GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES	Z		\$70.00	\$140.00			\$25 00	\$50.00	\$90.00	\$180.00
251	301-	EXCAVATION) (UNDISTR-BUTED)	130	SYS	\$8.00	\$1,040.00	\$8.36		\$0.10	\$1300	\$7.25	5942.50
252	304	COMPATED AGGREGATE NO. 53	3697	TON	\$28.50	\$10,279.95		\$11,069.83	\$30.00	\$10,821.00	\$32.00	\$11,542.40
	502-	HMA PATCHING, TYPE B (UNDISTRIBUTED)	5	TON	\$300.00	\$1,500 00	\$302.50	\$1,51250	\$200.00	\$1,000.00	\$350.00	\$1,750.00
254	502-	PCCP, 7" 101, WITH MONOLITIEC CURB	550	SYS	\$48.00	\$26,400.00	\$47.00	\$25,850.00	\$48.00	\$26,400,00	\$58.75	\$32,312.50
255		PCCP, 7 IN (PAVENENT)	. 0	SYS	\$48 00	\$0.00	\$50.00	\$0.00	\$48.00	\$0.00	\$57.50	\$0.00
256	FWR0	DETECTABLE WARNING SURFACES S'DEWALK, CONCRETE (4 IR.) (INCLUDE YARD WALKS)	0	EACH	\$350.00	\$0.00	\$300.00	. \$0.00	\$450.00	\$9.00	\$338.00	SO CO
257	06070	(UNDISTRIBUTED)	30	SYS	\$57.00	\$1,710 00	\$58.00	\$1,740.00	\$57.00	\$1,710.00	\$79.75	\$2,392.50
258	06066	CURB RAVP, CONCRETE	0	SYS	\$125,00	\$0,00	\$120.00	\$0.00	\$150.00	\$0.00	\$168.25	\$0.00
		CURB, CONCRETE (TYPE IIA, PIN CURB ON AFTER STREET POURED)	0	UFT	\$16.00	50 00	\$12.50	\$0.00	\$0,00	\$0.00	\$15.75	50 00
260	610- 07713	PCCP FPR APPROACHES, 814 (COUVERCIAL APPROACHES) PCCP FOR APPROACHES, 614, (RES'DESTITAL DRIVES)	0	UFT	\$70.00	\$9.00	\$80.00	\$0.00	\$60.00	50.00	\$95.75	\$0.00
	03446	/UNDISTRIBUTED)	15	SYS	\$65 00	\$975.00	\$68.00	\$1,020.00	\$67.00	\$1,905.00	\$90.50	\$1,357.50
262	611- 08233	MAILBOX ASSEMBLY, RESET SNIGLE AND DOUBLE (INCLUDES ALL MAILBOXES AND TYPES) (IF IN CONFLICT)	C C	EACH	\$150.00	\$0.00	\$250 00	\$0.00	\$250.00	\$0.00	\$254.50	\$0.00
	621-	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROS ON CONTROL AND STRAW MULCH	100	sys	\$500	\$500.00	5253	\$253.00	\$325	\$32500	\$2.75 \$2.25	\$225.00
	621- FV/R1	TOPSO'L	20	TON	\$5500					\$900 50		
	715-					\$1,100.00	\$51.00	\$1,020.00	\$45.00		\$45 00	\$900.00
265	715-	P.PE - 12' CMP	0	UFT	\$300.00	\$0.00	\$80 00	\$0.00	\$100.00	50.00	\$112.50	\$0.00
266	FWR3 715-	PIPE, TYPE 4, CIRCULAR, 6 IN WIAGGREGATE FOR UNDERDRAIN ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE	360	LFT	\$1200	\$4,320.00	\$1260	\$4,536.00	\$9 00	\$3,240.00	\$15.00	\$5,760.00
267	94530 720-	BOXIUNOISTRIBUTED)	3	EACH	\$200.00	\$600.00	\$203.50	\$610 50	\$150.00	\$450.00	\$216.50	\$649.50
	FV/R1	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24' SOLID SANITARY MANHOLE, FURNISH AND ADJUST TO	0	EACH	\$500 CO	\$0.00	\$250.00	\$0.00	\$750 00	\$0.60	\$211.50	\$0.00
268	720-											
269	FV/R3	GRADE (UNDISTRIBUTED) CASTING - 2' X 2' CURB & GUTTER CASTING & ADJUST TO GRADE	2	EACH	\$1,200 00	\$2,400 00	\$660.00	\$1,320.00	\$650.00	\$1,700 00	\$669 50	\$1,339.00

	801-						Γ.					
271	FV/R0 508-	MANTENANCE OF TRAFFIC	1	LS	\$3,500.00	\$3,500,00	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000 00	\$6,260.17	\$6,280.17
272	10033 608-	LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN	0	ᄪ	20 60	\$9.00	\$1.49	\$0.00	\$0.00	\$0,00	\$1.00	\$0.00
	10034 508-	UNE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN	0	UFT	\$0.60	50 00	\$1.40	\$0.00	\$0.00	\$9.00	\$1.00	\$0.00
	10036 505	UNE, MULTI-COMPONENT, BROKEN, YELLOW, 4 N	0		\$0.55	\$0.00	\$1,40	50 00	\$0.00	\$0.00	\$1.00	\$0.00
275	10037 E08-	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24	0	UFT	\$0.75	50.00	\$250	\$0.00	\$9.00	\$0.00	\$200	50.00
	10051 808-	IN.	0	UFT .	\$15.00	\$9.00	\$24 00	\$0.00	\$3.00	\$9.00	\$20.00	\$0.00
	10052 808-	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, OWLY		EACH	\$300.00	\$9.00	\$350.00	\$0.00	\$0.00	\$9.00	\$250,00	\$0.00
	10053 808-	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSIVALK LINE,	. 0	EACH	\$450 00	\$0.00	\$2,000.00	\$0.00	\$0,00	\$0.00	\$1,750.03	50.00
	100 <i>6</i> 6 808-	WHITE, 6 IN PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE	00	FT	\$0.70	\$0.00	\$690	\$0.60	\$0.00	\$0.00	\$500	\$0.00
260	10077	PROCEATION AR ROW	0	EACH	\$250.00	\$0.00	\$350.00	\$0.00	\$0.00	\$0.00	\$250.00	\$0.00
281	06845 110-	CONSTRUCTION ENGINEERING	1	LS	\$2,000,00	\$2,000.00	\$2,405.00	\$2,405,00	\$12,000.00	\$12,000.00	\$2,777.78	\$2,777.78
262	01001 201-	MOBUZATION AND DEMOBUZATION	1	LS	\$4,000.00	\$4,000 00	\$5,022.50	\$5,022.50	\$12,000 50	\$12,000.00	\$23,038,17	\$23,038.17
283	02255 201-	TREE 18 IN , REMOVE (INCLUDES STUMP GRINDING)	1	EACH	\$1,600.60	\$1,600.00	\$1,368.50	\$1,358.50	\$1,500.00	\$1,500.00	\$1,400.00	\$1,400.00
284	02260 201-	TREE 30 IN , REMOVE (INCLUDES STUMP GRINDING)	0	EACH	\$2,400.00	\$0.00	\$1,800.00	\$0.00	\$2,500.00	\$0.00	\$1,950.00	50 00
265	02265 201-	TREE 48 IN , REMOVE (INCLUDES STUMP GRINDING)	- 0	EACH	\$2,600.00	\$0.00	\$2,200.00	\$0.00	\$3,500.00	5000	\$2,800.00	\$0.00
266	02270 202-	TREE 60 IN , REMOVE PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE	0	EACH	\$2,800.00	\$0.00	\$5,000.00	\$0.00	\$5,000 00	50 00	\$5,500 00	\$0.00
287	02240 202-	PAVEVENT)	830	SYS	\$1450	\$12,035 00	\$1265	\$10,499.50	\$11.00	\$9,130.00	\$1625	\$13,487.50
268	93615 203-	CONCRETE REMOVE	197.2	SYS	\$16.50	\$3,253.60	\$1507	\$2,971.80	\$15.00	\$2,968.00	\$15.50	\$3,056.60
289	02000 205-	EXCAVATION, COMMON (UNDISTIBUTED)	0	CYS	\$32.00	\$0.00	\$40.00	\$0.00	\$30 00	\$0.00	\$61.00	\$0.00
290	06933 214-	TEMPORARY INLET PROTECTION GEOGRID, TYPE 1B, BX-1200 OR APPROVED EQUAL (INCLUDES		EACH	\$70.00	\$140.00	\$102.00	\$204.00	\$25.00	\$5000	\$90.00	\$180.00
291	11796 301-	EXCAVATION) (UNDISTRIBUTED)	170	SYS	\$9.00	\$1,360 00	\$8.36	\$1,421.20	\$0.10	\$ 17.00	\$7.25	\$1,232.50
292	FWR0 304	COMPATED AGGREGATE NO. 53	423	TON	\$28.50	\$12,056 50	\$32.12	\$13,586.76	\$30.00	\$12,690.00	\$32.00	\$13,536,00
293	07490 502-	HVA PATCHING, TYPE B (UNDISTRIBUTED)	0	TON	\$300.00	\$0.50	\$350.00	\$0.00	\$200.00	\$9.00	\$350.00	\$0.00
294	FWR0 502-	PCCP, 7' IN WITH MONOLITHIC CURB	830	sys	\$48.00	\$39,840.00	\$47.00	539,010.00	\$48.00	\$39,840,00	\$5875	\$48,762,50
295	11564	PCCP, 7 IN. (PAVENENT)	D	sys	\$48.00	\$0.00	\$50 00	\$0.00	548 50	\$0.00	\$57.50	\$0.00
296	FWR0	DETECTABLE WARNING SURFACES SIDEWALK, CONCRETE (4 III.) (INCLUDE YARD WALKS)	. 2	EACH	\$350.00	\$700 00	\$250.00	\$500.00	\$450,00	\$900.00	\$338.00	\$676.00
297	05070	(UNDISTRIBUTED)	117.2	sys	\$57.00	\$6,660.40	\$58.00	\$6,797.50	\$57.00	\$6,680.40	\$79.75	\$9,346.70
293	604- 06066	CURB RAMP, CONCRETE	32	SYS	\$125.00	\$4,000 00	\$110.00	\$3,520.00	\$150.00	\$4,500.00	\$168,25	\$5,384 00
	605- 06120	CURB, CONCRETE (TYPE #A, P.N. CURB ON AFTER STREET POURED)	0	ĿŢ	\$1600	\$0.00	\$12.50	\$0.00	\$0,00	\$000	\$15.75	\$0.00
	610- 07713	PCCP FPR APPROACHES, 8 IN. (COMMERCIAL APPROACHES)	ō	UFT	\$70.00	\$9.00	\$50.00	\$0.00	\$50.00	\$0.00	\$95.75	\$0.00
301	610 03446	PCCP FOR APPROACHES, 6 IN. (RES/DENTIAL DRIVES) (UND:STRIBUTED)	43	sys	\$65.00	\$3,120.00	\$68.00	\$3,264.00	\$67.00	\$3,21600	\$90.50	\$4,344.00
302	611- 03233	MAYLBOX ASSEMBLY, RESET SAIGLE AND DOUBLE (INCLUDES ALL MAYLBOXES AND TYPES) (IF IN CONSTUCT)	0	EACH	\$150.00	\$0.00	\$250.00	\$0.00	\$250.00	5000	\$254.50	\$0.00
303	EZS- FVVRO	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	100	SYS	\$5.00	\$500,00	\$2.53	\$253.00	\$3.25	\$325.00	\$2.25	\$225.00
304	621- FWR1	TOPSO%	2	TON	\$55 00	\$110.00	\$51.00	\$102.00	\$45.00	\$90.00	\$45.00	\$90.00
306	715- FWR2	PIPE - 12" CMP	0	LFT	\$300.00	\$0.00	\$80.00	\$0.00	\$100.00	\$0.00	\$112.50	\$9.00
306	715 FVVR3	PIPE TYPE 4, CIRCULAR, 6 IN WAGGREGATE FOR UNDERDRAIN	400	LFT	\$12.00	\$4,800.00	\$11.44	\$4,576.00	\$9 to	\$3,600.00	\$16.00	\$5,400.00
307	715- 94530	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOXHUNDISTRIBUTED)	1	EACH	\$200.00	\$200.00	\$203 50	\$203.50	\$150.00	\$150.00	\$216 50	\$216.50
308	720- FWR1	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	0	EACH	\$500.00	\$0.00	\$250.00	\$0.00	\$750.00	\$0.00	\$211.50	\$0.00
309	720- FVVR3	CASTING, 24" SOUD SANTARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	2	EACH	\$1,200.00	\$2,400.00	\$660.00	\$1,320.00	\$850,00	\$1,700.00	\$669.50	\$1,339.00
310	720- FV/R3	CASTING - 2 X 2 CURB & GUTTER CASTING & ADJUST TO GRADE	1	EACH	\$500.00	\$500.00	\$658.00	\$858.00	5850 00	\$850.00	\$747,50	\$747.50
311	801- FVVRO	MAINTENANCE OF TRAFFIC	1	LS	\$3,500.00	\$3,500,00	\$5,000,00	\$6,000.00	\$12,000.00	\$12,000:00	\$5,260.07	\$6.280.07
312	808- 10033	LINE MULTI-COMPONENT, SOLID, WHITE, 4191	0	LFT	\$0.60	50 00	\$1,40	50.00	\$0.00	\$0.00	\$1.00	\$0.00
313	808- 10034	UNE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN.	0	JFT.	\$0.60	\$0.00	\$1.40	\$000	50 00	50 00	\$1.00	\$0.00
314	808- 10036	UNE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN	0	LFT	\$0.56	50 00	\$1,40	\$0.00	\$0.00	\$0.00	\$1.00	\$0.60
315	808- 10037	LINE MULTI-COMPONENT, SOLID WHITE, BIFL	o	바	\$0.75	\$0.00	\$2.50		\$0.00		\$2.00	\$0.60
316	808- 10051	TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 III.	0	LFT	\$15.00	\$0.00	\$24.00	\$0.00	\$0.00	\$0.00	\$20.00	\$0.00
317	803- 10062	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	0	EACH	\$300.00	\$0.00	\$350 00	\$0.00	\$0.00		\$250.00	50.00
318	808- 10053	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R.X.R.	0	EACH	\$450.00	\$0.00	\$2,000.00	\$0.00	50 00		\$1,750.00	\$0.00
319	808- 10056	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN.	0	LFT	\$0.70	\$0.00	\$6.90	\$0.00	\$0.00		\$600	\$0.00
320	808- 10077	PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW	0	EACH	\$250.00	\$0.00	\$350.00	50.00	\$0.00		\$250 00	50 00
321	105- 06845	CONSTRUCTION ENGINEERING	1	LS	\$2,000,00	\$2,000:00	\$2 251.00	\$2,251.00	\$12,000.00		\$2,777.78	\$2,777.78
	110- 01001	MOBILIZATION AND DEMOBILIZATION	1	LS	\$4,000.00	\$4,000.00	\$2 231.00 \$4,681.50	\$4,681.50	\$12,003.00		\$23,038.17	\$23,038 17
	201- 02256	TREE 10 IN REMOVE (NOCLUDES STUMP GRUNDING)	1	EACH	\$1,600.00	\$1,600.00	\$4,661,50 \$1,358,50	\$1,358.50	\$1,500.00		\$1,400.00	\$1,400.00
324	201- 02260	TREE 30 IN , REMOVE (NOLUDES STUMP GRIPDING)	. 0	EACH	\$2,400.00	\$1,600,00	\$1,800.00	\$0.00	\$1,500.00	\$1,5000	\$1,950.00	\$1,400.00
	201- 02265	TREE 49 IN , REMOVE (INCLUDES STUVY GRINDS)	. 0	EACH	\$2,600.00	\$0.00	\$2,200.00		\$3,500.00		\$2,800.00	
	201- 02270	TREE 60 IN REMOVE	0	EACH	\$2,800,00	\$0.00	\$5,000.00	\$0.00 \$0.00	\$3,900,00		\$5,500.00	\$0.00 \$0.00
	202- 02240 -	PAVEMENT REMOVAL (EXCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	632	SYS	\$2,80000	\$9,164,00	\$5,000.00	\$7,994 60	\$5,000,00	\$6,952.00	\$5,500 00 \$16 25	\$10,270.00
328	202- 93615	CONCRETE REMOVE	120	575 575	\$16.50	\$1,960.00	\$12.65	\$1,502.40	\$11.00		\$15.50	
	203- 02000	EXCAVATION, COMMON (UNDISTIBUTED)	0	CYS	\$32,00	\$1,360,00	\$40.00	\$0.00	\$30.00	\$1,80000	\$15.50 \$61.00	\$1,660.00 \$0.00
330	205-	TEMPORARY INLET PROTECTION	2	EACH	\$70.00	\$140.00	\$102.00	\$204.00	\$25.00	\$50.00	\$90.00	\$180.00
331	214	GEOGR-D, TYPE 18, 8X-1200 OR APPROVED EQUAL (INCLUDES [EXCAVATION) (UNDESTRIBUTED)	150				l					
	301-			SYS	\$8.00	\$1,200.00	\$3.36	\$1,254.00	\$0.10		\$7.26	\$1,007.50
332	304-	COMPATED AGGREGATE NO. 53	352	TON	\$2850	\$10,032.00	\$31.63	\$11,133.76	\$30.00	\$10,560.00	\$32.00	511,264.00
	502-	HNA PATCH NG, TYPE B (UNDSTR-BUTED)	0	TON	\$300.00	\$0.00	\$350.00	50.00	\$200.00	\$9.00	\$350.00	\$0.00
		PCCP, 7" IN WITH MONOLITH'S CURB	632	sys	\$49.00	\$30,336.00	\$47.00	\$29,704.00	\$48.00	\$30,336.00	\$58.75	\$37,130.00
334	502-					\$0.00	\$50.00	\$0.00	\$48 00	\$0.00	\$57.50	\$0.00
334 335	502- 11564 604-	PCCP, 7 IX. (PAVENENT)	. 0	SYS	\$48.00							
334 335 336	502- 11564 604- FV/R0 604-	DETECTABLE WARNING SURFACES STOEWALK, CONCRETE (4 IR) (INCLUDE YARD WALKS)	2	EACH	\$350,00	\$700,00	\$250 00	\$500.00	\$450.00	\$900.00	\$338.00	\$976.00
334 335 336 337	502- 11564 604- FV/R0 604- 05070 604-	DETECTABLE WARNING SURFACES SIGEWALK, CONCRETE (4 IN) (INCLUDE YARD WALKS) (UNIVESTRIBUTED)	2 18	EACH SYS	\$350,00 \$57.00	\$700.00 \$1,026.00	\$250 <i>8</i> 3 \$58 <i>0</i> 0	\$500 00 \$1,044 00	\$450.00 \$57.00	\$1,026.00	\$338.00 \$ 79.75	\$1,435 50
334 335 336 337 338	502- 11564 604- FV/R0 604- 05070 604- 09066 605-	DETECTABLE WARNING SURFACES STOEWALK, CONCRETE (4 IR) (INCLUDE YARD WALKS)	2	EACH	\$350,00	\$700,00	\$250 00	\$500 00 \$1,044 00 \$3,520 00	\$450.00		\$338.00	

1	610-				Υ			1		I		1
March Marc		3 PCCP FPR APPROACHES, 8 IN (CONVERCIAL APPROACHES) PCCP FOR APPROACHES, 8 IN (RESOFTITAL ORIVES)		UFT	\$70.00	\$0.00	\$60.00	\$0.00	\$80.00	\$9.00	\$95.75	\$0.00
March Marc	341 0844	6 I/UNDISTRIBUTED)	70	sys	\$65.00	\$4,550.00	\$68.00	\$4,760.00	\$67.00	\$4,690,00	\$90.50	\$6,335.00
25	342 (3823	MALBOXES AND TYPES (IF IN CONFLICT)	0	EACH	\$150.00	\$0.00	\$250 00	50 60	\$250 00	\$0.00	\$254 50	\$0.00
15 15 15 15 15 15 15 15	343 FWR	10 POLYMER FOR EROSION CONTROL AND STRAW MULCH	100	SYS	\$5.00	\$500.00	\$2 53	\$253 00	\$3.25	\$325 00	\$2.25	\$225.00
Section Sect		TOPSO:L	2	TON	\$55.00	\$110.00	\$51.00	\$102.00	\$45.00	\$90,00	\$45.00	\$90.00
10 10 10 10 10 10 10 10	715-									1		\$0.00
1	715-											
March Marc	715-	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE	240	1							\$1600	\$4,640.00
1. 1. 1. 1. 1. 1. 1. 1.		0 BOX(UND:STRIBUTEO)	1	EACH	\$200.00	\$200.00	\$203.50	\$203 50	\$150.00	\$150.00	5216 50	\$216 50
14.		(CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	0	EACH	\$500.00	\$0.00	\$250.00	\$000	\$750 00	\$0.00	\$211.50	5000
Second Conference Second Conference 1	349 FWR	(3 GRADE (USDISTRIBUTED)	. 2	EACH	\$1,200.00	\$2,400.00	\$660.00	\$1,320.60	\$650.00	\$1,700.00	\$669.50	\$1,339.00
1	350 FWR	B CASTING - 2 X 2 CURB & GUTTER CASTING & ADJUST TO GRADE	1	EACH	\$500.00	\$500.00	\$658.00	\$858 00	\$350 00	\$650,00	\$747.50	\$747.50
March Marc			1	ıs	\$3,500,00	\$3,500.00	55 000 00	\$5,000,00	\$12,000,00			\$6,280.07
March Marc	808				i					, and the second		
March Marc	808-											\$0.00
March Marc	508-		0	LFT	\$0.60	\$0.00	\$1.40	\$000	\$0.00	\$0.00	\$1.00	\$0.00
Section Proceedings Procedings Proceedings Procedings Proceedings Proceedings Proceedings Proceedings Proceedings Proceedings Proceedings Procedings Procedings Procedings Proceedings Procedings Procedi		6 LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4RL	0	மா	\$0.56	\$0.00	51.40	\$000	\$0.00	\$0.00	\$1.00	\$0.00
25	355 1003	7 UNE VULTI-COMPONENT, SOUD, WHITE, BIN.	0	LFT	\$0.75	\$0.00	\$2.50	\$0.00	\$0.00	\$0.00	\$2.00	50 00
22 200	366 1006	IN.	0	LFT	\$15.00	\$0.00	\$24 00	\$0.00	\$0.00	\$0.00	\$20.00	\$0.00
20		2 PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	0	EACH	\$300.00	\$0.00	\$350.00	5000	5000	so 00	\$250.00	\$0.00
Second Conference Seco		\$	0									\$0.00
Second Column Second Colum	-603	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE,							l			
March Marc	-608	PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE										\$0.00
March Marc	105-		0	EACH	1		\$350,00	5000	5000	\$0.00	\$250.00	50 00
No.	361 0684		. 1	LS	\$2,000,00	\$2,000,00	\$2,251.00	\$2.251,00	\$12,000.00	\$12,000.00	\$2,777.78	\$2,777.78
Section Proceedings Proceedings Procedure Procedure Process Pr	362 0100		11	LS	\$4,000,00	\$4,000,00	\$3,601.50	\$3,801.50	\$12,000.00	\$12,000.60	\$23,038,17	\$23,038.17
March Marc	363 0225		0	EACH	\$1,600,00	\$0.00	\$1,600.00	<u>50</u> ω	\$1,500.00	\$0.00	\$1,400.00	\$0.00
No.	201-		0		1				1			\$27.00
March Marc	201-				-							
A	201-							1				\$0.00
Second Proceedings Process P		O TIREE SOLN, REMOVE PAVEMENT REMOVAL (NOLUDES INTEGRAL CURB and COMPOSITE	0	EACH	\$2,600.00	\$9.00	\$5,000,00	50.00	\$5,000.00	\$0.00	\$5,500.00	50 00
25		0 PAVEMENT)	720	5YS	\$1450	\$10,440.00	\$12.76	\$9,187.20	\$11.00	\$7,920.00	\$16.25	\$11,703.00
\$50 0000 DECOMPAND CONTROLLED STATE PROTECTION 1	368 9361	5 CONCRETE REMOVE	2963	SYS	\$1650	\$4,683.95	\$1458	\$4,320.05	\$15.00	\$4,444.50	\$15.50	\$4,592.65
10 10 10 10 10 10 10 10		EXCAVATION COMMON (UNDISTIBUTED)	0	CYS	\$3200	\$0.00	\$40.00	50 00	530.00	\$0.00	\$61.00	\$0.00
19			1	FACH	\$70.00	\$70.00	\$102.00					\$90.00
27 DE COUNTRO ACCURATION DE COUNTRO ACCURATI	214-	GEOGRID, TYPE 1B, BX-1200 OR APPROVED EQUAL INCLUDES	160									
12 20 100 SHAPATCHES, TYPE BLUESTIRBUTED 1 TON 1000 STORE 1 STORE STORE STORE SHAPE	301-											\$1,087.50
20. Col. P. S. Michi Mondo 1470 153690 1460 1500 1507 15100 1507 150	304-		390	TON	\$28.50	\$11,115.00	\$32.34	\$12,612.60	\$30.00	\$11,700 00	\$32.00	\$12,450 00
12.5 Prof. SCR. F. R. VITH MONDLING CIRCR 70 975 1480 MARGON		6 HWA PATCHING, TYPE B (UNDISTRIBUTED)	1	TON	\$300 00	\$300.00	\$302.50	\$302.50	\$200.00	\$200.00	\$350.00	\$350.00
1975			720	SYS	\$48.00	\$34,560.00	\$47.00	\$33,840.00	\$48.00	\$34,560 00	\$58.75	\$42,300 00
19 PACE STEEL MAN STORM DEFECTS C	375 1156		0	SYS	\$48.00	\$0.00	\$50.00	\$0.00	\$48.00	\$0.00	\$57.50	\$0.00
Column C		0 DETECTABLE WARRING SURFACES	0	EACH	\$350.00	\$0.00	\$300.00	\$0.00	\$450.00	\$0.00	\$338.00	\$0.00
18 18 18 18 18 18 18 18		SIDEWALK, CONCRETE (4 IN.) (INCLUDE YARD WALKS)	224.5							i		
10 10 10 10 10 10 10 10	604											
Section Company Production S and Company P	605-											\$5,384 00
381 CANADA C			0	பா	\$1600	\$0.00	\$12.50	\$0.00	\$0.00	\$0.60	\$15.75	\$0.00
381 CANADA C		3 PCCP FPR APPROACHES, 8 N. (COMVERCIAL APPROACHES) PCCP FOR APPROACHES, 6 IV. (RESIDENTIAL DRIVES)	0	អា	\$70.00	\$0.00	\$50.00	\$9.00	\$60.00	\$0.00	\$95,75	\$0.00
230 OSCIO UNIDENCISE NATIFICIAL PROPERTIES 0 0 0 0 0 0 0 0 0	381 0844	6 I/UNDESTRIBUTED)	39.8	SYS	\$6500	\$2,587.00	\$68.00	\$2,706.40	\$67.00	\$2,666.60	\$90.50	\$3,601.90
200 PATTER POLYMER FOR REPORT CONTROL AND STRAW (MACH) 318 578 5500 15500 1251 5015 512 5103 5250 3250	382 0623	3 MAYLBOXES AND TYPES) (IF IN CONFLICT)	Đ	EACH	\$150.00	\$0.00	\$250,00	\$0.00	\$250.00	\$0.00	\$254.50	50 00
Second Profession Profess		HYDROSEED, WITH HYDROSTICK TACKFIER OR EQUIVALENT TO POLYMER FOR EROSION CONTROL AND STRAW MULCH	318	SYS	\$500	\$1,590.00	\$2.53	\$804.54	\$325	\$1,033.50	\$2.25	\$715.50
Second Part	621-		5	TON								
THE STATE PRICE CRICIAL R BN WIAGREGATE FOR UNDERGRAN 474	715											\$225.00
Second Prints Prints Prints Cricicara & Br. Windorscall For United Prints Prints Second	715-											\$0.00
337 SIND SOQUENESTREATED 34 EACH \$2000 \$5000 \$320.50 \$15000 \$15000 \$120.50 \$15000 \$120.50 \$15000 \$120.50 \$15000 \$120.50 \$15000 \$120.50 \$15000 \$120.50 \$15000 \$120.50 \$	386 FWR 715-	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE	474	LFT	\$12.00	\$5,688.00	\$10.62	\$5,033 68	\$900	\$4,266.00	\$1600	\$7,584 00
SAME CASTING ADJUST TO GRADE (LIVIOSIRIBUTED) 1 EACH \$5000 \$5000 \$3030 \$73000 \$71000 \$71150 \$21150 \$221500 \$221500 \$221500 \$221500 \$221500 \$	387 9453	0 BOX)(UNDISTRIBUTED)	3	EACH	\$200.00	\$600.00	\$203.50	\$610.50	\$150.00	\$450.00	\$216.50	\$649 50
SAME ON STRING - 7 X 2 CURB & GUTTER CASTING & ADAUST TO GRADE 2 EACH \$1,000 \$500 \$5500 \$5,000 \$5,000 \$5,000 \$7,755 \$1,425	388 FV/R	(1 CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	1	EACH	\$500.00	\$500.00	\$203 50	\$203.50	\$750.00	\$750.00	\$211.50	\$211.50
170	369 FWR	GRADE (UNDISTRIBUTED)	0	EACH	\$1,200,00	\$0.00	\$760 CO	\$0.00	\$850.00	\$0.00	\$669.50	\$0.00
301 OVER DISTRICTION DESIGNED MARRING DELT DESIGNED MARRING MULTI-COMPONENT, RAY DEACH SEGNED MARRING MARRING MULTI-COMPONENT, RAY DEACH SEGNED MARRING MARRING MULTI-COMPONENT, RAY DEACH SEGNED MARRING MARRING MULTI-COMPONENT LINE DEACH SEGNED MARRING MARRING MARRING MARRING MULTI-COMPONENT LINE DEACH SEGNED MARRING MA		3 CASTING - 2 X 2 CURB & GUTTER CASTING & ADJUST TO GRADE	2	EACH	\$500.00	\$1.000.00		\$1.71600				\$1,495.00
\$2 1003 UNE MULTI-COMPONENT, SOUD WHITE 4RY 0 LIFT \$0.60 \$0.00 \$1.40 \$0.00 \$0.00 \$0.00 \$1.00 \$3.00 \$1.00 \$1.00 \$3.00 \$1.00 \$3.00 \$1.00 \$3.00 \$1.00 \$3.00 \$1.00 \$3.00 \$1.00 \$3.	801-		1									\$6,260.07
93 10034 10034 10154 101	908-		·					l				
60-8-1 6	508-											\$0.00
10006			0	LFT	\$0.60	\$0.00	\$1.40	800	\$0.00	\$0.00	\$1.00	\$0.00
10037 UNEL MAJTH-COMPONENT, SOLD, WHITE, 8 IN 0	394 1003	6 UNE PULTI-COMPONENT, BROKEN, YELLOW, 4RL	0	LFT	\$0.55	\$0.00	\$1.40	\$6.00	\$0.00	\$0.00	\$1,00	\$0 03
1005 1005	395 1003	7 UNE MALTI-COMPONENT, SOLID, WHITE, 8 IN	0	LFT	\$0.75	\$0.00	\$2.50	\$0.00	\$0.00	\$0.00	\$2.00	\$0.00
\$37 \ \(\) \\(\) \(\)	396 1005	1 IN	O	LFT	\$15.00	\$0.00	\$24 00	50 00	\$0.00	\$0.00	\$20.00	\$0.00
88 1058 PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R.X.R. 0 EACH \$4500 \$000 \$2000 \$000 \$000 \$000 \$000 \$17500 \$9 8 8 8 1056 \$18AHSVERSE MARKING, MULTI-COMPONENT, R.X.R. 0 LET \$0.70 \$000 \$5.90 \$000 \$000 \$000 \$000 \$000 \$000 \$9 8 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9		2 PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	0	EACH								\$0.00
1808 TRANSPERSE MARRING, MULTI-COMPONENT, CROSSYMAKUNE. 0 LFT S070 S000 S590 \$0.00 \$	508-											
808 PANEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE 0 EACH \$250.00 \$0.00 \$350.00 \$0.00 \$0.00 \$0.00 \$350.00 \$0.00 \$0.00 \$350.00 \$0	-808	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE,										\$0.00
1007 INDICATION ARROW 0 EACH \$250.00 \$0.00 \$350.00 \$0.00 \$0.00 \$0.00 \$250.00 \$8.00 \$9.00 \$1.00 \$9.00 \$9.00 \$1.00 \$9.00 \$	808-	PAVENENT MESSAGE MARKINGS MULTI-COMPONENT LAKE										\$0.00
401 08-85 CONSTRUCTION ENGINEERING 1 LS \$2,000.00 \$2,405.00 \$2,405.00 \$2,405.00 \$12,000.00 \$12,000.00 \$2,777.76 \$2,7	105-		0	EACH		\$0.00	\$350.00	\$0.00	\$0.00	\$0.00	\$250.00	\$0.00
402 01001 MOBILZARION AND DEMOBILZARION 1 1.5 \$4,000 00 \$5,002 60 \$5,002 60 \$12,000 00 \$12,000 00 \$23,003,17 \$23,003	401 0684		1	LS	\$2,000 00	\$2,000.00	\$2,405 00	\$2,405.00	\$12,000.00	\$12,000.00	\$2,777.78	\$2,777.78
433 0225 TREE 18 JRI, REMOVE (INCLUDES STIMP GRINDING) 0 EACH \$1,600.00 \$0.00 \$1,600.00 \$0.00 \$1,600.00 \$9.0	402 0100	I MOBILIZATION AND DEMOBILIZATION	1	LS	\$4,000 00	\$4,000.00	\$5,022.50	\$5,022.50	\$12,000.00	\$12,000.00	\$23,038,17	\$23,038,17
201- 404 02280	403 0225	5 TREE 18 IN , REMOVE (INCLUDES STUMP GRINDING)	0	EACH	\$1,600.00	\$0.00	\$1,600.00	50(0	\$1,500,00	\$0.00	\$1,400.00	\$0.00
201- 405 2226 TREE 4S IN, REMOVE (INCLUDES STUVP GRYDDNG) 0 EACH \$2,600.00 50.00 \$2,200.00 50.00 \$3,500.00 \$3,500.00 \$4,000.		O TREE 30 IN . REMOVE (INCLUDES STUMP GRINDING)	1	EACH	\$2,400.00	\$2,400,00						\$1,950.00
201- 405 02270 TREE 60 IN. REMOVE D EACH \$2,600.00 \$5,000.00	201-				l I							
202 PANEMENT REMOVAL (AXCLUDES INTEGRAL CUR8 and COMPOSITE 4077 02240 PANEMENT) 604 SYS \$14.50 \$11,658.00 \$12.82 \$10,307.28 \$11.00 \$3.644.00 \$16.25 \$13,000 \$10.25 \$13.000 \$10.25 \$10.25 \$10.20	201-								-			50.00
202-	202-	PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE										\$0.00
403 93615 CONCRETE REMOVE 79 \$YS \$1650 \$1,33350 \$1628 \$1,286.12 \$1550 \$1,15500 \$1,550 \$1.550	202-						\$12.82	\$10,307.28	\$11.00	\$3,844.00	\$16 25	\$13,065.00
	403 9361	5 CONCRETE REMOVE	79	SYS	\$16.50	\$1,303.50	\$16 28	\$1,286,12	\$15.00	\$1,185.00	\$15.50	\$1,224.50

	203-	***************************************	Ι	ı				T	I	Γ.		
409	02000 205-	EXCAVATION, COMMON (UNDISTIBUTED)	0	CYS	\$3200	\$9.00	\$40.00	\$0.00	\$30 00	\$900	\$61.00	\$9.00
410	06933 214	TEMPORARY INLET PROTECTION GEOGRIO, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES	1	EACH	\$70.00	\$70.00	\$102.00	\$102.00	\$25.00	\$25.00	\$90.00	\$90.00
411	11796 301-	EXCAVATION) (UNDISTRIBLITED)	322	sys	00.82	\$2,576.00	\$9.36	\$2,691.92	\$0.10	\$32.20	\$7.25	\$2,33450
412	FWR0	COMPATED AGGREGATE NO. 53	455.5	TON	\$28 50	\$13,836 75	\$31.02	\$15,060.21	\$30.00	\$14,565.00	\$32.00	\$15,536 00
413	07490 502-	HWA PATCHING, TYPE B (UNDISTRIBUTED)	2	TON	\$300.00	\$600 00	\$302.50	\$605.00	\$200.00	\$400.00	\$350 00	\$7,00 00
414		PCCP, 7" IN. WITH MONOLITH'C CURB	504	sys	\$48.00	\$38,592.00	\$48.25	\$38,793 00	548.00	\$38,592.00	\$58.75	\$47,235 00
415		PCCP, 7 IN. (PAVENEXT)	0	SYS	\$48.00	\$0.00	\$50.00	\$0.00	\$0.00	\$9.00	\$57.50	\$0.00
416	FVYRO	DETECTABLE WARMING SURFACES	0	EACH	\$350,00	\$0.00	\$300.00	\$0.00	\$450.00	50 00	\$338 00	\$0.00
417	604- 05070	S-DEWALK, CONCRETE (4 IN) (INCLUDE YARD WALKS) (LINDSTRIBLITED)	47	SYS	\$57.00	\$2,679.00	\$58.00	\$2,726.00	\$57.00	\$2,679.00	\$79 75	\$3,748.25
418	604- 06066	CURB RAMP, CONCRETE	0	SYS	\$125.00	\$0.00	\$120.00	\$0.00	\$150.00	\$9.00	\$168.25	\$0.00
419	605- 05120	CURB CONCRETE (TYPE I'A PIN CURB ON AFTER STREET POURED)	0	UFT	\$1600	\$0.00	\$12.50	\$0.00	\$0.00	0002	\$15.75	\$0.00
420	610- 07713	PCCP FPR APPROACHES, 8 IN. (COMMERCIA), APPROACHES)	0	ĿП	\$70.00	\$0.00	\$80.00		\$50.00		\$95.75	\$0.00
421	610- 08446	PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	32	SYS	\$65.00	\$2,080.00	\$68.00	\$2,176.00	\$67.00	\$2,144.00	\$90.50	\$2,696.00
422	611- 08233	MALBOX ASSEMBLY, RESET SYNGLE AND DOUBLE (INCLUDES ALL MALBOXES AND TYPES) (IF IN CONFLICT)	0	EACH	\$150.00							
423	621-	HYDROSEED, WITH HYDROSTICK TACKFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	322	sys		\$0.00	\$250 CO		\$250.00	\$0.00	\$254 50	\$0.00
	621- FWR1	TOPSO'L	322		\$500	\$1,610.00			\$3.25	\$1,046.50	\$2.25	\$724 50
424	715-		- 5	TON	\$55.00	\$275.00	\$5100		\$45.00	\$225 00	\$4500	\$225 00
425	FWR2 715-	PIPE - 12" CMP	0	LFT	\$300.00	\$0.00	\$80.00	}	\$100.00	9000	\$112.50	\$0.00
426	715-	P.P.E., TYPE 4, CIRCULAR, 6 IN: WIAGGREGATE FOR UNDERDRAIN ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE	458	ഥ	\$1200	\$5,856.00	\$11.22	\$5,475.36	\$9.00	\$4,392.00	\$16.00	\$7,506.00
427	94530 720-	BOX(UNDISTRIBUTED)	0	EACH	\$200.00	\$0.00	\$250.00	50.00	\$150.00	\$000	\$216.50	\$0.00
428	FVR1 720-	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24" SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO	1	EACH	\$500.00	\$500.00	\$203 50	\$203.50	\$750.00	\$750.00	\$211.50	\$211.50
429	FVVR3 720-	GRADE (UND/STRIBUTED)	11_	EACH	\$1,200.00	\$1,200.00	\$860 00	\$660.00	\$850.00	\$550.00	\$669.50	\$669.50
430	FWR3	CASTING - 2 X 2 CUR8 & GUTTER CASTING & ADJUST TO GRADE	0	EACH	\$500.00	\$0.00	\$960.00	50.00	\$850.00	\$0.00	\$747,50	\$0.00
431		MANITENANCE OF TRAFFIC	1	LS	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00	\$6,280 07	\$6,280.07
432	808- 10033	LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN	0	UFT	\$0.60	\$0.00	\$1.40	\$0.00	\$0.00	\$0.00	\$1.00	\$0.00
433	508- 10034	UNE, MULTI-COMPONENT, SOLID, YELLOW, 4 IN	0	LFT	\$0.60	50 00	\$1.40	i	\$0.00	\$0.00	\$1.00	\$0.00
434	908- 10036	LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN	0	LFT	\$0.55	\$0.00	\$1.40		\$0.00		\$1.00	\$0.00
435	808- 10037	LINE, MULTI-COMPONENT, SOLID, WHITE, 8 P.L.	0	ᄪ	\$0.75	\$0.00	\$2.50		\$0.00		\$2.00	50.00
436	808- 10051	TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24	0	LET								
437	808-	ALLEGE HER COLOR HER THOUGHT CHEVY	0		\$1500	50 00	\$24.00		50.00	\$0.00	\$20.60	\$0.00
	10052 808-	PAVEVENT VESSAGE MARKING, MULTI-COMPONENT, ONLY		EACH	\$300.00	\$0.00	\$350.00		\$0.00	\$9.00	\$250.00	\$0.00
438	10053 808-	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE,	0	EACH	\$450.00	\$0.00	\$2,500.00		\$0.00	\$0.00	\$1,750 00	\$0.00
439	808-	WHITE, 6 IN PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE	0	<u>UFT</u>	\$0.70	\$0.00	\$6.90	50 00	\$0.00	900	\$600	\$0.00
440	10077 105-	INDICATION AR ROW	0	EACH	\$250.00	50.00	\$350.00	\$9.00	\$9.00	\$9.00	\$250.00	\$0.00
441	06845 110-	CONSTRUCTION ENGINEERING	11	LS	\$2,000.00	\$2,000.00	\$2,625,00	\$2,625.00	\$12,000.00	\$12,000.00	\$2,777.78	\$2,777,78
442	01001 201-	MOBILIZATION AND DEMOBILIZATION	1	LS	\$4,000.00	\$4,000.00	\$6,370.00	\$6,370.00	\$12,000.00	\$12,000.00	\$23,038.17	\$23,038.17
443		TREE 18 IN , REMOVE (INCLUDES STUMP GRINDING)	1	EACH	\$1,600.00	\$1,600,00	\$1,358 50	\$1,358.50	\$1,500.00	\$1,500.00	\$1,400 D0	\$1,400.00
444	02260	TREE 30 IN , REMOVE (INCLUDES STUMP GRINDING)	0	EACH	\$2,400.00	\$0.00	\$1,800.00	\$0.00	\$2,500.00	\$0.00	\$1,950 00	\$0.00
445		TREE 48 IN , REMOVE (INCLUDES STUMP GRINDING)	0	EACH	\$2,600.00	\$0.00	\$2,200.00	\$000	\$3,500.00	\$0.00	\$2,800.00	\$0.00
446	201- 02270	TREE 60 IN , REMOVE	1	EACH	\$2,800.00	\$2,800.00	\$3,146.00	\$3,146.00	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00
447	02240	PAVEMENT REMOVAL (NICLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	3864	sys	51450	\$56,028.00	\$12.76	549,304.64	\$11.00	\$42,504.00	\$16.25	\$62,790.00
448	202- 93615	CONCRETE REMOVE	739	SYS	\$16.50	\$12,193.50	\$15,68	\$11,587.52	\$15.00	\$11,065 00	\$ 15.50	\$11,454.50
449	203-	EXCAVATION, COMMON (UNDISTIBUTED)	0	cys	\$32.00	\$0.00	\$40.00	\$0.00	\$30.00		\$61.00	50 00
450	205- 06933	TEMPORARY INLET PROTECTION	8	EACH	\$70.00	\$560.00	\$102.00	5816.00	\$25.00	\$200.00	\$90.00	\$720.00
451	214-	GEOGR-D, TYPE 1B, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	1546	sys	\$800	\$12,368.00	\$8.36	\$12,924.56	\$0.10	\$154 60	\$7.25	\$11,208.50
452	30f- I	COVPATED AGGREGATE NO. 53	1130	TON	\$28.50	\$32,205.00	\$35 20	\$39,776.00	\$30.00	1	\$3200	
	304									1		\$36,160,00
453	502-	HNA PATCH:NG, TYPE B (UNDISTRIBUTED)	3	TON	\$300.00		\$302.50	\$907.50	\$200.00			\$1,050.00
454	502-	PCCP, 7" IN WITH MONOLITHIC CURB	3564	SYS	\$48 00	\$155,472.00	\$48.25	\$186,438.00	\$48.00		\$58.75	\$227,010.00
455	604	PCCP, 7 IIL (PAVEMENT)	C	sys	\$48.00	\$0.00	\$50.00	50 00	SO 00		\$57.50	\$0.00
456	804	DETECTABLE WARNING SURFACES S'DEWALK, CONCRETE (4 IN.) (INCLUDE YARD WALKS)	3	EACH	5350 00	\$1,050.00	\$250.00	\$750.00	\$450.00	\$1,350.00	\$338.00	\$1,01400
457	06070 604-	(UNDISTRIBUTED)	441	sys	\$57.00	\$25,137.00	\$58.00	\$25,578.00	\$57.00	\$25,137.00	\$79.75	\$35,169.75
456		CURB RAMP, CONCRETE	44	sys	\$125.00	\$5,500 00	\$110-00	\$4,840.00	\$150.00	\$6,600.00	\$168.25	\$7,403.60
459		CURB, CONCRETE (TYPE BA, P.N. CURB ON AFTER STREET POURED)		LFT	\$16.00	\$0.00	\$12.50	\$0.00	\$0.00	\$0.00	\$15.75	\$0.00
460	07713	PCCP FPR APPROACHES, BIN. (COMMERCIAL APPROACHES) PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES)	30	LFT	\$70 50	\$2,100.00	\$74.00	\$2,220.00	\$80,00	\$2,400.00	\$95.75	\$2.872.50
	08446	(UNDISTRIBUTED)	224	sys	\$65.00	\$14,560.00	\$6800	\$15,232.00	\$67.00	\$15,000.00	\$90.50	\$20,272.00
462	08233	MALBOX ASSEMBLY, RESET SAIGLE AND DOUBLE (INCLUDES ALL MALBOXES AND TYPES) (IF IN CONFLICT)	14	EACH	\$150.00	\$2,100 00	\$220.00	\$3,060.00	\$250.00	\$3,500.00	\$254 50	\$3,563.00
463	FV/R0	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	1727	sys	\$5.00	\$8,63500	\$2.53	\$4,369.31	\$3.26	\$5,612.75	\$2.25	\$ 3,865.75
	621- F\VR1	TOPSO:L	120	TON	\$55.00	\$6,600.00	\$51.00	1	\$45 00	\$5,400.00	\$45.00	\$5,400.00
	715- FWR2	PiPE - 12' CMP	0	LFT	\$300.00	\$0.00	550.00	\$0.00	\$100.00	\$0.00	\$112.50	50 00
466	715-		2590	U-T	\$1200	\$31,090,00	\$1078		\$9.00		\$16.00	\$41,440.00
467	715- 94530	P.P.E. TYPE 4, CIRCULAR, 6 IN. WIAGGREGATE FOR UNDERDRAIN ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX(UNDISTRIBUTED)	3	EACH	\$200.00	\$500.00	5203 50	\$610.50	\$150.00	\$450.00	\$216.50	\$43,440.00
468	720-	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	0	EACH	\$500 00	\$0.00	\$250.00		\$750.00		l	
	720-	CASTING, 24" SOLID SANITARY MANHOLE, FURNISH AND ADJUST TO		l				\$0.00		\$0.00	\$211.50	\$0.00
	720-	GRADE (UNDISTRIBUTED)	2	EACH	\$1,200.00	\$2,400.00	\$660.00		\$850.00		\$669.50	\$1,339.00
	BO1-	CASTING - 2 X 2 CURB & GUTTER CASTING & ADJUST TO GRADE	7	EACH	\$500.00	\$3,500.00	\$858.00	\$6,006,00	\$850 00		\$747.50	\$5,232.50
471	808-	MANTENANCE OF TRAFFIC	1	LS	\$3,500,00	\$3,500.00	\$6,000.00	\$6,000.00	\$12,000.00	\$12,000,00	58,260.07	\$6,280 07
	10033 808-	LINE, MULTI-COMPONENT, SOLID, WHITE, 4 IN	0	ŲŦ	\$0.60	\$0.00	\$1.40	5000	\$0.00	\$0.00	\$1,00	\$0,00
473	10034 808-	LINE MULTI-COMPONENT, SOLID, YELLOW, 4 IN	0	<u>।</u>	\$0.60	\$0.00	\$1,40	5000	\$0.00	\$0,00	\$1.00	\$0.00
474	10036 508-	LEVE MULTI-COMPONENT, BROKEN YELLOW, 4 IN	0	UFT	\$0.55	\$0.00	\$1.40	\$0.00	\$0.00	\$0.00	\$1.00	\$0.00
475	10037	UNE, MULTI-COMPONENT, SOLID, WHITE, 8 01 TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24	c		\$0.75	\$0.00	\$2.50	\$0.00	\$9.00	\$0.00	\$2.00	\$0.00
				•						l!		
476		и.	0	LFT	\$1500	50,00	\$24 00	\$0.00	\$8.00	\$0.00	\$20.00	\$0.00

March Control Contro	803-		1				***************************************	Γ				
March Marc	803-	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE,	_		\$450.00		\$2,000 50					\$0.00
10 10 10 10 10 10 10 10		5 WHITE, 6 IN.	<u> </u>	LFT	\$0.70	\$9.00	\$6.90	\$0.00	\$0.00	\$0.00	\$600	\$0.00
No. Color		/ INDICATION AR ROW	. 0	EACH	\$250.00	\$0.00	\$350 00	50.00	50.00	\$0.00	\$250.00	\$0.00
Color		5 CONSTRUCTION ENGINEERING	1	LS	\$2,000 00	\$2,000.00	\$2,650.50	\$2,860 50	\$12,000 00	\$12,000.00	\$2,777.78	\$2,777.78
March Marc		MOBILIZATION AND DEMOBILIZATION	1	LS	54,000.00	\$4,000.00	\$6,700.00	\$6,700.00	\$12,000.00	\$12,000.00	\$23,038,17	\$23,033.17
14 100		TREE 18 IN , REMOVE (INCLUDES STUMP GRINDING)	0	EACH	\$1,600.00	\$0.00	\$1,600.00	50.00	\$1,500.00	\$0.00	\$1,400 00	5000
Section Column Section Secti	484 02260	TREE 30 IN REMOVE (INCLUDES STUMP GRINDING)	3	EACH	\$2,400.00	\$7,200.00	\$1,430.00	\$4,290.00	\$2,500.00	\$7,500 00	\$1,950 00	\$5,650 00
March Prof. Prof	465 02266	5 TREE 48 IN , REMOVE (INCLUDES STUMP GROWDING)	2	EACH:	\$2,600.00	\$5,200.00	\$1,573.00	\$3,146.00	\$3,500,00	\$7,000.00	\$2,800.00	\$5,600.00
Color	486 02270	D TREE 60 M. REMOVE	0	EACH	\$2,800.00	\$0.00	\$5,000.00	\$0.60	\$5,000.00	\$0.00	\$5,500.00	\$0.00
March Proc. Proc	487 0224	PAYENENT REMOVAL (INCCODES INTEGRAL CORB BIO CONFOSTE PAYENENT)	4728	sys	\$14.50	\$68,556.00	\$12.71	\$50,092.63	\$11.00	\$52,003.00	\$16.25	\$76,830 00
Second Company Seco	458 93613	S CONCRETE REMOVE	570	SYS	\$16.50	\$9,405,00	\$17.38	\$9,906.60	\$1500	\$9,550.00	\$15.50	\$8,835.00
10 10 10 10 10 10 10 10	489 0200	EXCAVATION, COMMON (UNDISTIBLITED)	0	cys	\$32.00	\$0.00	\$40.00	\$0.00	\$30.00	\$9.00	\$61.00	\$0.00
March Proc. Proc	490 0693	3 TEMPORARY INLET PROTECTION	7	EACH	\$70.00	\$490.00	\$102.00	\$714.00	\$25.00	\$175.00	\$90.00	\$630.00
10 100	491 1179		1900	SYS	\$8.00	\$15,200.00	58 36	\$15,884.00	\$0.10	\$120.00	\$7.25	\$13,775.00
Section Process Proc		8 COMPATED AGGREGATE NO. 53	1301.4	TON	\$28 50	\$37,089 90	\$35 31	\$45,952.43	\$30.00	\$39,042.00	\$32.00	341,644.50
10		HVA PATCHING, TYPE B (UNIXISTRIBUTED)	5	TON	\$300.00	\$1,500.00	\$302.50	\$1,512.50	\$200.00	\$1,000.00	\$350.00	\$1,750.00
Company Comp	502-		4728		\$48.00	\$226 944 00						\$277,770.00
March Marc	502-								,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			\$0.00
December Content Con	604-		6									\$2,028.00
Bear Company	604-	S/DEWALK, CONCRETE (4 IN) (INCLUDE YARD WALKS)										\$33,893 75
Manual Confession Co	604								,			
Company Comp	605-		, <u>u</u>									\$15,777.50
Company Comp	610-		,									\$0.00
Bar	610-	PCCP FOR APPROACHES, 6 IN. (RES'DENTIAL DRIVES)										\$0.00
Proceedings	611-	MAILBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL	75									\$6,787.50
Column C	521-	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT	- 6									\$1,527.00
Section Proceeding Procee	621-											\$4,725.00
Pet Type Conclude By Manager 1900 1910			150	TON	\$55.00	\$8,250.00	\$51.00	\$7,660.00	\$45.00	\$6,750.00	\$45 00	\$6,750.00
20 75 ADDIT WATER WALL TO GAUGE (CLORE DELATION AND VALUE OF THE COLOR OF THE				LFT.	\$300.00	\$0.00	\$50.00	\$0.00	\$100.00	\$0.00	\$112.50	\$0.00
SCI PAGE ROSANGETER REFERENCE 2 EACH SOROO 1900000 1900000 1900000 1900000 1900000 1900000 1900000 1900000 1900000 190000000000		3 P.PE, TYPE 4, CIRCULAR, 6 IN. WIAGGREGATE FOR UNDERDRAIN ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE	3150	LFT	\$12.00	\$37,600.00	\$9.90	\$31,185 00	\$900	\$28,350 60	\$16.00	\$50,400.00
Section Control of	507 9453	0 BOX/(UNDISTRIBUTED)	2	EACH	\$200.00	\$400.00	\$203.50	\$407.00	\$150.00	\$300 00	\$216.50	\$433.00
Column C		1 CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24" SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO	4	EACH	\$500.00	\$2,000.00	\$203 50	\$814 00	\$750.00	\$3,000 00	\$211.50	\$846.00
STOTE TOTAL CONTINUES OF TRAFFEE STOTE	509 FV/R	3 GRADE (UNO:STRIBUTED)	5	EACH	\$1,200.00	\$6,000.00	\$660.00	\$3,300.00	\$650.00	\$4,250 00	\$669 50	\$3,347.50
STATE Proceed Systems 1	510 FV/R	3 CASTING - 2 X 2 CURB & GUTTER CASTING & ADJUST TO GRADE	4	EACH	\$500.00	\$2,000.00	\$858.00	\$3,432.00	\$650.00	\$3,400.00	\$747.50	\$2,990.00
102 1032 1032 1035 1	511 FWR	0 MAINTENANCE OF TRAFFIC	1	LS	\$3,500.00	\$3,500.00	\$7,000 00	\$7,000 60	\$12,000.00	\$12,000.00	\$6,260.07	\$6,260.07
103 DOIS D	512 1003	3 UNE MULTI-COMPONENT, SOLID, WHITE, 4 IN	0	LFT.	\$0.60	\$0.00	\$1.40	\$0.00	\$0.00	\$0.00	\$1.00	\$0.00
100 100	513 1003	4 UNE MULTI-COMPONENT, SOUD, YELLOW, 4 IN	0	ਮਾ	\$960	\$0.00	\$1.40	50 00	\$0.00	\$0.00	\$1.00	\$0.00
15 1007 INSEL MAIL COMPOSE PLANE SOLD WHITE AN 0 LFT 15:075 50:00 12:00 50:0	514 1003	6 UNE, MULTI-COMPONENT, BROKEN, YELLOW, 4 RI	0	ᄕ	\$0.56	\$0.00	\$1.40	50 00	\$0.00	50.00	\$1.00	50.00
150 150	515 1003	7 UNE MULTI-COMPONENT, SOUR, WHITE, 8 IN.	0	LFT.	\$0.75	\$0.00	\$2.50	\$0.00	\$0.00	\$0.00	\$200	\$0.00
Sect Proceedings and Economic Main Conformation Description Desc	516 1005	TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 1 JN .	O	பா	\$15.00	\$0.00	524 00	50 00	\$0.00	50 00	\$20.00	50.00
15 15 15 15 15 15 15 15		2 PAVENERT MESSAGE MARKING, MULTI-COMPONENT, ONLY	0	EACH	\$300.00	\$0.00	\$350 00	\$0.00	\$0.00	\$0.00	\$250.00	\$0.00
10 10 10 10 10 10 10 10		3 PAVENENT MESSAGE MARKING, MULTI-COMPONENT, R X R	O	EACH	\$450.00	50 00	52,000 00	\$0.00	\$0.00	\$0.00		\$0.00
Sociation Soci	B08-	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE,	0									\$0.00
1	-508	PAVENENT MESSAGE MARKINGS MULTI-COMPONENT LANE					1					\$0.00
1	105-		1									\$2,777.78
2011	110-		,									523,038,17
201-	201-		n.					[1			\$0.00
CS 2025 TREE &BIH, REMOVE (EXCLUDES STUVE GRANDING) 1 EACH \$2,60000 \$2,60000 \$1,87300 \$31,80000 \$32,00000 \$2,0000 \$2,0000	201-							1	i			\$1,950.00
201-	201-							[
202 PARKENTH REMOVAL (INCLUDES INTEGRAL CURB and COVPOSITE 7824 SYS \$1450 \$112490 \$1271 \$99,449 04 \$110 \$66,6400 \$1625 \$227 \$222 \$225	201-		1						i			\$2,800,00
2022-02-02-02-02-02-02-02-02-02-02-02-02	202-	PAVENENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE						1				\$0.00
203 203	202-						1					\$127,140.00
256 05933 TEMPORARY PILET PROTECTION 12	203-								i ''			\$26,450 20
214- GEOGRIO, TYPE 19, BAL 1200 OR APPROVED EQUIAL (INCLUDES 3130) \$77.55	205-						I					\$0.00
11756 EXCAMPION (UNDISTRIBUTED) 3130 SYS S900 \$25,040 to \$3.85 \$36,166.80 \$0.10 \$31300 \$7.25	214-	GEOGRID, TYPE 1B, BX-1200 OR APPROVED EQUAL (INCLUDES										\$1,060.00
SY PAYRO COMPATED AGGREGATE IND SS 2006 TON \$38.50 \$57.142.50 \$38.58 \$173.342.90 \$30.00 \$50.150.00 \$32.00		6 EXCAVATION (UNDISTRIBUTED)					\$8.36		\$0.10		\$7.25	\$22,692.50
1933 1974-00 HVAPATCHING TYPE B (UNDISTRIBUTED) 0 TON \$300.00 \$0.00 \$320.00 \$0.00 \$320.00 \$0.00 \$350.00 \$0.00 \$350.00 \$0.00 \$350.00 \$0.00 \$350.00 \$0.00 \$350.00 \$0.00 \$350.00 \$0.00 \$350.00 \$0.00 \$350.00 \$0.00 \$350.00 \$0.00 \$350.00 \$0.00 \$350.0	532 FY/R	0 COMPATED AGGREGATE NO. 53	2005	TON	\$28.50	\$57,142.50	\$36.58	\$73,342.90	\$30.00	\$60,150.00	\$32.00	\$64,160.00
SH FVND PCCP, T SI WITH MONOUTIFIC CURB 4728 SYS SH800 \$226,944.00 \$48.16 \$227,653.20 \$48.00 \$228,944.00 \$58.75 \$5.00 \$50.00 \$50.00 \$48.00 \$228,944.00 \$50.00 \$57.50 \$50.00 \$57.50 \$50.00 \$50	533 0749	0 HMA PATCHING, TYPE B (UNDISTRIBUTED)	Ð	TON	\$300.00	\$0.00	\$350 00	\$0.60	\$200.00	50.00	\$350.00	50 00
155 1564 PCCP, 71N (PAVEMENT) 0 SYS 34800 50.00 550.00 50.00 548.00 50.00 557.50	534 FVR	D PCCP, 7' SI WITH MONOLITIKE CURB	4728	SYS	548.00	\$226,944.00	\$48.15	\$227,653,20	\$48.00	\$226,944.00	\$58.75	\$277,770 00
SAPE PAYRO DETECTABLE VARNING SURFACES 22 EACH \$350.00 \$7700.00 \$250.00 \$5500.00 \$490.00 \$9,90.00 \$338.00	535 1156	4 PCCP, 7 IN (PAVEMENT)	0	SYS	\$48.00	\$0.00	\$50.00	\$0.00	\$49.00	so co	\$57.50	\$0.00
Solid Soli	536 FVR	DETECTABLE WARNING SURFACES	22	EACH	\$350.00	\$7,700.00	\$250,00	\$5,500.00	\$450.00	\$9,900 80	\$338 00	\$7,436.00
150 150	537 0607	(UNDISTRIBUTED)	713.4	SYS	\$57.00	\$40,663.60	\$58.00	\$41,377.20	\$57.00	\$40,663.80	\$79.75	\$56,893.65
193 05/120 CURR CONCRETE (TYPE NA PIN CURB ON AFTER STREET POURED) D	538 0606	6 CURS RAMP, CONCRETE	180	sys	\$125.00	\$22,500.00	\$110.00	\$19,600.00	\$150.00	\$27,000 00	\$158.25	\$30,265 00
590 07713 PCCP PPR APPROACHES, 8 IN (COVVERCUL APPROACHES) 100 UFT \$7000 \$7,0000 \$7,0000 \$9,000	539 D512	CURB, CONCRETE (TYPE IIA, PIN CURB ON AFTER STREET POURED)	B	មា	\$1600	\$9.00	\$12.50	5000	so 00	\$0.00	\$15.75	\$0.00
541 024-05 UNDSTRBUTED 715 5YS \$55.00 \$46,75.00 \$48,620.00 \$67.00 \$47,506.00 \$90.50	540 0771	3 PCCP FPR APPROACHES, 8 IN (CONVERCIAL APPROACHES)	100	UFY	\$70.00	\$7,000.00	\$74 00	\$7,400.00	\$60.00	\$8,000.00	\$95.75	\$9,576.00
511- MA'LBOX ASSEMBLY, RESET SINGLE A'ND DOUBLE (INCLUDES ALL 1 EACH \$150.00 \$150.00 \$220.00	541 0844	6 (UNDISTRIBUTED)	715	SYS	\$65.00	\$46,475.00	\$69.00	\$48,620.00	\$67.00	\$47,906.00	\$90.50	\$64,707.50
621- HYDROSSED, WITH HYDROSTICK TACKFREA OR EQUIVALENT	512 0823	MA'LBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MA'LBOXES AND TYPESI (IF IN CONFLICT)			\$150.00							\$254.50
S21- S24 FVRR1 TOPSC/L 200 TON \$55.00 \$11,000.00 \$55.00 \$10,200.00 \$45.00 \$9,000.00 \$45.00 \$10,200.00 \$45.00 \$10,200.00 \$45.00 \$10,200.00 \$45.00 \$10,200.00 \$45.00 \$10,200.00 \$10,20	621-	HYDROSEED, WITH HYDROSTICK TACK/FIER OR EQUIVALENT	3478									\$7,825 50
7/15- 545 FVRZ PPE - 12' CVP 0 LFT \$300.00 \$900 \$5000 \$000 \$100.00 \$900 \$112.50	621-											\$9,000.00
715	715-											\$0.00
1996 TENNS BOYE, TYPE 4, CIRCULAN, 6 IN, WAGGREGATE FOR UNDERDRAIN 5216 LEFT \$ \$19.001 \$62,592.001 \$10.011 \$52,212.161 \$9.001 \$48.944.001 \$48.001	715-	3 P.PE. TYPE 4, CIRCULAR, 6 IN, WIAGGREGATE FOR UNDERDRAIN	5216	LFT	\$12.00	\$62,592.00	\$10.01	\$52,212,16	\$9.00	\$46,944.00	\$16.00	\$83,456.00

547	715- 94530	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOXIONO STRIBUTED)		FAALL		** ***	*****	54 004 00	******	troz on	tarneni	** ***
	720- FVR1	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	6	EACH EACH	\$200.00 \$500.00	\$1,200.50 \$3,000.00	\$203.50 \$203.50	\$1,221.00 \$1,221.00	\$150 00 \$750 00	\$500.00 \$4,500.00	\$216.50 \$211.50	\$1,299.00 \$1,269.00
549	720- FWR3	CASTING, 24' SOUD SANTARY MANHOLE, FURIESH AND ADJUST TO GRADE (UNDISTRIBUTED)	2	EACH	\$1,200.00	\$2,400.00	\$660.00	\$1,320.00	\$850.00	\$1,700.00	\$569 50	\$1,33900
550	720- FWR3	CASTING - 2 X 2 CURB & GUTTER CASTING & ADJUST TO GRADE	14	EACH	\$500 00	\$7,000.00	\$858.00	\$12,012.00	\$850.00	\$11,900.00	\$747.50	\$10,466.00
551	801- FWR0	MANITENANCE OF TRAFFIC	1	LS	\$3,500.00	\$3,500.00	\$13,000.00	\$13,000,00	\$12,000.00	\$12,000,00	\$6,260.07	\$6,260,07
562	808- 10033	UNE MULTI-COMPONENT, SOUD, WHITE, 4 M.	0.	LFT	\$0.60	\$0.00	\$1,43	\$0.00	\$900	\$0.00	\$1.00	\$0.00
553	808- 10034 808-	LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN.	0	រេក	50 60	50.00	\$1,40	\$0.00	\$0.00	\$0.00	\$1.00	\$0.00
554	10036 808	LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN.	0	ਪੁਜ	\$0.55	\$0.00	\$1,40	\$0.00	\$0.00	\$0.00	\$1.00	\$0.00
555	10037 606-	LINE, IZULTI-COMPONENT, SOLID, WHITE, 8 P. TRAVISVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24	0	្រូវ	\$0.75	\$0.00	\$2.50	\$0.00	\$9.00	\$0.00	\$2.00	\$0.00
566	10051 EO8-	RI.	27	UT.	\$1500	\$406.00	\$22.00	\$594 00	\$30.00	\$810.00	\$20.00	\$540.00
567	10062 808-	PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	C C	EACH	\$300.00	50 00	\$350.00	8000	\$0.00	50.00	\$250.00	\$0.00
558	10053 808-	PAVENENT MESSAGE MARKING, MULTI-COMPONENT, R X R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE,	1	EACH	\$450.00	\$450.00	\$2,000 00	\$2,000 00	\$3,000 00	\$3,000 00	\$1,750.00	\$1,750.00
569	10056 808-	WHITE, 5 IN PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE	0	LFT	50.70	\$0.00	\$6.90	\$0.00	\$0.00	50.00	56 00	\$0.00
560 561	10077 105- 06845	ENOICATION AR ROW CONSTRUCTION ENGINEERING	0	EACH LS	\$250.00 \$2,000.00	\$2,000.00	\$350.00 \$2,702.00	\$0.00 \$2,702.00	\$0.00 \$12,000.00	\$9.00 \$12,000.00	\$250.00 \$2,777.78	\$2,777.78
562	110- 01001	MOBILIZATION AND DEMOBELIZATION	1	LS	\$4,000.60	\$4,000.00	\$6,050.00	\$6,060.00	\$12000.00	\$12,000.00	\$23,038,17	\$23,038,17
563	201-	TREE 18 M, REMOVE (INCLUDES STUMP GRINDING)	0	EACH	\$1,600.50	\$0.00	\$1,600.00	\$0.00	\$1,500.00	\$0.00	\$1,400.00	\$0.00
564	201- 02260	TREE 30 IN , REMOVE (INCLUDES STUMP GRIRDING)	1	FACH	\$2,400.00	\$2,400.00	\$1,430.00	\$1,430.00	\$2,500.00	\$2,500,00	\$1,960.00	\$1,950.00
566	201- 02265	TREE 49 DI , REMOVE (INCLUDES STUMP GRINDING)	1	EACH	\$2,600 00	\$2,600.00	\$1,573.00	\$1,573.00	\$3,500.00	\$3,500,00	\$2,800,00	\$2,800.00
566	201- 02270	TREE 60 IN , REMOVE	0	EACH	\$2,800.00	\$0.00	\$5,000.00	\$0.60	\$5,000.00	\$0.00	\$5,500.00	\$0.00
567	202- 02240 202-	PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT).	2349	sys	\$14.50	\$34,060.50	\$12.71	\$29,856.79	\$11.00	\$25,639.00	\$16.25	\$38,171.25
568	202- 93615 203-	CONCRETE REMOVE	457	SYS	\$1650	\$7,705.50	\$16.12	\$7,528.04	\$1500	\$7,005.00	\$15.50	\$7,238 50
569	02000 205-	EXCAVATION, COMMON (UNDISTIBUTED)	0	CYS	\$32.00	\$0.00	\$40 00	\$0.00	\$30.00	\$0.00	\$61.00	\$0.00
570	06933 214	TEMPORARY INLET PROTECTION GEOGRID, TYPE 1B, BX-1200 OR APPROVED EQUAL (NYCLUDES	3	EACH	\$70.00	\$210.00	\$102.00	\$306.00	\$25.00	\$75.00	\$90.00	\$270.00
571	301-	EXCAVATION) (UNDISTRIBUTED)	940	aya	\$8.00	\$7,520.00	\$8.36	\$7,658.40	\$0.10	\$94.00	\$7.25	\$6,815.00
572	504- 07400	COMPATED AGGREGATE NO. 53	768	TON	\$2850	\$21,868.00	\$3460	\$26,572.80	\$30.00	\$23,040.00	\$32.00	\$24,576.00
573 574	07490 502- FWR0	HMA PATCHING, TYPE B (UNDISTRIBUTED) PCCP, 7' BL WITH MONOLITHE CURB	2349	TON	\$300.00 \$48.00	\$0.00 \$112,752.00	\$350.00 \$47.00	\$0.00 \$110.403.00	\$200.00 \$48.00	\$0.00 \$112.752.00	\$350.00 \$58.75	\$0.00 \$138,003.75
575	502- 11564	PCCP, 7 IN (PAVEVENT)	0	sys	\$48.00	\$0.00	\$50.00	\$110.443.00	\$0.00	\$0.00	\$57.50	\$0.00
576	604 FVVR0	DETECTABLE WARMING SURFACES	0	EACH	\$350 00	\$0.00	\$300 00	50.00	\$450.00	50.00	\$339.00	\$0.00
577		S/DEWALK, CONCRETE (4 IN.) (INCLUDE YARD WALKS) (UNDISTRIBUTED)	214	sys	\$57.00	\$12,158.00	\$58.00	\$12,412.00	\$57.00	\$12,198.00	\$ 79 75	\$17,066.50
578	604- 06066	CURB RAVP, CONCRETE	0	sys	\$125.00	\$9.00	\$110.00	\$0.00	\$150.00	\$0.00	\$169.25	\$0.00
579	505- 06120 610-	CURB, CONCRETE (TYPE I'A, PIN CURB ON AFTER STREET POURED)	0	ĿFT	\$16.00	\$0.00	\$12.50	5000	5000	\$0.00	\$15.75	50 00
580	07713 610-	PCCP FPR APPROACHES, 8 IN. (COMVERCIAL APPROACHES). PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES)	0	UFT	\$70.00	\$0.00	\$80.00	\$0.00	\$80.00	\$0.00	\$95.75	\$0.00
581	08446 611-	(UND:STRIBUTED) WAYLBOX ASSEMBLY, RESET SINGLE AND DOUBLE (MICLUDES ALL	253	SYS	\$65.00	\$16,445.00	\$68.00	\$17,204.00	\$67.00	\$16,951.00	\$90.50	\$22,696 50
582	621-	MAYLBOXES AND TYPES) (# ELICONFLICT) HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT	1	EACH	\$150.00	\$150 00	\$220 00	\$220.00	\$250.00	\$250.00	\$254 50	\$254 50
583	521-	POLYMER FOR EROS ON CONTROL AND STRAW MULCH	1044	SYS	\$5.00	\$5,220.00	\$2.53	\$2,641.32	\$3.25	\$3,393.00	\$2.25	52,349.00
584 585	FWR1 715- FWR2	TOPSO:L P.PE - 1Z CMP	40	TON LFT	\$55 00 \$300 00	\$2,200,00	\$51.00	\$2,040.00	\$45.00	\$1,800.00	\$45.00	\$1,800.00
586	715- FWR3	P.P.E. TYPE 4, CIRCULAR, 6 IN WAGGREGATE FOR UNDERDRAIN	1566	LFT	\$12.00	\$0.00 \$18,792.00	\$80.00 \$9.45	\$0.00 \$14,814.36	\$100.00 \$9.00	\$0.00 \$14,094.00	\$112.50 \$16.00	\$0.00 \$25,056.00
587	715- 94530	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UND:STRIBUTED)	2	EACH	\$200.00	\$400.00	1203 50	\$407.00	\$150.00	\$300.00	\$216 50	\$433.00
583	720- FWR1	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	1	EACH	\$500 00	\$500.00	\$203 50	\$203 50	\$750.00	\$ 750.00	\$211.50	\$211.50
569	720- FWR3	CASTING, 24" SOLID SANITARY MANHOLE, FURNISH AND ADJUST TO SRADE (UNDISTRIBUTED)	111	EACH	\$1,200.00	\$1,200.00	\$660.00	\$660.00	\$650.00	\$850.00	\$669 50	\$669.50
560	720- FWR3	CASTING - 2 X 2 CURB & GUTTER CASTING & ADJUST TO GRADE	2	EACH	\$500.00	\$1,000.00	\$858.00	\$1,716,00	\$850.00	\$1,700.00	\$747.50	\$1,495.00
591	601- FWR0 608-	MAINTENANCE OF TRAFFIC	1	LŞ	\$3,500.00	\$3,500.00	\$7,000 00	\$7,000.00	\$12,000 00	\$12,000.00	\$6,280.07	56.280.07
592	10033 808-	LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN.	С	म्य	\$0.60	50 00	51.40	50.00	50.00	\$0.00	\$1.00	\$0.00
593	808-	LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN.	C C	LFT	\$0.60	\$0.00	\$1,40	\$9.00	\$0.00	\$0.00	\$1.00	
594	10036 908-	LINE, MULTI-COMPONENT, BROKEN, YELLOW, 41N	0	மா	\$0.55	\$0.00	\$1.40	\$0.00	\$0.00	\$0.00	\$1.00	\$0.00
595 596	10037 E08- 10051	LINE, MULTI-COMPONENT, SOUD, WHITE, 8 PL TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN.	0	ा ।	\$0.75 \$15.00	\$0.00 \$0.00	\$2.50 \$24.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00		\$0.00 \$0.00
597	808-	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	0	EACH	\$30000	\$0.00	\$350.00	\$0.00	\$0.00	\$0.00	\$250.00	\$0.00 \$0.00
598	808-	PAVEMENT WESSAGE MARKING, MULTI-COMPONENT, R X R	0	EACH	\$450.00	\$0.00	\$2,000.00	5000	\$900	so 00		\$0.00
599	808- 10056	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN.	0	LFT	\$0.70	\$0.00	\$6.90	\$0.00	\$0.00	\$0.00	\$600	\$0.00
600	10077	PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW	0	EACH	\$250.00	\$0,00	\$350.00	\$0.60	. \$0.00	\$0.00	\$250.00	\$0.00
60 1	105- 06845	CONSTRUCTION ENGINEERING	1	LS	\$2,000,00	\$2,000.00	\$2,405.00	\$2,405.00	\$12,000.00	\$12,000.00	\$2,777.78	\$2,777.78
602	110- 01001 201-	MOBILIZATION AND DEMOBILIZATION	1	LS	\$4,000.00	\$4,000.00	\$8,443.50	\$8,443.50	\$12,000.00	\$12,000 00	\$23,038.17	523,038.17
603	02255 201-	TREE 18 III., REMOVE (INCLUDES STUMP GRINDING)	0	EACH	\$1,600.00	50.00	\$1,600.00	\$0 00	\$1,500.00	\$0.00	\$1,400.00	\$0.00
604	02260 201	TREE 30 II), REMOVE (INCLUDES STUMP GRINDING)	11	EACH	\$2,400,00	\$2,400.00	\$1,430.00	\$1,430.00	\$2,500.00	\$2,500 00	\$1,950 00	\$1,950.00
605	02265 201-	TREE 48 IN , REMOVE (INCLUDES STUVP GRINDING)	0	EACH	\$2,600,00	\$0.00	\$2,200,00	50.00	\$3,500.00	\$0.00	\$2,800.00	\$0.00
606	02270 202- 02240	TREE 60 IN, REMOVE PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	1950	EACH SYS	\$2,600,00 \$14.50	\$0.00 \$28,275.00	\$5,000.00 \$12.82	\$0.00 \$24,999.00	\$5,000.00 \$11.00	\$0.00 \$21,450.00	\$5,500.00 \$16.25	\$0.00
608	202- 93515	CONCRETE REMOVE	1930 493	SYS	\$1650	\$7,969.50	\$12.82 \$15.07	\$24,959.00	\$11.00	\$21,450.00 \$7,245.00	\$16.25 \$15.50	\$31,687.50 \$7,456.50
609	203- 02000	EXCAVATION, COMMON (UNDISTIBUTED)	0	CYS	\$32.00	\$9.00	\$40.00	\$0.00	\$30.50	\$000	\$61.00	\$0.00
610	205- 06933	TEMPORARY INLET PROTECTION	0	EACH	\$70.00	\$9.00	\$102.00	5000	\$25.00	\$0.00	\$90.00	\$0.00
611	11796	GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (NYCLUDES EXCAVATION) (UNDISTRIBUTED)	780	SYS	\$8.00	\$6,240.00	\$8.36	\$6,520.80	\$0.10	\$78.00	\$7.25	\$5,655.00
612	301- FV/RQ 304-	COMPATED AGGREGATE NO. 53	670.5	TON	\$28.50	\$19,109.26	\$34.10	\$22,864.05	\$30.00	\$20,115.00	\$32.00	\$21,456.00
613	304- 07450 502-	HWA PATCHING, TYPE B (UNDISTRIBUTED)	10	TON	\$300.00	\$3,000,00	\$302.50	\$3,025.00	\$200.00	\$2,000,00	\$350.00	\$3,500,00
614	FWR0 502-	PCCP, 7" #1. WITH MONOLITHIC CURB	1950	sys	\$48 00	\$93,600 00	\$47.00	\$91,650.00	\$48.00	\$93,600.00	\$58.75	\$114,562.50
615		PCCP, 7 IN (PAVENEUT)	0	SYS	\$48.00	\$0.00	\$50.00	5000	\$0.00	5000	\$57.50	\$0.00

	604				ı							
	F\YR0 604	DETECTABLE WARNING SURFACES S'DEWALK, CONCRETE (4 III) (INCLUDE YARD WALKS)	0	EACH	\$350.00	\$0.00	\$300.00	\$0.60	\$450.00	\$0.00	\$333.00	\$0.00
	604-	(UNDISTR-BUTED)	257	SYS	\$57.00	\$14,649.00	\$58 00	\$14,906.00	\$57.00	\$14,649.00	\$79.75	\$20,495.75
	06066 605-	CURB RAVP, CONCRETE	39	SYS	\$125.00	\$4,875.00	\$110.00	\$4,290.00	\$150.00	\$5,650,00	\$168.25	\$6,561.78
	06120 610- 07713	CURB, CONCRETE (TYPE IIA, PIN CURB ON AFTER STREET POURED)	0	LFT LGT	\$1600	\$9.00	\$1250	50.00	\$0.00	\$0.00	\$15.75	\$0.00
	610-	PCCP FPR APPROACHES, BIN (CONVERCIAL APPROACHES) PCCP FOR APPROACHES, 6 IN (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	141 45	LFT SYS	\$70.00 \$65.00	\$9,870.00 \$2,990.00	\$74.00 \$68.00	\$10,434.00 \$3,128.00	\$80.00 \$67.00	\$11,260.00 \$3,062.00	\$96.76 \$90.50	\$13,500 75 \$4,163.00
	611-	MATBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MATBOXES AND TYPES) (IF IN CONFLICT)	1	EACH	\$150.00	\$150.00	\$220 00	\$220.00	\$250,00	\$250.00	\$254.50	\$254.50
	621-	INDROSEED, WITH HYDROSTICK TACKFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	867	SYS	\$500	\$4,33500	\$2.53	\$2,193.51	\$3.75	\$2.817.75	\$2.25	\$1,960.75
	621-	TOPSO'L	30	TON	\$55.00	\$1,550.00	\$51.00	\$1,530.00	\$45.00	\$1,350.00	\$45.00	\$1,350.00
625	715- FV/R2	PiPE - 12" CMP	0	υFT	\$300.00	\$0.00	\$80.00	\$0.00	\$100.00	\$0.00	\$112.50	\$2.00
626	715 FVVR3	PIPE, TYPE 4, CIRCULAR, 6 IN WIAGGREGATE FOR UNDERDRAIN	1300	LFT	\$1200	\$15,600.00	\$10.34	\$13,442.00	5900	\$11,700 00	\$16.00	\$20,600.00
1	715- 94530	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	5	EACH	\$200.00	\$1,000.00	\$203.50	\$1,017.50	\$150.00	§750 80	\$216 50	\$1,082.50
528	720- FWR1	CASTING, ADJUST TO GRADE (UND:STRIBUTED)	1	EACH	\$500 00	\$500.00	\$203.50	\$203,50	\$750.00	\$750.00	\$211.50	\$211.50
629	720- FWR3	CASTING, 24" SOUD SANTARY MANIFOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	2	EACH	\$1,200.00	\$2,400.00	\$660.00	\$1,320.00	\$850.00	\$1,700.00	\$669.50	\$1,339.00
630		CASTING - 2 X 2 CURB & GUTTER CASTING & ADJUST TO GRADE	2	EACH	\$500.00	\$1,000.00	\$858.00	\$1 ,716.00	\$850.00	\$1,700.00	\$747.50	\$1,495.00
631	FYVR0	MAINTENANCE OF TRAFFIC	11	LS	\$3,500,00	\$3,500,00	\$9,000,00	\$9,000.00	\$12,000.00	\$12,000.00	\$6,260.07	\$6,250.07
532	808- 10033	LINE, MULTI-COMPONENT, SOLID, WHITE, 4 IN	0	LFT	50 60	\$0.00	\$1.40	\$0.00	\$0.00	5000	\$1.00	\$0.00
633	808- 10034 808-	LINE, MULTI-COMPONENT, SOLID, YELLOW, 4 IN	0	UFT	\$0.60	\$9.00	\$1,49	\$0.00	\$9.00	\$0.00	\$1.00	\$0.00
634	10036	DISE MULTI-COMPOSENT, BROKEN, YELLOW, 419	0	দা	90.56	\$0.00	\$1.40	\$0.00	\$0.00	\$0.00	\$1.00	\$0.00
635	10037	LINE, MULTI-COMPONENT, SOLID, WHITE, 8 IN TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24	0	ĿFT	\$0.75	\$0.00	52 50	\$0.00	\$0.00	\$9.00	\$200	\$0.00
636	10061	N.	. 14	LFT	\$15.00	\$210 00	\$22.00	\$358.60	\$30.00	\$420.00	\$20 00	\$280 00
637	10062 608-	PAVENENT MESSAGE MARKING, HULTI-COMPONENT, ONLY	0	EACH	\$300 00	\$0.00	\$350.00	\$0.00	\$0.00	\$0.00	\$250.00	\$0.00
638	10053	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE,	0	EACH	\$450.00	\$0.00	\$2,000.00	\$0.00	\$0.00	\$9.00	\$1,750.00	\$0.00
639		WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE	60	. UFT	\$0.70	\$42.00	\$660	\$396.00	\$20.00	\$1,200.00	\$6.00	\$360.00
640	10077 105-	INDICATION AR ROW	0	EACH	\$250.00	\$0.00	\$350 00	\$0.00	\$0.00	\$0.00	\$250.00	\$0.00
641	06845 110-	CONSTRUCTION ENGINEERING	1	LS	\$2,000.00	\$2,000.00	\$2,702.00	\$2,702.00	\$12,000.00	\$12,000.00	\$2,777.78	\$2,777.78
642	01001 - 201-	MOB-LIZATION AND DEMOB-LIZATION	1	LS	\$4,000.00	\$4,000 00	\$8,168.50	\$9,169.50	\$12,000.00	\$12,000 00	\$23,038.17	\$23,038.17
643	02255 201-	TREE 18 IN , REMOVE (INCLUDES STUMP GRINDING)	0	EACH	\$1,600.00	\$0.00	\$1,600.00	\$0.00	\$1,500.00	\$0.00	\$1,400.00	\$0.00
644	02260 201-	TREE 30 IN , REMOVE (INCLUDES STUMP GRUIDING)	0	EACH	\$2,400.00	\$0.00	\$1,800.00	\$0.00	\$2,500.00	\$0.00	\$1,950.00	\$0.00
645	02265 201-	TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING)	0	EACH	\$2,600,00	\$0.00	\$2,200.00	\$0.00	\$3,500.00	\$0.00	\$2,500.00	\$0.00
646		TREE 60 IN , REMOVE PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE	0	EACH	\$2,800,00	\$0.00	\$5,000.00	50 00	\$5,000.00	8000	\$5,500.00	\$000
647	02240 202-	PAVEMENT)	5805	SYS	\$1450	\$84,172.50	\$1276	\$74,071.80	\$11.00	\$63,656.00	\$1625	\$94,331.25
648 649	93615 203- 02000	CONCRETE REMOVE	11754	SYS CYS	\$1650 \$3200	\$19,394.10 \$0.00	\$14.96 \$40.00	\$17,583.96 \$0.00	\$15.00 \$30.00	\$17,631,00 \$0.00	\$15.50 \$61.00	\$18,218.70
660	205- 06933	EXCAVATION, COMMON (UNDISTIBUTED)	2	EACH	\$70.00	\$140.00	\$102.00				\$90.00	\$0.00 \$180.00
651		TEMPORARY INLET PROTECTION GEOGRID, TYPE 1B, BX-1200 OR APPROVED EQUAL (SICLUDES EXCAVATION) (UNDISTRIBUTED)	2322				\$102.00	\$204.00	\$25,00 \$0.10	\$50.00 \$232.20	\$90.00	
652	301- FWR0	COMPATED AGGREGATE NO. 53	1575	SYS TON	\$8 00 \$28 50	\$18,576.00 \$44,887.50	\$35.64	\$19,411.92 \$56,133.00	\$30.00	\$47.250 00	\$32.00	\$16,834.50 \$50,400.00
653	304- 07490	HMA PATCHING, TYPE B (UND:STRIBUTED)	5	TON	\$300.00	\$1,500.00	\$302.50	\$1,512.50	\$200.00	\$1,000.00	\$350.00	\$1,750.00
654	502- FWR0	PCOP, 7°81, WITH MONOLITICS CURB	5805	sys	\$48.00	\$278,640.00	\$47.00	\$272.835.00	\$48.00	\$278.640.00	\$59.75	\$341,043.75
655	502- 11564	PCCP, 7 IN (PAVEMENT)	0	SYS	\$48.00	\$0.00	\$50.00	\$0.00	\$48.00	\$0.00	\$57.50	\$0.00
666	604 FWR0	DETECTABLE WARNING SURFACES	2	EACH	\$350.00	\$760.00	\$250.00	\$500.00	\$450.00	\$900 00	\$338.00	\$676.00
657	504- 06070	S/DEWALK, CONCRETE (4 IN.) (INCLUDE YARD WALKS) (UND:STRIBUTED)	537.4	sys	\$57.00	\$30,631.80	\$58.00	\$31,169.20	\$57.00	\$30,631,80	\$79.75	\$42,657.60
658	504 03066	CURB RAVP, CONCRETE	113	sys	\$125°00	\$14,125.00	\$110.00	\$12,430.00	\$150.00	\$16,950.00	\$168.25	\$19,012.25
659	605- 06120	CURB. CONCRETE (TYPE NA. P.N. CURB ON AFTER STREET POURED)	e	LFT	\$16.00	\$0.00	\$12.50	\$0.00	\$0.00	\$0.00	\$15.76	\$0.00
660	510- 07713	PCCP FPR APPROACHES, 8 IN (COMMERCIAL APPROACHES)	301	ĿŦ	\$70.00	\$21,070 00	574 ∞	\$22,274.00	\$80.00	\$24,080.00	\$95,76	\$28,820.75
661	03446	PCCP FOR APPROACHES, 6 PL (RESIDENTIAL DRIVES) (UNDSTRIBUTED)	224	sys	\$65.00	\$14,560.00	\$68.00	\$15,232.00	\$67.00	\$15,008.00	\$90 50	\$20,272.00
662	C3233	MA'LBOX ASSEVBLY, RESET STIGLE ATO DOUBLE (NCLUDES ALL MA'LBOXES AND TYPES) (IF IN CONFLICT) HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT	3	EACH	\$150.00	\$450.00	\$220.00	\$660.00	\$250 00	\$750.00	\$254 50	\$763.50
663	621- FVVR0 621-	POLYMER FOR EROSION CONTROL AND STRAW MULCH	2580	sys	\$5 00	\$12,900.00	\$2.53	\$6,527.40	\$3.25	\$8,365.00	\$2.25	\$5,605.00
664		TOPSO'L	200	TON	\$55.00	\$11,000.00	\$51.00	\$10,200.00	\$45,00	\$9,000.00	\$45.00	\$9,000 00
665	FWR2 715-	P.PE - 12" CMP	0	UT.	93000	\$0.00	\$50.00	\$0.00	5100.00	8000	\$112.50	\$0.00
666	F\VR3	P.PE. TYPE 4. CIRCULAR, 6 IN WAGGREGATE FOR UNDERDRAIN ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE	3870	भा	\$12.00	\$46,440.00	\$10.01	\$38,738,70	\$9.00	\$34,830.00	\$16.00	\$61,920.00
667	94530 720-	BOX)(UNDISTRIBUTED)	9	EACH	\$200.00	\$1,800.00	\$203.50	\$1,831.50	\$150.00	\$1,350.00	\$216 50	\$1,948.50
668	FV/R1 720-	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24' SOLID SANTARY MANHOLE, FURINSH AND ADJUST TO	7	EACH	\$500.00	\$3,500.00	\$203.50	\$1,424.50	\$750.00	\$5,250.00	\$211.50	\$1,490.50
	FV/R3	GRADE (UNDISTRIBUTED)	1	EACH	\$1,200.00	\$1,200.00	\$660.00	\$660.00	\$650.00	\$550.00	\$669.50	\$669.50
	E01-	CASTING - 2 X Z CURB & GUTTER CASTING & ADJUST TO GRADE	6	EACH	\$500.00	\$3,000,00	\$658.00	\$5,148 00	\$650.00	\$5,100.00	\$747,50	\$4,485.00
	608-	MAINTENANCE OF TRAFFIC	1	LS	\$3,500,00	\$3,500.00	\$10,000.00	\$10,000,00	\$12,000,00	\$12,000,00	\$5,260.07	\$6,260.07
672	608-	LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN	0	भा	\$0.60	\$0,00	\$1.40	50 00	\$0.00	\$0.00	\$1.00	\$0.00
673	808-	LINE MULTI-COMPONENT, SOUD, YELLOW, 4 IN.	0	LFT	\$0.60	\$0.00	\$1,40	\$0.00	50.00	50.00	\$1.00	50.00
674	808-	UNE MULTI-COMPONENT, BROKEN, YELLOW, 4 N.	0	LFT LFT	\$0.55	\$0.00	\$1.40	\$0.00	\$900	\$9.00	\$1.00	\$0.00
675	808	LINE MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN.	13	LFT LFT	\$0.75 \$15.00	\$0.00 \$196.00	\$2.50 \$22.00	\$0.00 \$286.00	\$0.00 \$30.00	\$9.00	\$200	\$0.00 \$360.00
676 677	-603	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	0	EACH	\$1500	\$19500	\$22.00 \$350.00	\$286.00	\$30.00	\$390.00 \$0.00	\$20.00 \$250.00	\$260.00 \$0.00
678	608-	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R.X.R.	0	EACH EACH	\$450.00	\$0.00	\$2,000,00	\$9.00	\$0.00	\$000 \$000	\$250.00	\$0 CC
679	10053 808- 10056	HAVENERI MESSAGE MAKAMA, MICTI-COMPONENT, RIX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK DINE, VINTE, 6 IN	80	LFT	\$450,00	\$56.00	\$2,00000	\$528.00	\$20.00	\$1,600.00	\$1,75000	\$450.00
	808-	MATURE OF THE PROPERTY WAS A STREET OF THE PROPERTY LAKE INDICATION AR ROW	0	EACH	\$0.70 \$250.00	\$0.00	\$350.00	\$528 CC \$0 CC	\$2000	\$0.00	\$250.00	\$0.00
	105- 06845	CONSTRUCTION ENGINEERING	1	LS	\$2,000 00	\$2,000.00	\$3,301.50	\$3,301.50	\$12,000.00	\$12,000.00	\$2,777.78	\$2,777.78
682	110-	MOBILIZATION AND DEMOBILIZATION	1	LS	\$4,000,00	\$4,000.00	\$11,226.50	\$11,226.50	\$12,000 00	\$12,000.00	\$23,038.17	\$23,038.17
	201- 02255	TREE 18 IN , REMOVE (INCLUDES STUMP GRANDING)	2	EACH	\$1,600.00	\$3,200.00	\$1,368.50	\$2,717,00	\$1,500.00	\$3,000,00	\$1,400.00	\$2,800.00
684	201-	TREE 30 IN., REMOVE (ASCLUDES STUVP GRADING)	1	EACH	\$2,400.00	\$2,400.00	\$1,430.00	\$1,430.00	\$2,500.00	\$2,500.00	\$1,950.00	\$1,950.00

T												
685 0		TREE 48 IN , REMOVE (ANCLUDES STUMP GRINDWG)	0	EACH	\$2,600.00	\$0.00	\$2,200.00	\$0.00	\$3,500.00	\$9.00	\$2,800,00	\$0.00
686 0	01. 2270	TREE 60 IN , REMOVE	0	EACH	\$2,500.00	\$0.00	\$5,000.00	\$0.00	\$5,000.00	\$0.00	\$5,500.00	\$0.00
587 0	02- 2240	PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	8175	SYS	\$1450	\$118,537.50	\$12.65	\$103,413.75	\$11,00	\$89,925.00	\$1625	\$132,843.75
883 9		CONCRETE REMOVE	1451	sys	\$1650	\$23,941.50	\$16.17	\$23,452.67	\$15.00	\$21,765 00	\$15 50	\$22,490 50
689 O	03- 2000	EXCAVATION, COMMON (UNDISTIBUTED)	. 0	CYS	\$32.00	\$0.00	\$40.00	\$0.00	\$30.00	\$0.00	\$61.00	\$0.00
	05- 6933	TEMPORARY INLET PROTECTION	6	EACH	\$70.00	\$420.00	\$102.00	\$612.00	\$25.00	\$150.00	\$90.00	\$540.00
	14- 1796	GEOGRIO, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	3270	5 Y5	\$8.00	\$26,160.00	\$8.36	\$27,337.20	\$0.10	\$327.00	\$7.25	\$23,707.50
	01- VVRO	COMPATED AGGREGATE NO. 53	2100	TON	\$28 50	\$59,850.00	\$35.66	\$75,306.00	\$30.00	\$63,000.00	\$32.00	\$67,200 00
	04 17490	HMA PAYCHING, TYPE B (UNDISTRIBUTED)	2	TON	\$300.00	\$600.00	\$302.50	\$605.00	\$200.00	\$400.00	\$350.00	\$700.00
	02- Y/R0	PCCP, 7" IN: WITH MONOLITHIC CURB	0	SYS	\$48.00	\$0.00	\$50.00	\$0.09	\$5000	\$000	\$58.75	\$0.00
5	02- 1564	PCCP, 7 IN (PAVEMENT)	8176	SYS	\$43.00	\$392,400.00	\$48.00	\$392,400 00	\$48.00	\$392,400.00	\$57.50	\$470.062.50
6	04- WR0	DETECTABLE WARNING SURFACES	6	EACH	\$350.00	\$2,100.00	\$250.00	\$1,500.00	\$450.00	\$2,700.00	\$338.00	\$2,028.00
6	04- 6070	S-DEWALK, CONCRETE (4 IN) (INCLUDE YARD WALKS) (UNDISTRIBUTED)	540	SYS	\$57.00	\$30,780.00	\$58.00	\$31,320.00	\$57.00	\$30,780.00	\$79.75	\$43,065.00
6	04 6066	CURB RAVP, CONCRETE	122	SYS	\$125.00	\$15,250.00	\$110.00	\$13,420.00	\$150.00	\$18,300.00	\$168.25	\$20,526,50
6	05- 6120	CURB, CONCRETE (TYPE IIA, PIN CURB ON AFTER STREET POURED)	3723	LFT	\$1600	\$59,568.00	\$12.50	\$46,537.50	\$15.00	\$55,845.00	\$15.75	\$58,637.25
6	10- 17713	PCCP FPR APPROACHES, 8 IN. (COUVERCIAL APPROACHES)	521	U-T	\$70.00	\$35,470 00	\$74.00	\$38,554.00	\$60.00	\$41,660.00	\$95.75	\$49.855.75
6		PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	268	SYS	\$65.00	\$17,420.00	\$68.00		\$67.00			
6	9233	MAILBOX ASSEMBLY, RESET SYNGLE AND DOUBLE (INCLUDES ALL MAILBOXES AND TYPES) (IF IN CONFLICT)	3	EACH	\$150.00			\$18,224.00		\$17,956 00	\$90.50	\$24,254.00
6	21-	HYDROSEED, WITH HYDROSTICK TACKFIER OR EQUIVALENT POLYNER FOR EROSION CONTROL AND STRAW MULCH				\$450.00	\$220.00	\$660.00	\$250.00	\$750 00	\$254.50	\$763.50
6	21-		2934	SYS	\$500	\$14,670.00	\$2.53	\$7,423.02	\$325	\$9,535.50	\$2.25	\$5,601.50
7	17R1	TOPSO:L	160	TON	\$55.00	\$8,600 50	\$51.00	\$8,160.00	\$45.00	\$7,200.00	\$45.00	\$7,200.00
7	15-	P/PE - 12' CMP	0	ĻFŢ	\$300.00	\$0.00	\$60.00	\$0.00	\$100.00	50,00	\$11250	\$0.00
7	15-	PAPE, TYPE 4, CIRCULAR, 6 IN WIAGGREGATE FOR UNDERDRAIN ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE	5318	LFT	\$1260	\$63,816.00	\$8.97	\$47,702.46	\$9.00	\$47,862.00	\$16.00	\$85,068.00
7	20-	BOX(UNDISTRIBUTED)	2	EACH	\$200.00	\$400.00	\$203.50	\$407.00	\$150.00	5300 00	\$216.50	\$433.00
7	20-	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24' SOUD SANTARY MARKOLE, FURNISH AND ADJUST TO	22	EACH	\$500 CO	\$11,000.00	\$203.50	\$4,477.00	\$750.00	\$16,500.00	\$211.50	\$4,653.00
7	WR3 '20-	GRADE (UNDISTRIBUTED)	3	EACH	\$1,200.00	\$3,600.00	\$660.00	\$1,960.00	\$850.00	\$2,550.00	\$569 50	\$2,008.50
8	Ö1-	CASTING - 2' X 2' CURB & GUTTER CASTING & ADJUST TO GRADE	0	EACH	\$500 00	\$0.00	\$960 00	\$0.00	\$850.00	50.00	\$747,50	\$0.00
	WR0	MAINTENANCE OF TRAFFIC	1 .	ĹS	\$3,500.00	\$3,500.00	\$21,000 00	\$21,003 00	\$12,000.00	\$12,000.00	\$6,279.60	\$5,279 60
	0033 03-	UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN	100	LFT	\$0.60	\$60.00	51.10	\$110.00	\$1.50	\$150.00	\$1.00	\$100.00
	0034	UNE, MULTI-COMPONENT, SOLID, YELLOW, 4 IN	570	UFT .	\$0.60	\$342.00	\$1,10	\$627.00	\$1.50	\$556.00	\$1.00	\$570 00
	0036 08-	UNE, MULTI-COMPONENT, BROXEN, YELLOW, 4 IN.	240	LFT	\$0.55	5132 00	\$1.10	\$264 00	\$1.50	\$360 00	\$1.00	\$240.00
715 1	0037	LINE, MULTI-COMPONENT, SOLIO, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 24	50	UFT	\$0.75	\$37.50	\$2 20	\$110.00	\$4.00	\$200.00	\$2.00	\$100.00
716 1	0051 08-	N.	27	டி	\$15.00	\$405.00	\$22.00	\$594 00	\$30.00	\$810.00	\$20.00	\$540 00
717 1	0052 08-	PAVENENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	1	EACH	\$300.00	\$300.00	\$275.00	\$275.00	\$3,000.00	\$3,000.00	\$250.00	\$250.00
718 1	0053	PAVENEJIT MESSAGE MARKING, MULTI-COMPONEJIT, R.X.R. TRANSVERSE MARKING, MULTI-COMPONEJIT, CROSSWALK UNE,	00	EACH	\$450 00	\$0.00	\$2,060.00	\$8.00	\$3,000.00	\$0.00	\$1,750.00	50.00
719 1	9300 50	WHITE, 6 IN. PAVENENT MESSAGE MARKINGS MULTI-COVPONENT LANE	120	LFT	\$0.70	\$84 00	\$6.60	\$792.00	\$20.00	\$2,400.00	\$6 00	\$720.00
720 1	0077	INDICATION AR ROW	1	EACH	\$250.00	\$250.00	\$275.00	\$275 00	\$3,000.00	\$3,000.00	\$250.00	\$250.00
	1299	FORCE ACCOUNT WORK / WORK ALLOWANCE	150000	DOL	\$1.00	\$150,000.00	51 .00	\$150,000.00	\$1.00	\$150,000 00	\$1.00	\$150,000 00



Notice of Award

Project: Community Crossings Grant 2025	
Owner: City of Fort Wayne Board of Works	
Resolution/Work Order #0721C	
Bidder: Malott Contracting, Inc	
Bidder's Address: PO Box 292	
Kendallville, IN 46755	

You are notified that your Bid dated 5/29/2025 for the above Contract has been considered. You are the Successful Bidder and are awarded a Contract for Community Crossings Grant 2025

Improve the Westchester Neighborhood and S.W. Waynedale Neighborhood, by the removal of the existing concrete streets and replacing with new concrete streets. The removal and replacement of select existing sidewalk and drive approaches. Removing existing curb ramps and replacing with new ADA compliant curb ramps. There will be subsurface drainage installed and the replacement and ad-justment of existing castings with the restoration of disturbed areas.

The Contract Price of your Contract is \$6,680,662.37.

1 copy of the proposed Construction Contract (except Drawings) accompany this Notice of Award.

You must comply with the following conditions precedent within [10] days of the date you receive this Notice of Award.

- 1. Deliver to the Owner [1] fully executed counterparts of the Construction Contract,
- 2. Deliver with the executed Agreement the following documents:
 - a. Performance Bond
 - b. Payment Bond
 - c. Certificate of Insurance
 - d. Executed E-Verify Affidavit.
 - e. Executed Drug Policy Acknowledgement Form.
- 3. Deliver evidence of successful Bidder's Affirmative Action Plan; OR, executed City of Fort Wayne Affirmative Action Program document to City of Fort Wayne Vendor Compliance, michelle,metzger@cityoffortwayne.org.



Notice of Award

Failure to comply with these conditions within the time specified will entitle Owner to consider you in default, annul this Notice of Award, and declare your Bid security forfeited. Contractor will be allowed an additional 11 calendar days to submit Bonds.

Within thirty days after you comply with the above conditions, Owner will return to you one fully executed counterpart of the Agreement.

CITY OF FORT WAYNE BOARD OF PUBLIC WORKS

Shan Gunawardena, Chair

Kumar Menon, Member

Chris Guerrero, Member

ATTEST:

Michelle Fulk-Vondran, Clerk

Date: 6.3.2025

cc: Project Manager

AGREEMENT BETWEEN OWNER AND CONTRACTOR FOR CONSTRUCTION CONTRACT (STIPULATED PRICE)

Resolution/Work Order #0721C

This Agreement is by and between the City of Fort Wayne – Board of Public Works ("Owner") and Malott Contracting, Inc. ("Contractor").

Terms used in this Agreement have the meanings stated in the General Conditions and the Supplementary Conditions.

Owner and Contractor hereby agree as follows:

ARTICLE 1-WORK

1.01 Contractor shall complete all Work as specified or indicated in the Contract Documents. The Work is generally described as follows: Improve the Westchester Neighborhood and S.W. Waynedale Neighborhood, by the removal of the existing concrete streets and replacing with new concrete streets. The removal and replacement of select existing sidewalk and drive approaches. Removing existing curb ramps and replacing with new ADA compliant curb ramps. There will be subsurface drainage installed and the replacement and adjustment of existing castings with the restoration of disturbed areas.

ARTICLE 2—THE PROJECT

2.01 The Project, of which the Work under the Contract Documents is a part, is generally described as follows: **COMMUNITY CROSSINGS GRANT 2025**

ARTICLE 3—ENGINEER

3.01 The part of the Project that pertains to the Work has been designed by **TRANSPORTATION ENGINEERING**.

ARTICLE 4—CONTRACT TIMES

- 4.01 Time is of the Essence
 - A. All time limits for Milestones, if any, Substantial Completion, and completion and readiness for final payment as stated in the Contract Documents are of the essence of the Contract.
- 4.02 Contract Times: Dates
 - A. The Work will be substantially complete on or before 9/14/2026, and completed and ready for final payment in accordance with Paragraph 15.06 of the General Conditions on or before 9/21/2026.

4.03 Milestones

- A. Parts of the Work must be substantially completed on or before the following Milestone(s):
 - Milestone 1 School will need to be out of session for construction of Elzey Street and a section of McArthur
 - 2. Milestone 2 [N/A]
 - 3. Milestone 3 [N/A]

4.05 Liquidated Damages

- A. Contractor and Owner recognize that time is of the essence as stated in Paragraph 4.01 above and that Owner will suffer financial and other losses if the Work is not completed and Milestones not achieved within the Contract Times, as duly modified. The parties also recognize the delays, expense, and difficulties involved in proving, in a legal or arbitration proceeding, the actual loss suffered by Owner if the Work is not completed on time. Accordingly, instead of requiring any such proof, Owner and Contractor agree that as liquidated damages for delay (but not as a penalty):
 - Substantial Completion: Contractor shall pay Owner up to \$1000 for each day that
 expires after the time (as duly adjusted pursuant to the Contract) specified above for
 Substantial Completion, until the Work is substantially complete.
 - 2. Completion of Remaining Work: After Substantial Completion, if Contractor shall neglect, refuse, or fail to complete the remaining Work within the Contract Times (as duly adjusted pursuant to the Contract) for completion and readiness for final payment, Contractor shall pay Owner up to \$1000 for each day that expires after such time until the Work is completed and ready for final payment.
 - 3. Milestones: Contractor shall pay Owner up to \$1000 for each day that expires after the time (as duly adjusted pursuant to the Contract) specified above for achievement of Milestone 1, until Milestone 1 is achieved, or until the time specified for Substantial Completion is reached, at which time the rate indicated in Paragraph 4.05.A.1 will apply, rather than the Milestone rate.
 - 4. Liquidated damages for failing to timely attain Milestones, Substantial Completion, and final completion are not additive, and will not be imposed concurrently.
- B. If Owner recovers liquidated damages for a delay in completion by Contractor, then such liquidated damages are Owner's sole and exclusive remedy for such delay, and Owner is precluded from recovering any other damages, whether actual, direct, excess, or consequential, for such delay, except for special damages (if any) specified in this Agreement.

ARTICLE 5—CONTRACT PRICE

- 5.01 Owner shall pay Contractor for completion of the Work in accordance with the Contract Documents, the amounts that follow, subject to adjustment under the Contract:
 - A. For all Work, at the prices stated in Contractor's Bid, attached hereto as an exhibit.
 - B. Total of all unit prices \$6,680,662.37.

ARTICLE 6—PAYMENT PROCEDURES

- 6.01 Submittal and Processing of Payments
 - A. Contractor shall submit Applications for Payment in accordance with Article 15 of the General Conditions. Applications for Payment will be processed by Engineer as provided in the General Conditions.
- 6.02 Progress Payments; Retainage
 - A. Owner shall make progress payments on the basis of Contractor's Applications for Payment no more often than every 30 days during performance of the Work as provided in Paragraph 6.02.A.1 below, provided that such Applications for Payment have been submitted in a timely manner and otherwise meet the requirements of the Contract. All such payments will be measured by the Schedule of Values established as provided in the General Conditions (and in the case of Unit Price Work based on the number of units completed) or, in the event there is no Schedule of Values, as provided elsewhere in the Contract.
 - Prior to Substantial Completion, progress payments will be made in an amount equal to the percentage indicated below but, in each case, less the aggregate of payments previously made and less such amounts as Owner may withhold, including but not limited to liquidated damages, in accordance with the Contract.
 - a. 95 percent of the value of the Work completed (with the balance being retainage).
 - b. **95** percent of cost of materials and equipment not incorporated in the Work (with the balance being retainage).

6.03 Final Payment

A. Upon final completion and acceptance of the Work, Owner shall pay the remainder of the Contract Price in accordance with Paragraph 15.06 of the General Conditions.

ARTICLE 7—CONTRACT DOCUMENTS

- 7.01 Contents
 - A. The Contract Documents consist of all of the following:
 - 1. This Agreement.

- 2. Bonds:
 - a. Performance bond (together with power of attorney).
 - b. Payment bond (together with power of attorney).
- 3. General Conditions.
- 4. Supplementary Conditions.
- 5. Specifications as listed in the table of contents of the project manual (copy of list attached).
- 6. Drawings (not attached but incorporated by reference) consisting of **35** sheets with each sheet bearing the following general title: Community Crossing Grant **2025**
- 7. Addenda (numbers [1] to [1], inclusive).
- 8. Exhibits to this Agreement (enumerated as follows):
 - a. Drug Policy Acknowledgement Form (Project Bids under \$150,000.00) or Written copy of Contractors Drug Policy (Project Bids over \$150,000.00)
 - b. E-Verify Affidavit
 - c. Escrow account agreement
- 9. The following which may be delivered or issued on or after the Effective Date of the Contract and are not attached hereto:
 - a. Notice to Proceed.
 - b. Work Change Directives.
 - c. Change Orders.
 - d. Field Orders.
 - e. Warranty Bond, if any.
- B. The Contract Documents listed in Paragraph 7.01.A are attached to this Agreement (except as expressly noted otherwise above).
- C. There are no Contract Documents other than those listed above in this Article 7.
- D. The Contract Documents may only be amended, modified, or supplemented as provided in the Contract.

ARTICLE 8—REPRESENTATIONS, CERTIFICATIONS, AND STIPULATIONS

8.01 Contractor's Representations

- A. In order to induce Owner to enter into this Contract, Contractor makes the following representations:
 - 1. Contractor has examined and carefully studied the Contract Documents, including Addenda.
 - Contractor has visited the Site, conducted a thorough visual examination of the Site and adjacent areas, and become familiar with the general, local, and Site conditions that may affect cost, progress, and performance of the Work.
 - 3. Contractor is familiar with all Laws and Regulations that may affect cost, progress, and performance of the Work.
 - 4. Contractor has carefully studied the reports of explorations and tests of subsurface conditions at or adjacent to the Site and the drawings of physical conditions relating to existing surface or subsurface structures at the Site that have been identified in the Supplementary Conditions, with respect to the Technical Data in such reports and drawings.
 - Contractor has carefully studied the reports and drawings relating to Hazardous Environmental Conditions, if any, at or adjacent to the Site that have been identified in the Supplementary Conditions, with respect to Technical Data in such reports and drawings.
 - 6. Contractor has considered the information known to Contractor itself; information commonly known to contractors doing business in the locality of the Site; information and observations obtained from visits to the Site; the Contract Documents; and the Technical Data identified in the Supplementary Conditions or by definition, with respect to the effect of such information, observations, and Technical Data on (a) the cost, progress, and performance of the Work; (b) the means, methods, techniques, sequences, and procedures of construction to be employed by Contractor; and (c) Contractor's safety precautions and programs.
 - 7. Based on the information and observations referred to in the preceding paragraph, Contractor agrees that no further examinations, investigations, explorations, tests, studies, or data are necessary for the performance of the Work at the Contract Price, within the Contract Times, and in accordance with the other terms and conditions of the Contract.
 - 8. Contractor is aware of the general nature of work to be performed by Owner and others at the Site that relates to the Work as indicated in the Contract Documents.

- 9. Contractor has given Engineer written notice of all conflicts, errors, ambiguities, or discrepancies that Contractor has discovered in the Contract Documents, and of discrepancies between Site conditions and the Contract Documents, and the written resolution thereof by Engineer is acceptable to Contractor.
- 10. The Contract Documents are generally sufficient to indicate and convey understanding of all terms and conditions for performance and furnishing of the Work.
- 11. Contractor's entry into this Contract constitutes an incontrovertible representation by Contractor that without exception all prices in the Agreement are premised upon performing and furnishing the Work required by the Contract Documents.

8.02 Contractor's Certifications

- A. Contractor certifies that it has not engaged in corrupt, fraudulent, collusive, or coercive practices in competing for or in executing the Contract. For the purposes of this Paragraph 8.02:
 - "corrupt practice" means the offering, giving, receiving, or soliciting of anything of value likely to influence the action of a public official in the bidding process or in the Contract execution;
 - "fraudulent practice" means an intentional misrepresentation of facts made (a) to influence the bidding process or the execution of the Contract to the detriment of Owner, (b) to establish Bid or Contract prices at artificial non-competitive levels, or (c) to deprive Owner of the benefits of free and open competition;
 - "collusive practice" means a scheme or arrangement between two or more Bidders, with or without the knowledge of Owner, a purpose of which is to establish Bid prices at artificial, non-competitive levels; and
 - "coercive practice" means harming or threatening to harm, directly or indirectly, persons or their property to influence their participation in the bidding process or affect the execution of the Contract.

8.03 Standard General Conditions

A. Owner stipulates that if the General Conditions that are made a part of this Contract are EJCDC® C-700, Standard General Conditions for the Construction Contract (2018), published by the Engineers Joint Contract Documents Committee, and if Owner is the party that has furnished said General Conditions, then Owner has plainly shown all modifications to the standard wording of such published document to the Contractor, through a process such as highlighting or "track changes" (redline/strikeout), or in the Supplementary Conditions.

9.01 Terms

Terms used in this Agreement will have the meanings stated in the General Conditions

9.02 Severability

Any provision or part of the Contract Documents held to be void or unenforceable under any Law or Regulation shall be deemed stricken, and all remaining provisions shall continue to be valid and binding upon Owner and Contractor, who agree that the Contract Documents shall be reformed to replace such stricken provision or part thereof with a valid and enforceable provision that comes as close as possible to expressing the intention of the stricken provision.

9.03 Emerging Business Enterprise(EBE) Participation

EBE Retainage Requirements – If the Contractor is in compliance with the provisions of the construction Contract the Owner will make payments for such work performed and completed. Pursuant to Executive Order 90-01 (amended 5-8-06); the Owner will retain five percent (5%) of the Contract Price to ensure compliance with the EBE participation requirements. Upon final inspection and acceptance of the Work, and determination by the Fort Wayne Board of Public Works that the Contractor has made a good faith effort to subcontract ten percent (10%) of the Contract Price to emerging business enterprises, the Contractor will be paid in full.

In the event there is a determination that good faith compliance with these EBE participation requirements has not occurred, appropriate reduction in the final payment pursuant to paragraph 9.03.E will be made.

If the Contract Price is in excess of \$200,000, the contract will be subject to the standard Board of Public Works escrow agreement. However, payments to the Contractor are not to exceed 95% of the total Contract Price until the Owner has verified that the Contractor has made good faith efforts to attain the 10% EBE goal stipulated in here within. Payment of the final 5% of the total Contract Price will be dependent upon acceptance of the Work, in accordance with Paragraph 15.06 of the General Conditions, and good faith efforts to comply with these EBE participation requirements; subject to reduction in the event of non-compliance as provided in paragraph 9.03.E.

- A. Request for Waiver If, at the time final payment application is made, Contractor has not attained the ten percent (10%) EBE goal, Contractor shall file with the final payment application a "Request for Waiver." Said Request for Waiver shall contain a written description of the efforts taken by Contractor to attain the ten percent (10%) EBE goal.
- B. Determination of Waiver Requests The Vendor Compliance Department of the City of Fort Wayne shall examine all Requests for Waiver to determine if Contractor's efforts constitute good faith efforts to attain such goal and shall submit recommendations concerning said requests for Waiver for the final determination of the Board of Public Works of the City of Fort Wayne.
- C. Good Faith Efforts. In determining whether or not the Contractor used "good faith" efforts, the following shall be considered:

- 1. Whether the contract can be subdivided as determined by the Engineer and Administrator of Contract Compliance;
- 2. Availability of certified EBE businesses to participate as subcontractors;
- 3. Non-competitive price quotes received from EBE firms. The Board of Public Works' determination for granting a reduction or waiver of the goal because of higher quotes from EBE firms will be based on factors that include, but are not limited to the following:
 - a. The Engineer's estimate for the work under a specific contract;
 - b. The Contractor's own estimate for the work under the subcontract;
 - c. An average of the valid prices quoted for the subcontract;
 - d. Demonstrated increase in other contract costs as a result of sub-contracting to EBE firm(s).
- 4. Documented measures taken by the Contractor to comply with the EBE participation goal;
- EBE subcontractor failed to fulfill their obligation in regard to the time delivery of goods and/or services. Also in regards to the quality of the goods and/or services set forth in the bid specifications.
- 6. Such other matters as the Board of Public Works deems relevant.
- D. Consequences of Noncompliance In the event the Board of Public Works approves a recommendation that Contractor failed to make good faith efforts at compliance, the Contract Price shall be reduced by the amount calculated as the difference between the EBE participation goal of 10% and the actual participation level met by the Contractor, but in no case shall it be reduced by more than 5%. Said amount shall be added to the City of Fort Wayne EBE Bond Guarantee Fund and Contractor agrees to accept the reduced amount as full payment under the terms of his/her Contract.
- E. Waiver Approved In the event the Board of Public Works determines that a good faith effort to comply with these EBE participation requirements has been made, the Contract Price shall not be reduced, and the balance owing to the Contractor shall be paid in full.

ACKNOWLEDGMENT

STATE OF INDIANA)		
SS:)		
COUNTY OF ALLEN)		
BEFORE ME, a Notary Public, in and for said Co	ounty and State, thisday of	, 20,
personally appeared the within named	who being by me first duly	sworn upon
personally appeared the within namedhis oath says that he is the	ofand a	as such duly
authorized to execute the foregoing instrume	ent and acknowledged the same as the volunt	ary act and
deed of for the uses	and purposes therein set forth.	
IN WITNESS WHEREOF, hereunto subscribed n	ny name, affixed my official seal.	
	Notary Public	
	Printed Name of Notary	
My Commission Expires:		
wy Commission Expires.		
Resident of County.		
resident of county.		
<u>ACKI</u>	NOWLEDGMENT	
STATE OF INDIANA)		
SS:)		
COUNTY OF ALLEN)		
•		
BEFORE ME, a Notary Public, in and for said Co	ounty and State, this day of	, 20 ,
	Tucker, Shan Gunawardena, Kumar Menon, C	
	personally known, who being by me duly swor	
· · · · · · · · · · · · · · · · · · ·	Fort Wayne, and Chairman, Members, and Cle	
Board of Public Works of the City of Fort Way	ne, Indiana, and that they signed said instrume	ent on
behalf of the City of Fort Wayne, Indiana, with	full authority so to do and acknowledge said in	strument
to be in the voluntary act and deed of said City		
IN WITNESS WHEREOF, hereunto subscribed n	ny name, affiyed my official seal	
The territory increases subscribed in	ny name, anixea my ornelai seal.	
	Notary Public	
	•	
	Printed Name of Notary	
My Commission Expires:		
Resident of County.		

IN WITNESS WHEREOF, Owner and Control (19721C).	ractor have signed this Agreement (Contract/Resolution Number
This Agreement will be effective on _ Agreement).	(which is the Effective Date of the
CONTRACTOR	OWNER
Malott Contracting, Inc.	CITY OF FORT WAYNE
BY:	
Print Name	SHARON TUCKER, MAYOR
TITLE:	BOARD OF PUBLIC WORKS
DATE:	BY:
(Date signed by Contractor)	SHAN GUNAWARDENA, CHAIR
	BY:
Address for giving notices:	KUMAR MENON, MEMBER
2 0	ВУ:
	CHRIS GUERRERO, MEMBER
	ATTEST:
	MICHELLE FULK-VONDRAN, CLERK
	DATE:
	(Date signed by Board)

Section Tit		Item Code	Item Description	UofM	Quantity	Malott Contractin Unit Price	Extension
0721C -202				ļ			\$6,530,662.37
	1	105-06845 LINE A KIMBERTON	CONSTRUCTION ENGINEERING	LS	1	\$2,553.50	\$2,553.50
	2	110-01001 LINE A KIMBERTON	MOBILIZATION AND DEMOBILIZATION	LS	1	\$5,693,50	\$5,693.50
		201-02255 LINE A KIMBERTON	TREE 18 IN , REMOVE (INCLUDES STUMP GRINDING)	EACH	1	\$1,359.00	\$1,359.00
		201-02260 LINE A KIMBERTON	TREE 30 IN , REMOVE (INCLUDES STUMP GRINDING)	EACH	5	\$1,430.00	\$7,150.00
		201-02265 LINE A KIMBERTON	TREE 4B IN , REMOVE (INCLUDES STUMP GRINDING)	EACH	ļ	\$2,200.00	\$0.00
		201-02270 LINE A KIMBERTON	TREE 50 IN., REMOVE	EACH		\$5,000.00	\$0.00
	7	202-02240 LINE A KIMBERTON	PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	SYS	2160	\$12.71	\$27,707.80
	8	202-93615 LINE A KIMBERTON	CONCRETE REMOVE	SYS	520	\$15.06	\$8,351.20
	9	203-02000 LINE A KIMBERTON	EXCAVATION, COMMON (UNDISTIBUTED)	CYS	5	\$38.67	\$193.35
	10	205-06933 LINE A KIMBERTON	TEMPORARY INLET PROTECTION	EACH	1 1	\$102.00	\$102.00
	11	214-11796 LINE A KIMBERTON	GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	SYS	260	\$8.36	\$2,173.60
	12	301-FWR03 LINE A KIMBERTON	COMPATED AGGREGATE NO. 53	TON	734.3	\$34.54	\$25,362.72
	13	304-07490 LINE A KIMBERTON	HMA PATCHING, TYPE B (UNDISTRIBUTED)	TON	5	\$302.50	\$1,512.50
	14	502-PWR01 LINE A KIMBERTON	PCCP, 7" IN. WITH MONOLITHIC CURB	SY\$	2180	\$47.00	\$102,460.00
	15	502-11564 LINE A KIMBERTON	PCCP, 7 IN. (PAVEMENT)	SYS	1	\$50.00	\$0.00
		604-FWR01 LINE A KIMBERTON	DETECTABLE WARNING SURFACES	EACH	2	\$250.00	\$500.00
		604-06070 LINE A KIMBERTON	SIDEWALK, CONCRETE (4 IN.) PINCLUDE YARD WALKS) (UNDISTRIBUTED)	SYS	240		\$13,920.00
		604-06086 LINE A KIMBERTON	CURB RAMP, CONCRETE	SYS	8	 	\$880.00
		605-06120 LINE A KIMBERTON	CURB, CONCRETE (TYPE I/A, P.N CURB ON AFTER STREET POURED)	LFT		\$12.50	\$0.00
		610-07713 LINE A KIMBERTON	PCCP FPR APPROACHES, 8 IN. (COMMERCIAL APPROACHES)	LFT	 	\$80.00	\$0.00
		610-08446 LINE A KIMBERTON	PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	SYS	280	\$68.00	\$19,040.60
				EACH	200		
		611-08233 LINE A KIMBERTON	MAILBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MAILBOXES AND TYPES) (IF IN CONFLICT)	-	1100	\$250.00	\$0.00
		621-FWR01 LINE A KIMBERTON	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	SYS	1100		\$2,783.00
		621-FWR19 LINE A KIMBERTON	TOPSOIL	TON	60		\$3,060.00
		715-FYVR27 LINE A KIMBERTON	PIPE - 12' CMP	LFT	30	\$78.71	\$2,361.30
		715-FWR39 LINE A KIMBERTON	PIPE, TYPE 4, CIRCULAR, 6 IN. W/AGGREGATE FOR UNDERDRAIN	LFT	1420	\$9.74	\$13,830.80
	•	715-94530 LINE AXMBERTON	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	EACH	ļ²	\$203.50	\$407.00
		720-FWR10 LINE A KIMBERTON	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	EACH	 	\$203.50	\$0.00
		720-FWR31 UNE A KIMBERTON	CASTING, 24" SOLIO SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	EACH	 	\$660.00	\$0.00
		720-FWR37 LINE A KIMBERTON	CASTING - 2" X 2" CURB & GUTTER CASTING & ADJUST TO GRADE	EACH	1	\$858.00	\$0.00
		801-FWR01 LINE A KIMBERTON	MAINTENANCE OF TRAFFIC	LS	1 1	\$6,000.00	\$6,000.00
		808-10033 LINE A KIMBERTON	LINE, MULTI-COMPONENT, SOLID, WHITE, 4 IN.	LFT	ļ	\$1.40	\$0.00
	33	B08-10034 LINE A KIMBERTON	LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN.	UFT	_	\$1.40	\$0.00
	34	808-10036 LINE AKIMBERTON	LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN.	LFT	1	\$1.40	\$0.00
	35	608-10037 LINE A KIMBERTON	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN.	មា		\$2.50	\$0.00
	36	608-10051 LINE A KIMBERTON	TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN.	LFT		\$24.00	\$0.00
	37	808-10052 LINE A KIMBERTON	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	EACH	1	\$350.00	\$0.00
	38	8 808-10053 LINE A KIMBERTON	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIX R	EACH		\$2,000.00	\$0.00
	39	808-10056 LINE A KIMBERTON	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 61M.	LF1		\$6.90	\$0.00
		608-10077 LINE A KIMBERTON	PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION ARROW	EACH	1	\$350.00	\$0.00
		105-06845 LINE B DOWNINGTOWN		LS	1	\$2,702.00	\$2,702.00
			MOBILIZATION AND DEMOBILIZATION	LS	1	\$6,040.00	\$6,040.00
			TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH	1	\$1,358.50	\$1,358.50
			TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH	†i	\$1,800.00	\$0.00
			TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH		\$2,200.00	\$0.00
		201-02270 LINE B DOWN: NGTOWN		EACH	 	\$5,000.00	\$0.00
			PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	SYS	5120		\$65,075.20
		202-93615 LINE B DOWNINGTOWN		SYS	960		\$16,531.20
			EXCAVATION, COMMON (UNDISTIBUTED)	CYS	10		\$386.10
		205-06933 LINE B DOWNINGTOWN		EACH	1 6		\$612.00
				SYS			\$17,221.60
			GEOGRID, TYPE 1B, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	TON	2060		
		301-FWR03 LINE B DOWN: NGTOWN			1418.1	\$35.75	\$50,697.08
			THMA PATCHING, TYPE B (UNDISTRIBUTED)	TON		\$302.50	\$1,512.50
			PCCP, 7" IN. WITH MONOLITHIC CURB	SYS	5120		\$245,760.00
		5 502-11564 LINE B DOWNINGTOWN		SYS		\$50.0D	\$5.00
		604-PWR01 LINE B DOWN NGTOWN		EACH		\$250.00	\$1,500,00
		7 604-06070 LINE B DOVININGTOWN		SYS	580		\$33,640.00
		604-08066 LINE B DOWNINGTOWN		SYS	26		\$2,660.00
			CURB, CONCRETE (TYPE I/A, PIN CURB ON AFTER STREET POURED)	LFT	 	\$12.50	\$0,00
			PCCP FPR APPROACHES, BIN. (COMMERCIAL APPROACHES)	LFT	 	\$80.00	\$0.00
		L 610-08446 LINE B DOYNHAGTOWN		SYS	344	\$68.00	\$23,392.00
		611-08233 LINE B DOWNINGTOWN		EACH		\$250.00	\$0.00
			HYDROSEED, WITH HYDROSTICX TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	SYS	1500	\$2.53	\$3,795.00
		621-FV/R19 LINE 8 DOWNINGTOWN		TON	20		\$1,020.00
		715-FWR27 LINE B DOWNINGTOWN		LFT		\$78.71	\$0.00
			PIPE, TYPE 4, CIRCULAR, 6 IN. WAGGREGATE FOR UNDERDRAIN	LFT	3500	\$9.63	\$33,705.00
			ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	EACH	+	\$203.50	\$1,221.00
			CASTING, ADJUST TO GRADE (UNIOISTRIBUTED)	EACH	 	\$203.50	\$407.00
			CASTING, 24" SOLID SANTARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	EACH	1	\$660.00	\$2,640.00
			CASTING - 2' X 2' CURB & GUTTER CASTING & ADJUST TO GRADE	EACH	ļ2	\$858.00	\$1,716.00
		601-FWR01 LINE B DOWNINGTOWN		LS	1 1	\$7,000.00	\$7,000.00
			LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN.	LFT		\$1.40	\$0.00
			LINE, MULTI-COMPONENT, SOLID, YELLOW, 4 IN.	UFT	ļ	\$1.40	\$0.00
			LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN.	UFT	ļ	\$1.40	\$0.00
	75	1608-10037 LINE B DOWNNIGTOWN	LINE, MULTI-COMPONENT, SOLID, WHITE, 6 IN.	LFT	 	\$2.50	\$0.00
			TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN .	LFT		\$24.00	\$0.00
							\$0.00
	77	808-10052 LINE B DOWNINGTOWN	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	EACH	ļ	\$350.00	
	77 78	7 808-10052 LINE B DOWNINGTOWN B 608-10053 LINE B DOWNINGTOWN	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R	EACH	ļ	\$2,000.00	\$0.00
	77 78 79	7 808-10052 LINE B DOWNINGTOWN 8 808-10053 LINE B DOWNINGTOWN 9 808-10056 LINE B DOWNINGTOWN	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSIVALKLINE, WHITE, B.IN.	EACH LFT		\$2,000.00 \$6.90	\$0.00 \$0.00
	77 78 79 80	7 BOB-10052 LINE B DOWNINGTOWN B BOB-10053 LINE B DOWNINGTOWN B BOB-10056 LINE B DOWNINGTOWN B BOB-10077 LINE B DOWNINGTOWN	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALKLINE, WHITE, 6 III. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW	EACH LFT EACH		\$2,000.00 \$6.90 \$350.00	\$0.00 \$0.00 \$0.00
	77 78 79 80	7 808-10052 LINE B DOWNINGTOWN 8 808-10053 LINE B DOWNINGTOWN 9 808-10056 LINE B DOWNINGTOWN	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSIVALKLINE, WHITE, B.IN.	EACH LFT	1	\$2,000.00 \$6.90	\$0.00 \$0.00 \$0.00 \$2,548.00
	77 78 79 60 81	7 BOB-10052 LINE B DOWNINGTOWN B BOB-10053 LINE B DOWNINGTOWN B BOB-10056 LINE B DOWNINGTOWN B BOB-10077 LINE B DOWNINGTOWN	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALKLINE, WHITE, 6 III. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW	EACH LFT EACH	1	\$2,000.00 \$6.90 \$350.00	\$0.00 \$0.00 \$0.00 \$2,548.00
	77 78 79 80 81	7 808-10052 LINE B DOWNINGTOWN 8 608-10053 LINE B DOWNINGTOWN 9 608-10056 LINE B DOWNINGTOWN 1008-10077 LINE B DOWNINGTOWN 1 105-06845 LINE C BERWAN LN	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSIVAL KLINE, WHITE, GIN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEER NO	EACH LFT EACH LS	1 1 3	\$2,000.00 \$6.90 \$350.00 \$2,548.00	\$0.00 \$0.00 \$0.00 \$2,548.00 \$5,693.50
	77 78 79 60 81 82 83	808-10052 LINE B DOWNINGTOWN- 8 008-10053 LINE B DOWNINGTOWN- 8 008-10056 LINE B DOWNINGTOWN- 3 808-10077 LINE B DOWNINGTOWN- 1 105-06845 LINE C BERWYN LIN- 2 110-01001 LINE C BERWYN LIN-	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALKLINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEER ING MOBILIZATION AND DEMOBILIZATION	EACH LFT EACH LS LS	1 1 2	\$2,000.00 \$6.90 \$350.00 \$2,548.00 \$5,693.50	\$0.00 \$0.00 \$0.00 \$2,548.00 \$5,693.50 \$2,717.00
	77 78 79 80 81 82 83	808-10052 LINE B DOWNINGTOWN 908-10053 LINE B DOWNINGTOWN 908-10056 LINE B DOWNINGTOWN 105-06845 LINE C BERWYN LIN 105-06845 LINE C BERWYN LIN 201-02255 LINE C BERWYN LIN 201-02255 LINE C BERWYN LIN	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSIVAL KLINE, WHATE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE (INDICATION AR ROW) CONSTRUCTION ENGINEER NG MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRIRDING)	EACH LFT EACH LS LS EACH	1 1 2	\$2,000.00 \$6.90 \$350.00 \$2,548.00 \$5,693.50 \$1,358.50	\$0.00 \$0.00 \$0.00 \$2,548.00 \$5,693.50 \$2,717.00 \$0.00
	77 78 79 80 81 82 83 84	7 808-10052 LINE B DOWNINGTOWN- 608-10053 LINE B DOWNINGTOWN- 1008-10055 LINE B DOWNINGTOWN 1008-10071 LINE B DOWNINGTOWN 1105-00845 LINE C BERWYN LIN 2110-01001 LINE C BERWYN LIN 3021-02255 LINE C BERWYN LIN 201-02255 LINE C BERWYN LIN 201-02255 LINE C BERWYN LIN 201-02255 LINE C BERWYN LIN	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHATE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEER NO MOBILIZATION AND DEMOBILIZATION THEE ISIH, REMOVE (INCLUDES STUMP GRINDING) TREES OIN, REMOVE (INCLUDES STUMP GRINDING) TREES OIN, REMOVE (INCLUDES STUMP GRINDING) TREES OIN, REMOVE (INCLUDES STUMP GRINDING)	EACH LFT EACH LS LS EACH EACH	1 1 2	\$2,000.00 \$6.90 \$350.00 \$2,648.00 \$5,693.50 \$1,358.50 \$1,800.00 \$2,200.00	\$0.00 \$0.00 \$0.00 \$2,548.00 \$5,693.50 \$2,717.00 \$0.00
	77 78 79 80 81 82 83 84	208-10052 LINE B DOWNINGTOWN	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSIVAL KLINE, WHATE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEER NG MOBILIZATION AND DEMOBILIZATION THEE 18 IN, REMOVE (INCLUDES STUMP GRINDING) TREE 18 IN, REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN, REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN, REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN, REMOVE (INCLUDES STUMP GRINDING)	EACH LFT EACH LS LS EACH EACH EACH EACH EACH	1300	\$2,000.00 \$6.90 \$350.00 \$2,548.00 \$5,693.50 \$1,358.50 \$1,800.00 \$2,200.00	\$0.00 \$0.00 \$2,548.00 \$5,693.50 \$2,717.00 \$0.00 \$0.00 \$16,523.00
	77 78 79 80 81 82 83 84 85	008-10052 LINE B DOWNINGTOWN- 008-10053 LINE B DOWNINGTOWN- 008-1005 LINE B DOWNINGTOWN- 008-10077 LINE B DOWNINGTOWN- 108-06845 LINE C BERWYN LIN- 110-01001 LINE C BERWYN LIN- 201-02255 LINE C BERWYN LIN- 201-0225 LINE C BERWYN LIN- 201-0225 LINE C BERWYN LIN- 202-02240 LINE C BERWYN LIN-	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHATE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEER NO MOBILIZATION AND DEMOBILIZATION THEE ISIH, REMOVE (INCLUDES STUMP GRINDING) TREES OIN, REMOVE (INCLUDES STUMP GRINDING) TREES OIN, REMOVE (INCLUDES STUMP GRINDING) TREES OIN, REMOVE (INCLUDES STUMP GRINDING)	EACH LFT EACH LS LS EACH EACH EACH	1300	\$2,000.00 \$6.90 \$350.00 \$2,548.00 \$5,693.55 \$1,358.50 \$1,800.00 \$2,200.00 \$5,000.00	\$0.00 \$0.00 \$0.00 \$2,548.00 \$5,593.50 \$2,717.00 \$0.00 \$0.00 \$16,523.00
	77 78 79 80 81 82 83 84 85 86 87	7 003-10052 LINE B DOWNINGTOWN- 1003-10053 LINE B DOWNINGTOWN- 1003-10055 LINE B DOWNINGTOWN 1003-10077 LINE B DOWNINGTOWN 1105-00845 LINE C BERWYN LIN 2 110-01001 LINE C BERWYN LIN 3 201-02255 LINE C BERWYN LIN 2 201-02255 LINE C BERWYN LIN 2 201-02255 LINE C BERWYN LIN 3 201-02255 LINE C BERWYN LIN 2 201-02250 LINE C BERWYN LIN 3 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSIVAL KLINE, WHATE, 6 IN. QAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEER NO MOBILIZATION AND DEMOBILIZATION TREE 10 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN, REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN, REMOVE (INCLUDES STUMP GRINDING) CONCRETE REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	EACH LFT EACH LS LS EACH EACH EACH EACH EACH EACH SYS SYS		\$2,000.00 \$6.90 \$350.00 \$2,548.00 \$5,693.50 \$1,358.50 \$1,200.00 \$2,200.00 \$5,000.00 \$1,271 \$15,73	\$0.00 \$0.00 \$2,548.00 \$5,693.50 \$2,717.00 \$0.00 \$0.00 \$16,523.00 \$4,247.10
	77 78 79 80 81 82 83 84 85 86 87	008-10052 LINE B DOWNINGTOWN- 008-10053 LINE B DOWNINGTOWN- 008-1005 LINE B DOWNINGTOWN- 008-10077 LINE B DOWNINGTOWN- 108-06845 LINE C BERWYN LIN- 110-01001 LINE C BERWYN LIN- 201-02255 LINE C BERWYN LIN- 201-0225 LINE C BERWYN LIN- 201-0225 LINE C BERWYN LIN- 202-02240 LINE C BERWYN LIN-	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSIVAL KLINE, WHITE, G.IN. DAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEER NG MOBILIZATION AND DEMOBILIZATION TREE 18 IN. REMOVE (INCLUDES STUMP GRINDING) TREE 18 IN. REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN. REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN. REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN. REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	EACH LFT EACH LS EACH EACH EACH EACH EACH EACH EACH EACH		\$2,000.00 \$6.90 \$350.00 \$2,548.00 \$5,693.55 \$1,358.50 \$1,800.00 \$2,200.00 \$5,000.00	\$0.00 \$0.00 \$2,548.00 \$5,693.50 \$2,717.00 \$0.00 \$0.00 \$0.00

		2 301-FWR03 LINE C BERWYN LN	COMPATED AGGREGATE NO. 53	TON	504.1	\$33.44	\$16,857.10
		3 304-07490 LINE C BERWYN LN	HMA PATCHING, TYPE B (UNDISTRIBUTED)	TON	5	\$302.50	\$1,512.50
	9.5	4 502-FV/R01 LINE C BERWYN LN	PCCP, 7" IN, WITH MONOLITHIC CURB	SYS	1300	\$48.00	\$62,400.00
		S 502-11564 LINE C BERWYN LN	PCCP, 7 IN. (PAVEMENT)	SYS		\$59.00	\$0.00
		6 604-FWR01 LINE C BERWYN LN	DETECTABLE WARNING SURFACES	EACH	4	\$250.00	\$1,000.00
		7 504-05070 LINE C BERWALLN	SIDEWALK, CONCRETE [4 IN.] [INCLUDE YARD WALKS] (UNDISTRIBUTED)	SYS	130	\$58.00	\$7,540.00
		8 604-08089 TIME C BERIMAN IN	CURB RAMP, CONCRETE	SYS	22	\$110.00	\$2,420.00
		9 605-06120 LINE C BERWYN LH	CURB, CONCRETE (TYPE IIA, P.N CURB ON AFTER STREET POURED)	LF7		\$12.50	\$0.00
		610-07713 UNE CBERWYN UN	PCCP FPR APPROACHES, 8 IN. (COMMERCIAL APPROACHES)	LFF		\$80.00	\$0.00
	101	1 610-08446 UNE C BERYANUN	PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	SYS	108	\$68.00	\$7,344.00
	102	2 611-08233 LINE C BERVAYN LH	MAILBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MAILBOXES AND TYPES) (IF IN CONFLICT)	EACH		\$250.00	\$0.00
	10	3 621-FYYRO1 LINE C BERWYN LH	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	5YS	620	\$2.53	\$1,558.60
	104	4 621-FWR19 LINE C BERWYN LN	TOPSO(L	TON	30	\$51.00	\$1,530.00
		5 715-FWR27 LINE C BERWYNLN	PIPE-12*CMP	LFT	30	\$77.00	\$2,310.00
		6 715-FYR39 LINE C BERWYHLN	PIPE, TYPE 4, CIRCULAR, 6 IN. NY/AGGREGATE FOR UNDERDRAIN	UFT	830	\$10.18	\$8,449.40
 		7 715-94530 LINE C BERWYN LN	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX) (UNDISTRIBUTED)	EACH	1 3	\$203.50	\$407.00
		8 720-FWR10 LINE C BERWYNLN	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	EACH		\$240.00	\$0.00
		9 720-FWR31 LINE C BERWYN LN	CASTING, 24" SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	EACH		\$760.00	\$0.0
		0 720-FWR37 LINE C BERWYN LN	CASTING - 2 X 2 CURB & GUTTER CASTING & ADJUST TO GRADE	EACH	2	\$858.00	\$1,716.00
-		1 BO1-FWRO1 LINE C BERWYN LN	MAINTENANCE OF TRAFFIC	LS	1 1	\$6,000.00	\$6,000.0
		2 808-10033 LINE C BERWYN LN	LINE, MULTI-COMPONENT, SOLID, WHITE, 4 IN.	LFT	ļ	\$1.40	\$0.0
		3 808-10034 LINE C BERWIN LN	LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN.	LFT	ļ	\$1.40	\$0.0
		4 BOS-10036 LINE C BERWYN LN	LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN.	LFf		\$1.40	\$0.0
		5 E08-10037 LINE C BERWYN LN	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN.	LFT		\$2.50	\$0.0
	116	6 BOS-10051 LINE CREAWYN LN	TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN.	LFT		\$24.00	\$0.0
	117	7 608-10052 LINE C BERWAN LN	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	EACH		\$350.00	\$0.0
	118	8 508-10053 LINE C BERWYN LN	PAVEMENT MESSAGE MARXING, MULTI-COMPONENT, R X R	EACH		\$2,000.00	\$0.0
	111	9 608-10056 LINE C 8ERWYN LN	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN.	ĿП		\$6.90	\$0.0
		0 808-10077 LINE C BERWYN LH	PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW	EACH		\$350.00	\$0.0
		1 105-06845 LIKE O CHATHAM DR.	CONSTRUCTION ENGINEERING	LS	1	\$2,702.00	\$2,702.0
ļ		2 110-01001 LINE D CHATHAM DR.	MOBILIZATION AND DEMOBILIZATION	LS	†	\$5,029.00	\$6,029.0
 		3 201-02255 LINE D CHATHAM DR.	TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH	12	\$1,358.50	\$16,302.0
					12		
 		4 201-02250 LINE D CHATHAM DR.	TREE 30 IM., REMOVE (INCLUDES STUMP GRINDING)	EACH	ļ	\$1,800.00	\$0.0
}		5 201-02265 LINE D CHATHAM DR.	TREE 48 IN., REMOVE (INCLUDES STUMP GRINDII(G)	EACH	-	\$2,200.00	\$0.0
<u> </u>		6 201-02270 LINED CHATHAM DR.	TREE 60 IN REMOVE	EACH		\$5,000.00	\$0.0
		7 202-02240 LINE D CHATHAM DR.	PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	SYS	3770	\$12.65	\$47,690.5
L		8 202-93615 LINE D CHATHAM DR.	CONCRETE REMOVE	SYS	1000	\$14.65	\$14,850.00
	129	9 203-02000 LINE D CHATHAM DR.	EXCAVATION, COMMON (UNDISTIBUTED)	CYS	10	\$38.61	\$386.1
	130	0 205-06933 LINE D CHATHAM DR.	TEMPORARY INLET PROTECTION	EACH	I	\$102.00	\$0.0
	13	1 214-11796 LINE D CHATHAM DR.	GEOGRID, TYPE 1B, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	SYS	1500	\$8.36	\$12,540.00
	133	2 301-FWR03 LINE D CHATHAM OR.	COMPATED AGGREGATE NO. 53	TON	1023.3	\$36.41	\$37,258.3
		3 304-07490 LINE D CHATHAM DR.	HMA PATCHING, TYPE B (UNDISTRIBUTED)	TON	5	\$302.50	\$1,512.5
		4 502-FWR01 LINED CHATHAM DR.	PCCP, 7" N. WITH MONOLITHIC CURB	SYS	3770	\$49.00	\$180,960.00
		5 502-11564 LINED CHATHAM DR.	PCCP, 7 IN. (PAVEMENT)	SYS	3770		
					1 .	\$50.00	\$0.0
1		6 604-FV/R01 LINE D CHATHAM DR.	DETECTABLE WARNING SURFACES	EACH	- 6	\$250.00	\$1,500.0
<u> </u>		7 604-06070 LINE D CHATHAM DR.	SIDEWALK, CONCRETE (4 IN.) (INCLUDE YARD WALKS) (UNDISTRIBUTED)	SYS	590	\$58.00	\$34,220.0
	138		CURB RAMP, CONCRETE	SYS	30	\$110.00	\$3,300.0
<u> </u>	139	9 605-06120 LINED CHATHAM DR.	CURB, CONCRETE (TYPE IIA, PIN CURB ON AFTER STREET POURED)	UFT	1	\$12.50	\$0.0
	148	0 610-07713 LINE D CHATHAM DR.	PCCP FPR APPROACHES, 8 IN. (COMMERCIAL APPROACHES)	LFT		\$80.00	\$0.0
	14	1 610-08446 LINE D CHATHAM DR.	PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	SYS	360	\$68.00	\$25,840.00
	141	2 611-08233 LINE D CHATHAM DR.	MAILBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MAILBOXES AND TYPES) (IF IN CONFLICT)	EACH		\$250.00	\$0.00
		3 621-FWR01 LINE D CHATHAM DR.	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	SYS	1500	\$2.53	\$3,795.0
		4 621-FWR19 LINE D CHATHAM DR.	TOPSOIL	TON	40	\$51.00	\$2,040.0
	145		PIPE - 12° CMP	LFT	<u> </u>	\$80.00	\$0.0
		6 715-FWR39 LINE D CHATHAM DR.	PIPE, TYPE 4, CIRCULAR, 6 IN. YWAGGREGATE FOR UNDERDRAIN	LFT	2400	\$9.90	\$23,769.0
	141		ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	EACH	2400		
			CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	CACH		\$203.50	\$407.00
	141			r.ou			\$407.0
	14.			EACH	2	\$203.50	***
		9 720-FWR31 LINE D CHATHAM DR.	CASTING, 24" SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	EACH	2	\$760.00	
	150	9 720-FWR31 LINE D CHATHAM DR. 0 720-FWR37 LINE D CHATHAM DR.	CASTING, 24' SOUD SANTARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X 2' CURB & GUTTER CASTING & ADJUST TO GRADE	EACH EACH	2	\$760.00 \$858.00	\$1,716.0
	156 15	9 720-FWR31 LINE D CHATHAM DR. 0 720-FWR37 LINE D CHATHAM DR. 1 801-FWR01 LINE D CHATHAM DR.	CASTING, 24" SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2" X 2" CURB & GUTTER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC	EACH EACH LS	2 2	\$760.00	\$1,716.0
	156 15	9 720-FWR31 LINE D CHATHAM DR. 0 720-FWR37 LINE D CHATHAM DR.	CASTING, 24' SOUD SANTARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X 2' CURB & GUTTER CASTING & ADJUST TO GRADE	EACH EACH	2	\$760.00 \$858.00	\$1,716.0 \$6,000.0
	156 15	9 720-FWR31 LINE D CHATHAM DR. 0 720-FWR37 LINE D CHATHAM DR. 1 801-FWR01 LINE D CHATHAM DR.	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IRI. UNE, MULTI-COMPONENT, SOUD, YELLOW, 4 IRI.	EACH EACH LS	2	\$760.00 \$858.00 \$6,000.00	\$1,716.0 \$6,000.0 \$0.0
	150 15 15: 15:	9 720-FV/R31 UNE D CHATHAM DR. 0 720-FV/R37 UNE D CHATHAM DR. 1 801-FV/R01 UNE D CHATHAM DR. 2 808-10033 UNE D CHATHAM DR.	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN.	EACH EACH LS LFT	2	\$760.00 \$858.00 \$6,000.00 \$1.40	\$1,716.00 \$6,000.00 \$0.00 \$0.00
	150 151 151 151 151	9 720-FWR31 LINE D CHATHAM DR. 0 720-FWR37 LINE D CHATHAM DR. 1 801-FWR01 LINE D CHATHAM DR. 2 808-10033 LINE D CHATHAM DR. 3 808-10034 LINE D CHATHAM DR.	CASTING, 24' SOUD SANTARY MATHOLE FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X' CURB A GUTTER CASTING & ADJUST TO GRADE MANNERIANCE OF TRAFFIC LINE, MULTI-COMPONERT, SOUD, WHITE, 4' IN. LUNE, MULTI-COMPONERT, SOUD, YELLOW, 4' IN. LUNE, MULTI-COMPONERT, SOUD, YELLOW, 4' IN. LUNE, MULTI-COMPONERT, SOUGH, YELLOW, 4' IN.	EACH EACH LS LFT LFT	2	\$760.00 \$858.00 \$6,000.00 \$1.40 \$1.40	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0
	150 151 152 153 154 156	9 720-FV/R31 LINE D CHATHAM DR. 0 720-FW/R37 LINE D CHATHAM DR. 1 801-FV/R01 LINE D CHATHAM DR. 2 608-10033 LINE D CHATHAM DR. 3 608-10034 LINE D CHATHAM DR. 4 608-10036 LINE D CHATHAM DR.	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IRI. UNE, MULTI-COMPONENT, SOUD, YELLOW, 4 IRI.	EACH EACH US UFT LET LET	2	\$760.00 \$858.00 \$6,000.00 \$1.40 \$1.40 \$1.40	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0
	156 15 15 15 15 15 15 15	9 720 FV/R31 LINE D CHAITHAM DR 0 720 FV/R37 JINE D CHAITHAM DR. 1 801 FV/R01 LINE D CHAITHAM DR. 2 608-10033 LINE D CHAITHAM DR. 3 608-10034 LINE D CHAITHAM DR. 4 808-10036 LINE D CHAITHAM DR. 6 808-10037 LINE D CHAITHAM DR. 6 808-10051 LINE D CHAITHAM DR.	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MINE HOUT-CONPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN.	EACH EACH LS LFT LFT LFT LFT	2	\$760.00 \$558.00 \$6,000.00 \$1.40 \$1.40 \$1.40 \$2.50 \$24.00	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	156 155 155 155 156 156 156 156	9 720 FWR31 LINE D CHATHAM OR 2720 FWR37 LINE D CHATHAM DR 1 1801 FWR37 LINE D CHATHAM DR 2 609-10033 LINE D CHATHAM DR 3 608-10034 LINE D CHATHAM DR 3 608-10034 LINE D CHATHAM DR 5 608-10035 LINE D CHATHAM DR 6 608-10051 LINE D CHATHAM DR 7 608-10052 LINE D CHATHAM DR 7 608-	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANITERIANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. UNE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN. UNE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 8 IN.	EACH EACH US UFT UFT UFT UFT UFT EACH	2	\$760.00 \$858.00 \$6,000.00 \$1.40 \$1.40 \$1.40 \$2.50	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	150 151 153 153 154 155 156 156 157	9 720-FVR31 LINE D CHAIHAM OR 0 720-FVR37 LINE D CHAIHAM OR 1 750-FVR31 LINE D CHAIHAM OR 2 608-10033 LINE D CHAIHAM OR 3 608-10034 LINE D CHAIHAM OR 4 608-10036 LINE D CHAIHAM OR 5 608-10057 LINE D CHAIHAM OR 6 608-10051 LINE D CHAIHAM OR 7 608-10052 LINE D CHAIHAM OR 8 608-10051 LINE D CHAIHAM OR 8 608-10051 LINE D CHAIHAM OR 7 608-10052 LINE D CHAIHAM OR 8 608-10051 LINE D CHAIHAM OR 9 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANITERIANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. UNE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN. UNE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSYERSE HARRONG, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIX R	EACH EACH US UFT LET LET LET LET LET LET EACH EACH	2	\$760.00 \$858.00 \$6,000.00 \$1.40 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00	\$1,716.0 \$6,000.0 \$9.0 \$9.0 \$9.0 \$9.0 \$9.0 \$9.0 \$9.0
	156 157 157 157 157 158 159 150 150 150 151 151 151	9 720 FV/R31 LINE D CHAITHAM DR 0 720 FV/R37 JINE D CHAITHAM DR, 1 801 FV/R01 LINE D CHAITHAM DR, 2 808-10033 LINE D CHAITHAM DR, 3 808-10034 LINE D CHAITHAM DR, 4 808-10036 LINE D CHAITHAM DR, 5 808-10037 LINE D CHAITHAM DR, 6 808-10051 LINE D CHAITHAM DR, 7 808-10052 LINE D CHAITHAM DR, 9 808-10055 LINE D CHAITHAM DR, 9 808-10055 LINE D CHAITHAM DR, 9 808-10055 LINE D CHAITHAM DR,	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC UNE, HULTH-CONPONENT, SOUD, WHITE, 4 IN. UNE, MULTH-CONPONENT, SOUD, WHITE, 4 IN. UNE, MULTH-CONPONENT, SOUD, WHITE, 6 IN. UNE, MULTH-CONPONENT, SOUD, WHITE, 6 IN. TRANSVERSE MARKING, MULTH-COMPONENT, STOP UNE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTH-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTH-COMPONENT, RIX RI TRANSVERSE MARKING, MULTH-COMPONENT, RIX RI TRANSVERSE MARKING, MULTH-COMPONENT, GROSSYMALK UNE, WHITE, 6 IN.	EACH EACH US UFT LFT LFT LFT LFT EACH EACH LFT	2	\$760.00 \$858.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	156 15 15 15 15 15 15 15 15 15 15 15 15 15	9 720 FWR31 LINED CHARHAM DR. 7 20 FWR37 LINE D CHARHAM DR. 1 801 FWR01 LINE D CHARHAM DR. 2 609-10033 LINE D CHARHAM DR. 3 609-10034 LINE D CHARHAM DR. 4 609-10034 LINE D CHARHAM DR. 5 609-10037 LINE D CHARHAM DR. 6 609-10051 LINE D CHARHAM DR. 6 609-10051 LINE D CHARHAM DR. 6 809-10051 LINE D CHARHAM DR. 8 609-10050 LINE D CHARHAM DR. 9 609-10056 LINE D CHARHAM DR. 9 609-10056 LINE D CHARHAM DR. 9 609-10056 LINE D CHARHAM DR.	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X 2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CONSUMALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CONSUMALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING MULTI-COMPONENT LAKE KINDCATION AR ROW	EACH EACH US UFT LFT LFT LFT LFT EACH EACH LFT EACH EACH	2 1	\$760.00 \$559.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00	\$1,716.00 \$6,000.00 \$0.0
	156 15 15 15 15 15 15 15 15 15 15 15 15 15	9 720-FVR31 LINE D CHAIHAM OR 0 720-FVR37 LINE D CHAIHAM OR 1 720-FVR37 LINE D CHAIHAM OR 2 608-10033 LINE D CHAIHAM OR 3 608-10034 LINE D CHAIHAM OR 1 608-10036 LINE D CHAIHAM OR 5 608-10037 LINE D CHAIHAM OR 6 608-10051 LINE D CHAIHAM OR 7 608-10051 LINE D CHAIHAM OR 6 608-10051 LINE D CHAIHAM OR 1 608-10053 LINE D CHAIHAM OR 1 608-10075 LINE D CHAIHAM OR 1 608-10075 LINE D CHAIHAM OR 1 608-10077 LINE D CHAIHAM OR 1 608-	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, VEHTE, 4 IN. UNE, MULTI-COMPONENT, SOUD, VEHTE, 4 IN. UNE, MULTI-COMPONENT, SOUD, VEHTE, 8 IN. UNE, MULTI-COMPONENT, SOUD, VEHTE, 8 IN. UNE, MULTI-COMPONENT, SOUD, VEHTE, 8 IN. TRANSYERSE HARRONG, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT RESSAGE MARKING, MULTI-COMPONENT, RXR TRANSYERSE HARRONG, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RXR TRANSYERSE HARRONG, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LAKE INDICATION AR ROW CONSTRUCTION ENGINEERING	EACH EACH US UFT LFT LFT LFT LFT EACH EACH LFT EACH LFT EACH LS	2 - 1	\$760.00 \$858.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$2,625.00	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	150 151 152 153 154 155 155 155 156 156 166 166	9 720 F.WR31 LINE D CHATHAM OR 2720 F.WR37 LINE D CHATHAM DR 1 180 F.WR37 LINE D CHATHAM DR 2 609-10033 LINE D CHATHAM DR 1 609-10033 LINE D CHATHAM DR 1 609-10036 LINE D CHATHAM DR 1 609-10036 LINE D CHATHAM DR 1 609-10051 LINE D CHATHAM DR 1 609-10071 LINE D CHATHAM DR 1 60	CASTING, 24' SOUD SANTARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' 2' CURB & GUTTER CASTING & ADJUST TO GRADE MANDERIANCE OF FRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4' IN. LINE, MULTI-COMPONENT, SOUD, WELLOW, 4' IN. LINE, MULTI-COMPONENT, SOUD, WELLOW, 4' IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8' IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8' IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8' IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24' IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CONSEVUAL LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE KNO/CATION AR ROWY CONSTRUCTION ENGINEERING MULTI-COMPONENT LANE KNO/CATION AR ROWY CONSTRUCTION ENGINEERING	EACH EACH US UFT LFT LFT LFT LFT LFT EACH EACH LFT EACH LFT EACH LS LS	2 1	\$760.00 \$859.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$6.90 \$350.00 \$6.90 \$2,625.00	\$1,716.00 \$6,000.00 \$0.0
	15(15) 15:15:15:15:15:15:15:15:15:15:15:15:15:1	9 720-FWR31 LINED CHARHAM DR. 7 20-FWR37 LINED CHARHAM DR. 1 801-FWR01 LINED CHARHAM DR. 2 603-10033 LINED CHARHAM DR. 3 603-10034 LINED CHARHAM DR. 4 603-10036 LINED CHARHAM DR. 5 603-10037 LINED CHARHAM DR. 6 603-10051 LINED CHARHAM DR. 6 603-10051 LINED CHARHAM DR. 7 603-10052 LINED CHARHAM DR. 8 603-10051 LINED CHARHAM DR. 9 603-10053 LINED CHARHAM DR. 9 603-10054 LINED CHARHAM DR. 10 603-10077 LINED CHARHAM DR. 10 603-10077 LINED CHARHAM DR. 1 105-06454 LINE CHARHAM DR. 1 105-06454 LINE CHARHAM DR. 1 105-06455 LINE CHARHAM DR. 1 105-06455 LINE CHARHAM DR.	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X 2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. ILINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY RANSVERSE MARKING, MULTI-COMPONENT, ONLY RANSVERSE MARKING, MULTI-COMPONENT, ONLY ROMENTIMESSAGE MARKING, MULTI-COMPONENT, ONLY ROMENTIMESSAGE MARKING MULTI-COMPONENT LANE INDICATION AR ROW R. CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH EACH US UFT LFT LFT LFT LFT EACH EACH LFT EACH LFT EACH LFT EACH LS EACH	1 1 1	\$760.00 \$559.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$2,625.00 \$2,625.00 \$1,335.50	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	150 15:15:15:15:15:15:15:15:15:15:15:15:15:1	9 720-FWR31 LINE D CHAIRIAM OR 1 720-FWR37 LINE D CHAIRIAM OR 1 720-FWR37 LINE D CHAIRIAM OR 2 808-10033 LINE D CHAIRIAM OR 3 808-10034 LINE D CHAIRIAM OR 5 808-10034 LINE D CHAIRIAM OR 5 808-10037 LINE D CHAIRIAM OR 6 808-10037 LINE D CHAIRIAM OR 6 808-10051 LINE D CHAIRIAM OR 7 808-10051 LINE D CHAIRIAM OR 8 808-10053 LINE D CHAIRIAM OR 9 808-10053 LINE D CHAIRIAM OR 1 105-86845 LINE LEANDSDOWNE DE 1 110-1001 LINE E LANDSDOWNE DE 1 100-00255 LINE D LANDSDOWNE DE 1 100-00255 LINE E LANDSDOWNE DE 1 100-00255 LINE DE LANDSDOWNE DE	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, VEHTE, 4 IN. UNE, MULTI-COMPONENT, SOUD, VEHTE, 4 IN. UNE, MULTI-COMPONENT, SOUD, VEHTE, 8 IN. TRANSYERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RXR TRANSYERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LAKE INDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION REE 10 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH EACH LS LFT LFT LFT LFT LFT EACH EACH EACH LS LS LS LS LS EACH EACH EACH	2 - 1	\$760.00 \$859.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$8.90 \$350.00 \$2,625.00 \$2,625.00 \$1,355.50	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	150 15: 15: 15: 15: 15: 15: 15: 15: 15: 15:	9 720-FWR31 LINED CHARHAM DR. 1 801-FWR01 LINED CHARHAM DR. 2 603-10033 LINED CHARHAM DR. 3 603-10034 LINED CHARHAM DR. 4 603-10036 LINED CHARHAM DR. 4 603-10036 LINED CHARHAM DR. 5 603-1001 LINED CHARHAM DR. 6 603-1001 LINED CHARHAM DR. 7 603-1001 LINED CHARHAM DR. 8 603-1001 LINED CHARHAM DR. 9 603-1005 LINED CHARHAM DR. 1 100-5064 LINED CHARHAM DR. 1 100-50645 LINED CHARHAM DR. 1 100-60645 LINED CHARHAM DR. 1 100-60645 LINED CHARHAM DR. 2 1 100-101 LINED CHARHAM DR. 3 1 100-101 LINED CHARHAM DR. 4 1 100-101 LINED CHARHAM DR. 5 1 100-101 LINED CHARHAM DR. 6 1 100-101	CASTING, 24' SOUD SANTARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' CURB A GUTTER CASTING & ADJUST TO GRADE MANDERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4' IRI. LINE, MULTI-COMPONENT, SOUD, YELLOW, 4' IRI. LINE, MULTI-COMPONENT, SOUD, WHITE, 6' IRI. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24' IRI. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, GROSSVALL DISE, WHITE, 6' IRI. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CROSSVALL DISE, WHITE, 6' IRI. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGRERING MUSTULATION AND DEMOSILIZATION RIFEE 18 IRI., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IRI., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IRI., REMOVE (INCLUDES STUMP GRINDING)	EACH EACH EACH US US UFT LFT LFT LFT LFT EACH EACH LFT EACH LS LS EACH EACH EACH EACH EACH EACH EACH EACH	1 1 1	\$760.00 \$5.000.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$2.40 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$350.00 \$350.00 \$350.00 \$3,625.00 \$1,435.00 \$1,435.00 \$1,435.00 \$1,435.00 \$1,435.00	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	156 15: 15: 15: 15: 15: 15: 15: 15: 15: 15:	9 720-FWR31 LINED CHARHAN DR. 7 20-FWR37 LINED CHARHAN DR. 1 801-FWR01 LINED CHARHAM DR. 2 603-10033 LINED CHARHAM DR. 3 603-10034 LINED CHARHAM DR. 4 603-10034 LINED CHARHAM DR. 5 603-10034 LINED CHARHAM DR. 6 603-10031 LINED CHARHAM DR. 6 603-10031 LINED CHARHAM DR. 7 603-10051 LINED CHARHAM DR. 8 603-10051 LINED CHARHAM DR. 9 603-10051 LINED CHARHAM DR. 10 603-10071 LINED CHARHAM DR. 10 603-10071 LINED CHARHAM DR. 1 105-06454 LINED CHARHAM DR. 1 105-06454 LINE ELANOSDOWNE DR. 1 105-06455 LINE ELANOSDOWNE DR. 1 201-02256 LINE LANOSDOWNE DR. 2 201-02256 LINE ELANOSDOWNE DR. 5 201-02255 LINE ELANOSDOWNE DR. 5 201-02250 LINE ELANOSDOWNE DR.	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, TOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY RAMENOPH MESSAGE MARKING, MULTI-COMPONENT LANE MOLICATION AR ROW R. CONSTRUCTION ENGINEERING R. CONSTRUCTION ENGINEERING R. CONSTRUCTION ENGINEERING R. ONLY CASTION AND DEMOBILIZATION REE 18 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) REE 6 SIN., REMOVE (INCLUDES STUMP GRINDING)	EACH EACH IS UFT LFT LFT LFT LFT LFT EACH EACH LET EACH EACH EACH EACH EACH	1 1 1 1 5	\$760.00 \$859.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$6.700.00 \$6,700.00 \$1,355.00 \$1,430.00 \$1,430.00 \$2,200.00 \$2,200.00	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	150 15: 15: 15: 15: 15: 15: 15: 15: 16: 16: 16: 16: 16: 16: 16: 16: 16: 16	9 726-FW331 LINE D CHAIRIAN DR 1 901-FW781 LINE D CHAIRIAM DR 1 901-FW781 LINE D CHAIRIAM DR 2 608-10033 LINE D CHAIRIAM DR 3 608-10034 LINE D CHAIRIAM DR 5 608-10034 LINE D CHAIRIAM DR 6 608-10037 LINE D CHAIRIAM DR 6 608-10051 LINE D CHAIRIAM DR 6 608-10051 LINE D CHAIRIAM DR 7 608-10052 LINE D CHAIRIAM DR 9 608-10072 LINE D CHAIRIAM DR 9 608-10072 LINE D CHAIRIAM DR 10 608-10072 LINE D CHAIRIAM DR 11 105-06845 LINE D CHAIRIAM DR 12 1109-06845 LINE E LANDSDOWNE DR 14 100-06845 LINE E LANDSDOWNE DR 15 201-02256 LINE E LANDSDOWNE DR 16 201-02256 LINE E LANDSDOWNE DR 16 201-02256 LINE E LANDSDOWNE DR 16 201-02276 LINE E LANDSDOWNE DR 16 201-02276 LINE E LANDSDOWNE DR 17 202-02240 LINE E LANDSDOWNE DR 18 201-02255 LINE E LANDSDOWNE DR 18 201-02276 LINE E LANDSDOWNE DR	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, VEHTE, 4 IN. UNE, MULTI-COMPONENT, SOUD, VEHTE, 4 IN. UNE, MULTI-COMPONENT, SOUD, VEHTE, 4 IN. UNE, MULTI-COMPONENT, SOUD, VEHTE, 8 IN. ITRANSYERSE MARRING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT RESSAGE MARRING, MULTI-COMPONENT, RIVE TRANSYERSE MARRING, MULTI-COMPONENT, LANE BROCKATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION REEE 18IN, REMOVE (INCLUDES STUMP GRINDING) TIREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) RIEEE 48 IN., REMOVE (INCLUDES STUMP GRINDING) RIEEE 68 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH EACH US US UST UST UST UST UST UST UST UST U	1 1 1 1 5 4240	\$760.00 \$859.00 \$6,000.00 \$1.40 \$1.40 \$1.40 \$2.50 \$24.00 \$2,000.00 \$8.90 \$350.00 \$2,000.00 \$2,000.00 \$1,355.00 \$2,000.00 \$2,00	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	156 15: 15: 15: 15: 15: 15: 15: 15: 15: 15:	9 720-FWR31 LINED CHARHAM OR 720-FWR37 LINED CHARHAM DR 1 801-FWR01 LINED CHARHAM DR 2 609-10033 LINED CHARHAM DR 3 609-10034 LINED CHARHAM DR 3 609-10034 LINED CHARHAM DR 4 608-10035 LINED CHARHAM DR 5 609-10037 LINED CHARHAM DR 6 609-10051 LINED CHARHAM DR 7 609-10051 LINED CHARHAM DR 7 609-10051 LINED CHARHAM DR 8 609-10051 LINED CHARHAM DR 1 609-10051 LINED CHARHAM DR 1 105-60845 LINED CHARHAM DR 1 109-1001 LINED CHARHAM DR 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	CASTING, 24' SOUD SANTARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' CURB A GUTTER CASTING & ADJUST TO GRADE MANDERIANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4' IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 4' IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 4' IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 8' IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 8' IN. INE, MULTI-COMPONENT, SOUD, WHITE, 8' IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, LAKE INDICATION AR ROW CONSTRUCTION ENGINEERING MUSTACATION AND DEMOBILIZATION R TREE 18 IN., REMOVE INCLUDES STUMP GRINDING) R TREE 30 IN., REMOVE INCLUDES STUMP GRINDING) R TREE 60 IN., REMOVE INCLUDES STUMP GRINDING)	EACH EACH US US UFT UFT UFT UFT EACH EACH LET EACH EACH EACH SACH EACH SACH EACH EACH EACH EACH EACH EACH EACH E	1 1 1 1 5	\$760.00 \$859.00 \$1.40 \$1.40 \$1.40 \$2.50 \$2400 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$1,358.50 \$1,430.00 \$2,200.00 \$1,279.00 \$1,2	\$1,716.05 \$6,000.05 \$0.00.05 \$
	150 15: 15: 15: 15: 15: 15: 15: 15: 16: 16: 16: 16: 16: 16: 16: 16: 16: 16	9 720-FWR31 LINED CHARHAM DR. 7 20-FWR37 LINED CHARHAM DR. 1 801-FWR01 LINED CHARHAM DR. 2 603-10033 LINED CHARHAM DR. 3 603-10034 LINED CHARHAM DR. 4 603-10034 LINED CHARHAM DR. 5 603-10034 LINED CHARHAM DR. 6 603-10037 LINED CHARHAM DR. 7 603-10051 LINED CHARHAM DR. 8 603-10051 LINED CHARHAM DR. 9 603-10052 LINED CHARHAM DR. 9 603-10052 LINED CHARHAM DR. 1 105-06454 LINED CHARHAM DR. 1 105-06455 LINED CHARHAM DR. 1 2 103-10055 LINED CHARHAM DR. 1 105-06454 LINED CHARHAM DR. 1 2 103-10055 LINED CHARHAM DR. 1 2	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. ILINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY RAMSVERSE MARKING, MULTI-COMPONENT, ONLY RAMSVERSE MARKING, MULTI-COMPONENT LANE INDICATION AR ROW R. CONSTRUCTION ENGREEPING R. CONSTRUCTION ENGREEPING R. MOBILIZATION AND DEMOBILIZATION REE 18 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 50 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) R. CONCRETE REMOVE EXCAVATION, COMMON (UNDISTIBUTED)	EACH EACH LS LS LFT LFT LFT LFT EACH EACH LS LS EACH LS EACH LS EACH EACH EACH EACH EACH EACH EACH EACH	1 1 1 1 5 4240	\$760.00 \$859.00 \$6,000.00 \$1.40 \$1.40 \$1.40 \$2.50 \$24.00 \$2,000.00 \$8.90 \$350.00 \$2,000.00 \$2,000.00 \$1,355.00 \$2,000.00 \$2,00	\$1,716.00 \$6,000.00 \$0.0
	150 15: 15: 15: 15: 15: 15: 15: 15: 16: 16: 16: 16: 16: 16: 16: 16: 16: 16	9 720-FWR31 LINED CHARHAM OR 720-FWR37 LINED CHARHAM DR 1 801-FWR01 LINED CHARHAM DR 2 609-10033 LINED CHARHAM DR 3 609-10034 LINED CHARHAM DR 3 609-10034 LINED CHARHAM DR 4 608-10035 LINED CHARHAM DR 5 609-10037 LINED CHARHAM DR 6 609-10051 LINED CHARHAM DR 7 609-10051 LINED CHARHAM DR 7 609-10051 LINED CHARHAM DR 8 609-10051 LINED CHARHAM DR 1 609-10051 LINED CHARHAM DR 1 105-60845 LINED CHARHAM DR 1 109-1001 LINED CHARHAM DR 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. ILINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY RAMSVERSE MARKING, MULTI-COMPONENT, ONLY RAMSVERSE MARKING, MULTI-COMPONENT LANE INDICATION AR ROW R. CONSTRUCTION ENGREEPING R. CONSTRUCTION ENGREEPING R. MOBILIZATION AND DEMOBILIZATION REE 18 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 50 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) R. CONCRETE REMOVE EXCAVATION, COMMON (UNDISTIBUTED)	EACH EACH US US UFT UFT UFT UFT EACH EACH LET EACH EACH EACH SACH EACH SACH EACH EACH EACH EACH EACH EACH EACH E	2 1 1 1 1 1 5 5	\$760.00 \$859.00 \$1.40 \$1.40 \$1.40 \$2.50 \$2400 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$1,358.50 \$1,430.00 \$2,200.00 \$1,279.00 \$1,2	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	15(1) 15: 15: 15: 15: 15: 15: 15: 15: 15: 15:	9 720 F.WR31 LINE D CHATHAM OR 2720 F.WR37 LINE D CHATHAM DR 1 1 801 F.WR37 LINE D CHATHAM DR 2 609 1-0033 LINE D CHATHAM DR 2 609 1-0033 LINE D CHATHAM DR 1 609 1-0036 LINE D CHATHAM DR 4 608 1-0036 LINE D CHATHAM DR 5 609 1-0037 LINE D CHATHAM DR 7 609 1-0037 LINE D CHATHAM DR 8 609 1-0051 LINE D CHATHAM DR 9 609 1-0050 LINE D CHATHAM DR 9 609 1-0077 LINE D CHATHAM DR	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. ILINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY RAMSVERSE MARKING, MULTI-COMPONENT, ONLY RAMSVERSE MARKING, MULTI-COMPONENT LANE INDICATION AR ROW R. CONSTRUCTION ENGREEPING R. CONSTRUCTION ENGREEPING R. MOBILIZATION AND DEMOBILIZATION REE 18 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 50 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) R. CONCRETE REMOVE EXCAVATION, COMMON (UNDISTIBUTED)	EACH EACH LS LS LFT LFT LFT LFT EACH EACH LS LS EACH LS EACH LS EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 5 5 4240 4240 8590 5 5	\$760.00 \$859.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$2,625.00 \$1,3359.50 \$1,430.00 \$1,3359.50 \$1,430.00 \$1,200.00 \$	\$1,716.0 \$6,000.0 \$0.0
	15(1) 15: 15: 15: 15: 15: 15: 15: 15: 15: 15:	9 720 FWR31 LINE D CHATHAM DR. 7 20 FWR37 LINE D CHATHAM DR. 1 801 FWR01 LINE D CHATHAM DR. 2 609-10033 LINE D CHATHAM DR. 3 608-10034 LINE D CHATHAM DR. 4 808-10036 LINE D CHATHAM DR. 5 808-10037 LINE D CHATHAM DR. 6 808-10051 LINE D CHATHAM DR. 7 808-10051 LINE D CHATHAM DR. 8 808-10051 LINE D CHATHAM DR. 9 808-10051 LINE D CHATHAM DR. 1 105-6845 LINE D CHATHAM DR. 1 105-6845 LINE D CHATHAM DR. 1 105-6945 LINE D CHATHAM DR. 3 201-02255 LINE E LANDSDOWNE DR. 5 201-02255 LINE E LANDSDOWNE DR. 6 201-02270 LINE E LANDSDOWNE DR. 6 201-02270 LINE E LANDSDOWNE DR. 8 202-93615 LINE E LANDSDOWNE DR. 9 203-03615 LINE E LANDSDOWNE DR.	CASTING, 24' SOUD SANTARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' CURB & GUTTER CASTING & ADJUST TO GRADE MANDERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, BY R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGREEMING MOBELIZATION AND DEMOBILIZATION THEE 18 IN., REMOVE INCLUDES STUMP GRINDING) TIREE 18 IN., REMOVE INCLUDES STUMP GRINDING) TIREE 48 IN., REMOVE INCLUDES STUMP GRINDING) TIREE 48 IN., REMOVE INCLUDES STUMP GRINDING) TIREE 60 IN., REMOVE INCLUDES STUMP GRINDING	EACH EACH LS UFT LFT LFT LFT EACH EACH LS LS EACH EACH LS SS SSS CYS EACH	1 1 1 1 1 5 4240 850 5 5	\$760.00 \$859.00 \$1.40 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$2,000.00 \$1,450.	\$1,716.0 \$0,000 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	150 15: 15: 15: 15: 15: 15: 15: 16: 16: 16: 16: 16: 16: 16: 16: 16: 16	9 720-FWR31 LINE D CHARHAN DR. 7 20-FWR37 LINE D CHARHAN DR. 1 801-FWR01 LINE D CHARHAM DR. 2 809-10033 LINE D CHARHAM DR. 3 809-10034 LINE D CHARHAM DR. 4 809-10034 LINE D CHARHAM DR. 5 809-10034 LINE D CHARHAM DR. 6 809-10031 LINE D CHARHAM DR. 6 809-10051 LINE D CHARHAM DR. 7 809-10052 LINE D CHARHAM DR. 8 809-10051 LINE D CHARHAM DR. 9 809-10051 LINE D CHARHAM DR. 1 109-08495 LINE D CHARHAM DR. 2 809-10071 LINE D CHARHAM DR. 3 201-02255 LINE E LANOSDOWNE DR. 2 100-02255 LINE E LANOSDOWNE DR. 5 201-02255 LINE E LANOSDOWNE DR. 6 201-02270 LINE E LANOSDOWNE DR. 7 202-02240 LINE E LANOSDOWNE DR. 9 203-02001 LINE E LANOSDOWNE DR.	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE HARRING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARRING, MULTI-COMPONENT, TOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARRING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARRING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARRING, MULTI-COMPONENT, AR IR TRANSVERSE MARRING, MULTI-COMPONENT, CONSVILLUE, WHITE, 6 IN. PAVEMENT MESSAGE MARRING MULTI-COMPONENT LANE MIDICATION AR ROW R. CONSTRUCTION ENGINEERING WOBLIZATION AND DEMOBILIZATION THEE 18 IN., REMOVE (INCLUDES STUMP GRINDING) THEE 18 IN., REMOVE (INCLUDES STUMP GRINDING) THEE 48 IN., REMOVE (INCLUDES STUMP GRINDING) THEE 48 IN., REMOVE (INCLUDES STUMP GRINDING) THEE 48 IN., REMOVE (INCLUDES STUMP GRINDING) THEE 60 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCANATION, COMMON (UNDISTIBUTED) TEMPORARY INLET PROTECTION GEOGRIO, TYPE 18, BX 1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) FOOMPATED AGGREGATE NO. 53	EACH EACH LS LS LFT LFT LFT LFT EACH EACH LS LS EACH EACH ST EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 1 5 5 4 240 6 6 50 6 5 5 5 5 5 1 1 5 5 0	\$760.00 \$859.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$2,625.00 \$1,3359.50 \$1,430.00 \$1,3359.50 \$1,430.00 \$1,200.00 \$	\$1,716.0 \$0,000 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	15(1) 15: 15: 15: 15: 15: 15: 15: 15: 15: 15:	9 720-FWR31 LINED CHARHAM OR 720-FWR37 LINED CHARHAM OR 1 601-FWR01 LINED CHARHAM OR 2 603-10033 LINED CHARHAM OR 3 603-10034 LINED CHARHAM OR 4 603-10034 LINED CHARHAM OR 4 603-10034 LINED CHARHAM OR 5 603-10031 LINED CHARHAM OR 7 603-10031 LINED CHARHAM OR 7 603-10031 LINED CHARHAM OR 7 603-10052 LINED CHARHAM OR 7 603-10074 LINED CHARHAM OR 7 603-10074 LINED CHARHAM OR 7 603-10075 LINED	CASTING, 24' SOUD SANTARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' CURB A GUTTER CASTING & ADJUST TO GRADE MANDERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRANSVERSE ARRONG, MULTI-COMPONENT, GROSSVALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LAKE RIDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION I REE 38 IN., REMOVE (INCLUDES STUMP GRINDING) I REE 38 IN., REMOVE (INCLUDES STUMP GRINDING) I REE 48 IN., REMOVE (INCLUDES STUMP GRINDING) I REE 60 IN., REMOVE (INCLUDES STUMP GRINDING) REPECEDIN, REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE (CONCRETE REMOVE REMOVED AND STREED FOR CECTORN REMOVE	EACH EACH EACH US UFT UFT UFT UFT EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 5 5 4240 650 5 5 5 1590 1230	\$760.00 \$5.90.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$2.50 \$2.00.00 \$350.00 \$2.00.00 \$350.00 \$2.625.00 \$2.625.00 \$1,430.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,200.00 \$1,359.50 \$1,450.00 \$2.00.00 \$350.0	\$1,716.0 \$0,00.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	150 151 151 151 151 151 151 151 151 160 160 160 160 160 160 160 160 160 16	9 720 - FWR31 LINE D CHATHAM OR 2 720 - FWR37 LINE D CHATHAM OR 1 80 - FWR37 LINE D CHATHAM OR 2 609 - 10033 LINE D CHATHAM OR 3 609 - 10034 LINE D CHATHAM OR 4 600 - 10034 LINE D CHATHAM OR 5 600 - 10034 LINE D CHATHAM OR 7 600 - 10031 LINE D CHATHAM OR 7 600 - 10031 LINE D CHATHAM OR 7 600 - 10031 LINE D CHATHAM OR 8 600 - 10051 LINE D CHATHAM OR 1 600 - 10051 LINE D CHATHAM OR 1 600 - 10051 LINE D CHATHAM OR 1 1005 - 10050 LINE D CHATHAM OR 1 1 10050 LINE D C	CASTING, 24' SOUD SANTARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' CURB A GUTTER CASTING & ADJUST TO GRADE MANNERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RY R TRANSVERSE MARKING, MULTI-COMPONENT, CONSEVAUL LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT LANE RIDICATION AR ROW CONSTRUCTION ENGREEMING MOBILIZATION AND DEMOBILIZATION TREE 16 IN., REMOVE (INCLUDES STUMP GRINDING) TIREE 16 IN., REMOVE (INCLUDES STUMP GRINDING) TIREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TIREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) TIREE 60 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONNERTE REMOVE CONTERTE REMOVE CONNERTE REMOVE CONNERTE REMOVE CONNERTE REMOVE	EACH EACH US UFT UFT UFT UFT EACH EACH EACH US EACH EACH STS EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 1 5 5 4 240 6 6 50 6 5 5 5 5 5 1 1 5 5 0	\$760.00 \$859.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,200.00 \$6.90 \$350.00 \$1,359.50 \$1,359.50 \$1,359.50 \$1,271 \$177.16 \$38.61 \$38.61 \$38.61 \$38.61 \$38.61 \$38.61 \$38.61 \$38.61 \$38.61 \$38.60 \$38.60 \$38.61 \$38.61 \$38.61 \$38.60 \$38.60 \$38.60 \$38.60 \$38.60 \$38.61 \$38.61 \$38.60 \$38	\$1,716.00 \$0
	150 150 150 150 150 150 150 150 150 150	9 720-PWR31 LINED CHARHAM DR. 7 20-PWR37 LINED CHARHAM DR. 1 801-PWR01 LINED CHARHAM DR. 2 603-10033 LINED CHARHAM DR. 3 603-10034 LINED CHARHAM DR. 4 603-10034 LINED CHARHAM DR. 5 603-10034 LINED CHARHAM DR. 6 603-10031 LINED CHARHAM DR. 6 603-10031 LINED CHARHAM DR. 7 603-10052 LINED CHARHAM DR. 8 603-10051 LINED CHARHAM DR. 9 603-10052 LINED CHARHAM DR. 1 105-06454 LINED CHARHAM DR. 9 603-10072 LINED CHARHAM DR. 1 105-06454 LINE CHARHAM DR. 1 105-06454 LINE CHARHAM DR. 1 105-06454 LINE CHARHAM DR. 1 105-06455 LINE CHARHAM DR. 1 105-06454 LINE CHARHAM DR. 1 105-06454 LINE CHARHAM DR. 1 105-06455 LINE CHARHAM DR. 1 105-06454 LINE CHARHAM DR. 1 1 105-06454 LINE CHARHAM DR. 1 1 105-06454 LINE CHARHAM DR. 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. UNE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, TOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, AR IR TRANSVERSE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, AR IR TRANSVERSE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT LANE INDICATION AR ROW R. CONSTRUCTION ENGREEPING R. CONSTRUCTION ENGREEPING R. MOBILIZATION AND DEMOBILIZATION REE 18 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) R. TREE 60 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE R. CONCRE	EACH EACH LS LS LFT LFT LFT LFT LFT EACH EACH LFT EACH EACH EACH SACH LS CACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 5 5 4240 650 5 5 5 1590 1230	\$760.00 \$859.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$2,625.00 \$1,3359.50 \$1,430.00 \$1,200.00 \$1,716 \$1,7	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	15(1) 15: 15: 15: 15: 15: 15: 15: 15: 15: 16: 16: 16: 16: 16: 16: 17: 17: 17: 17: 17: 17: 17: 17: 17: 17	9 720 FWR31 LINE D CHATHAM DR. 7 20 FWR37 LINE D CHATHAM DR. 1 801 FWR01 LINE D CHATHAM DR. 2 603 10033 LINE D CHATHAM DR. 3 603 10034 LINE D CHATHAM DR. 4 803 10034 LINE D CHATHAM DR. 5 803 10034 LINE D CHATHAM DR. 5 803 10037 LINE D CHATHAM DR. 6 803 10015 LINE D CHATHAM DR. 7 803 10052 LINE D CHATHAM DR. 8 803 10051 LINE D CHATHAM DR. 1 803 10052 LINE D CHATHAM DR. 1 100 50031 LINE D CHATHAM DR. 1 100 50031 LINE D CHATHAM DR. 1 100 50031 LINE D CHATHAM DR. 2 803 10052 LINE D CHATHAM DR. 2 803 10057 LINE D CHATHAM DR. 2 803 10027 LINE D CHATHAM DR. 3 903 10052 LINE E LANDSDOWNE DR. 5 903 10052 LINE E LANDSDOWNE DR. 5 903 10052 LINE E LANDSDOWNE DR. 6 903 10052 LINE E LANDSDOWNE DR. 9 203 20000 LINE E LANDSDOWNE DR. 9 203 20000 LINE E LANDSDOWNE DR. 9 203 10050 LINE E LANDSDOWNE DR. 9 203 1050 LINE E LANDSDOWNE DR. 9 204 1050 LINE E LANDSDOWNE DR. 9 205 1050 LINE E LAND	CASTING, 24' SOUD SANTARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' CURB A GUTTER CASTING & ADJUST TO GRADE MANNERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4' IR. LUNE, MULTI-COMPONENT, SOUD, WHITE, 4' IR. LUNE, MULTI-COMPONENT, SOUD, WHITE, 4' IR. LUNE, MULTI-COMPONENT, SOUD, WHITE, 6' IR. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24' IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RY IR TRANSVERSE HARRING, MULTI-COMPONENT, GROSSWALK LUNE, WHITE, 6 IR. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LAKE INDICATION AR ROW CONSTRUCTION ENGREEMING MOBILIZATION AND DEMOBILIZATION RIFEE SIN, REMOVE (INCLUDES STUMP GRINDING) TIFEE SOIN, REMOVE (INCLUDES STUMP GRINDING) TIFEE SOIN, REMOVE (INCLUDES STUMP GRINDING) TIFEE SOIN, REMOVE (INCLUDES STUMP GRINDING) RIFEE SOIN, REMOVE (INCLUDES	EACH EACH EACH US UFT UFT UFT UFT EACH EACH UFT EACH EACH US EACH STS EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 1 5 5 5 5 5 1690 1230 4240	\$760.00 \$598.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$2.50 \$2.00.00 \$350.00 \$2,000.00 \$350.00 \$2,200.00 \$350.00 \$2,200.00 \$2,200.00 \$2,200.00 \$1,359.50 \$1,359.50 \$1,271 \$17.16 \$38.51 \$17.16 \$38.50 \$350.00 \$4.00 \$350.00 \$2,200.00 \$2,200.00 \$2,200.00 \$350.0	\$1,716.0 \$6,000.0 \$0.0
	155 155 155 155 155 155 155 155 155 155	9 726 - FWR31 LINE D CHATHAM DR. 7 206 - FWR37 LINE D CHATHAM DR. 1 801 - FWR01 LINE D CHATHAM DR. 2 603 - 10033 LINE D CHATHAM DR. 3 603 - 10034 LINE D CHATHAM DR. 4 603 - 10034 LINE D CHATHAM DR. 5 603 - 10034 LINE D CHATHAM DR. 6 603 - 10051 LINE D CHATHAM DR. 7 603 - 10051 LINE D CHATHAM DR. 8 603 - 10051 LINE D CHATHAM DR. 9 603 - 10052 LINE D CHATHAM DR. 1 105 - 6035 LINE D CHATHAM DR. 2 1 100 - 1001 LINE D CHATHAM DR. 3 1 105 - 6035 LINE D CHATHAM DR. 2 1 100 - 1001 LINE D CHATHAM DR. 3 1 100 - 1001 LINE D CHATHAM DR. 6 1 10025 LINE D CHATHAM DR. 6 1 10025 LINE D CHATHAM DR. 7 1 100 - 1001 LINE E LANDSDOWNE DR. 6 2 100 - 2025 LINE E LANDSDOWNE DR. 6 2 10 - 10225 LINE E LANDSDOWNE DR. 6 2 100 - 1000 LINE E LANDSDOWNE DR. 6 2 100 - 1000 LINE E LANDSDOWNE DR. 6 2 100 - 1000 LINE E LANDSDOWNE DR. 6 2 100 - 1000 LINE E LANDSDOWNE DR. 6 2 100 - 1000 LINE E LANDSDOWNE DR. 6 2 1000 LINE E LANDSDOWNE DR. 6 2 1000 LINE E LANDSDOWNE DR. 7 1 1000 LINE E LANDSDOWNE DR.	CASTING, 24' SOUD SANTARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' CURB & GUTTER CASTING & ADJUST TO GRADE MANDERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. PAVENERT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVENENT MESSAGE MARKING, MULTI-COMPONENT, ORLY PAVENERT MESSAGE MARKING, MULTI-COMPONENT LAKE RIDICATION AR ROW CONSTRUCTION ENGRERING MOBILIZATION AND DEMOBILIZATION THEE 16 IN., REMOVE (INCLUDES STUMP GRINDING) TIREE 16 IN., REMOVE (INCLUDES STUMP GRINDING) TIREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TIREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) THEE 60 IN., REMOVE (INCLUDES STUMP GRINDING) THEE 60 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONNERTE REMOVE ROWNERTER RE	EACH EACH US UFT UFT UFT UFT EACH EACH EACH US EACH EACH SACH EACH EACH EACH EACH EACH EACH EACH E	2 2 1 1 1 1 1 1 1 5 5 4240 650 5 5 5 1590 1230	\$760.00 \$859.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,200.00 \$6,90 \$350.00 \$1,359.50 \$1,359.50 \$1,430.00 \$1,271 \$17.16 \$38.51 \$12.71 \$17.16 \$38.51 \$102.00 \$48.36 \$350.00	\$1,716.0 \$0.00
	150 150 150 150 150 150 150 150 150 150	9 720 - FWR31 LINE D CHATHAM DR. 1 590 - FWR91 LINE D CHATHAM DR. 2 590 - 10033 LINE D CHATHAM DR. 2 590 - 10033 LINE D CHATHAM DR. 3 590 - 10034 LINE D CHATHAM DR. 4 590 - 10036 LINE D CHATHAM DR. 5 590 - 10037 LINE D CHATHAM DR. 6 690 - 10051 LINE D CHATHAM DR. 7 590 - 10052 LINE D CHATHAM DR. 8 690 - 10051 LINE D CHATHAM DR. 9 690 - 10055 LINE D CHATHAM DR. 9 690 - 10055 LINE D CHATHAM DR. 1 105 - 06445 LINE D CHATHAM DR. 2 1 105 - 06445 LINE D CHATHAM DR. 3 100 - 10052 LINE D CHATHAM DR. 9 690 - 10055 LINE D CHATHAM DR. 2 1 105 - 0645 LINE D CHATHAM DR. 3 100 - 10052 LINE D CHATHAM DR. 5 105 - 0645 LINE E LANDSDOWNE DR. 5 100 - 10052 LINE E LANDSDOWNE DR. 6 100 - 10052 LINE E LANDSDOWNE DR. 6 100 - 10052 LINE E LANDSDOWNE DR. 8 100 - 10052 LINE E LANDSDOWNE DR. 8 100 - 10052 LINE E LANDSDOWNE DR. 9 100 - 10053 LINE E LANDSDOWNE DR. 9 100 - 10053 LINE E LANDSDOWNE DR. 1 1 214 - 11796 LINE E LANDSDOWNE DR. 2 1 3 01 - 17970 LINE E LANDSDOWNE DR. 2 1 3 01 - 17970 LINE E LANDSDOWNE DR. 2 1 3 01 - 17970 LINE E LANDSDOWNE DR. 2 1 3 01 - 17970 LINE E LANDSDOWNE DR. 3 104 - 07490 LINE E LANDSDOWNE DR. 3 104 - 07490 LINE E LANDSDOWNE DR. 3 104 - 07490 LINE E LANDSDOWNE DR. 4 509 - 11764 LINE E LANDSDOWNE DR. 5 104 - 06000 LINE E LANDSDOWNE DR. 6 064 - 06000 LINE E LANDSDOWNE DR.	CASTING, 24' SOUD SANTARY MATHOLE, FURRISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' CURB & GUTTER CASTING & ADJUST TO GRADE MANDERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RYR TRANSVERSE MARKING, MULTI-COMPONENT, GROSSWALKUNE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LAKE INDICATION AR ROWY CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOSILIZATION THEE 18 IN., REMOVE INCLUDES STUMP GRINDING) THEE 48 IN., REMOVE INCLUDES STUMP GRINDING) THE 69 IN., REMOVE INCLUDES STUMP GRINDING) THE 60 IN., REMOVE INCLUDES STUMP GRINDING THE 60 IN., REMOVE INCLUDES STUMP GRINDING THE 60 IN., REMOVE INCLUDES STUMP GRINDING THE 60	EACH EACH EACH US UFT UFT UFT EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 1 5 5 5 5 5 1690 1230 4240	\$760.00 \$558.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$2.50 \$2.00 \$350.00 \$2,000.00 \$350.00 \$2,000.00 \$2,000.00 \$2,200.00 \$2,200.00 \$2,220.00 \$2,220.00 \$2,200.00 \$2,200.00 \$2,300.00 \$2,300.00 \$350.00	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	156 156 157 157 157 157 157 157 157 157 157 157	9 720 - PAWRSI LINED CHARTHAN DR. 1 801 - PAWRSI LINED CHARTHAN DR. 2 609 - 10033 LINED CHARTHAN DR. 3 609 - 10034 LINED CHARTHAN DR. 4 609 - 10034 LINED CHARTHAN DR. 4 609 - 10034 LINED CHARTHAN DR. 5 609 - 10034 LINED CHARTHAN DR. 6 609 - 10051 LINED CHARTHAN DR. 7 600 - 10051 LINED CHARTHAN DR. 8 609 - 10051 LINED CHARTHAN DR. 9 609 - 10051 LINED CHARTHAN DR. 1 100 - 6004 LINED CHARTHAN DR. 1 100 - 6004 LINED CHARTHAN DR. 1 100 - 6004 LINED CHARTHAN DR. 2 1 100 - 1001 LINED CHARTHAN DR. 3 1004 - 10055 LINED CHARTHAN DR. 4 1 1005 - 6004 LINED CHARTHAN DR. 5 1 1004 - 1004 LINED CHARTHAN DR. 6 1 1005 LINED CHARTHAN DR. 6 1 1005 LINED CHARTHAN DR. 6 1 1005 LINED CHARTHAN DR. 7 1 1005 - 1005 LINED CHARTHAN DR. 7 1 1005 - 1005 LINED CHARTHAN DR. 7 1 1 1005 - 1005 LINED CHARTHAN DR. 7 1 1 1005 - 1005 LINED CHARTHAN DR. 7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	CASTING, 24' SOUD SANTARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' CURB A GUTTER CASTING & ADJUST TO GRADE MANDERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4' IR. LUNE, MULTI-COMPONENT, SOUD, WHITE, 4' IR. LUNE, MULTI-COMPONENT, SOUD, WHITE, 4' IR. LUNE, MULTI-COMPONENT, SOUD, WHITE, 6' IR. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24' IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RY IR TRANSVERSE MARKING, MULTI-COMPONENT, CROSSAVIAL UNE, WHITE, 6 IR. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LAKE INDICATION AR ROWY CONSTRUCTION ENGREEMING MOBILIZATION AND DEMOBILIZATION RIFEE SIN, REMOVE (INCLUDES STUMP GRINDING) TREE SIN, REMOVE (INCLUDES STUMP GRINDING) TREE SIN, REMOVE (INCLUDES STUMP GRINDING) TREE SOIN, REMOVE (INCLUDES STUMP GRINDING) RIFEE SOIN, REMOVE (INCLUDES STUMP GRINDING) RIFEE SOIN, REMOVE (INCLUDES TOMP GRINDING) RIF	EACH EACH LS LFT LFT LFT LFT EACH LFT EACH LFT EACH LFT EACH LS EACH LS EACH EACH STS STS STS STS STS STS STS STS STS ST	2 2 1 1 1 1 1 1 1 1 5 5 5 5 5 1690 1230 4240	\$760.00 \$859.00 \$1.40 \$1.40 \$1.40 \$2.50 \$2.50 \$2.00.00 \$350.00 \$2.00.00 \$350.00 \$2.00.00 \$1.358.50 \$1.450.00 \$1.358.50 \$1.450.00 \$1.271 \$1.716 \$38.51 \$1.200 \$48.25 \$350.00 \$1.271 \$1.27	\$1,746.00 \$0
	156 156 157 157 157 157 157 157 157 157 157 157	9 720 - FWR31 LINE D CHATHAM DR. 1 89.1-FWR31 LINE D CHATHAM DR. 2 899-10033 LINE D CHATHAM DR. 3 809-10034 LINE D CHATHAM DR. 4 809-10034 LINE D CHATHAM DR. 4 809-10034 LINE D CHATHAM DR. 5 809-10054 LINE D CHATHAM DR. 6 809-10051 LINE D CHATHAM DR. 7 809-10051 LINE D CHATHAM DR. 8 809-10051 LINE D CHATHAM DR. 9 809-10051 LINE D CHATHAM DR. 1 809-10051 LINE D CHATHAM DR. 1 100-50845 LINE D CHATHAM DR. 1 100-50845 LINE D CHATHAM DR. 2 809-10052 LINE D CHATHAM DR. 2 1 100-1001 LINE E LANDSDOWNE DR. 2 801-02255 LINE E LANDSDOWNE DR. 2 801-02250 LINE E LANDSDOWNE DR. 2 801-02250 LINE E LANDSDOWNE DR. 2 801-02540 LINE E LANDSDOWNE DR. 3 801-02540 LINE E LANDSDOWN	CASTING, 24' SOUD SANTARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 27' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. RANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVENENT MESSAGE MARKING, MULTI-COMPONENT, ONLY RANSVERSE MARKING, MULTI-COMPONENT, ONLY PAVENENT MESSAGE MARKING, MULTI-COMPONENT, ONLY RANSVERSE MARKING, MULTI-COMPONENT, ONLY ROBELIZATION AND DEMOBILIZATION THEE 16 IN., REMOYE (INCLUDES STUMP GRINDING) TIREE 16 IN., REMOYE (INCLUDES STUMP GRINDING) TIREE 16 IN., REMOYE (INCLUDES STUMP GRINDING) THEE 60 IN., REMOYE (INCLUDES STUMP GRINDING) THEE 60 IN., REMOYE (INCLUDES STUMP GRINDING) THEE 60 IN., REMOYE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOYE EXCAVATION, COMMON (UNDISTIBILITED) TOMORATED AGREGATE NO. 63 THAS PATCHING, TYPE B UNDISTRIBUTED) TOMORATED AGREGATE NO. 63 INA PATCHING, TYPE B UNDISTRIBUTED) TOMORATED AGREGATE NO. 63 THAS PATCHING, TYPE B UNDISTRIBUTED) TOTAL THE MARKEN OF THE MARKING SURFACES SIDEWALK, CONCRETE (IN) [INCLUDE YARD WALKS] (UNDISTRIBUTED) TOCH FER TABLE VARNING SURFACES SIDEWALK, CONCRETE (IN) [INCLUDE YARD WALKS] (UNDISTRIBUTED) TOCH FER PAPENDACHES, BIN. (COMMERCIAL APPROACHES)	EACH EACH US UFT UFT UFT UFT EACH EACH EACH US EACH US EACH US EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 1 1 5 5 5 5 5 5 1 1230 4240 4240 440	\$760.00 \$859.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$2,200.00 \$350.00 \$2,265.00 \$1,359.50 \$1,430.00 \$5,000.00 \$1,271 \$17.16 \$38.51 \$102.00 \$48.76 \$350.00 \$350.00 \$350.00 \$12,71 \$17.16 \$38.51 \$102.00 \$48.76 \$350.00	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	150 150 150 150 150 150 150 150 150 150	9 720 - FWR31 LINE D CHATHAM OR 2 720 - FWR37 LINE D CHATHAM OR 1 80 - FWR01 LINE D CHATHAM DR 2 609 - 10033 LINE O CHATHAM OR 2 609 - 10033 LINE O CHATHAM OR 3 609 - 10034 LINE O CHATHAM OR 4 609 - 10034 LINE O CHATHAM OR 5 609 - 10037 LINE D CHATHAM OR 7 600 - 10037 LINE D CHATHAM OR 7 600 - 10052 LINE D CHATHAM OR 7 600 - 10052 LINE D CHATHAM OR 7 600 - 10053 LINE D CHATHAM OR 7 600 - 10052 LINE D CHATHAM OR 7 600 - 10077 LINE D CHATHAM OR	CASTING, 24' SOUD SANTARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' S' CURB & GUTTER CASTING & ADJUST TO GRADE MANDERIANCE OF PRAPTIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRANSVERSE HARRING, MULTI-COMPONENT, CROSSAVIAL LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT, GROSSAVIAL LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BROCKATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBRIZATION TIREE 18 IN., REMOVE INCLUDES STUMP GRINDING) TIREE 38 IN., REMOVE INCLUDES STUMP GRINDING) TIREE 48 IN., REMOVE INCLUDES STUMP GRINDING TIREE 48 IN., REMOVE INCLUDES STUMP GRINDING TIREE 48 IN., REMOVE INCL	EACH EACH EACH EX US UFT UFT UFT EACH EACH EACH EACH EACH EACH EACH IS EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 1 5 5 5 5 5 1690 1230 4240	\$760.00 \$559.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$2.50 \$2.00.00 \$350.00 \$350.00 \$2,000.00 \$350.00 \$2,200.00 \$2,200.00 \$1,	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	156 156 157 157 157 157 157 157 157 157 157 157	9 720 - PAWRSI LINED CHARDHAN DR. 1 891 - PAWRSI LINED CHARDHAN DR. 2 693 - 10033 LINED CHARDHAN DR. 3 693 - 10034 LINED CHARDHAN DR. 4 693 - 10034 LINED CHARDHAN DR. 4 693 - 10034 LINED CHARDHAN DR. 5 693 - 10034 LINED CHARDHAN DR. 5 693 - 10034 LINED CHARDHAN DR. 6 693 - 10051 LINED CHARDHAN DR. 7 693 - 10052 LINED CHARDHAN DR. 8 693 - 10052 LINED CHARDHAN DR. 1 1005 - 6945 LINED CHARDHAN DR. 2 1 100 - 1001 LINED CHARDHAN DR. 3 201 - 02255 LINED CHARDHAN DR. 4 201 - 02255 LINED CHARDHAN DR. 6 201 - 0235 LINED CHARDH	CASTING, 24' SOUD SANTARY MATHOLE, PURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 27' X2' CURB A GUTTER CASTING & ADJUST TO GRADE MANDETAINCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. UNE, MULTI-COMPONENT, SOUD, WHITE, 8 IR. UNE, MULTI-COMPONENT, SOUD, WHITE, 8 IR. INE, MULTI-COMPONENT, SOUD, WHITE, 8 IR. INE, MULTI-COMPONENT, SOUD, WHITE, 8 IR. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, SIOP UNE, WHITE, 24 IR. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RY R TRANSVERSE MARKING, MULTI-COMPONENT LAKE RIDICATION AR ROW CONSTRUCTION ENGRERING MOBILIZATION AND DEMOBILIZATION R TREE 38 IR., REMOVE (INCLUDES STUMP GRINDING) TIRE 38 IR., REMOVE (INCLUDES STUMP GRINDING) TIRE 48 IR., REMOVE (INCLUDES STUMP GRINDING) R TREE 48 IR., REMOVE (INCLUDES TUMP GRINDING) R TREE 60 IR., REMOVE (INCLU	EACH EACH US UFT UFT UFT UFT EACH EACH EACH US EACH US EACH US EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 1 1 5 5 5 5 5 5 1 1230 4240 4240 440	\$760.00 \$859.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$2,200.00 \$350.00 \$2,265.00 \$1,359.50 \$1,430.00 \$5,000.00 \$1,271 \$17.16 \$38.51 \$102.00 \$48.76 \$350.00 \$350.00 \$350.00 \$12,71 \$17.16 \$38.51 \$102.00 \$48.76 \$350.00	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	156 156 157 157 157 157 157 157 157 157 157 157	9 720 - PAWRSI LINED CHARDHAN DR. 1 891 - PAWRSI LINED CHARDHAN DR. 2 693 - 10033 LINED CHARDHAN DR. 3 693 - 10034 LINED CHARDHAN DR. 4 693 - 10034 LINED CHARDHAN DR. 4 693 - 10034 LINED CHARDHAN DR. 5 693 - 10034 LINED CHARDHAN DR. 5 693 - 10034 LINED CHARDHAN DR. 6 693 - 10051 LINED CHARDHAN DR. 7 693 - 10052 LINED CHARDHAN DR. 8 693 - 10052 LINED CHARDHAN DR. 1 1005 - 6945 LINED CHARDHAN DR. 2 1 100 - 1001 LINED CHARDHAN DR. 3 201 - 02255 LINED CHARDHAN DR. 4 201 - 02255 LINED CHARDHAN DR. 6 201 - 0235 LINED CHARDH	CASTING, 24' SOUD SANTARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' S' CURB & GUTTER CASTING & ADJUST TO GRADE MANDERIANCE OF PRAPTIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRANSVERSE HARRING, MULTI-COMPONENT, CROSSAVIAL LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT, GROSSAVIAL LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BROCKATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBRIZATION TIREE 18 IN., REMOVE INCLUDES STUMP GRINDING) TIREE 38 IN., REMOVE INCLUDES STUMP GRINDING) TIREE 48 IN., REMOVE INCLUDES STUMP GRINDING TIREE 48 IN., REMOVE INCLUDES STUMP GRINDING TIREE 48 IN., REMOVE INCL	EACH EACH EACH EX US UFT UFT UFT EACH EACH EACH EACH EACH EACH EACH IS EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 1 1 5 5 5 5 5 5 1 1230 4240 4240 440	\$760.00 \$559.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$2.50 \$2.00.00 \$350.00 \$350.00 \$2,000.00 \$350.00 \$2,200.00 \$2,200.00 \$1,	\$1,716.0 \$0,00 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$
	155 155 155 155 155 155 155 155 155 155	9 720 - PAWRSI LINED CHARDHAN DR. 1 891 - PAWRSI LINED CHARDHAN DR. 2 693 - 10033 LINED CHARDHAN DR. 3 693 - 10034 LINED CHARDHAN DR. 4 693 - 10034 LINED CHARDHAN DR. 4 693 - 10034 LINED CHARDHAN DR. 5 693 - 10034 LINED CHARDHAN DR. 5 693 - 10034 LINED CHARDHAN DR. 6 693 - 10051 LINED CHARDHAN DR. 7 693 - 10052 LINED CHARDHAN DR. 8 693 - 10052 LINED CHARDHAN DR. 1 1005 - 6945 LINED CHARDHAN DR. 2 1 100 - 1001 LINED CHARDHAN DR. 3 201 - 02255 LINED CHARDHAN DR. 4 201 - 02255 LINED CHARDHAN DR. 6 201 - 0235 LINED CHARDH	CASTING, 24' SOUD SANTARY MANHOL, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. RANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVENENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVENERT MESSAGE MARKING, MULTI-COMPONENT, AND TRAISVERSE MARKING, MULTI-COMPONENT, AND TRAISVERSE MARKING, MULTI-COMPONENT, AND TRAISVERSE MARKING, MULTI-COMPONENT, AND TREE JOIN, REMONE (INCLUDES STUMP GRINDING) TREE GOIN, REMONE (INCLUDES INTEGRAL CURB and COMPOSITE PAVENENT) CONCRETE REMONE EXCAVATION, COMMON (UNDISTIBILITED) TEMPORARY HILLE PROTECTION GEOGRIG, DYE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) FOOMPATED AGGREGATE NO. 53 INMA PATICHING, TYPE B UNDISTRIBUTED) FOCAP, TIM. LYMITH MONOLITIES CURB POCCP, FOR APPROACHES, BIN. (COMMERCIAL APPROACHES) ROCKPER FOR APPROACHES, BIN. (ESSENTIAL DRIVES) (UNDISTRIBUTED) HAVEBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ENCLOSES ON CONTROL AND STRAWMULCH	EACH EACH EACH US UFT UFT UFT EACH EACH EACH LFT EACH EACH EACH STS EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 1 1 5 5 5 5 5 5 1590 1230 4240 4440 440	\$760.00 \$859.00 \$1.40 \$1.40 \$1.40 \$2.50 \$2.50 \$2.50 \$350.00 \$350.00 \$350.00 \$350.00 \$1.358.50 \$1,450.00 \$1,271 \$17.16 \$38.51 \$12.71 \$17.16 \$38.51 \$350.00 \$12.71 \$17.16 \$350.00 \$12.71 \$17.16 \$350.00 \$350.00 \$12.71 \$17.16 \$350.00 \$350.00 \$12.71 \$17.16 \$350.00 \$350.00 \$12.71 \$17.16 \$350.00 \$350.00 \$12.71 \$17.16 \$350.00 \$350.00 \$350.00 \$12.71 \$17.16 \$350.00 \$3	\$0.00 \$0.00
	150 15: 15: 15: 15: 15: 15: 15: 15: 16: 16: 16: 16: 16: 17: 17: 17: 17: 17: 17: 17: 17: 17: 17	9 720 - PAW31 LINE D CHATHAM OR 2 720 - PAW37 LINE D CHATHAM OR 1 800 - PAW30 LINE D CHATHAM DR 2 600 - 10003 LINE D CHATHAM DR 2 600 - 10003 LINE D CHATHAM DR 3 600 - 10003 LINE D CHATHAM DR 4 600 - 10003 LINE D CHATHAM DR 4 600 - 10003 LINE D CHATHAM DR 7 600 - 10003 LINE D CHATHAM DR 7 600 - 10005 LINE D CHATHAM DR 7 600 - 10005 LINE D CHATHAM DR 8 600 - 10005 LINE D CHATHAM DR 9 600 - 10007 LINE D CHATHAM DR 9 60007 LINE D C	CASTING, 24' SOUD SANTARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' S' CURB & GUTTER CASTING & ADJUST TO GRADE MANDERIANCE OF PRAPTIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IR. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IR. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R.R.R TRANSVERSE HARRING, MULTI-COMPONENT, GROSSWALK LINE, WHITE, 6 IR. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT, GROSSWALK LINE, WHITE, 6 IR. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BROCKATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMORBIZATION TIREE 38 IR., REMOVE INCLUDES STUMP GRINDING) TIREE 38 IR., REMOVE INCLUDES STUMP GRINDING) TIREE 48 IR., REMOVE INCLUDES STUMP GRINDING TIREE 48 IR., REMOVE INCLUDES	EACH EACH LS LFT LFT LFT LFT LFT EACH EACH LS EACH LS EACH LS EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$760.00 \$559.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$2.50 \$2.50 \$2.60.00 \$350.00 \$2.625.00 \$2.625.00 \$1,430.00 \$1,200.00 \$1,	\$1,716.00 \$0,000
	150 15: 15: 15: 15: 15: 15: 15: 15: 16: 16: 16: 16: 16: 17: 17: 17: 17: 17: 17: 17: 17: 17: 17	9 720-PWR31 LINE D CHATHAM DR. 2 609-10033 LINE D CHATHAM DR. 2 609-10033 LINE D CHATHAM DR. 2 609-10034 LINE D CHATHAM DR. 3 608-10034 LINE D CHATHAM DR. 4 608-10036 LINE D CHATHAM DR. 4 608-10036 LINE D CHATHAM DR. 5 608-10051 LINE D CHATHAM DR. 7 608-10052 LINE D CHATHAM DR. 8 608-10051 LINE D CHATHAM DR. 8 608-10051 LINE D CHATHAM DR. 9 608-10052 LINE D CHATHAM DR. 1 105-60845 LINE D CHATHAM DR. 1 105-60845 LINE D CHATHAM DR. 1 105-60845 LINE D CHATHAM DR. 2 100-10021 LINE D CHATHAM DR. 3 201-02255 LINE D CHATHAM DR. 6 201-02255 LINE E LANDSDOWNE DR. 6 201-02255 LINE E LANDSDOWNE DR. 6 201-02255 LINE E LANDSDOWNE DR. 6 201-02270 LINE E LANDSDOWNE DR. 6 201-02270 LINE E LANDSDOWNE DR. 6 201-0235 LINE E LANDSDOWNE DR. 6 201-02365 LINE E LANDSDOWNE DR. 6 201-0240 LINE E LANDSDO	CASTING, 24' SOUD SANTARY MATHOLE, PURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 27' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANDETAINCE OF TRAFFIC UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. UNE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. UNE, MULTI-COMPONENT, SOUD, WHITE, 8 IR. UNE, MULTI-COMPONENT, SOUD, WHITE, 8 IR. INE, MULTI-COMPONENT, SOUD, WHITE, 8 IR. INE, MULTI-COMPONENT, SOUD, WHITE, 8 IR. INE, MULTI-COMPONENT, SOUD, WHITE, 8 IR. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 24 IR. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIVE TRANSVERSE MARKING, MULTI-COMPONENT, RIVE TRANSVERSE MARKING, MULTI-COMPONENT, RIVE TRANSVERSE MARKING, MULTI-COMPONENT, RIVE TRANSVERSE MARKING, MULTI-COMPONENT, BIR IR TRANSVERSE MARKING, MULTI-COMPONENT, BIR IR TRANSVERSE MARKING, MULTI-COMPONENT, BIR IR TRANSVERSE MARKING, MULTI-COMPONENT LAKE BIRD/CATION AR ROW CONSTRUCTION ENGINEERING MOBELIZATION AND DEMOBILIZATION THEE BIR IR, REMOVE INCLUDES STUMP GRINDING) THEE BIR IR IR INCLUDES STUMP GRINDING) THEE BIR IR IR INCLUDES STUMP GRINDING) THE BAYEMENT REMOVE INCLUDES STUMP GRINDING T	EACH EACH EACH US UFT UFT UFT EACH EACH EACH LFT EACH EACH LFT EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 1 5 5 5 5 5 15 20 1 2 2 2 2 5 6 0	\$760.00 \$859.00 \$1.40 \$1.40 \$2.50 \$2.50 \$2.50 \$350.00 \$350.00 \$350.00 \$350.00 \$1.271 \$1.359.50 \$1.359.50 \$1.271 \$17.16 \$38.51 \$12.00 \$4.00 \$5.00 \$1.271 \$17.16 \$3.50 \$1.271 \$17.16 \$3.50 \$1.20 \$	\$1,716.0 \$0,00 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$
	150 150 150 150 150 150 150 150 150 150	9 720 - PAWASI LINE D CHARDHAN DR. 1 590 - FWANS I LINE D CHARDHAN DR. 2 590 - 10033 LINE D CHARDHAM DR. 2 590 - 10033 LINE D CHARDHAM DR. 3 590 - 10034 LINE D CHARDHAM DR. 4 590 - 10036 LINE D CHARDHAM DR. 5 590 - 10037 LINE D CHARDHAM DR. 6 690 - 10051 LINE D CHARDHAM DR. 7 590 - 10037 LINE D CHARDHAM DR. 8 690 - 10051 LINE D CHARDHAM DR. 9 690 - 10055 LINE D CHARDHAM DR. 9 690 - 10055 LINE D CHARDHAM DR. 1 100 - 10045 LINE D CHARDHAM DR. 9 690 - 10055 LINE D CHARDHAM DR. 1 100 - 10045 LINE D CHARDHAM DR. 2 1 1007 LINE D CHARDHAM DR. 2 1 100 - 10015 LINE D CHARDHAM DR. 3 100 - 10025 LINE D CHARDHAM DR. 5 201 - 10077 LINE D CHARDHAM DR. 5 201 - 10077 LINE D CHARDHAM DR. 6 100 - 10077 LINE D CHARDHAM DR. 6 201 - 20255 LINE E LANDSDOWNE DR. 7 201 - 20240 LINE E LANDSDOWNE DR. 8 201 - 20255 LINE E LANDSDOWNE DR. 8 201 - 20255 LINE E LANDSDOWNE DR. 9 203 - 20200 LINE E LANDSDOWNE DR.	CASTING, 24' SOUD SANTARY MATHOLE, FURRISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' S' CURB & GUTTER CASTING & ADJUST TO GRADE MANDERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. PAWEHAIT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAWEHAIT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAWEHAIT MESSAGE MARKING, MULTI-COMPONENT, AR AR TRANSVERSE MARKING, MULTI-COMPONENT, CROSSAVIAL LINE, WHITE, 6 IN. PAWEHAIT MESSAGE MARKINGS MULTI-COMPONENT LAKE BROCCATION AR ROWY CONSTITUCTION ENGINEERING CONSTITUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION THEE 48 IN., REMOVE INCLUDES STUMP GRINDING) THEE 48 IN., REMOVE INCLUDES STUMP GRINDING) THEE 48 IN., REMOVE INCLUDES STUMP GRINDING) THEE 60 IN., REMOVE INCLUDES STUMP GRINDING) THEE 60 IN., REMOVE INCLUDES STUMP GRINDING) THE 60 IN., REMOVE INCLUDES STUMP GRINDING THE 60 IN., REMOVE INCLUDES STUMP GRINDING THE 60 IN., REMOVE	EACH EACH EACH US UFT UFT UFT UFT EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$760.00 \$558.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$2.50 \$2.00 \$350.00 \$2.00 \$350.00 \$2.00.00 \$2.200.00 \$2.220.00 \$2.220.00 \$2.220.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$350.00 \$2.200.00 \$2.200.00 \$350.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$350.00 \$40.25 \$550.00 \$12.50 \$550.00 \$12.50 \$550.00 \$12.50 \$550.00 \$12.50 \$550.00 \$12.50 \$550.00 \$12.50 \$12	\$1,716.00 \$0,000
	156 156 157 157 157 157 157 157 157 157 157 157	9 720-PWR31 LINE D CHATHAM DR. 1 801-PWR31 LINE D CHATHAM DR. 1 801-PWR31 LINE D CHATHAM DR. 2 603-10033 LINE D CHATHAM DR. 3 603-10034 LINE D CHATHAM DR. 4 803-10036 LINE D CHATHAM DR. 4 803-10036 LINE D CHATHAM DR. 5 803-10037 LINE D CHATHAM DR. 6 803-1001 LINE D CHATHAM DR. 7 803-10052 LINE D CHATHAM DR. 7 803-10052 LINE D CHATHAM DR. 8 803-1005 LINE D CHATHAM DR. 1 100-50845 LINE D CHATHAM DR. 1 100-50845 LINE D CHATHAM DR. 1 100-50845 LINE D CHATHAM DR. 2 803-10027 LINE D CHATHAM DR. 2 803-10027 LINE D CHATHAM DR. 3 903-10055 LINE E LANDSDOWNE DR. 5 201-02255 LINE E LANDSDOWNE DR. 6 201-02361 LINE E LANDSDOWNE DR. 6 201-0231 LINE E LANDSDOWNE DR. 7 804-0231 LINE E	CASTING, 24' SOUD SANTARY MATHOLE, FURRISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 27' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANDERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IR. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IR. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRANSVERSE ARRONG, MULTI-COMPONENT, GROSSVALK DISE, WHITE, 6 IR. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LAKE RIDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMORDIZATION RIFEE SIN, REMOVE RINCLUDES STUMP GRINDING) RIFEE SIN, REMOVE RINCLUDES STUMP GRINDING) RIFEE SIN, REMOVE RINCLUDES STUMP GRINDING) RIFEE GOIN, REMOVE RINCLUDES STUMP GRINDING) RIFEE GOIN, REMOVE RECANATION, COMMON (UNDISTIBUTED) CONCRETE REMOVE RECANATION, COMMON (UNDISTIBUTED) REPORDARY MILET PROTECTION GEOGRIO, TYPE 18, BX 1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) GOORGEO, TIN, WITH MONOLITIC CURB PCCP, 7 IR. WITH MONOLITIC CURB PCCP, 7 IR. WITH MONOLITIC CURB ROCK, 7 IR. PAVEMENT) ROCK PREPARATION, CONCRETE (AIR.) (INCLUDE VARD WALKS) (UNDISTRIBUTED) ROCK PER APPROACHES, BIN. (COMMERCIAL APPROACHES) ROCK PROPORACIES, BIN. (RESIDENTIAL ROWS) (UNDISTRIBUTED) ROCK PER PROACHES, BIN. (RESIDENTIAL ROWS) (UNDISTRIBUTED) ROCK PER PROACHES, BIN. (RESIDENTIAL ROWS) (UNDISTRIBUTED) ROCK POR PROACHES, BIN. (RESIDENTIAL ROWS) (UNDISTRIBUTED) ROCK PER PROACHES, BIN. (RESIDENTIAL ROWS) (UNDISTRIBUTED) ROCK POR PROACHES, BIN. (RESIDENTIAL ROWS) (UNDISTRIBUTED) ROCK PER PROACHES,	EACH EACH EACH EACH US UFT UFT UFT UFT EACH EACH UFT EACH EACH US EACH EACH US EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 1 5 5 5 5 5 15 20 1 2 2 2 2 5 6 0	\$760.00 \$859.00 \$1.40 \$1.40 \$2.50 \$2.50 \$2.50 \$2.50 \$350.00 \$2.62 \$0.50 \$1.359.50 \$1.359.50 \$1.359.50 \$1.359.50 \$1.271 \$17.16 \$38.51 \$1.271 \$17.16 \$38.51 \$350.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$350.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$350.00	\$1,716.0 \$6,000.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
	155 155 155 155 155 155 155 155 155 155	9 720-PWR31 LINE D CHARHAM OR 720-PWR37 LINE D CHARHAM OR 1 601-PWR37 LINE D CHARHAM OR 2 603-10033 LINE O CHARHAM OR 3 603-10034 LINE O CHARHAM OR 3 603-10034 LINE O CHARHAM OR 4 603-10034 LINE O CHARHAM OR 5 603-10034 LINE O CHARHAM OR 6 603-10031 LINE O CHARHAM OR 7 603-10031 LINE O CHARHAM OR 7 603-10031 LINE O CHARHAM OR 7 603-10032 LINE D CHARHAM OR 7 603-10032 LINE D CHARHAM OR 1003-10035 LINE O CHARHAM OR 1103-6034 LINE O CHARHAM OR 1	CASTING, 24' SOUD SANTARY MATHOLE, FURRISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 2' X' S' CURB & GUTTER CASTING & ADJUST TO GRADE MANDERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. PAWEHAIT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAWEHAIT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAWEHAIT MESSAGE MARKING, MULTI-COMPONENT, AR AR TRANSVERSE MARKING, MULTI-COMPONENT, CROSSAVIAL LINE, WHITE, 6 IN. PAWEHAIT MESSAGE MARKINGS MULTI-COMPONENT LAKE BROCCATION AR ROWY CONSTITUCTION ENGINEERING CONSTITUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION THEE 48 IN., REMOVE INCLUDES STUMP GRINDING) THEE 48 IN., REMOVE INCLUDES STUMP GRINDING) THEE 48 IN., REMOVE INCLUDES STUMP GRINDING) THEE 60 IN., REMOVE INCLUDES STUMP GRINDING) THEE 60 IN., REMOVE INCLUDES STUMP GRINDING) THE 60 IN., REMOVE INCLUDES STUMP GRINDING THE 60 IN., REMOVE INCLUDES STUMP GRINDING THE 60 IN., REMOVE	EACH EACH EACH US UFT UFT UFT UFT EACH EACH EACH EACH EACH EACH EACH EACH	2 2 1 1 1 1 1 1 1 1 5 5 5 5 5 15 20 1 2 2 2 2 5 6 0	\$760.00 \$558.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$2.50 \$2.00 \$350.00 \$2.00 \$350.00 \$2.00.00 \$2.200.00 \$2.220.00 \$2.220.00 \$2.220.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$350.00 \$2.200.00 \$2.200.00 \$350.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$2.200.00 \$350.00 \$40.25 \$550.00 \$12.50 \$550.00 \$12.50 \$550.00 \$12.50 \$550.00 \$12.50 \$550.00 \$12.50 \$550.00 \$12.50 \$12	\$1,716.06 \$0,000.00 \$0,000

····				T		40,000,00	A0 040 00
		801-FWR01 LINE E LANDSDOWNE DE	MAINTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOLID, WHITE, 4 IN.	LFT	1	\$8,000.00 \$1.40	\$8,000.00
			LINE, MULTI-COMPONENT, SOLIO, YELLOW, 41N.	ਮਾ		\$1.40	\$0.00
			LINE, MULTI-COMPONENT, BROXEN, YELLOYY, 41H.	LFT	1 1	\$1.40	\$0.00
·			LINE, MULTI COMPONENT, SOLIO, WHITE, 81N.	LFT	I	\$2.50	\$0.00
			TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN .	LFT		\$24.00	\$0.00
			PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	EACH	ļI	\$350.00	\$0.00
			PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIX R	EACH	├ ──	\$2,000.00	\$0.00
			TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN.	LFT	 	\$6.90	\$0.00
			PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW	EACH LS	 .	\$350.00	\$0.00
		105-06845 LINE F CHADDSFORD DR	MOBILIZATION AND DEMOBILIZATION	LS		\$2,999.00 \$7,376.50	\$2,999.00 \$7,376.50
			TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH	5	\$1,358.50	\$6,792.50
			TREE 30 KN., REMOVE (INCLUDES STUMP GRINDING)	EACH	2	\$1,430.00	\$2,660.00
			TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH		\$2,200.00	\$0.00
	206	201-02270 LINEF CHADDSFORD DR		EACH		\$5,000.00	\$0.00
			PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	SYS	7250	\$12.71	\$92,147.50
		202-93615 LINE F CHADDSFORD DR		SYS	835	\$17.49	\$14,604.15
			EXCAVATION, COMMON (UNDISTIBLITED)	CYS	5	\$38.67	\$193.35
		205-06933 LINE F CHADDSFORD DR.		EACH SYS	5 5	\$102.00	\$510.00 \$15,215.20
		214-11796 LINE F CHADDSFORD DR 301-PWR03 LINE F CHADDSFORD DR		10:1	1620 1905	\$8.36 \$36.03	\$68,637.15
			HMA PATCHING, TYPE B (UNDISTRIBUTED)	TON	1	\$350.00	\$0.00
			PCCP, 7' IN. WITH MONOLITHIC CURB	SYS	7250	\$47.00	\$340,750.00
		502-11564 LINE F CHADDSFORD DR		SYS		\$50.00	\$0.00
		504-FWR01 LINE F CHADOSFORD DE		EACH	2	\$250.00	\$500.00
ļ	217	604-06070 LINE F CHADDSFORD DR	SIDEWALK, CONCRETE (4 IN.) (INCLUDE YARD WALKS) (UNDISTRIBUTED)	SYS	800	\$58.00	\$46,400.00
		604-08086 LINE F CHADDSFORD DR		SYS	20	\$110.00	\$2,200.00
ļ			CURB, CONCRETE (TYPE #A, PIN CURB ON AFTER STREET POURED)	<u>ur</u>	4	\$12.50	\$0.00
<u> </u>			PCCP FPR APPROACHES, BINL (COMMERCIAL APPROACHES)	LFI	 	\$80.00	\$0.00
	221		PCCP FOR APPROACHES, 61M. (RESIDENTIAL DRIVES) (UNDISTRIBUTED) MAY BOX ASSEMBLY, RESET SYNGLE AND DOUBLE (INCLUDES ALL MAY BOXES AND TYPES) (IF IN CONFLICT)	SYS	375	\$68.00 \$250.00	\$25,500.00 \$0.00
			HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	SYS	3500	\$250.00	\$8,855.00
 		621-PWR19 LINE F CHADDSFORD DE		TON	100	\$51.00	\$5,100.00
		715-PWR27 LINE F CHADDSFORD D		LFT	***	\$80.00	\$0.00
	226		PIPE, TYPE 4, CIRCULAR, 6 IN. W/AGGREGATE FOR UNDERDRAIN	LFT	4840	\$10.01	\$48,448.40
	227		ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX) UNDISTRIBUTED)	EACH	5	\$203.50	\$1,017.50
	228	720-FV/R10 LINE F CHADDSFORD D	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	EACH	2	\$203.50	\$407.00
	_		CASTING, 24" SOLID SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	EACH	1	\$660.00	\$660.00
	230		CASTING - 2' X Z' CURB & GUTTER CASTING & ADJUST TO GRADE	EACH	5	\$858.00	\$4,290.00
-	231			LS	1 1	\$8,000.00	\$8,000.00
	232		UNE, MULTI-COMPONENT, SOLID, WHITE, 4 IN.	LFI	+	\$1.40	\$0.00 \$0.00
			Line, Multi-Component, Souid, Yellow, 4 in. Line, Multi-Component, Broxen, Yellow, 4 in.	LFT LFT	 	\$1.40 \$1.40	\$0.00
 			UNE, MULTI-COMPONENT, BROXEN, YELLOW, ATN. UNE, MULTI-COMPONENT, SOUD, WHITE, & IN.	LFT		\$2.50	\$0.00
—			TRANSVERSE MARKING, MULTI COMPONENT, STOP LINE, WHITE, 24 IN .	UFT		\$24.00	\$0.00
			PAVENENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	EACH	1	\$350.00	\$0.00
			PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIXIR	EACH		\$2,000.00	\$0.00
	239	808-10056 LINE F CHADDSFORD DR	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN.	UFT		\$6.90	\$0.00
			PAYEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW	EACH	ļ <u>.</u>	\$350.00	\$0.00
	241	105-06845 LINE G BURNS BLVD.	CONSTRUCTION ENGINEERING	LS	1	\$2,130.00	\$2,130.00
<u> </u>		110-01001 LINE G BURNS BLVD.	MOBILIZATION AND DEMOBILIZATION	LS	1	\$4,681.50	\$4,691.50
<u></u>		201-02255 LINE G BURNS BLVD.	TREE 18 IN , REMOVE (INCLUDES STUMP GRINDING)	EACH	1 1	\$1,358.50	\$1,358.50
ļ		201-02260 LINE G BURKS BLVD.	TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH	-	\$1,800.00	\$0.00
ļ		201-02265 LINE GBURES BLVD.	TREE 48 IN , REMOVE (INCLUDES STUMP GRINDING)	EACH EACH	+	\$2,200.00 \$5,000.00	\$0.00
		201-02270 LINE G BURNS BLVD. 202-02240 LINE G BURNS BLVD.	TREE GO IN., REMOVE PAVEMENT REMOVAL INICLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	SYS	550	\$13.20	\$7,260.00
		202-93615 LINE G BURKS BLVD.	CONCRETE REMOVE	SYS	45	\$15.57	\$700.65
<u> </u>		203-02000 LINE G BURKS BLVD.	EXCAVATION, COMMON (UNDISTIBUTED)	CYS		\$40.00	\$0.00
—		205-06933 LINE G BURNS BLVD.	TEMPORARY INLET PROTECTION	EACH	2	\$102.00	\$204.00
	251		GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	SYS	130	\$8.35	\$1,086.60
	252		COMPATED AGGREGATE NO. 53	TON	360.7	\$30.69	\$11,069.88
ļ		304-07490 LINE G BURNS BLVD.	HMA PATCHING, TYPE B (UNDISTRIBUTED)	TON	5	\$302.50	\$1,512.50
<u> </u>	254		PCCP, 7" IN. WITH MONOLITHIC CURB	SYS	550	\$47.00	\$25,850.00
ļ	255		PCCP, 71N. (PAVEMENT) DISTRICTABLE WARRING SURFACES	SYS EACH	-	\$50.00 \$300.00	\$0.00
<u> </u>	256		DETECTABLE WARMING SURFACES SUBSWALK CONCRETE (ALIN LODGE VARD WALKS) (UNOSTRIBUTED)	SYS	30	\$58.00	\$0.00 \$1,740.00
		694-06070 LIKE G BURNS BLVD. 604-08086 LIKE G BURNS BLVD.	SIDEWALK, CONCRETE (4 IN.) (INCLUDE YARD WALKS) (UNDISTRIBUTED) CURB RAMP, CONCRETE	SYS	1 3	\$120.00	\$1,740.00
†		605-06120 LINE G BURNS BLVD.	CURB, CONCRETE (TYPE IIA, PIN CURB ON AFTER STREET POURED)	LFT		\$12.50	\$0.00
I		610-07713 LINE G BURNS BLVD.	PCCP FPR APPROACHES, BIM. (COMMERCIAL APPROACHES)	LFT	T	\$80.00	\$0.00
	261	610-08446 LINE G BURNS BLVD.	PCCP FOR APPROACHES, 6 IM. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	SYS	15	\$68.00	\$1,020.00
		611-08233 LINE G BURNS BLVD.	MAILBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MAILBOXES AND TYPES) (IF IN CONFLICT)	EACH		\$250.00	\$0.00
1		621-PYR01 LINE G BURNS BLVD.	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	SYS	100	\$2.53	\$253.00
		621-FVR19 LINE G BURNS BLVD.	TOPSOIL	TON LFT	20	\$51.00	\$1,020.00
-	265 266	715-FWR27 LINE G BURNS BLVD. 715-FWR39 LINE G BURNS BLVD.	PIPE - 12" CMP PIPE, TYPE 4, CIRCULAR, 6 IN. W/AGGREGATE FOR UNDERDRAIN	UFT UFT	360	\$80.00 \$12.60	\$0.00 \$4,536.00
—		715-94530 LINE G BURNS BLVD.	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	EACH	3	\$203.50	\$610.50
 		720-FWR10 LINE G BURNS BLVD.	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	EACH	1	\$250.00	\$0.00
		720-FWR31 LINE G BURNS BLVD.	CASTING, 24" SOLID SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	EACH	2	\$660.00	\$1,320.00
		720-FWR37 LINE G BURNS BLVD.	CASTING - 2' X 2' CURB & GUTTER CASTING & ADJUST TO GRADE	EACH		\$960.00	\$0.00
	271		MAINTENANCE OF TRAFFIC	LS	1	\$5,000.00	\$5,000.00
	272	808-10033 LINE G BURNS BLVD.	LINE, MULTI-COMPONENT, SOLID, WHITE, 4 IN.	LFT	ļ	\$1.40	\$0.00
	273		LINE, MULTI-COMPONENT, SOLID, YELLOW, 41N.	LFT		\$1.40	\$0.00
ļ		808-10036 LINE G BURNS BLVD.	UNE, MULTI-COMPONENT, BROXEN, YELLOW, 4 IN.	LFT	1	\$1.40	\$0.00
-	275		UNE, MULTI-COMPONENT, SOUD, WHITE, SAIN.	LFT LFT	1	\$2.50 \$24.00	\$0.00 \$0.00
	276		TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN . PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	EACH	1	\$24.00 \$350.00	\$0.00
		8 808-10053 UNE G BURNS BLVD.	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIX R	EACH		\$2,000.00	\$0.00
-	279		TRANSVERSE MARKING, MULTI-COMPONENT, CROSSIVALK LINE, WHITE, GIN.	LFT	T	\$6.90	\$0.00
	260		PAVEMENT MESSAGE MARKINGS MULTI-COMPOSENT LANE INDICATION AR ROW	EACH	1	\$350.00	\$0.00
	281		CONSTRUCTION ENGINEERING	LS	1	\$2,405.00	\$2,405.00
	282	110-01001 LINE Q NEWTON SQ.	MOBILIZATION AND DEMOBILIZATION	LS	1	\$5,022.50	\$5,022.50
	283		TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH	1	\$1,358.50	\$1,358.50
	284	201-02260 LIKE Q NEWTON SQ.	TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH	4	\$1,600.00	\$0.00
		TAGE ASSECTING OND LOOK CO.	TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH	1	\$2,200.00	\$0.00
	285	201-02265 LIKE Q NEWTON SQ.					4 - 2 -
	285 286	201-02270 LINE Q NEWTON SQ.	TREE 60 IN., REMOVE	EACH	000	\$5,000.00	\$0.00
	285 266 287	201-02270 LINE Q NEWTON SQ. 7 202-02240 LINE Q NEWTON SQ.	TREE BOIN., REMOVE PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	EACH SYS	830	\$5,000.00 \$12.65	\$10,499.50
	285 286 287 288	201-02270 LINE Q NEWTON SQ.	TREE 60 IN., REMOVE	EACH	830 197.2	\$5,000.00	

	,						
		205-06933 LINE Q NEV/TON SQ.	TEMPORARYHAET PROTECTION	EACH	2	\$102.00	\$204.00
		214-11796 LINE Q NEWTON SQ.	GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	SYS	170	\$8.36	\$1,421.20
		301-FV/R03 LINE Q NEWTON SQ.	COMPATED AGGREGATE NO. 53	10:1	423	\$32.12	\$13,586.76
		394-07490 LINE Q NEWTON SQ. 502-FV:R01 LINE Q NEWTON SQ.	HMA PATCHING, TYPE B (UNDISTRIBUTED) PCCP, 7' EN. WITH MONOLITHIC CURB	1001	830	\$350.00 \$47.00	\$0.00 \$39,010.00
		502-11564 LINE Q NEV/TON SQ.	PCCP, 7 IN. (PAVEMENT)	SYS	039	\$50.00	\$0.00
		604-FWR01 LINE Q NEWTON SQ.	DETECTABLE WARNING SURFACES	EACH	1 2	\$250.00	\$500.00
		604-06070 LINE Q NEWTON SQ.	SIDEWALK, CONCRETE (4 IN.) (INCLUDE YARD WALKS) (UNDISTRIBUTED)	SYS	117.2	\$58.00	\$6,797.60
		604-08086 LINE Q NEWTON SQ.	CURB RAMP, CONCRETE	SYS	32	\$110.00	\$3,520.00
		605-06120 LINE Q NEWTON SQ.	CURB, CONCRETE (TYPE I/A, PAY CURB ON AFTER STREET POURED)	LFT		\$12.50	\$0.00
		610-07713 UNE Q NEWTON SQ.	PCCP FPR APPROACHES, 8 IN. (COMMERCIAL APPROACHES)	UFT		\$80.00	\$0.00
	301	610-08446 LINE Q NEWTON SQ.	PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	SYS	48	\$68.00	\$3,264.00
		611-08233 LINE Q NEWTON SQ.	MAILBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MAILBOXES AND TYPES) (IF IN CONFLICT)	EACH		\$250.00	\$0.00
	303	621-FWR01 LINE Q NEWTON SQ.	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	SYS	100	\$2.53	\$253.00
	304	621-FYR19 LINE Q NEWTON SQ.	TOPSOIL	TON	2	\$51.00	\$102.00
	305	715-FVR27 LINE Q NEWTON SQ.	PiPE - 12*CMP	lff		\$80.00	\$0.00
	306	715-FWR39 LINE Q NEWTON SQ.	PIPE, TYPE 4, CIRCULAR, 6 IN. WIAGGREGATE FOR UNDERDRAIN	LFT	400	\$11.44	\$4,576.00
	307	715-94530 LINE Q NEV/TON SQ.	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	EACH	1	\$203.50	\$203.50
	308	720-FWR10 LINE Q NEWTON SQ.	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	EACH		\$250.00	\$0.00
		720-FWR31 LINE Q NEWTON SQ.	CASTING, 24" SOLID SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	EACH	2	\$660.00	\$1,320.00
		720-FWR37 LINE Q NEWTON SQ.	CASTING - 2" X 2" CURB & GUTTER CASTING & ADJUST TO GRADE	EACH	1	\$858.00	\$858.00
		601-FWR01 LINE Q NEWTON SQ.	MAINTERLANCE OF TRAFFIC	LS	1	\$6,000.00	\$6,000.00
		608-10033 LINE Q NEWTON SQ.	LINE, MULTI-COMPONENT, SOLIO, WHITE, 4 IN.	LFT		\$1.40	\$0.00
		608-10034 LINE Q NEWTON SQ.	LINE, MULTI-COMPONENT, SOLID, YELLOW, 4 IN.	LFT		\$1.40	\$0.00
		808-10036 LINE Q NEWTON SQ.	EINE, MULTI-COMPONENT, BROXEN, YELLOVI, 4 IN.	LFT		\$1.40	\$0.00
	315		UNE, MULTI-COMPONENT, SOLID, WHITE, 81H.	UFT	1	\$2.50	\$0.00
		BOS-10051 LINE Q NEWTON SQ.	TRANSVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 24 IN .	LFT		\$24.00	\$0.00
		608-10052 LINE Q NEWTON SQ.	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	EACH	 	\$350.00	\$0.00
		808-10053 LINE Q NEWTON SQ.	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIXIR TRANSPICTOR MARKING MULTI-COMPONENT, CONCENTANT MALTER CONT.	EACH	_	\$2,000.00	\$0.00
		808-10056 LINE Q NEWTON SQ. 808-10077 LINE Q NEWTON SQ.	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANGING/CATION AR ROW	LFT EACH	 	\$6.90 \$350.00	\$0.00
	320	1 105-06845 LINE R PICADILLY CIR.	CONSTRUCTION ENGINEERING	LS	+	\$2,251.00	\$2,251.00
		110-06845 LINE R PICADILLY CIR.	MOBILIZATION AND DEMOSILIZATION	LS	+ +	\$2,251.00	\$2,251.0
		2 201-02255 LINE RPICADILLY CIR.	TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH	+ +	\$1,358.50	\$1,358.50
	,	201-02260 LINE RPICADILLY CIR.	TREE 30 IN., REMOVE (INCLUDES STUMP GRIVIDING)	EACH	 *	\$1,800.00	\$0.00
	325		TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH		\$2,200.00	\$0.00
	326		TREE 50 IN., REMOVE	EACH	†	\$5,000.00	\$0.00
<u> </u>	327		PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	SYS	632	\$12.65	\$7,994.80
	328		CONCRETE REMOVE	SYS	120	\$15.02	\$1,602.40
	329		EXCAVATION, COMMON (UNDISTIBUTED)	CYS		\$40.00	\$0.00
	330		TEMPORARY INLET PROTECTION	EACH	2	\$102.00	\$204.00
	331		GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	SYS	150	\$8.36	\$1,254.00
		301-FWR03 LINE R PICADILLY CIR.	COMPATED AGGREGATE NO. 53	TON	352	\$31.63	\$11,133.76
		304-07490 LINE R PICADILLY CIR.	HMA PATCHING, TYPE B (UNDISTRIBUTED)	TON		\$350.00	\$0.00
	334	+	PCCP, 7" IN . WITH MONOLITHIC CURB	SYS	632	\$47.00	\$29,704.00
	335		PCCP, 7 IN. (PAVEMENT)	548		\$50.00	\$0.00
	336		DETECTABLE WARNING SURFACES	EACH	2	\$250.00	\$500.00
	337	504-06070 LINE R PICADILLY CIR.	SIDEWALK, CONCRETE (4 IN.) (INCLUDE YARD WALKS) (UNDISTRIBUTED)	SYS	18	\$58.00	\$1,044.00
	338	504-08026 LINE R PICADILLY CIR.	CURB RAMP, CONCRETE	SYS	32	\$110.00	\$3,520.00
	339	605-06120 LINER PICADILLY CIR.	CURB, CONCRETE (TYPE HA, PIN CURB ON AFTER STREET POURED)	LFT	<u> </u>	\$12.50	\$0.00
	340	610-07713 LINE R PICADILLY CIR.	PCCP FPR APPROACHES, BIN. (COMMERCIAL APPROACHES)	LFT		\$60.00	\$0.00
	341		PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	SYS	70	\$68.00	\$4,760.00
		611-08233 DNE R PICADILLY CIR.	MAY BOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MAY BOXES AND TYPES) (IF IN CONFLICT)	EACH	1	\$250.00	\$0.00
	•	621-FWR01 LINE R PICADILLY CIR.	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	SYS	100	\$2.53	\$253.00
	344		TOPSOIL	TON	2	\$51.00	\$102.00
	345		PiPE - 12' CMP	LFT		\$60.00	\$0.00
	346		PIPE, TYPE 4, CIRCULAR, 6 IN. W/AGGREGATE FOR UNDERDRAIN	LFT	290	\$11.11	\$3,221.90
	347		ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	EACH	1 1	\$203.50	\$203.50
-	346		CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	EACH	_	\$250.00	\$0.00
	349		CASTING, 24" SOUID SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	EACH	· · · · ·	\$560.00	\$1,320.00
	350		CASTING - 2"X 2" CURS & GUTTER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC	EACH LS	1 1	\$858.00 \$5,000.00	\$858.00 \$5,000.00
		2 608-10033 LINE R PICADILLY CIR.	LINE, MULTI-COMPONENT, SOLID, WHITE, 4 IN.	LFT		†	
	352		UNE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN.	LFT	+	\$1.40	\$0.00 \$0.00
		808-10036 LINE R PICADILLY CIR.					
			TEME, NOR BUCOMPONENT, RROWGN, YELLOW, 419.		1	\$1.40 \$1.40	
		21508-10033 LINE B MCYOU LA CID	LINE, MULTI-COMPONENT, BROXEN, YELLOW, 41H. LINE, MULTI-COMPONENT, SOUD, WHITE, 81N.	UFT	ļ	\$1.40	\$0.0
		5 808-10037 LINER PICADILLY CIR. 5 808-10051 LINER PICADILLY CIR.	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN.				\$0.00 \$0.00
		5 808-10037 LINE R PICADILLY CIR. 5 808-10051 LINE R PICADILLY CIR. 7 808-10052 LINE R PICADILLY CIR.	Line, Multi-Component, Solid, White, 8 In. Transverse Marking, Multi-Component, Stop Line, White, 24 In .	LFT LFT		\$1.40 \$2.50 \$24.00	\$0.00 \$0.00 \$0.00
	357	808-10051 LINERPICADILLY CIR.	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN.	UFT LFT		\$1.40 \$2.50	\$0.00 \$0.00 \$0.00 \$0.00
	357 358	808-10051 LINER PICADILLY CIR. 7 808-10052 LINER PICADILLY CIR.	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	LFT LFT LFT EACH		\$1.40 \$2.50 \$24.00 \$350.00	\$0,00 \$0.00 \$0.00 \$0.00 \$0.00
	357 358 359	5 808-10051 LINER PICADILLY CIR. 7 808-10052 LINER PICADILLY CIR. 8 808-10053 LINER PICADILLY CIR.	Une, Multi-Component, Solid, White, Bir. Transverse Marding, Multi-Component, Stop Une, White, 24 in . Pavement Message Marking, Multi-Component, Only Pavement Message Marking, Multi-Component, RXR	LFT LFT LFT EACH EACH		\$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00	\$0.00 \$0.00
	357 358 359	808-10051 LINER PICADILLY CIR. 7 808-10052 LINER PICADILLY CIR. 8 808-10053 LINER PICADILLY CIR. 9 808-10055 LINER PICADILLY CIR. 1 808-10057 LINER PICADILLY CIR. 1 808-10077 LINER PICADILLY CIR.	UNE, MULTI-COMPONENT, SOLID, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RXR TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALKLINE, WHITE, 6 IN.	LFT LFT LFT EACH EACH LFT	1	\$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00
	357 358 359 360 361 362	808-10051 UNE R PICADILLY CIR. 7808-10052 UNE R PICADILLY CIR. 7808-10053 UNE R PICADILLY CIR. 9808-10055 UNE R PICADILLY CIR. 9808-10077 UNE R PICADILLY CIR. 105-08845 LINE H BRADBURY.	UNE, MULTI-COMPONENT, SOLID, WHITE, 8 IN: TRAINSVERSE MARCING, MULTI-COMPONENT, STOP UNE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R.X.R. TRAINSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BIDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBRIZATION	LFT LFT EACH EACH LFT EACH LFT EACH LS	1	\$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$2,251.00	\$0.04 \$0.04 \$0.04 \$0.04 \$0.04 \$0.04 \$0.04 \$0.04 \$3,601.54
	357 356 359 360 361 362 363	808-10051 LINE R PXCADILLY CIR. 7 808-10052 LINE R PXCADILLY CIR. 8 080-10055 LINE R PXCADILLY CIR. 8 080-10055 LINE R PXCADILLY CIR. 1 105-0845 LINE H FXCADILLY CIR. 1 105-0845 LINE H BRADBURY 2 110-0105 LINE H BRADBURY 2 10-02255 LINE H BRADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. PAMEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAMEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAMEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAMEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BIOLICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOSILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING)	LFT LFT EACH EACH LFT EACH LFT LS LS EACH	1	\$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$2,251.00 \$3,801.50 \$1,600.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$2.251.00 \$3,801.50 \$0.00
	357 356 359 360 367 363 363 363	BOB-10051 LINER PICADILLY CIR. BOB-10052 LINER PICADILLY CIR. BOB-10055 LINER PICADILLY CIR. BOB-10055 LINER PICADILLY CIR. BOB-10077 LINER PICADILLY CIR. L	LIKE, MULTI-COMPONENT, SOLID, WHITE, BITN. TRAINSVERSE MARKINS, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKINS, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKINS, MULTI-COMPONENT, RIX.R TRAINSVERSE MARKINS, MULTI-COMPONENT, RIX.R TRAINSVERSE MARKINS, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINS MULTI-COMPONENT LANE BIDICATION AR ROW CONSTRUCTION ENGINEER ING MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 30 IN., REMOVE (INCLUDES STUMP ORINDING)	LFT LFT EACH EACH LFT EACH LFT EACH LS LS EACH EACH	1	\$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$2,251.00 \$3,801.50 \$1,600.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$2.251,00 \$3,601,50 \$0.00
	357 358 359 360 361 363 363 363 364 365	908-10051 LINE R PICADILLY CIR. 908-10052 LINE R PICADILLY CIR. 908-10051 LINE R PICADILLY CIR. 908-10056 LINE R PICADILLY CIR. 908-10075 LINE R PICADILLY CIR. 105-06845 LINE R PICADILLY CIR. 115-06845 LINE H BRADBURY 110-01001 LINE H BRADBURY 110-01001 LINE H BRADBURY 101-02265 LINE H BRADBURY 201-02265 LINE H BRADBURY 201-02265 LINE H BRADBURY	UNE, MULTI-COMPONENT, SOLID, WHITE, 81N. TRANSVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 241N. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R.X.R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK UNE, WHITE, 61N. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BIOCATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION IREE 181N., REMOVE (INCLUDES STUMP GRINDING) TREE 301N., REMOVE (INCLUDES STUMP GRINDING) TREE 481N., REMOVE (INCLUDES STUMP GRINDING)	LET LET LET EACH EACH LET EACH LS EACH LS EACH EACH EACH EACH	1	\$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$2,251.00 \$3,801.50 \$1,600.00 \$1,800.00 \$2,200.00	\$0.04 \$0.04
	355 356 356 367 367 363 363 363 365 365	908-10051 LINE R PYCADILLY CIR. 7 608-10052 LINE R PYCADILLY CIR. 8 608-10053 LINE R PYCADILLY CIR. 9 608-10055 LINE R PYCADILLY CIR. 9 608-10055 LINE R PYCADILLY CIR. 1 105-06845 LINE H BRADBURY 2 110-01001 LINE H BRADBURY 3 201-02255 LINE H BRADBURY 4 201-02256 LINE H BRADBURY 2 01-02250 LINE H BRADBURY 2 101-02270 LINE H BRADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. PAMEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAMEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAMEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAMEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAMEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BIOLICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOSILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING)	LET LET LET EACH EACH LET EACH LS LS EACH EACH EACH EACH EACH	1	\$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$2,251.00 \$3,801.50 \$1,600.00 \$1,200.00 \$5,200.00	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	353 356 356 367 367 363 363 364 365 366 366 367	300-10051 UNER PICADILLY CIR. 200-10052 UNER PICADILLY CIR. 200-10053 UNER PICADILLY CIR. 3 (200-10054 UNER PICADILLY CIR. 3 (200-10055 UNER PICADILLY CIR. 1 105-06845 UNER HERADBURY 2 110-01001 UNEY HERADBURY 2 101-02255 UNEY HERADBURY 2 201-02255 UNEY HERADBURY 3 201-02250 UNEY HERADBURY 2 201-02270 UNEY HERADBURY 2 201-02270 UNEY HERADBURY 2 201-02270 UNEY HERADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BITN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RYR TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BIOICATION AR ROW CONSTRUCTION ENGINEER ING MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 40 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	LET LET EACH LET EACH LET EACH LS LS EACH EACH EACH EACH EACH EACH EACH EACH	1 1 1 720	\$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$5.90 \$350.00 \$2,251.00 \$3,801.50 \$1,600.00 \$1,600.00 \$5,200.00 \$5,000.00 \$5,000.00	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$2,251.0 \$3,601.5 \$0.0 \$0.0 \$0.0
	355 356 355 366 366 366 366 366 366 366	908-10051 LINE R PICADILLY CIR. 908-10052 LINE R PICADILLY CIR. 908-10052 LINE R PICADILLY CIR. 908-10056 LINE R PICADILLY CIR. 908-10075 LINE R PICADILLY CIR. 105-08645 LINE R PICADILLY CIR. 115-08645 LINE H BRADBURY 110-01001 LINE H BRADBURY 110-01001 LINE H BRADBURY 1201-02255 LINE H BRADBURY 201-02255 LINE H BRADBURY 1201-02255 LINE H BRADBURY 1201-0255 LINE H BRADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, GROSSWALK LINE, WHITE, BIN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BYOLCATION AR ROW CONSTRUCTION ENGINEER ING MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 48 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 48 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 69 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 69 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 60 IN., REMOVE (INCLUDES STUMP ORINDING)	LFT LFT LFT EACH EACH EACH LFT EACH LS LS EACH EACH EACH EACH EACH EACH SYS	1 1 1 720 296.3	\$1.40 \$2.50 \$2.00 \$3.90.00 \$2,000.00 \$2,000.00 \$3.50.00 \$2,251.00 \$3,501.50 \$1,600.00 \$1,600.00 \$5,200.00 \$5,000.00 \$12.76 \$14.58	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$2,251.0 \$3,801.5 \$0.0 \$0.0 \$0.0 \$0.0
	355 356 356 367 367 362 363 363 365 365 366 366 366	BOB-10051 LINER PICADILLY CIR. FORB-10052 LINE R PICADILLY CIR. BOB-10053 LINE R PICADILLY CIR. BOB-10053 LINE R PICADILLY CIR. BOB-10075 LINE R PICADILLY CIR. BOB-10075 LINE R PICADILLY CIR. LINER	LINE, MULTI-COMPONENT, SOLID, WHITE, BITN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, BY A TRANSVERSE MARKING, MULTI-COMPONENT LANE BIDICATION AR ROW PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BIDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCAVATION, COMMON (INDISTIBUTED)	LFT LFT LFT EACH LFT EACH LS EACH EACH EACH EACH EACH EACH EACH EACH		\$1.40 \$2.50 \$2.00 \$350.00 \$2,000.00 \$2,000.00 \$6.90 \$350.00 \$2,251.00 \$1,600.00 \$1,800.00 \$2,200.00 \$5,000.00 \$112.76 \$14.58	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$2,251.0 \$3,601.5 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0
	357 358 358 360 361 362 363 364 365 366 366 366 366 367 370	300-10051 LINER PICADILLY CIR. 800-10052 LINER PICADILLY CIR. 800-10053 LINER PICADILLY CIR. 3 800-10055 LINER PICADILLY CIR. 3 800-10075 LINER PICADILLY CIR. 1 105-06845 LINER HERADBURY 2 110-0101 LINEH HERADBURY 2 110-0105 LINEH HERADBURY 3 201-02255 LINEH HERADBURY 5 201-02255 LINEH HERADBURY 2 201-02270 LINEH HERADBURY 3 202-93515 LINEH HERADBURY 3 202-93515 LINEH HERADBURY 2 203-02200 LINEH HERADBURY 3 202-93515 LINEH HERADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BITN. TRAINSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RYR TRAINSVERSE MARKING, MULTI-COMPONENT, CROSSIVALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BIDICATION AR ROW CONSTRUCTION ENGINEER ING MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 30 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 48 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 60 IN., REMOVE (INCLUDES STUMP ORINDING) PREE 60 IN., REMOVE (INCLUDES MITEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCAVATION, COMMON (UNDISTIBUTED) TEMPORARY WHAT I PROTECTION	LFT LFT EACH EACH LFT EACH LIS LS EACH EACH EACH EACH CACH EACH EACH EACH	296.3 1	\$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$3,801.50 \$1,600.00 \$2,2251.00 \$1,600.00 \$2,220.00 \$1,276 \$14.58 \$14.50 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$2,251.0 \$3,801.5 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0
	357 358 355 367 367 363 363 365 366 366 367 377 377	908-10051 LINE R PICADILLY CIR. 908-10052 LINE R PICADILLY CIR. 908-10052 LINE R PICADILLY CIR. 908-10055 LINE R PICADILLY CIR. 908-10075 LINE R PICADILLY CIR. 908-10075 LINE R PICADILLY CIR. 910-90845 LINE R PICADILLY CIR. 910-90845 LINE H BRADBURY 910-10265 LINE H BRADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, BIN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BIDICATION AR ROW CONSTRUCTION ENGINEER ING ONDBILGATION AND DEROBALIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) CREE 60 IN., REMOVE (INCLUDES TOMP GRINDING) TREE 60 IN., REMOVE (INCLUDES T	LET LET LET LET LEACH EACH LET EACH LIS LIS LIS EACH EACH EACH EACH EACH SYS SYS CIS CIS EACH SYS	296.3 1 150	\$1.40 \$2.50 \$2.00 \$3.90.00 \$2,000.00 \$2,000.00 \$6.90 \$3.50.00 \$2,251.00 \$1,600.00 \$1,600.00 \$1,600.00 \$5,000.00 \$12.76 \$14.58 \$40.00 \$82.00 \$83.00 \$83.00 \$100	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$2,251.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$
	357 358 355 367 367 363 363 364 365 366 365 377 377	\$00-10051 LINER PICADILLY CIR. \$00-10052 LINE R PICADILLY CIR. \$00-10053 LINE R PICADILLY CIR. \$00-10053 LINE R PICADILLY CIR. \$00-10055 LINE R PICADILLY CIR. \$00-10055 LINE R PICADILLY CIR. \$100-00855 LINE R PICADILLY CIR. \$100-00855 LINE R PICADILLY CIR. \$100-00855 LINE R PICADILLY CIR. \$201-00255 LINE R PICADILLY CIR. \$201-00255 LINE R PICADILLY \$2	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRANSVERSE MARKING, MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) TEMPORARY HILE! PROTECTION TEMPORARY HILE! PROTECTION GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPARTED AGGREGATE NO. 53	LFT LFT LFT EACH EACH LFT EACH LFT EACH LIS LS EACH EACH EACH EACH EACH EACH EACH EACH	296.3 1 150 390	\$1.40 \$2.50 \$2.00 \$350.00 \$2,000.00 \$2,000.00 \$2,251.00 \$3,801.50 \$1,600.00 \$1,800.00 \$5,200.00 \$5,000.00 \$112.76 \$145.89 \$40.00 \$102.00 \$8.36 \$3.23	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	357 356 355 360 361 362 363 364 365 366 366 367 377 377 377	909-10051 UNE R PICADILLY CIR. 908-10052 UNE R PICADILLY CIR. 908-10052 UNE R PICADILLY CIR. 908-10055 UNE R PICADILLY CIR. 908-10055 UNE R PICADILLY CIR. 908-10056 UNE R PICADILLY CIR. 908-10056 UNE R PICADILLY CIR. 908-10056 UNE H BRADBURY 2 110-01001 UNE H BRADBURY 2 110-01001 UNE H BRADBURY 3 201-02256 UNE H BRADBURY 2 201-02256 UNE H BRADBURY 2 202-02240 UNE H BRADBURY 3 202-93515 UNE H BRADBURY 2 203-02240 UNE H BRADBURY 2 203-0200 UNE H BRADBURY 2 203-0200 UNE H BRADBURY 2 203-0230 UNE H BRADBURY 2 203-0230 UNE H BRADBURY 3 204-07450 UNE H BRADBURY 3 201-17780 UNE H BRADBURY 3 201-17780 UNE H BRADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSVALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BIOCCATION AR ROW CONSTRUCTION ENGINEER ING MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCAVATION, COMMON (UNDISTRIBUTED) TEMPORARY INLET PROTECTION GEOGRIO, TYPE 18, BK-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPATED AGGREGATE NO. 53 HMA PATCHING, TYPE B (UNDISTRIBUTED)	LFT LFF LFF EACH EACH LFF EACH LS LS LS EACH EACH EACH EACH EACH EACH EACH EACH	296.3 1 150 390	\$1.40 \$2.50 \$24.00 \$390.00 \$2,000.00 \$2,000.00 \$3,500.00 \$3,500.00 \$3,500.00 \$1,600.00 \$2,250.00 \$1,600.00 \$1,200.00 \$11,76 \$14.58 \$40.00 \$102.00 \$3.30 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.00 \$3.0	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	357 356 355 366 366 366 365 366 366 366 377 377 377 377	909-10051 LINE R PICADILLY CIR. 908-10052 LINE R PICADILLY CIR. 908-10052 LINE R PICADILLY CIR. 908-10055 LINE R PICADILLY CIR. 908-10055 LINE R PICADILLY CIR. 908-10077 LINE R PICADILLY CIR. 908-10077 LINE R PICADILLY CIR. 910-90865 LINE R PICADILLY CIR. 910-90865 LINE R PICADILLY CIR. 910-90865 LINE H PICADILLY 910	LINE, MUTH-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALKLINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BID/CATION AR ROW CONSTRUCTION ENGREERING ONBIGATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCAVATION, COMMON (UNDUSTRIBUTED) TEMPORARY INLET PROTECTION GEOGRIG, TYPE 18, BK. 1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) GEOGRIG, TYPE 18, BK. 1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) PAVEMEND AGRECARE NO. 53 HMA PATCHING, TYPE B (UNDISTRIBUTED)	LFT LFT LFT EACH EACH LFT EACH LFT LS LS LS LS LS LS CACH EACH EACH EACH EACH EACH EACH EACH	296.3 1 150 390	\$1.40 \$2.50 \$2.00 \$350.00 \$2,000.00 \$2,000.00 \$2,251.00 \$3,501.50 \$1,600.00 \$1,600.00 \$1,276 \$14.58 \$40.00 \$12.76 \$40.00 \$42.20 \$43.20	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$2,251.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$
	357 356 356 360 360 360 360 360 360 360 360 377 377 377 377 377 377	\$00-10051 LINER PICADILLY CIR. \$00-10052 LINE R PICADILLY CIR. \$00-10053 LINE R PICADILLY CIR. \$00-10055 LINE R PICADILLY CIR. \$00-10055 LINE R PICADILLY CIR. \$00-10055 LINE R PICADILLY CIR. \$105-00845 LINE H BRADBURY \$110-01001 LINE H BRADBURY \$201-02255 LINE H BRADBURY \$201-02255 LINE H BRADBURY \$201-02255 LINE H BRADBURY \$202-02240 LINE H BRADBURY \$202-02240 LINE H BRADBURY \$202-02240 LINE H BRADBURY \$203-02000 LINE H BRADBURY \$204-0200 LINE H BRADBURY \$205-05033 LINE H BRADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 241N. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRANSVERSE MARKING, MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGISERING MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 69 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCAVATION, COMMON (INFIDISTIBUTED) TEMPORARY WHILE PROTECTION GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPATED AGGREGATE NO. 53 HAR A PATCHING, TYPE B UNDISTRIBUTED) PCCCP, 7* IN. WITH MONOLITHIC CURB PCCP, 7* IN. WITH MONOLITHIC CURB	LFT LFT LFT EACH EACH LFT LFT EACH LS LS EACH EACH EACH EACH EACH EACH EACH EACH	296.3 1 150 390	\$1.40 \$2.50 \$24.00 \$390.00 \$2,000.00 \$6.90 \$350.00 \$3,801.50 \$1,600.00 \$2,220.00 \$5,000.00 \$1,276 \$14.59 \$102.00 \$102.00 \$3.20.00 \$102	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	357 355 366 366 366 366 366 366 366 367 377 377	909-10051 UNE R PICADILLY CIR. 908-10052 UNE R PICADILLY CIR. 908-10052 UNE R PICADILLY CIR. 908-10055 UNE R PICADILLY CIR. 908-10055 UNE R PICADILLY CIR. 908-10057 UNE R PICADILLY CIR. 908-10057 UNE R PICADILLY CIR. 910-10058 UNE H BRADBURY 2 110-01001 UNE H BRADBURY 2 110-02560 UNE H BRADBURY 2 201-02250 UNE H BRADBURY 2 201-02250 UNE H BRADBURY 3 202-93250 UNE H BRADBURY 3 202-93515 UNE H BRADBURY 2 203-02260 UNE H BRADBURY 2 203-02300 UNE H BRADBURY 3 203-0200 UNE H BRADBURY 3 203-055033 UNE H BRADBURY 3 204-07450 UNE H BRADBURY 3 304-07450 UNE H BRADBURY 4 502-PWROI UNE H BRADBURY 5 502-11564 UNE H BRADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT LANE BYOLGATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 91 IN., SERVICE STUMP ORINDING STUMP ORINDING TREE 91 IN., WHITE PROTECTION GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) TEMPORARY INCLUDES INDISTRIBUTED) PCCP., 71 IN., WITH MONOLITHIC CURB PCCP., 71 IN., WITH MONOLITHIC CURB	LFT LFT LFT EACH EACH LFF EACH LIS LIS LIS EACH EACH EACH EACH EACH EACH EACH EACH	296.3 1 150 390 1 720	\$1.40 \$2.50 \$32.00 \$350.00 \$2,000.00 \$2,000.00 \$350.00 \$3,500.00 \$3,500.00 \$1,600.00 \$1,600.00 \$1,200.00 \$1,200.00 \$1,000.00 \$	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	357 356 366 366 366 366 366 366 366 377 377 37	\$ 200-10051 LINER PICADILLY CIR. \$ 200-10052 LINE R PICADILLY CIR. \$ 200-10053 LINE R PICADILLY CIR. \$ 200-10055 LINE R PICADILLY CIR. \$ 210-0255 LINE H BIRADBURY \$ 201-0225 LINE H BIRADBURY \$ 200-0255 LINE H BIRADBURY \$ 200-0255 LINE H BIRADBURY \$ 200-0255 LINE H BIRADBURY \$ 200-0250 LINE H BIRADBURY \$ 200-0500 LINE H BIRADBURY \$ 200-0500 LINE H BIRADBURY \$ 301-FYRRO LINE H BIRADBURY \$ 301-FYRRO LINE H BIRADBURY \$ 502-11564 LINE H BIRADBURY \$ 502-11564 LINE H BIRADBURY \$ 500-11564 LINE H BIRADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALKLINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BID:CATION AR ROW CONSTRUCTION ENGREERING OBBIGATION AND DEMOBILIZATION TREE 18 IN., REMOVE [INCLUDES STUMP GRINDING] TREE 18 IN., REMOVE [INCLUDES STUMP GRINDING] TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCAVATION, COMMON (UNDISTIBUTED) TEMPORARY HILE PROTECTION GEOGRID, TYPE B, B, ST. 1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) GEOGRID, TYPE B (UNDISTRIBUTED) THAP PATCHING, TYPE B (UNDISTRIBUTED) PCCP, 7* IN. WITH MONOLITHIC CURB PCCP, 7* IN. PAVEMENT)	LFT LFT LFT EACH EACH LFT LFT EACH LS LS EACH EACH EACH EACH EACH EACH EACH EACH	296.3 1 150 390 1 720 224.5	\$1.40 \$2.50 \$2.00 \$350.00 \$2,000.00 \$2,000.00 \$2,251.00 \$3,500.00 \$1,600.00 \$1,600.00 \$1,276 \$12.76 \$14.58 \$40.00 \$83.36 \$32.34 \$32.34 \$32.55 \$47.00 \$300.00	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$2,251.0 \$0.0 \$0.0 \$0.0 \$1,225.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$
	357 355 355 366 366 366 366 366 366 367 377 377 377	\$ 000-10051 LINER PICADILLY CIR. \$ 000-10052 LINE R PICADILLY CIR. \$ 000-10053 LINE R PICADILLY CIR. \$ 000-10054 LINER PICADILLY CIR. \$ 000-10054 LINER PICADILLY CIR. \$ 100-00845 LINE H BRADBURY \$ 110-01051 LINE H BRADBURY \$ 110-01051 LINE H BRADBURY \$ 101-02265 LINE H BRADBURY \$ 201-02255 LINE H BRADBURY \$ 201-02255 LINE H BRADBURY \$ 201-02265 LINE H BRADBURY \$ 201-02265 LINE H BRADBURY \$ 201-02276 LINE H BRADBURY \$ 201-02276 LINE H BRADBURY \$ 202-02240 LINE H BRADBURY \$ 203-02000 LINE H BRADBURY \$ 201-0276 LINE H BRADBURY \$ 201-0276 LINE H BRADBURY \$ 3 000-02000 LINE H BRADBURY \$ 500-15564 LINE H	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 241N. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, AND TRANSVERSE MARKING, MULTI-COMPONENT LANE BIOCCATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 69 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCAVATION, COMMON (INFIDISTIBUTED) TEMPORARY WHILE PROTECTION GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPATED AGGREGATE NO. 53 HAR A RATCHING, TYPE B UNDISTRIBUTED) PCCC, 7* IN. WITH MONOLITHIC CURB PCCP, 7* IN. WITH MONOLITHIC CURB SOEWALK, CONCRETE (4 IN.), (INCLUDE VARD WALKS) (UNDISTRIBUTED) CUBB RAMP, CONCRETE	LET LET LET LET LEACH EACH LET EACH LET LIS LIS EACH EACH EACH EACH EACH EACH EACH EACH	296.3 1 150 390 1 720	\$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$3,801.50 \$1,600.00 \$2,225.00 \$1,600.00 \$12,76 \$14.59 \$40.00 \$102.00 \$3.20 \$3.20 \$102.00 \$3.20 \$102.00 \$3.20 \$102.00 \$3.20 \$102.00 \$3.20 \$102.00 \$3.20 \$102.00 \$3.20	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	355 355 365 366 366 366 366 366 366 367 377 377 377	909-10051 UNE R PICADILLY CIR. 908-10052 UNE R PICADILLY CIR. 908-10052 UNE R PICADILLY CIR. 908-10055 UNE R PICADILLY CIR. 908-10055 UNE R PICADILLY CIR. 908-10057 UNE R PICADILLY CIR. 908-10057 UNE R PICADILLY CIR. 910-10056 UNE HERADBURY 1 110-00685 UNE HERADBURY 1 100-00260 UNE HERADBURY 2 201-00250 UNE HERADBURY 2 201-00250 UNE HERADBURY 2 201-00270 UNE HERADBURY 3 202-903515 UNE HERADBURY 3 203-9030 UNE HERADBURY 1 203-103515 UNE HERADBURY 2 203-0030 UNE HERADBURY 2 203-0030 UNE HERADBURY 3 204-07450 UNE HERADBURY 3 304-07450 UNE HERADBURY 4 502-PWR01 UNE HERADBURY 5 502-11564 UNE HERADBURY 6 502-1564 UNE HERADBURY 6 504-07045 UNE HERADBURY 6 505-0630 UNE HERADBURY 6 604-0704 UNE HERADBURY 6 604-0704 UNE HERADBURY 6 604-0704 UNE HERADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 24 IN. PAWEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAWEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAWEMENT MESSAGE MARKING, MULTI-COMPONENT, AX X TRANSVERSE MARKING, MULTI-COMPONENT LANE BYDICATION AR ROW CONSTRUCTION ENGINEERING ONDBILGATION AND DEMOBILGATION TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 68 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 69 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 69 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 69 IN., REMOVE (INCLUDES TOMP ORINDING) TREE 60 IN., R	UFT LEFT LEFT LEACH EACH LEFT LIS LIS LIS EACH EACH EACH EACH EACH EACH EACH EACH	296.3 1 150 390 1 720 224.5	\$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$2,000.00 \$350.00 \$3,500.00 \$3,600.00 \$1,600.00 \$1,600.00 \$12,700.00 \$12,700.00 \$12,700.00 \$10,000.00 \$40,00 \$40,00 \$300.00 \$300.00 \$50,00 \$50,00 \$10,00 \$	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	355 355 365 366 366 366 366 366 366 367 377 377 377	300-10051 LINER PICADILLY CIR. 200-10052 LINE R PICADILLY CIR. 200-10053 LINE R PICADILLY CIR. 300-10055 LINE R PICADILLY CIR. 300-10055 LINE R PICADILLY CIR. 300-10056 LINE R PICADILLY CIR. 110-50845 LINE H BRADBURY 2110-21001 LINE H BRADBURY 2110-21001 LINE H BRADBURY 201-02250 LINE H BRADBURY 201-02250 LINE H BRADBURY 7 202-02250 LINE H BRADBURY 7 202-02250 LINE H BRADBURY 9 202-05515 LINE H BRADBURY 9 202-05515 LINE H BRADBURY 9 202-05531 LINE H BRADBURY 9 203-05000 LINE H BRADBURY 9 203-05000 LINE H BRADBURY 9 203-05000 LINE H BRADBURY 9 304-07450 LINE H BRADBURY 5 502-FWRO LINE H BRADBURY 5 502-11564 LINE H BRADBURY 6 604-67761 LINE H BRADBURY 6 604-60970 LINE H BRADBURY 6 605-60100 LINE H BRADBURY 6 605-60100 LINE H BRADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 241N. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, AND TRANSVERSE MARKING, MULTI-COMPONENT LANE BIOCCATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 69 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCAVATION, COMMON (INFIDISTIBUTED) TEMPORARY WHILE PROTECTION GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPATED AGGREGATE NO. 53 HAR A RATCHING, TYPE B UNDISTRIBUTED) PCCC, 7* IN. WITH MONOLITHIC CURB PCCP, 7* IN. WITH MONOLITHIC CURB SOEWALK, CONCRETE (4 IN.), (INCLUDE VARD WALKS) (UNDISTRIBUTED) CUBB RAMP, CONCRETE	LET LET LET LET LEACH EACH LET EACH LET LIS LIS EACH EACH EACH EACH EACH EACH EACH EACH	296.3 1 150 390 1 720 224.5	\$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$3,801.50 \$1,600.00 \$2,225.00 \$1,600.00 \$12,76 \$14.59 \$40.00 \$102.00 \$3.20 \$3.20 \$102.00 \$3.20 \$102.00 \$3.20 \$102.00 \$3.20 \$102.00 \$3.20 \$102.00 \$3.20 \$102.00 \$3.20	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	355 355 365 365 365 365 365 365 365 365	909-10051 LINER PICADILLY CIR. 908-10052 LINER PICADILLY CIR. 908-10052 LINER PICADILLY CIR. 9 808-10055 LINER PICADILLY CIR. 9 808-10055 LINER PICADILLY CIR. 1 105-06845 LINER HERADBURY 2 110-01051 LINEH HERADBURY 2 110-01051 LINEH HERADBURY 2 101-02265 LINEH HERADBURY 2 201-02265 LINEH HERADBURY 2 201-02265 LINEH HERADBURY 2 201-02265 LINEH HERADBURY 3 202-93515 LINEH HERADBURY 3 202-93515 LINEH HERADBURY 3 203-92000 LINEH HERADBURY 3 203-9056933 LINEH HERADBURY 3 203-905693 LINEH HERADBURY 4 201-79700 LINEH HERADBURY 5 201-79701 LINEH HERADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 24 IN. PAWEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAWEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAWEMENT MESSAGE MARKING, MULTI-COMPONENT, R.X.R. TRANSVERSE MARKING, MULTI-COMPONENT, G.X.R. TRANSVERSE MARKING, MULTI-COMPONENT, G.ROSSWALK LINE, WHITE, BIN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BYDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOSILIZATION IREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 30 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 40 IN., REMOVE EXCAVATION, COMMON (UNDISTRIBUTED) TEMPORARY MILET PROTECTION GEOGRIO, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPATED AGGREGATE NO. 53 HAMA PATCHING, TYPE B (UNDISTRIBUTED) PCCP, 7'IN, WITH MONOLITHIC CURB PCCP, 7'IN, PAREMENT) DETECTABLE WARNING SURFACES SIDEMALK, CONCRETE (AIN.) (INCLUDE VARD WALKS) (UNDISTRIBUTED) CURB RAMP, CONCRETE CURB, CONCRETE (TYPE NA, P.N. CURB ONAFTER STREET POURED) PCCP FOR APPROACHES, 8 IN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	LFT LFT LFT EACH EACH LFT LFT EACH LS LS EACH EACH EACH EACH EACH EACH EACH EACH	296.3 1 150 390 1 720 224.5 32	\$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$3,500.50 \$1,600.00 \$2,251.00 \$1,600.00 \$2,200.00 \$11.76 \$14.59 \$40.00 \$102.00 \$3.300	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	357 355 366 366 366 366 366 366 366 367 377 377	909-10051 UNE R PICADILLY CIR. 908-10052 UNE R PICADILLY CIR. 908-10052 UNE R PICADILLY CIR. 908-10055 UNE R PICADILLY CIR. 908-10055 UNE R PICADILLY CIR. 908-10057 UNE R PICADILLY CIR. 908-10056 UNE R PICADILLY CIR. 908-10057 UNE R PICADILLY CIR. 910-10056 UNE HERADBURY 910-10057 UNE HERADBURY 910-10057 UNE HERADBURY 910-10057 UNE HERADBURY 910-10057 UNE HERADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, BIN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BIOLICATION AR ROW CONSTRUCTION ENGINEER ING ONDBILGATION AND DEPOSULPATION TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 68 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 68 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 69 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TRE	UFT LEFT LEFT LEACH EACH LEFT LIS LIS LECH EACH EACH EACH EACH EACH EACH EACH E	296.3 1 150 390 1 720 224.5 32	\$1.40 \$2.50 \$32.00 \$350.00 \$2,000.00 \$2,000.00 \$350.00 \$3,500.00 \$3,600.00 \$1,600.00 \$1,600.00 \$1,200.00 \$1,200.00 \$1,000.00 \$	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	355 355 366 366 366 366 366 366 366 366	909-10051 LINER PICADILLY CIR. 908-10052 LINER PICADILLY CIR. 908-10052 LINER PICADILLY CIR. 9 808-10055 LINER PICADILLY CIR. 9 808-10055 LINER PICADILLY CIR. 1 105-06845 LINER HERADBURY 2 110-01051 LINEH HERADBURY 2 110-01051 LINEH HERADBURY 2 101-02265 LINEH HERADBURY 2 201-02265 LINEH HERADBURY 2 201-02265 LINEH HERADBURY 2 201-02265 LINEH HERADBURY 3 202-93515 LINEH HERADBURY 3 202-93515 LINEH HERADBURY 3 203-92000 LINEH HERADBURY 3 203-9056933 LINEH HERADBURY 3 203-905693 LINEH HERADBURY 4 201-79700 LINEH HERADBURY 5 201-79701 LINEH HERADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 24 IN. PAWEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAWEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAWEMENT MESSAGE MARKING, MULTI-COMPONENT, R.X.R. TRANSVERSE MARKING, MULTI-COMPONENT, G.X.R. TRANSVERSE MARKING, MULTI-COMPONENT, G.ROSSWALK LINE, WHITE, BIN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BYDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOSILIZATION IREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 30 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 40 IN., REMOVE EXCAVATION, COMMON (UNDISTRIBUTED) TEMPORARY MILET PROTECTION GEOGRIO, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPATED AGGREGATE NO. 53 HAMA PATCHING, TYPE B (UNDISTRIBUTED) PCCP, 7'IN, WITH MONOLITHIC CURB PCCP, 7'IN, PAREMENT) DETECTABLE WARNING SURFACES SIDEMALK, CONCRETE (AIN.) (INCLUDE VARD WALKS) (UNDISTRIBUTED) CURB RAMP, CONCRETE CURB, CONCRETE (TYPE NA, P.N. CURB ONAFTER STREET POURED) PCCP FOR APPROACHES, 8 IN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	LET LET LET LET LET EACH EACH LET LET LS LS EACH EACH EACH EACH EACH EACH EACH EACH	296.3 1 150 390 1 720 224.5 32	\$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$3,500.50 \$1,600.00 \$2,251.00 \$1,600.00 \$2,200.00 \$11.76 \$14.59 \$40.00 \$102.00 \$3.300	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	357 356 366 366 366 366 366 366 366 367 377 37	\$ 000-10051 LINER PICADILLY CIR. \$ 000-10052 LINE R PICADILLY CIR. \$ 000-10053 LINE R PICADILLY CIR. \$ 000-10053 LINE R PICADILLY CIR. \$ 000-10055 LINE R PICADILLY CIR. \$ 000-10055 LINE R PICADILLY CIR. \$ 100-10055 LINE R PICADILLY CIR. \$ 110-10055 LINE R PICADILLY CIR. \$ 100-10055 LINE R PICADILLY CIR. \$ 100-1	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT, RX R TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BID:CATION AR ROW CONSTRUCTION ENGINEER ING MOBILIZATION AND DEMOBILIZATION TIRE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TIRE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TIRE 68 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCAVATION, COMMON (UNDISTIBUTED) TEMPORARY HILE I PROTECTION GEOGRID, TYPE 18, BK-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPATED AGGREGATE NO. 53 HMA PATIOHING, TYPE B (UNDISTRIBUTED) PCCP, TIN. (PAVEMENT) DETECTABLE WARN INS SURFACES SUPEWALK, CONCRETE (1N), (INCLUDE VARD WALKS) (UNDISTRIBUTED) PCCP, FRA APPROACHES, BIN. (COMPRECAL APPROACHES) PCCP, FRA PPROACHES, BIN. (COMPRECAL APPROACHES) PCCP FOR APPROACHES, BIN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED) HALBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MATEROXES AND TYPES) (IF IN CONFLICT) HYDROSEED, WITH HYDROSTICK TACKFIER OBEQUIVALENT POLYMER FOR EROSCON CONTROL AND STRAW MULCH	LET LET LET LET LET EACH EACH LET LIS LIS EACH EACH EACH EACH EACH TON TON TON TON TON TON SYS SYS SYS EACH SYS SYS LET LET SYS SYS EACH SYS SYS SYS EACH SYS SYS SYS EACH SYS SYS SYS EACH SYS	296.3 1 150 390 1 720 224.5 32	\$1.40 \$2.50 \$24.00 \$390.00 \$6.90 \$350.00 \$350.00 \$3,801.50 \$1,600.00 \$1,600.00 \$2,200.00 \$12,76 \$14.59 \$40.00 \$102.00 \$330.00 \$102.00	\$0.00 \$0.00
	357 356 366 366 366 366 366 366 366 367 377 37	\$ 000-10051 LINER PICADILLY CIR. \$ 000-10052 LINER PICADILLY CIR. \$ 000-10053 LINER PICADILLY CIR. \$ 000-10055 LINER PICADILLY CIR. \$ 000-10055 LINER PICADILLY CIR. \$ 000-10055 LINER PICADILLY CIR. \$ 1105-00845 LINER HERADBURY \$ 110-01051 LINEH HERADBURY \$ 110-01051 LINEH HERADBURY \$ 101-02265 LINEH HERADBURY \$ 201-02265 LINEH HERADBURY \$ 202-02265 LINEH HERADBURY \$ 202-0226 LINEH HERADBURY \$ 203-0206 LINEH HERADBURY \$ 203-0206 LINEH HERADBURY \$ 203-0206 LINEH HERADBURY \$ 204-07480 LINEH BERADBURY \$ 304-07480 LINEH BERADBURY \$ 304-07480 LINEH BERADBURY \$ 505-11564 LINEH BERADBURY \$ 505-11564 LINEH BERADBURY \$ 506-05016 LINEH BERADBURY \$ 506-05016 LINEH BERADBURY \$ 506-05016 LINEH BERADBURY \$ 505-05012 LINEH BERADBURY \$ 505-0502 LINEH BERADBURY \$ 505-0502 LINEH BERADBURY \$ 505-0503 LINEH BERADBURY \$	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 24 IN. PAWEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAWEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE BYDICATION AR ROW CONSTRUCTION ENGINEERING ONSITUATION ENGINEERING MOBILIZATION AND DEMOBILIZATION IREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 30 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 40 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 60 IN., REMOVE EXCAVATION, COMMON (INDIDISTRIBUTED) TEMPORARY MILLET PROTECTION GEOGRID, TYPE 18, 8X-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPATED AGGREGATE NO. 53 HAMA PATCHENG, TYPE B (UNDISTRIBUTED) PCCP, 71 IN. WITH MONOLITHIC CURB PCCP, 71 IN. WITH MONOLITHIC CURB PCCP, 71 IN. WITH MONOLITHIC CURB PCCP, 71 IN. PAWEMENT) DETECTABLE WARN NO SUBFACES SOEWALK, CONCRETE (AIN.) (INCLUDE VARO WALKS) (UNDISTRIBUTED) CURB RAMP, CONCRETE CURB, CONCRETE (TYPE IN., P.N. CURB ON AFTER STREET POURED) PCCP FOR APPROACHES, BIN. (ESSIDENTIAL DAVES) (UNDISTRIBUTED) HAMBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MALBOXES AND TYPES) (F IN CONFLICT) HYDROSEED, WITH HYDROSTICK TACKHER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAY MULCH TOPSOL	UFT LEFT LEFT EACH EACH LEFT EACH LEFT EACH LIS LS EACH EACH EACH EACH EACH EACH EACH EACH	296.3 1 150 390 1 720 224.5 32	\$1.40 \$2.50 \$32.00 \$350.00 \$2,000.00 \$6.90 \$350.00 \$3,500.50 \$1,600.00 \$2,2251.00 \$3,500.00 \$11,600.00 \$2,200.00 \$3,000.00 \$12,76 \$14.58 \$40.00 \$122.00 \$32.34 \$32.50 \$47.00 \$550.00 \$550.00 \$1110.00 \$32.50 \$47.00 \$550.00 \$5	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
	357 356 366 366 366 366 366 366 366 366 377 377	\$ 000-10051 LINER PICADILLY CIR. \$ 000-10052 LINE R PICADILLY CIR. \$ 000-10052 LINE R PICADILLY CIR. \$ 000-10055 LINE R PICADILLY CIR. \$ 000-10055 LINE R PICADILLY CIR. \$ 000-10057 LINE R PICADILLY CIR. \$ 100-10056 LINE R PICADILLY CIR. \$ 100-10056 LINE R PICADILLY CIR. \$ 100-10056 LINE PICADILLY CIR. \$ 100-10056 LIN	LINE, MUTH-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MUTH-COMPONENT, STOP UNE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MUTH-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MUTH-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MUTH-COMPONENT, RIVER TRANSVERSE MARKING, MUTH-COMPONENT, CROSSWALKLIRE, WHITE, BIN. PAVEMENT MESSAGE MARKINGS MUTH-COMPONENT LANE BID/CATION AR ROW CONSTRUCTION ENGINEERING ONSILVATION AND DEROBALIZATION TREE 18 III., REMOVE (INCLUDES STUMP GRINDING) TREE 18 III., REMOVE (INCLUDES STUMP GRINDING) TREE 18 III., REMOVE (INCLUDES STUMP GRINDING) TREE 68 III., REMOVE (INCLUDES STUMP GRINDING) TREE 68 III., REMOVE (INCLUDES STUMP GRINDING) TREE 68 III., REMOVE (INCLUDES STUMP GRINDING) TREE 69 III., REMOVE (INCLUDES STUMP GRINDING) TREE 18 III., REMOVE (INCLU	UFT UFT UFT EACH EACH UFT EACH UFT EACH UFT EACH UFT EACH EACH EACH EACH EACH EACH EACH EACH	296.3 1 150 390 1 720 224.5 32 39.8	\$1.40 \$2.50 \$32.00 \$350.00 \$2,000.00 \$2,000.00 \$350.00 \$2,251.00 \$3,801.50 \$1,600.00 \$2,200.00 \$3,000.00 \$12,760.00 \$12,76 \$14.59 \$40.00 \$8.36 \$12.76 \$12.76 \$12.76 \$12.76 \$12.00 \$5.00 \$10.00 \$5.00 \$10.00 \$5.00 \$10.00 \$5.00 \$10.00 \$5.00 \$5.00 \$5.00 \$5.00 \$5.00 \$12.76 \$12.70 \$	\$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0

		y		_			
ļ		720-FWR31 LINE H BRADBURY	CASTING, 24" SOLID SANITARY MANHOLE, EURNISH AND ADJUST TO GRADE (UNDISTRIBLITED)	EACH		\$760.00	\$0.00
}		720-FWR37 LINE H BRADBURY 601-FWR01 LINE H BRADBURY	CASTING - 2"X 2" CURB & GUTTER CASTING & ADJUST TO GRADE MAINTERIANCE OF TRAFFIC	EACH LS	1	\$658.00 \$4,000.00	\$1,716.00 \$4,000.00
		EOR-10033 LINE HERADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, 4 IN.	 ப்ர	-	\$1.40	\$0.00
		608-10034 LINE H BRADBURY	LINE, MULTI-COMPONENT, SOLID, YELLOW, 4 IN.	LFT		\$1.49	\$0.00
<u> </u>		808-10036 LINEH BRADBURY	LINE, MULTI-COMPONENT, BROXEN, YELLOW, 4 IN.	LFT		\$1.40	\$0.00
ļ		608-10037 LINE H BRADBURY	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN.	IFT		\$2.50	\$0.00
		808-10051 LINEH BRADBURY 808-10052 LINEH BRADBURY	TRANSVERSE MARKING, MUETI-COMPONENT, STOP LINE, WHITE, 24 IN . PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	LFT EACH	ļ	\$24.00 \$350.00	\$0.00 \$0.00
-		808-10053 LINE H BRADBURY	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R	EACH		\$2,000.00	\$0.00
		808-10056 LINEH BRADBURY	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 61H.	LFT		\$6.90	\$0.00
	400	808-10077 LINE H BRADBURY	PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW	EACH		\$350.00	\$0.00
		105-06845 LINE I BEATY	CONSTRUCTION ENGINEERING	LS	1	\$2,405.00	\$2,405.00
		110-01001 LINE I BEATY	MOSELIZATION AND DEMOSELIZATION	LS	1	\$5,022.50	\$5,022.50
ļ		201-02255 LINE I BEATY	TREE 10 IN., REMOVE INCLUDES STUMP GRIVONG)	EACH	 	\$1,690.00	\$0.00
		201-02260 LINE I BEATY 201-02265 LINE I BEATY	TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH EACH	١	\$1,430.00 \$2,200.00	\$1,430.00 \$0.00
		201-02270 LINE BEATY	TREE GOIN, REMOVE	EACH	 	\$5,000.00	\$0.00
		202-02240 LINE I BEATY	PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	SYS	804	\$12.82	\$10,307.28
	+	202-93615 UNE I BEATY	CONCRETE REMOVE	SYS	79	\$16.28	\$1,286.12
	409	203-02000 LINE I BEATY	EXCAVATION, COMMON (UNDISTRUTED)	CYS		\$40.00	\$0.00
ļ		205-06933 LINE I BEATY	TEMPORARY INLET PROTECTION	EACH	1	\$102.00	\$102.00
<u> </u>		214-11796 LINE BEATY	GEOGRIO, TYPE 1B, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	SYS	322	\$8.36	\$2,691.92
<u> </u>		301-FWR03 LINE (BEATY	COMPATED AGGREGATE NO. 53	TON	485.5	\$31.02 \$302.50	\$15,060.21
 		304-07490 LINE I BEATY 502-PV/R01 LINE I BEATY	HMA PATCHING, TYPE B (UNDISTRIBUTED) PCCP, 7' IN. WITH MONOLITHIC CURB	SYS	804	\$48.25	\$605.00 \$38,793.00
		502-11564 UNEI BEATY	PCCP, 7 IN. (PAVEMENT)	SYS	1	\$50.00	\$0.00
		604-FWR01 LINE I BEATY	DETECTABLE WARNING SURFACES	EACH		\$300.00	\$0.00
	417	604-06070 LINE I BEATY	SIDEWALK, CONCRETE (4 IN.) (INCLUDE YARD WALKS) (UNDISTRIBUTED)	SYS	47	\$58.00	\$2,726.00
ļ		604-08086 LINE I BEATY	CURB RAMP, CONCRETE	578	 	\$120.00	\$9.00
ļ	419		CURB, CONCRETE (TYPE IIA, PIN CURB ON AFTER STREET POURED)	អោ	 	\$12.50	\$0.00
		610-07713 LINE I BEATY 610-08446 LINE I BEATY	PCCP FPR APPROACHES, 8 IN. (COMMERCIAL APPROACHES) PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	SYS	32	\$80.00 \$68.00	\$0.00 \$2,176.00
h		611-08233 LINE I BEATY	MALBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MALBOXES AND TYPES) (IF IN CONFLICT)	EACH	32	\$250.00	\$2,178.00
		621-FWR01 UNE I BEATY	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSYON CONTROL AND STRAW MULCH	SYS	322	\$2.53	\$814.66
		621-FWR19 UNE I BEATY	TOPSOIL	TON	5	\$51.00	\$255.00
		715-FWR27 LINE I BEATY	PIPE-12' CMP	LFT		\$80.00	\$0.00
ļ	426		PIPE, TYPE 4, CIRCULAR, 6 IN. W/AGGREGATE FOR UNDERDRAIN	LFT	488	\$11.22	\$5,475.36
ļ	427		ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	EXCH	ļ	\$250.00	\$0.00
}	428	720-FWR10 LINE I BEATY 720-FWR31 LINE I BEATY	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24" SOLIO SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	EACH EACH	 	\$203.50 \$660.00	\$203.50 \$660.00
<u> </u>		720-FY/R37 LINE I BEATY	CASTING 22' 3 OLD SARMANT MANAGER, FORMSMAND ADJUST TO GRADE (UNDISTRIBUTED)	EACH	1	\$960.00	\$0.00
		801-FY/R01 LINE BEATY	MAINTENANCE OF TRAFFIC	LS	1	\$5,000.08	\$5,000.00
		608-10033 LINE BEATY	LINE, MULTI-COMPONENT, SOLID, WHITE, 4 IN.	LFT	İ	\$1.40	\$0.00
	433	808-10034 LINE BEATY	LINE, MULTI-COMPONENT, SOLID, YELLOW, 4 IN.	LFT		\$1.40	\$0.00
ļ		608-10036 LINE I BEATY	UNE, MURTI-COMPONENT, BROKEN, YELLOW, 41W.	LFT	<u> </u>	\$1.40	\$0.00
ļ		608-10037 LINE I BEATY	LINE, MUETI-COMPONENT, SOLID, WHITE, 81N.	LFT	_	\$2.50	\$0.00
	436 437	808-10051 LINE I BEATY	IRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN . PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	LFT EACH		\$24.00 \$350.00	\$0.00
		808-10052 LINE BEATY 808-10053 LINE BEATY	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RXR	EACH	 	\$2,000.00	\$0.00
1		808-10056 LINE I BEATY	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, GIN.	LFI	 	\$6.90	\$0.00
		808-10077 LINE I BEATY	PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION ARROW	EACH		\$350.00	\$0.00
	441	105-06845 LINE / ST. LOUIS	CONSTRUCTION ENGINEERING	ĻS	1	\$2,625.00	\$2,625.00
		110-01001 LINE / ST. LOU:S	MOBELIZATION AND DEMOSILURATION	LS	1	\$6,370.00	\$6,370.00
		201-02255 LINE J ST. LOUIS	TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH	1	\$1,358.50	\$1,358.50
<u></u>		201-02260 LINE J ST. LOUIS 201-02265 LINE J ST. LOUIS	TREE SO IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH EACH		\$1,800.00 \$2,200.00	\$0.00
		201-02270 LINE IST. LOUIS	TREE GOIN., REMOVE	EACH	 1	\$3,146.00	\$3,145.00
	447		PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	SYS	3864	\$12.76	\$49,304.64
		202-93615 LINE J ST. LOUIS	CONCRETE REMOVE	SYS	739	\$15.68	\$11,587.52
		203-D2000 LINE J ST. LOUIS	EXCAVATION, COMMON (UNDISTIBUTED)	CYS		\$40.00	\$9.00
		205-06933 LINE J ST. LOUIS	TEMPORARY INLET PROTECTION	EACH	6	\$102.00	\$816.00
		214-11796 LINE JST. LOUIS	GEOGRID, TYPE 1B, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPATED AGGREGATE NO. 53	SYS	1546	\$8.36	\$12,924.56
———	452 453		COMPATED AGGREGATE NO. 53 HMA PATCHING, TYPE B (UNDISTRIBLITED)	TON	1130	\$35.20 \$302.50	\$39,776.00 \$907.50
		502-FWR01 LINE I ST. LOUIS	PCCP, 7" N. WITH MONOLITHIC CURB	SYS	3664	\$48.25	\$186,438.00
		502-11564 UNE IST LOUIS	PCCP, 7 IN. (PAVEMENT)	SYS		\$50.00	\$0.00
	456	604-FWR01 LINE JST. LOUIS	DETECTABLE WARNING SURFACES	EACH	3		\$750.00
ļ		604-06070 LINE JST. LOUIS	SIDEWALK, CONCRETE (4 IN.) (INCLUDE YARO WALKS) (UNDISTRIBUTED)	515	441	\$58.00	\$25,578.00
}		604-08086 LINE J ST. LOUIS 605-06120 LINE J ST. LOUIS	CURB RAMP, CONCRETE CURB, CONCRETE (TYPE I/A, P.IN CURB ON AFTER STREET POURED)	SYS LFT	44	\$110.00 \$12.50	\$4,840.00 \$0.00
-		610-07713 LINE JST. LOUIS	PCCP FPR APPROACHES, BIN. (COMMERCIAL APPROACHES)	LFT	30	\$12.50 \$74.00	\$2,220.00
		610-08446 LINE I ST. LOUIS	PCCP FOR APPROACHES, 6 IN. (RES/DENTIAL DRIVES) (UNDISTRIBUTED)	SYS	224	\$68.00	\$15,232.00
	462	511-08233 LINE LST. LOUIS	MAILBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MAILBOXES AND TYPES) (IF IN CONFLICT)	EACH	14	\$220.00	\$3,080.00
<u></u>		621-FV/R01 LINE J ST. LOUIS	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	5Y8	1727	\$2.53	\$4,369.31
		521-FWR19 LINE IST, LOUIS	TOPSOIL	TON	120	\$51.00	\$6,120.00
ļ		715-FWR27 LINE JST. LOUIS 715-FWR39 LINE JST. LOUIS	PIPE - 12" CMP PIPE, TYPE 4, CIRCULAR, 6 IN. WI/AGGREGATE FOR UNDERDRAIN	LFT LFT	2590	\$80.00 \$10.78	\$0.00 \$27,920.20
1		Lita-Citros Emc191. EUUla	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	EACH	5290		\$610.50
		715-94530 LINE LST. LOUIS				9400.00	\$0.00
	467	715-94530 LINE LST. LOUIS 720-PWR10 LINE LST. LOUIS	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	EACH	<u> </u>	\$250.00	
	467 468	715-94530 LINE LIST, LOUIS 720-FWR10 LINE LIST, LOUIS 720-FWR31 LINE LIST, LOUIS	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24" SOLIO SANITARY MARIHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)		2	\$250.00 \$660.00	\$1,320.00
	467 468 469 470	720-FWR10 LINE JST. LOUIS 720-FWR31 LINE JST. LOUIS 720-FWR37 LINE JST. LOUIS	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24' SOUD SANITARY MAINHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X 2' CURB & GUTTER CASTING & ADJUST TO GRADE	EACH EACH EACH	2	\$660.00 \$858.00	\$1,320.00 \$6,006.00
	467 468 469 470 471	720-FY/R10 LINE JST. LOUIS 720-FY/R31 LINE JST. LOUIS 720-FY/R37 LINE JST. LOUIS 801-FW/R01 LINE JST. LOUIS	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24' SOUD SANITARY MATCHOLF, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2'', Z' CURB & GUTTER CASTING & ADJUST TO GRADE MARITENIANCE OF TRAFFIC	EACH EACH EACH LS		\$660.00 \$858.00 \$6,000.00	\$1,320.00 \$6,006.00 \$6,000.00
	467 468 469 470 471 472	720-PY/R10 LINE J ST. LOUIS 720-FY/R31 LINE J ST. LOUIS 720-FY/R37 LINE J ST. LOUIS 801-FY/R01 LINE J ST. LOUIS 808-16033 LINE J ST. LOUIS	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24" SOLID SANITARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2" X2" CURB & GUITTE CASTING & ADJUST TO GRADE MATHEMATIC OF TRAFFIC LINE, MULTI-COMPONENT, SOLID, WHITE, 41N.	EACH EACH EACH LS LFT	2	\$660.00 \$859.00 \$6,000.00 \$1.40	\$1,320.00 \$6,006.00 \$6,000.00 \$0.00
	467 468 469 470 471 472 473	720-PYR10 LINE JST. LOUIS 720-FYR31 LIRE JST. LOUIS 720-FYR37 LIRE JST. LOUIS 801-FYR01 LIRE JST. LOUIS 808-10033 LIRE JST. LOUIS 808-10034 LIRE JST. LOUIS	CASTING, ADJUST TO GRADE (UNDISTREBUTED) CASTING, 24' SOUD SANITARY MAIHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2 X Z CURB & GUTTER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 41N. LINE, MULTI-COMPONENT, SOUD, YELLOW, 41N.	EACH EACH EACH US LET LET	2	\$660.00 \$859.00 \$6,000.00 \$1.40 \$1.40	\$1,320.00 \$6,006.00 \$6,000.00 \$0.00 \$0.00
	467 468 459 470 471 472 473 474	720-PY/R10 LINE J ST. LOUIS 720-FY/R31 LINE J ST. LOUIS 720-FY/R37 LINE J ST. LOUIS 801-FY/R01 LINE J ST. LOUIS 808-16033 LINE J ST. LOUIS	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24" SOLID SANITARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2" X2" CURB & GUITTE CASTING & ADJUST TO GRADE MATHEMATIC OF TRAFFIC LINE, MULTI-COMPONENT, SOLID, WHITE, 41N.	EACH EACH EACH LS LFT	2	\$660.00 \$859.00 \$6,000.00 \$1.40	\$1,320.00 \$6,006.00 \$6,000.00 \$0.00
	467 468 469 470 471 472 473 474 475	720-FY/R10 LIVIE J.ST. LOUIS 720-FY/R31 LINE J.ST. LOUIS 720-FY/R31 LINE J.ST. LOUIS 801-FY/R01 LINE J.ST. LOUIS 801-FY/R01 LINE J.ST. LOUIS 808-10033 LINE J.ST. LOUIS 806-10034 LINE J.ST. LOUIS 806-10034 LINE J.ST. LOUIS	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24' SOUD SAMITARY MATCHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2'' AZ CURB & GUTTER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4'IN. LINE, MULTI-COMPONENT, SOLID, YELLOW, 4 IN. LINE, MULTI-COMPONENT, BROXEN, YELLOW, 4 IN. LINE, MULTI-COMPONENT, BROXEN, YELLOW, 4 IN.	EACH EACH EACH IS LFT LFT LFT LFT LFT LFT	2	\$660.00 \$858.00 \$6,000.00 \$1.40 \$1.40 \$1.40 \$2.50 \$24.00	\$1,320.00 \$6,006.00 \$6,000.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
	467 468 469 470 471 472 473 474 475 476 477	720-FV/R10 LD/EJST, LOUIS 720-FV/R31 LIKE JST, LOUIS 720-FV/R31 LIKE JST, LOUIS 801-FV/R01 LIKE JST, LOUIS 803-10033 LIKE JST, LOUIS 803-10034 LIKE JST, LOUIS 803-10036 LIKE JST, LOUIS 803-10037 LIKE JST, LOUIS 803-10051 LIKE JST, LOUIS 803-10052 LIKE JST, LOUIS	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24' SOUD SANITARY MATCHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 27' ZC URB & GUTTER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 41N. LINE, MULTI-COMPONENT, SOUD, YELLOW, 41N. LINE, MULTI-COMPONENT, BROXEN, YELLOW, 41N. LINE, MULTI-COMPONENT, BROXEN, YELLOW, 41N. LINE, MULTI-COMPONENT, SOUD, WHITE, 81N. TRAISVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 241N. PAYMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAYMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	EACH EACH EACH US LET LET LET LET LET LET LET LET LET EACH	2	\$660.00 \$858.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00	\$1,320.00 \$6,006.00 \$6,000.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
	467 468 469 470 471 472 473 474 475 476 477	720-FV/R10 LD/EJST, LOUIS 720-FV/R10 LD/EJST, LOUIS 720-FV/R31 LINE IST, LOUIS 801-FV/R01 LINE IST, LOUIS 808-10033 LINE IST, LOUIS 808-10034 LINE IST, LOUIS 808-10034 LINE IST, LOUIS 808-10037 LINE IST, LOUIS 808-10032 LINE IST, LOUIS 808-10052 LINE IST, LOUIS 808-10052 LINE IST, LOUIS 808-10053 LINE IST, LOUIS	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24' SOUD SAMITARY MATCHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X.2' CURB & GUTTER CASTING & ADJUST TO GRADE MARITERANCE OFTRAFFIC LINE, MULTI-COMPONENT, SOLID, WHITE, 41N. LUNE, MULTI-COMPONENT, SOLID, YELLOW, 41N. LUNE, MULTI-COMPONENT, BROXEN, YELLOW, 41N. LUNE, MULTI-COMPONENT, SOLID, WHITE, 81N. TRAINSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 241N. PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, GNZY PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, RXR	EACH EACH EACH IS LET LET LET LET LET LET LET LET LET EACH EACH	2	\$660.00 \$858.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00	\$1,320.00 \$6,006.00 \$6,000.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
	467 468 459 470 471 472 473 474 475 476 477 478	220-FV/R10 LP/EJST, LOUIS 720-FV/R31 LIKE IST, LOUIS 720-FV/R31 LIKE IST, LOUIS 801-FV/R01 LIKE IST, LOUIS 808-10031 LIKE IST, LOUIS 808-10034 LIKE IST, LOUIS 808-10036 LIKE IST, LOUIS 808-10036 LIKE IST, LOUIS 808-10031 LIKE IST, LOUIS 808-10051 LIKE IST, LOUIS 808-10052 LIKE IST, LOUIS 808-10053 LIKE IST, LOUIS 808-10053 LIKE IST, LOUIS	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24 SOUD SANITARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING 2 X Z CURB & GUTTER CASTING & ADJUST TO GRADE MATHERIANICE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN. LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAYMENT MESSAGE MARKING, MULTI-COMPONENT, CRIX PAYMENT MESSAGE MARKING, MULTI-COMPONENT, RIX TRANSVERSE MARKING, MULTI-COMPONENT, CRIX TRANSVERSE	EACH EACH US UFT UFT UFT UFT UFT EACH EACH EACH EACH EACH EACH	2	\$660.00 \$859.00 \$5,000.00 \$1,40 \$1,40 \$2,50 \$24.00 \$350.00 \$2,000.00 \$6,90	\$1,320.00 \$6,006.00 \$6,000.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
	467 468 459 470 471 472 473 474 475 476 477 478 479 480	720-FV/R10 LD/EJST, LOUIS 720-FV/R10 LD/EJST, LOUIS 720-FV/R3 LINE IST, LOUIS 801-FW/R01 LINE IST, LOUIS 803-1003 LINE IST, LOUIS 803-1005 LINE IST, LOUIS	CASTING, ADRIST TO GRADE (UNDISTRIBUTED) CASTING, 24' SOUD SARITARY MATCHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 27' AZ CURB & GUTTER CASTING & ADJUST TO GRADE MARITERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOLID, WHITE, 41N. LUNE, MULTI-COMPONENT, SOLID, WHITE, 41N. LUNE, MULTI-COMPONENT, BONEN, YELLOW, 41N. LUNE, MULTI-COMPONENT, SOLID, WHITE, 81N. LINE, MULTI-COMPONENT, SOLID, WHITE, 81N. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 241N. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, AND TRANSVERSE MARKING, MULTI-COMPONENT, COSSWALKINE, WHITE, 61N. PAVEMENT MESSAGE MARKING MULTI-COMPONENT LANE LING/CATION ATROW	EACH EACH EACH US UFT	2	\$660.00 \$859.00 \$6,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$6,90 \$350.00	\$1,320.00 \$6,006.00 \$5,000.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
	467 468 459 470 471 472 473 474 475 476 476 477 479 480 481	220-FV/R10 LP/EJST, LOUIS 720-FV/R31 LIKE IST, LOUIS 720-FV/R31 LIKE IST, LOUIS 801-FV/R01 LIKE IST, LOUIS 808-10031 LIKE IST, LOUIS 808-10034 LIKE IST, LOUIS 808-10036 LIKE IST, LOUIS 808-10036 LIKE IST, LOUIS 808-10031 LIKE IST, LOUIS 808-10051 LIKE IST, LOUIS 808-10052 LIKE IST, LOUIS 808-10053 LIKE IST, LOUIS 808-10053 LIKE IST, LOUIS	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24 SOUD SANITARY MATHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING 2 X Z CURB & GUTTER CASTING & ADJUST TO GRADE MATHERIANICE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN. LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAYMENT MESSAGE MARKING, MULTI-COMPONENT, CRIX PAYMENT MESSAGE MARKING, MULTI-COMPONENT, RIX TRANSVERSE MARKING, MULTI-COMPONENT, CRIX TRANSVERSE	EACH EACH US UFT UFT UFT UFT UFT EACH EACH EACH EACH EACH EACH	2	\$660.00 \$859.00 \$5,000.00 \$1,40 \$1,40 \$2,50 \$24.00 \$350.00 \$2,000.00 \$6,90	\$1,320.00 \$6,006.00 \$6,000.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
	467 468 469 470 471 472 473 474 476 477 478 479 480 481	720-FV/R10 LIPE JST, LOUIS 720-FV/R31 LIRE IST, LOUIS 720-FV/R31 LIRE IST, LOUIS 801-FV/R01 LIRE IST, LOUIS 801-FV/R01 LIRE IST, LOUIS 808-10031 LIRE IST, LOUIS 808-10031 LIRE IST, LOUIS 808-10031 LIRE IST, LOUIS 808-10051 LIRE IST, LOUIS 808-10052 LIRE IST, LOUIS 808-10052 LIRE IST, LOUIS 808-10052 LIRE IST, LOUIS 808-10051 LIRE IST, LOUIS 808-10057 LIRE IST, LOUIS 808-10077 LIRE IST, LOUIS	CASTING, 20 INST TO GRADE (UNDISTRIBUTED) CASTING, 24' SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X' Z' CURB & GUTTER CASTING & ADJUST TO GRADE MAINTERNANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 41N. LINE, MULTI-COMPONENT, SOUD, WHITE, 41N. LINE, MULTI-COMPONENT, BROKEN, YELLOW, 41N. LINE, MULTI-COMPONENT, BROKEN, YELLOW, 41N. LINE, MULTI-COMPONENT, BROKEN, YELLOW, 41N. TRAINSVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 241N. PAYMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAYMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY TRAINSVERSE MARKING, MULTI-COMPONENT, CROSSWALKURE, WHITE, 61N. PAYMENT MESSAGE MARKING, MULTI-COMPONENT, LANGUAGE OF MULTI-COMPONENT, AND MULTI-COMPONENT, AND MULTI-COMPONENT, AND MULTI-COMPONENT AN	EACH EACH EACH LS LFT LFT LFT LFT LFT LFT LFT LFT LFT EACH EACH LS LS LS EACH LS LS EACH	2 77 11 11	\$660.00 \$556.00 \$1.40 \$1.40 \$1.40 \$2.50 \$2.50 \$2.400 \$350.00 \$5.90 \$5.90 \$350.00	\$1,320.00 \$5,006.00 \$5,000.00 \$0.00
	467 488 489 4707 4717 472 473 474 474 475 476 479 480 481 481 482 483 484 484	20-FV/R10 LIPEJST, LOUIS 720-FV/R31 LIKE IST, LOUIS 720-FV/R31 LIKE IST, LOUIS 801-FV/R01 LIKE IST, LOUIS 803-FV/R01 LIKE IST, LOUIS 803-10033 LINE IST, LOUIS 803-10034 LINE IST, LOUIS 803-10035 LINE IST, LOUIS 803-10035 LINE IST, LOUIS 803-10052 LINE IST, LOUIS 803-10052 LINE IST, LOUIS 803-10052 LINE IST, LOUIS 803-10052 LINE IST, LOUIS 803-10057 LINE IST, LOUIS 803-10057 LINE IST, LOUIS 105-06345 LINE IST, LOUIS 110-06345 LINE IST, LOUIS 201-0255 LINE K WESTIVARD 201-02250 LINE K WESTIVARD 201-02250 LINE K WESTIVARD	CASTING, ADJUST TO GRADE (UNDISTREBUTED) CASTING, 24' SOUD SANITARY MAINOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X Z' CURB & GUTTER CASTING & ADJUST TO GRADE MAINTERNANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 41N. LINE, MULTI-COMPONENT, BROKEN, YELLOW, 41N. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 241N. PAYMENT HESSAGE MARKING, MULTI-COMPONENT, ONLY PAYMENT HESSAGE MARKING, MULTI-COMPONENT, LONG HITE, GIN. PAYMENT HESSAGE MARKING, MULTI-COMPONENT, DAY RESSAGE MARKING, MULTI-COMPONENT, LONG HITE, GIN. PAYMENT HESSAGE MARKING MULTI-COMPONENT LUNG HITOCATION AR ROW CONSTRUCTION ENGINEER ING MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOYE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOYE (INCLUDES STUMP GRINDING)	EACH EACH EACH LS LFT LFT LFT LFT LFT LFT EACH EACH LS LS LS LS EACH LS LS EACH EACH EACH EACH EACH LS LS	2 77 11 11	\$660.00 \$539.00 \$5,000.00 \$1.40 \$1.40 \$2.50 \$2.50 \$24.00 \$5.50 \$2,000.00 \$5.50 \$2,000.00 \$5.50 \$2,000.00 \$2,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00	\$1,320.00 \$5,000.00 \$0,000.00 \$0.00
	467 468 470 470 471 472 473 474 475 476 477 480 481 481 482 483 484	220-FV/R10 LIFE JST. LOUIS 720-FV/R31 LIRE JST. LOUIS 720-FV/R31 LIRE JST. LOUIS 803-10033 LIRE JST. LOUIS 803-10034 LIRE JST. LOUIS 803-10034 LIRE JST. LOUIS 803-10034 LIRE JST. LOUIS 803-10036 LIRE JST. LOUIS 803-10036 LIRE JST. LOUIS 803-10035 LIRE JST. LOUIS 803-10052 LIRE JST. LOUIS 803-10052 LIRE JST. LOUIS 803-10052 LIRE JST. LOUIS 803-10053 LIRE JST. LOUIS 803-10055 LIRE JST. LOUIS 803-10057 LIRE JST. LOUIS 803-10057 LIRE JST. LOUIS 803-10058 LIRE JST. LOUIS 803-10058 LIRE JST. LOUIS 803-10058 LIRE JST. LOUIS 903-10058 LIRE JST. LOUIS	CASTING, ADJUST TO GRADE (UNDISTRIBUTED) CASTING, 24 SOUD SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING 2.4 X Z CURB & GUTTER CASTING & ADJUST TO GRADE MAINTERNANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 41N. LINE, MULTI-COMPONENT, SOUD, WHITE, 41N. LINE, MULTI-COMPONENT, BROXEN, YELLOW, 41N. LINE, MULTI-COMPONENT, BROXEN, YELLOW, 41N. LINE, MULTI-COMPONENT, SOUD, WHITE, 81N. TRANSVERSE MARKING, MULTI-COMPONENT, GROY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRANSVERSE MARKING, MULTI-COMPONENT, RX R TRANSVERSE MARKING, MULTI-COMPONENT, RX R TRANSVERSE MARKING, MULTI-COMPONENT, RX R MANHOLITH MESSAGE MARKING, MULTI-COMPONENT, RX R TRANSVERSE MARKING, MULTI-COMPONENT, LINE WHITE, GIN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE WHITE, GIN. TRANSVERSE MARKING, MULTI-COMPONENT LANE WHITE, GIN. MOBILIZATION AND DEMORELIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRNDING) TREE 30 IN., REMOVE (INCLUDES STUMP GRNDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRNDING)	EACH EACH LS LS LFT	2 7 1 1	\$660.00 \$850.00 \$0,000.00 \$1.40 \$1.40 \$1.40 \$2.50 \$2.00,00 \$3.000,00 \$5,000,00 \$3.50,00 \$3.50,00 \$1,600.00 \$1,600.00 \$1,600.00 \$1,600.00	\$1,320.00 \$6,006.00 \$9,000.00 \$0.00
	467 468 459 470 471 471 473 474 475 476 477 480 480 481 481 481 481 482 483 484 485 485	20-FV/R10 LIPEJST, LOUIS 720-FV/R31 LIKE IST, LOUIS 720-FV/R31 LIKE IST, LOUIS 801-FV/R01 LIKE IST, LOUIS 803-FV/R01 LIKE IST, LOUIS 803-10033 LINE IST, LOUIS 803-10034 LINE IST, LOUIS 803-10035 LINE IST, LOUIS 803-10035 LINE IST, LOUIS 803-10052 LINE IST, LOUIS 803-10052 LINE IST, LOUIS 803-10052 LINE IST, LOUIS 803-10052 LINE IST, LOUIS 803-10057 LINE IST, LOUIS 803-10057 LINE IST, LOUIS 105-06345 LINE IST, LOUIS 110-06345 LINE IST, LOUIS 201-0255 LINE K WESTIVARD 201-02250 LINE K WESTIVARD 201-02250 LINE K WESTIVARD	CASTING, ADJUST TO GRADE (UNDISTREBUTED) CASTING, 24' SOUD SANITARY MAINOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2' X Z' CURB & GUTTER CASTING & ADJUST TO GRADE MAINTERNANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 41N. LINE, MULTI-COMPONENT, BROKEN, YELLOW, 41N. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 241N. PAYMENT HESSAGE MARKING, MULTI-COMPONENT, ONLY PAYMENT HESSAGE MARKING, MULTI-COMPONENT, LONG HITE, GIN. PAYMENT HESSAGE MARKING, MULTI-COMPONENT, DAY RESSAGE MARKING, MULTI-COMPONENT, LONG HITE, GIN. PAYMENT HESSAGE MARKING MULTI-COMPONENT LUNG HITOCATION AR ROW CONSTRUCTION ENGINEER ING MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOYE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOYE (INCLUDES STUMP GRINDING)	EACH EACH EACH LS LFT LFT LFT LFT LFT LFT EACH EACH LS LS LS LS EACH LS LS EACH EACH EACH EACH EACH LS LS	2 7 1 1	\$660.00 \$850.00 \$0,000.00 \$1.40 \$1.40 \$2.50 \$24.00 \$350.00 \$2,000.00 \$5.50 \$350.00 \$2,850.50 \$6,700.00 \$1,430.00 \$1,573.00 \$5,500.00	\$1,320.00 \$6,000.00 \$0,000.00 \$0.00

	488	202-93615 LINE KWESTWARD	CONCRETE REMOVE	SYS	570	\$17.33	\$9,906.60
		203-02000 LINE KWESTWARD	EXCAVATION, COMMON (UNDISTIBUTED)	CYS		\$40.00	\$0.00
		205-06933 LINE KWESTWARD	TEMPORARY INLET PROTECTION GEOGRED, TYPE 1B, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	EACH	1900	\$102.00	\$714.00
		214-11796 LINE KWESTWARD 301-FWR03 LINE KWESIWARD	COMPATED AGGREGATE NO. 53	TON	1301.4	\$8.36 \$35.31	\$15,684.00 \$45,952.43
		304-07490 LINE KWESTWARD	HMA PATCHING, TYPE B (UNDISTRIBUTED)	TON	5	\$302.50	\$1,512.50
		502-FWR01 LINE KWESTWARD	PCCP, 7" IN, WITH MONOLITHIC CURB	SYS	4728	\$48.25	\$228,126.00
ļ		502-11564 LINE X WESTWARD 604-FWR01 LINE X WESTWARD	PCCP, 7 IN. (PAVEMENT) DETECTABLE WARNING SURFACES	SYS EACH	6	\$50.00 \$250.00	\$1,500.00
		604-06070 LINE KWESTWARD	SIDEWALK, CONCRETE (4 IN.) [INCLUDE YARD WALKS) (UNDISTRIBUTED)	5YS	425	\$58.00	\$24,650.00
		604-08086 LINE KWESTWARD	CURB RAMP, CONCRETE	SYS	70	\$110.00	\$7,700.00
		605-06120 LINE KWESTWARD	CURB, CONCRETE (TYPE NA, P.IN CURB ON AFTER STREET POURED)	LFT		\$12.50	\$0.00
├		610-07713 LINE KWESTWARD	PCCP FPR APPROACHES, BIRL (COMMERCIAL APPROACHES)	LFT	75	\$80.00	\$0.00
		610-08446 LINE KWESTWARD 611-08233 LINE KWESTWARD	PCCP FOR APPROACHES, 6 IN. [RESIDENTIAL DRIVES] (UNDISTRIBUTED) MAILBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MAILBOXES AND TYPES) (IF IN CONFLICT)	SYS EACH	- /5	\$68.00 \$220.00	\$5,100.00 \$1,320.00
		621-FWR01 LINE K WESTWARD	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	SYS	2100	\$2.53	\$5,313.00
		621-FWR19 LINE K WESTWARD	TOPSOIL	TON	150	\$51.00	\$7,650.00
		715-FVR27 LINE K WESTWARD 715-FVR39 LINE K WESTWARD	PEPE - 12" CMP PEPE, TYPE 4, CIRCULAR, 6 IN. WAGGREGATE FOR UNDERDRAIN	LFT	3150	\$80.00 \$9.90	\$0.00 \$31,185.00
		715-94530 LINE KWESTWARD	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	EACH	3,30	\$203.50	\$407.00
		720-PWR10 LINE K WESTWARD	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	EACH	4	\$203.50	\$814.00
		720-FWR31 LINE K WESTWARD	CASTING, 24" SOLID SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	EACH	5	\$660.00	\$3,300.00
		720-FWR37 LINE KWESTWARD B01-FWR01 LINE KWESTWARD	CASTING - 2"X 2" CURB & GUTTER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC	EACH LS		\$858.00 \$7,000.00	\$3,432.00 \$7,000.00
		808-10033 LINE KWESTWARD	LINE, MULTI-COMPONENT, SOUD, WHITE, 4IN.	LFT	1	\$1.40	\$0.00
		808-10034 LINE KWESTWARD	LINE, MULTI-COMPONENT, SOLID, YELLOW, 4 IN.	LFT		\$1.40	\$0.00
		508-10036 LINE KWESTWARD	LINE, MULTI-COMPONENT, BROXEN, YELLOW, 4 IN.	LFT	ļ	\$1.40	\$0.00
		608-10037 LINE KWESTWARD 608-10051 LINE KWESTWARD	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN. TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN.	LFT	 	\$2.50 \$24.00	\$0.00
		608-10052 LINE KWESTWARD	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	EACH		\$350.00	\$0.00
	518	808-10053 LINE K WESTWARD	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R	EACH		\$2,000.00	\$0.00
ļ		608-10056 LINE KWESTWARD	TRANSVERSE MARGING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 61M.	LFT	ļ	\$6.90	\$0.00
		808-10077 LINE K WESTWARD 105-06845 LINE L MCARTHUR	PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEERING	EACH LS	1	\$350.00 \$3,076.00	\$0.00 \$3,076.00
		110-01001 LINE L MCARTHUR	MOBILIZATION AND DEMOBILIZATION	LS	1	\$10,126.50	\$10,126.50
	523	201-02255 LINE L MCARTHUR	TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH		\$1,600.00	\$0.00
<u> </u>		201-02260 LINE L MCARTHUR	TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH	1	\$1,439.00	\$1,439.00
 		201-02265 LINE L MCARTHUR 201-02270 LINE L MCARTHUR	TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE	EACH EACH	1	\$1,573.00 \$5,000.00	\$1,573.00 \$0.00
		202-02240 LINE L MCARTHUR	PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	SYS	7824	\$12.71	\$99,443.04
		202-93615 LINE L MCARTHUR	CONCRETE REMOVE	SYS	1708.4	\$15.18	\$25,933.51
	529 530	203-02000 LINE L MCARTHUR 205-06933 LINE L MCARTHUR	EXCAVATION, COMMON (UNDISTIBUTED) TEMPORARY INLET PROTECTION	CYS EACH	12	\$40.00 \$102.00	\$0.00 \$1,224.00
	539		GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	SYS	3130	\$8.36	\$26,166.80
		301-FWR03 LINE L MCARTHUR	COMPATED AGGREGATE NO. 53	TON	2005	\$36.58	\$73,342.90
		304-07490 LINE L MCARTHUR	HMA PATCH:NG, TYPE 8 (UNDISTRIBUTED)	TON		\$350.00	\$0.00
<u> </u>		502-FWR01 LINEL MCARTHUR	PCCP, 7" IN. WITH MONOLITRIC CURB	SYS SYS	4728	\$48.15 \$50.00	\$227,653.20 \$0.00
 		502-11564 LINEL MCARTHUR 504-FWR01 LINEL MCARTHUR	PCCP, 7 IN. (PAVEMENT) DETECTABLE WARNING SURFACES	EACH	22	\$250.00	\$5,500.00
		604-06070 LINE L MCARTHUR	SIDEWALK, CONCRETE (4 IN.) (INCLUDE YARD WALKS) (UNDISTRIBUTED)	5YS	713.4	\$58.00	\$41,377.20
ļ		504-08086 LINE L MCARTHUR	CURB RAMP, CONCRETE	5YS	180	\$110.00	\$19,800.00
	539 540		CURB, CONCRETE (TYPE HA, PIN CURB ON AFTER STREET POURED) PCCP FPR APPROACHES, B IN. (COMMERCIAL APPROACHES)	LFT LFT	100	\$12.50 \$74.00	\$0.00 \$7,400.00
		610-08446 LINE L MCARTHUR	PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	SYS	715	\$68.00	\$48,620.00
	542	611-68233 DNE L MCARTHUR	MAYLBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MAYLBOXES AND TYPES) (IF IN CONFLICT)	EACH	. 1	\$220.00	\$220.00
		621-FWR01 LINE L MCARTHUR	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	SYS	3478	\$2.53	\$8,799.34
		621-FWR19 LINE L MCARTHUR 715-FWR27 LINE L MCARTHUR	TOPSO:L PIPE - 12*CMP	TON	200	\$51.00 \$80.00	\$10,200.00 \$0.00
 	546		PIPE, TYPE 4, CIRCULAR, 6 IN. WAGGREGATE FOR UNDERDRAIN	LFI	5216	\$10.01	\$52,212.16
		715-94530 LINE L MCARTHUR	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	EACH	6	\$203.50	\$1,221.00
<u> </u>		720-FWR10 LINEL MCARTHUR	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)				
	549 550	700 CUROLLINEL MOIDTHID	CLETIVE OF COLD CANTARYMANIOLE DIDUCTAND ADDICTED CRADE GIAD STORIGED	EACH	6	\$203.50	\$1,221.00
			CASTING, 24* SOLID SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2* X 2* CURB & GUTTER CASTING & ADJUST TO GRADE	EACH	6 2 14	\$203.50 \$660.00	\$1,320.00
	551		CASTING, 24' SOLID SANTIARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - Z' X 2' CURB & GUTTER CASTING & ADJUST TO GRADE MAYITEMANCE OF TRAFFIC		6 2 14 1	\$203.50 \$660.00	
	552	720-FWR37 LINE L MCARTHUR 801-FWR01 LINE L MCARTHUR 808-10033 LINE L MCARTHUR	CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN.	EACH EACH LS LFT	6 2 14 1	\$203.50 \$660.00 \$858.00 \$13,000.00 \$1.40	\$1,320.00 \$12,012.00 \$13,000.00 \$0,00
<u> </u>	552 553	720-FWR37 LINE L MCARTHUR 801-FWR01 LINE L MCARTHUR 808-10033 LINE L MCARTHUR 808-10034 LINE L MCARTHUR	CASTING - 2' X 2' CURB & GUTTER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN.	EACH EACH LS LFT LFT	14 1	\$203.50 \$660.00 \$858.00 \$13,000.00 \$1.40 \$1.40	\$1,320.00 \$12,012.00 \$13,000.00 \$0,00 \$0.00
	552 553 554	720-FWR37 LINE L MCARTHUR 801-FWR01 LINE L MCARTHUR 808-10033 LINE L MCARTHUR	CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN.	EACH EACH LS LFT	6 2 14 1	\$203.50 \$660.00 \$858.00 \$13,000.00 \$1.40	\$1,320.00 \$12,012.00 \$13,000.00 \$0,00
	552 553 854 555 556	720-FWR37 LINE L MCARTHUR B01-FWR01 LINE L MCARTHUR B08-10033 LINE L MCARTHUR S08-10034 LINE L MCARTHUR E08-10035 LINE L MCARTHUR E08-10037 LINE L MCARTHUR B08-10031 LINE L MCARTHUR	CASTING - Z X.2 CURB A GUITER CASTING & ADJUST TO GRADE MAINTENANCE OFTRAFFIC LINE, MULT-COMPONENT, SOUD, WHITE, 4 IR. LINE, MULT-COMPONENT, SOUD, YELLOW, 4 IN. LINE, MULT-COMPONENT, BROKEN, YELLOW, 4 IN. LINE, MULT-COMPONENT, SOUD, WHITE, 8 IN. TRANSVERSE MARKING, MULT-COMPONENT, STOP LINE, WHITE, 24 IR.	EACH US UFF UFF UFF UFF UFF UFF	14 1 1 27	\$203.50 \$660.00 \$858.00 \$13,000.00 \$1.40 \$1.40 \$1.40 \$2.50	\$1,320.00 \$12,012.00 \$13,000.00 \$0.00 \$0.00 \$0.00 \$0.00 \$5.00 \$5.00 \$5.00
	552 553 554 555 556 557	720-FVR37 LINEL MCARTHUR 801-FVR91 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10034 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10051 LINEL MCARTHUR 808-10051 LINEL MCARTHUR 808-10051 LINEL MCARTHUR	CASTING - 2' X 2' CURB & GUITER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN. LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRAINSVERSE ARRISON, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	EACH EACH LS LFT LFT LFT LFT LFT LFT LFT LFT LFT	1	\$203.50 \$660.00 \$858.00 \$13,000.00 \$1.40 \$1.40 \$1.40 \$2.50 \$22.00	\$1,320.00 \$12,012.00 \$13,000.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
	552 553 554 555 556 557 558	120-FWR37 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10034 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10051 LINEL MCARTHUR 808-10052 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10053 LINEL MCARTHUR	CASTING - Z X.2 CURB & GUITER CASTING & ADJUST TO GRADE MINITERIANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. TRAINSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	EACH EACH LS LFT LFT LFT LFT LFT LFT LFT LFT LFT EACH EACH	1	\$203.50 \$660.00 \$858.00 \$13,000.00 \$1,40 \$1,40 \$1,40 \$2,50 \$22.00 \$350.00	\$1,320.00 \$12,012.00 \$13,000.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
	552 553 554 555 556 557 558 559	120-FWA97 LINEL MCARTHUR 608-10033 LINEL MCARTHUR 608-10033 LINEL MCARTHUR 608-10034 LINEL MCARTHUR 608-10036 LINEL MCARTHUR 608-10036 LINEL MCARTHUR 608-10037 LINEL MCARTHUR 608-10051 LINEL MCARTHUR 608-10053 LINEL MCARTHUR 608-10055 LINEL MCARTHUR 608-10055 LINEL MCARTHUR 608-10057 LINEL MCARTHUR 608-10057 LINEL MCARTHUR	CASTING - 2' X 2' CURB & GUITER CASTING & ADJUST TO GRADE MAINTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN. LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRAINSVERSE ARRISON, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	EACH EACH LS LFT LFT LFT LFT LFT EACH EACH LFT EACH	1	\$203.50 \$660.00 \$13,000.00 \$1.40 \$1.40 \$1.40 \$2.50 \$2.50 \$2.00 \$350.00 \$2,000.00 \$4.90	\$1,320,00 \$12,012,00 \$13,000,00 \$0,0
	552 553 554 555 556 557 558 559 560	20-FWR37 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10034 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10051 LINEL MCARTHUR 808-10052 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10057 LINEL MCARTHUR 808-10057 LINEL MCARTHUR 808-10057 LINEL MCARTHUR 105-06454 LINE M BURNSOOLE	CASTING - Z X2 CURB & GUTTER CASTING & ADJUST TO GRADE MINITHANICE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. TRAINSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRAINSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. CONSTRUCTION ENGINEERING	EACH EACH LS LFT LFT LFT LFT LFT LFT EACH EACH LFT EACH LFT EACH LFT	1	\$203.50 \$660.00 \$13.000.00 \$1.40 \$1.40 \$1.40 \$2.50 \$22.00 \$350.00 \$5.00	\$1,320,00 \$12,012,00 \$13,000,00 \$0,00 \$0,00 \$0,00 \$0,00 \$5,00 \$5,00 \$0,00 \$2,000,00 \$0,00 \$0,00 \$0,00
	552 553 554 555 556 557 558 559 560 561	20-FVR97 LINEL MCARTHUR 801-FVR91 LINEL MCARTHUR 808-10031 LINEL MCARTHUR 808-10034 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10051 LINEL MCARTHUR 808-10052 LINEL MCARTHUR 808-10052 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10056 LINEL MCARTHUR	CASTING - Z X2 CURB A GUITER CASTING & ADJUST TO GRADE MANTERNANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHELOW, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 III. TRANSVERSE MARRING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARRING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARRING, MULTI-COMPONENT, ONLY TRANSVERSE MARRING, MULTI-COMPONENT, RX R TRANSVERSE MARRINGS MULTI-COMPONENT, RX R TRANSVERSE MARRINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ERGUSEERING MOBILIZATION AND DEMOBELIZATION	EACH EACH LS LFT LFT LFT LFT EACH EACH LET EACH LET EACH LET EACH LS LS	27	\$203.50 \$650.00 \$856.00 \$13,000.00 \$1,40 \$1,40 \$1,40 \$2,50 \$2,00 \$350.00 \$2,000.00 \$4,000.00 \$350.00 \$2,702.00	\$1,320.00 \$12,012.00 \$13,000.00 \$0.0
	552 553 554 555 556 557 558 559 560 561 562 563	120-FWAT LIKE I MCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10051 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 109-0845 LINEL MCARTHUR 109-0845 LINE MEDIANSOALE 100-10025 LINEM BURNSDALE 201-02255 LINEM BURNSDALE	CASTING - Z XZ CURB & GUTTER CASTING & ADJUST TO GRADE MINTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 III. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 III. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 III. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 III. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 III. TRAINSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 III. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 III. TRAINSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 III. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION TREE 18 III., REMOVE (INCLUDES STUMP GRIRDING)	EACH EACH US LET LET LET LET LET LET LET EACH EACH EACH LET EACH LET EACH EACH LET EACH EACH	27	\$203.50 \$650.00 \$13,000.00 \$1,40 \$1,40 \$1,40 \$2,50 \$2,50 \$2,00 \$350.00 \$6,90 \$350.00 \$2,702.00 \$350.00 \$350.00 \$350.00 \$350.00	\$1,320.00 \$12,012.00 \$13,000.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$2,000.00 \$0.00 \$2,700.00 \$0.00 \$0.00
	552 553 554 555 556 557 558 559 560 561 562 563 564 565	20-FVR97 LINE L MCARTHUR 801-FVR91 LINE L MCARTHUR 808-10034 LINE L MCARTHUR 808-10034 LINE L MCARTHUR 808-10035 LINE L MCARTHUR 808-10055 LINE L MCARTHUR 808-10057 LINE L MCARTHUR 808-10052 LINE L MCARTHUR 808-10055 LINE L MCARTHUR 808-10056 LINE L MCARTHUR 808-10056 LINE L MCARTHUR 808-10077 LINE L MCARTHUR 808-10056 LINE L MCARTHUR 808-10055 LINE M BURNSDALE 201-02265 LINE M BURNSDALE 201-02265 LINE M BURNSDALE	CASTING - Z X2* CURB A GUTTER CASTING & ADJUST TO GRADE MANTERNANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IR. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IR. IRANSVERSE MARRING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARRING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARRING, MULTI-COMPONENT, AX R TRAINSVERSE MARRING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IR. PAVEMENT MESSAGE MARRINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION TREE 3 BINL, REMOVE (INCLUDES STUMP GRINDING) TREE 3 BINL, REMOVE (INCLUDES STUMP GRINDING) TREE 4 BINL, REMOVE (INCLUDES STUMP GRINDING)	EACH EACH LIS LFT	27	\$203.50 \$650.00 \$856.00 \$13,000.00 \$1,40 \$1,40 \$2,50 \$2,50 \$350.00 \$4,000.00 \$4,000.00 \$4,000.00 \$4,000.00 \$5,500.00 \$4,000.00	\$1,320.00 \$12,012.00 \$13,000.00 \$0,00 \$0,00 \$0,00 \$0,00 \$0,00 \$0,00 \$54.00 \$2,000.00 \$0,00
	\$52 \$53 \$54 \$55 \$56 \$57 \$58 \$59 \$60 \$61 \$62 \$63 \$64 \$65 \$65 \$66	120-FWART LINEL INCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10051 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 105-06465 LINEL MCARTHUR 105-06465 LINE M BURNSDALE 110-1001 LINE M BURNSDALE 201-02250 LINE M BURNSDALE 201-02250 LINE M BURNSDALE 201-02250 LINE M BURNSDALE	CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MINEMANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 8 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRAINSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CROSSYMAL KINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT, CROSSYMAL KINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND OBDUSTATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 4 BIN., REMOVE (INCLUDES STUMP GRINDING) TREE 4 BIN., REMOVE (INCLUDES STUMP GRINDING) TREE 4 BIN., REMOVE (INCLUDES STUMP GRINDING)	EACH EACH LET LET LET LET LET EACH EACH LET EACH LET EACH LET EACH LES EACH EACH EACH EACH	27 1 1 1 1 1	\$203.50 \$650.00 \$13,000.00 \$1,40 \$1,40 \$1,40 \$2,50 \$2,50 \$2,000.00 \$3,000.00 \$2,000.00 \$2,702.00 \$3,702.00 \$1,609.00 \$1,609.00 \$1,430.00 \$1,430.00 \$1,430.00 \$1,430.00 \$1,573.00 \$5,000.00	\$1,320.00 \$12,012.00 \$13,000.00 \$0,00 \$0,00 \$0,00 \$594.00 \$5,000 \$2,700.00 \$2,702.00 \$5,550.00 \$2,702.00 \$1,430.00 \$1,430.00 \$1,573.00
	\$522 \$533 \$544 \$555 \$566 \$577 \$588 \$599 \$600 \$611 \$622 \$633 \$644 \$655 \$666 \$665 \$666 \$665 \$666	20-FVR97 LINE L MCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10051 LINEL MCARTHUR 808-10052 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 105-06445 LINE M BURNSDALE 110-01001 LINE M BURNSDALE 201-02255 LINE M BURNSDALE 201-02255 LINE M BURNSDALE 201-02255 LINE M BURNSDALE 201-02250 LINE M BURNSDALE 201-02250 LINE M BURNSDALE	CASTING - Z X2 CURB A GUITER CASTING & ADJUST TO GRADE MINITERINICE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRAINSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION TREE 18 INI, REMOVE (INCLUDES STUMP GRINDING) TREE 30 INI, REMOVE (INCLUDES STUMP GRINDING) TREE 60 INI, REMOVE (INCLUDES STUMP GRINDING)	EACH EACH EACH LET LET LET LET LET LET EACH EACH LE EACH LE EACH EACH EACH EACH EACH EACH EACH EAC	27 1 1 1 1 1 1 2349	\$203.50 \$650.00 \$13,000.00 \$1.40 \$1.40 \$1.40 \$2.50 \$22.00 \$350.00 \$50.00 \$50.00 \$1,600	\$1,320.00 \$12,012.00 \$13,000.00 \$0,00 \$0,00 \$0,00 \$0,00 \$594.00 \$2,000.00 \$2,000.00 \$2,702.00 \$2,702.00 \$1,430.00 \$1,573.00 \$2,557.70 \$2,555.70
	552 553 554 555 556 557 558 559 560 561 561 562 563 564 565 566 566	120-FWART LINEL INCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10051 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 105-06465 LINEL MCARTHUR 105-06465 LINE M BURNSDALE 110-1001 LINE M BURNSDALE 201-02250 LINE M BURNSDALE 201-02250 LINE M BURNSDALE 201-02250 LINE M BURNSDALE	CASTING - Z X2 CURB & GUTTER CASTING & ADJUST TO GRADE MINTERANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRAINSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAREMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAYMENT MESSAGE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYMENT MESSAGE MARKINGS MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND ORDOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 30 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 30 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 40 IN., REMOVE (INCLUDES STUMP ORINDING) TREE 50 IN., REMOVE (INCLUDES STUMP ORINDING)	EACH EACH LET LET LET LET LET EACH EACH LET EACH LET EACH LET EACH LES EACH EACH EACH EACH	27 1 1 1 1 1	\$203.50 \$650.00 \$13,000.00 \$1,40 \$1,40 \$1,40 \$2,50 \$2,50 \$2,000.00 \$3,000.00 \$2,000.00 \$2,702.00 \$3,702.00 \$1,609.00 \$1,609.00 \$1,430.00 \$1,430.00 \$1,430.00 \$1,430.00 \$1,573.00 \$5,000.00	\$1,320.00 \$12,012.00 \$13,000.00 \$0,00 \$0,00 \$0,00 \$594.00 \$5,000 \$2,700.00 \$2,702.00 \$5,550.00 \$2,702.00 \$1,430.00 \$1,430.00 \$1,573.00
	552 553 554 555 556 557 558 559 560 561 562 563 564 565 566 567 568	20-FYRRY LINE L NCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 105-06445 LINE M BURNSDALE 110-01001 LINE M BURNSDALE 201-02255 LINE M BURNSDALE 201-02255 LINE M BURNSDALE 201-02250 LINE M BURNSDALE 202-02240 LINE M BURNSDALE 202-02340 LINE M BURNSDALE 202-02340 LINE M BURNSDALE 202-02340 LINE M BURNSDALE 202-0230 LINE M BURNSDALE 202-0230 LINE M BURNSDALE 202-0230 LINE M BURNSDALE	CASTING - Z X2 CURB & GUTTER CASTING & ADJUST TO GRADE MINTERNANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RY R PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RY R TRAINSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RY R TRAINSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6	EACH EACH LIS LIS LET	1 27 i 1 1 1 1 1 1 2349 457 3 3 3	\$203.50 \$650.00 \$13,000.00 \$1.40 \$1.40 \$1.40 \$2.50 \$2.200 \$350.00 \$6.90 \$370.00 \$6.90 \$1,600.00	\$1,320.00 \$12,012.00 \$13,000.00 \$0,00 \$0,00 \$0,00 \$0,00 \$0,00 \$0,00 \$5,94.00 \$2,000.00 \$0,
	552 553 554 555 556 557 558 559 560 561 562 563 564 565 566 566 566 566 567 568	120-FWART LINE I MCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10034 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 109-0845 LINEL MCARTHUR 110-09081 LINEL MCARTHUR 110-09081 LINEL MCARTHUR 1201-0225 LINE M BURNSOALE 201-0225 LINE M BURNSOALE 201-0225 LINE M BURNSOALE 201-0225 LINE M BURNSOALE 202-93815 LINE M BURNSOALE 202-93815 LINE M BURNSOALE 203-02000 LINE M BURNSOALE 203-05033 LINE M BURNSOALE 203-05033 LINE M BURNSOALE 203-05033 LINE M BURNSOALE 203-05033 LINE M BURNSOALE	CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MINTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 III. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 III. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 III. TRAINSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 III. PAVEMENT RESSAGE MARKING, MULTI-COMPONENT, RX R TRAINSVERSE MARKING, MULTI-COMPONENT, RX R TRAINSVERSE MARKING, MULTI-COMPONENT, RX R TRAINSVERSE MARKING, MULTI-COMPONENT, LANE INDICATION AR ROW CONSTRUCTION ENGISEERING MOBILIZATION AND DEMOSILIZATION TREE 18 III., REMOVE (INCLUDES STUMP GRINDING) TREE 18 III., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IIII., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IIII., REMOVE (INCLUDES STUMP GRINDING) TREE 68 III., REMOVE (INCLUDES STUMP GRINDING) TREE 68 III., REMOVE (INCLUDES TUMP GRINDING)	EACH EACH IS IS IFT	27 1 1 1 1 1 1 1 2349 457 3 940	\$203.50 \$650.00 \$13,000.00 \$1,40 \$1,40 \$1,40 \$2,50 \$2,50 \$350.00 \$2,000.00 \$2,000.00 \$2,702.00 \$350.00 \$1,500.00 \$1,	\$1,320.00 \$12,012.00 \$13,000.00 \$0,00 \$0,00 \$0,00 \$594.00 \$0,00 \$2,000.00 \$2,700.00 \$2,700.00 \$4,650.00 \$1,430.00 \$1,430.00 \$1,430.00 \$2,554.00 \$0,00 \$2,700.00 \$2,700.00 \$2,700.00 \$3,700.00 \$4,700
	552 553 554 555 556 557 559 660 561 562 563 564 565 565 566 567 567 568 569 570	20-FYRRY LINE L NCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 105-06445 LINE M BURNSDALE 110-01001 LINE M BURNSDALE 201-02255 LINE M BURNSDALE 201-02255 LINE M BURNSDALE 201-02250 LINE M BURNSDALE 202-02240 LINE M BURNSDALE 202-02340 LINE M BURNSDALE 202-02340 LINE M BURNSDALE 202-02340 LINE M BURNSDALE 202-0230 LINE M BURNSDALE 202-0230 LINE M BURNSDALE 202-0230 LINE M BURNSDALE	CASTING - Z X2 CURB & GUTTER CASTING & ADJUST TO GRADE MINTERNANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RY R PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RY R TRAINSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RY R TRAINSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING SINUTI-COMPONENT, CROSSWALK LINE, WHITE, 6	EACH EACH LIS LIS LET	1 27 i 1 1 1 1 1 1 2349 457 3 3 3	\$203.50 \$650.00 \$13,000.00 \$1,40 \$1,40 \$1,40 \$2,50 \$2,50 \$350.00 \$2,000.00 \$2,000.00 \$2,702.00 \$350.00 \$1,500.00 \$1,	\$1,320.00 \$12,012.00 \$13,000.00 \$0,00 \$0,00 \$0,00 \$0,00 \$0,00 \$0,00 \$5,94.00 \$2,000.00 \$0,
	552 553 554 555 556 557 558 559 560 561 562 563 564 565 565 565 565 567 572 573 574 574 574 574 574 574 574 574 574 575 575	120-FWR91 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 109-0845 LINEL MCARTHUR 109-0845 LINEL MCARTHUR 201-02255 LINEL MENSOALE 201-02250 LINE M BURNSOALE 201-02256 LINE M BURNSOALE 201-02250 LINE M BURNSOALE 202-93615 LINE M BURNSOALE 203-0200 LINE M BURNSOALE 204-07490 LINE M BURNSOALE 205-06331 LINE M BURNSOALE 204-07490 LINE M BURNSOALE	CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MINTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IR. TRAINSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IR. PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R TRAINSVERSE MARKING, MULTI-COMPONENT, LANE, WHITE, G IR. PAYEMENT MESSAGE MARKING, MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOSILIZATION TREE 18 IR., REMOVE (INCLUDES STUMP GRINDING) TREE 18 IR., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IR., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IR., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IR., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCAVATION, COMMON (UNDISTIBUTED) TEMPORARY MILET PROJECTION GOOGRID, TPE B, BC, 1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTINBUTED) COMPATED AGGREGATE NO. 53 HYMA PARTCHING, TYPE B (UNDISTINBUTED)	EACH EACH US UF UF UF EACH UF EACH UF EACH US EACH US EACH US EACH EACH EACH EACH EACH EACH EACH EACH	27 1 1 1 1 1 1 1 2349 457 3 940	\$203.50 \$650.00 \$13.000.00 \$1.40 \$1.40 \$1.40 \$2.50 \$350.00 \$2.000.00 \$2.000.00 \$2.702.00 \$350.00 \$1,500.00 \$1,500.00 \$1,573.00	\$1,320.00 \$12,012.00 \$12,012.00 \$5,00
	552 553 554 555 556 557 558 560 561 562 563 564 565 566 567 568 569 570 572 572 573	205-FWRST LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 105-06845 LINE MCARTHUR 105-06845 LINE MCARTHUR 105-06845 LINE M BURNSDALE 201-0225 LINE M BURNSDALE 201-0225 LINE M BURNSDALE 201-0225 LINE M BURNSDALE 202-02240 LINE M BURNSDALE 202-02340 LINE M BURNSDALE 203-02000 LINE M BURNSDALE 203-02000 LINE M BURNSDALE 203-02000 LINE M BURNSDALE 203-02000 LINE M BURNSDALE 205-06933 LINE M BURNSDALE 205-06933 LINE M BURNSDALE 205-06933 LINE M BURNSDALE 205-06933 LINE M BURNSDALE 205-07490 LINE M BURNSDALE 205-07490 LINE M BURNSDALE 205-07490 LINE M BURNSDALE 205-07490 LINE M BURNSDALE 205-FWROIL LINE M BURNSDALE 205-FWROIL LINE M BURNSDALE 205-FWROIL LINE M BURNSDALE	CASTING - Z X2 CURB & GUTTER CASTING & ADJUST TO GRADE MINTERANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. ITRAINSYERSE MARRING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAYEMENT MESSAGE MARRING, MULTI-COMPONENT, ONLY PAYEMENT MESSAGE MARRING, MULTI-COMPONENT, RX R TRAINSYERSE MARRING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYEMENT MESSAGE MARRING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYEMENT MESSAGE MARRING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYEMENT MESSAGE MARRING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYEMENT MESSAGE MARRING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYEMENT MESSAGE MARRING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYEMENT MEROVE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 INI., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE SECONATION, COMMON (INDISTRIBUTED) TEMPORARY RILET PROTECTION GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPATED AGGREGATE NO. 53 HAVA PATCHING, TYPE B UNDISTRIBUTED) PCCP, 7* IN. WITH MONOLITHE CURB	EACH EACH LIS LIS LET	27 1 1 1 1 1 1 1 2349 467 33 940 768	\$203.50 \$650.00 \$13,000.00 \$1.40 \$1.40 \$2.50 \$2.20 \$350.00 \$4,000 \$350.00 \$1,400 \$2,700.00 \$4,000.00 \$1,573.00 \$1,57	\$1,320.00 \$12,012.00 \$13,000.00 \$0.00 \$0.00 \$0.00 \$594.00 \$0.00 \$2,000.00 \$2,702.00 \$1,430.00 \$1,430.00 \$1,573.00 \$2,855.79 \$7,528.04 \$0.00 \$2,855.79 \$7,528.04 \$0.00 \$3,000 \$1,430.00 \$1,650.00 \$1,
	552 553 554 555 556 557 558 559 560 561 562 563 564 565 565 567 572 572 573 574 575 575 575 575 575 575 575 575 575	20-FVR91 LINE L NCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10051 LINEL MCARTHUR 808-10052 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 808-10057 LINEL MCARTHUR 808-10057 LINEL MCARTHUR 808-10057 LINEL MCARTHUR 105-06445 LINE M BURNSDALE 201-02255 LINE M BURNSDALE 201-02255 LINE M BURNSDALE 201-02255 LINE M BURNSDALE 201-02255 LINE M BURNSDALE 202-02240 LINE M BURNSDALE 202-0230 LINE M BURNSDALE 203-02000 LINE M BURNSDALE 203-02001 LINE M BURNSDALE 203-02001 LINE M BURNSDALE 203-04001 LINE M BURNSDALE 304-07490 LINE M BURNSDALE	CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IR. PARMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PARMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PARMENT MESSAGE MARKING, MULTI-COMPONENT, AN R TRAINSVERSE MARKING, MULTI-COMPONENT, AN R TRAINSVERSE MARKING, MULTI-COMPONENT LANE INDICATION AN ROW CONSTRUCTION ENCORERS MULTI-COMPONENT LANE INDICATION AN ROW CONSTRUCTION ENCORERS MULTI-COMPONENT LANE INDICATION AN ROW MOBILIZATION AND DEMOSILIZATION TREE 18 IN, REMOVE INCLUDES STUMP GRINDING) TREE 18 IN, REMOVE INCLUDES STUMP GRINDING) TREE 68 IN, REMOVE INCLUDES STUMP GRINDING) TREE 68 IN, REMOVE INCLUDES STUMP GRINDING) TREE 69 IN, REMOVE INCLUDES STUMP GRINDING) TREE 69 IN, REMOVE INCLUDES STUMP GRINDING) TREE 69 IN, REMOVE INCLUDES TO STUMP GRINDING TREE 69 IN, REMOVE INCLUDES TO STUMP GRIN	EACH EACH LIS LET LET LET LET LET LET EACH EACH LIS EACH SYS SYS SYS SYS SYS SYS SYS SYS SYS SY	1 1 1 1 1 1 1 1 1 1 1 2349 457 758 2349	\$203.50 \$650.00 \$13,000.00 \$1.40 \$1.40 \$1.40 \$2.50 \$2.200 \$3.500.00 \$2,000.00 \$4.90 \$3.50.00 \$1,600.00 \$1,600.00 \$1,600.00 \$1,600.00 \$1,7702.00 \$1,573.00 \$1	\$1,320.00 \$12,012.00 \$12,012.00 \$0,000
	\$522 \$533 \$544 \$555 \$556 \$577 \$580 \$601 \$641 \$642 \$655 \$655 \$656 \$670 \$772 \$772 \$773 \$774 \$775 \$776	205-FWRST LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 105-06845 LINE MCARTHUR 105-06845 LINE MCARTHUR 105-06845 LINE M BURNSDALE 201-0225 LINE M BURNSDALE 201-0225 LINE M BURNSDALE 201-0225 LINE M BURNSDALE 202-02240 LINE M BURNSDALE 202-02340 LINE M BURNSDALE 203-02000 LINE M BURNSDALE 203-02000 LINE M BURNSDALE 203-02000 LINE M BURNSDALE 203-02000 LINE M BURNSDALE 205-06933 LINE M BURNSDALE 205-06933 LINE M BURNSDALE 205-06933 LINE M BURNSDALE 205-06933 LINE M BURNSDALE 205-07490 LINE M BURNSDALE 205-07490 LINE M BURNSDALE 205-07490 LINE M BURNSDALE 205-07490 LINE M BURNSDALE 205-FWROIL LINE M BURNSDALE 205-FWROIL LINE M BURNSDALE 205-FWROIL LINE M BURNSDALE	CASTING - Z X2 CURB & GUTTER CASTING & ADJUST TO GRADE MINTERANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. ITRAINSYERSE MARRING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAYEMENT MESSAGE MARRING, MULTI-COMPONENT, ONLY PAYEMENT MESSAGE MARRING, MULTI-COMPONENT, RX R TRAINSYERSE MARRING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYEMENT MESSAGE MARRING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYEMENT MESSAGE MARRING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYEMENT MESSAGE MARRING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYEMENT MESSAGE MARRING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYEMENT MESSAGE MARRING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN. PAYEMENT MEROVE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 INI., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE SECONATION, COMMON (INDISTRIBUTED) TEMPORARY RILET PROTECTION GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPATED AGGREGATE NO. 53 HAVA PATCHING, TYPE B UNDISTRIBUTED) PCCP, 7* IN. WITH MONOLITHE CURB	EACH EACH LIS LIS LET	27 1 1 1 1 1 1 1 2349 467 33 940 768	\$203.50 \$650.00 \$13,000.00 \$1.40 \$1.40 \$2.50 \$2.20 \$350.00 \$4,000 \$350.00 \$1,400 \$2,700.00 \$4,000.00 \$1,573.00 \$1,57	\$1,320.00 \$12,012.00 \$13,000.00 \$0.00 \$0.00 \$0.00 \$594.00 \$0.00 \$2,000.00 \$2,702.00 \$1,430.00 \$1,430.00 \$1,573.00 \$2,855.79 \$7,528.04 \$0.00 \$2,855.79 \$7,528.04 \$0.00 \$3,000 \$1,430.00 \$1,650.00 \$1,
	\$522 \$533 \$545 \$555 \$556 \$577 \$588 \$600 \$611 \$622 \$622 \$622 \$633 \$644 \$655 \$666 \$667 \$633 \$790 \$712	220-FVROT LINE L MCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10034 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10057 LINEL MCARTHUR 808-10058 LINEL MCARTHUR 808-10058 LINEL MCARTHUR 808-10058 LINEL MCARTHUR 808-10058 LINEL MCARTHUR 808-10059 LINEL MCARTHUR 105-0845 LINE M BURNSDALE 201-02258 LINE M BURNSDALE 201-02258 LINE M BURNSDALE 202-09361 LINE M BURNSDALE 202-09361 LINE M BURNSDALE 203-09300 LINE M BURNSDALE 203-09300 LINE M BURNSDALE 204-07490 LINE M BURNSDALE 204-07490 LINE M BURNSDALE 204-07490 LINE M BURNSDALE 502-11564 LINE M BURNSDALE 502-11564 LINE M BURNSDALE 604-00070 LINE M BURNSDALE 604-00070 LINE M BURNSDALE	CASTING - 2' X2' CURB & GUTTER CASTING & ADJUST TO GRADE MANTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, WHITE, 4 IR. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IR. LINE, MULTI-COMPONENT, R XR PAYMENT MESSAGE MARKING, MULTI-COMPONENT, R XR TRAINSVERSE MARKING, MULTI-COMPONENT, R XR TRAINSVERSE MARKING, MULTI-COMPONENT, R XR RAMINERST MESSAGE MARKING, MULTI-COMPONENT, LANE INDICATION AR ROW CONSTRUCTION ENCORERENTS MOBILIZATION AND DEMOSILIZATION TREE 1811, REMOVE (INCLUDES STUMP GRINDING) TREE 1811, REMOVE (INCLUDES STUMP GRINDING) TREE 6811, REMOVE (INCLU	EACH EACH LIS LET LET LET LET LET EACH LET EACH LIS LET EACH LIS EACH SYS SYS SYS SYS SYS SYS SYS SYS	1 1 1 1 1 1 1 1 1 1 1 2349 457 758 2349	\$203.50 \$650.00 \$13,000.00 \$1.40 \$1.40 \$1.40 \$2.50 \$2.00 \$3.50.00 \$2,000.00 \$4,000.00 \$1,600.00 \$1,600.00 \$1,600.00 \$1,600.00 \$1,772.00 \$1,573.00	\$1,320.00 \$12,012.00 \$12,000.00 \$0.00
	\$522 \$533 \$544 \$555 \$556 \$577 \$588 \$600 \$611 \$623 \$644 \$655 \$656 \$670 \$770 \$772 \$733 \$744 \$777 \$777 \$786 \$786 \$786 \$786 \$787 \$787 \$786 \$787 \$787 \$786 \$787	120-FVR97 LINE L MCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10037 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 808-10056 LINEL MCARTHUR 105-06845 LINE M BURNSDALE 110-01001 LINEM BURNSDALE 201-02265 LINEM BURNSDALE 201-02265 LINEM BURNSDALE 201-02260 LINEM BURNSDALE 202-02615 LINEM BURNSDALE 203-02600 LINEM BURNSDALE 203-02600 LINEM BURNSDALE 203-02600 LINEM BURNSDALE 304-07450 LINEM BURNSDALE 304-07450 LINEM BURNSDALE 304-07450 LINEM BURNSDALE 505-157870 LINEM BURNSDALE 504-15760 LINEM BURNSDALE 504-15760 LINEM BURNSDALE 604-06070 LINEM BURNSDALE 604-06070 LINEM BURNSDALE	CASTING - Z XZ - CURB & GUTTER CASTING & ADJUST TO GRADE MANTENANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 8 IN. TRAINSVERSE MARKING, MULTI-COMPONENT, STOP UNE, WHITE, 24 IN. PAYENETH RESSAGE MARKING, MULTI-COMPONENT, RIDE UNE, WHITE, 24 IN. PAYENETH RESSAGE MARKING, MULTI-COMPONENT, RIDE UNE, WHITE, 24 IN. PAYENETH RESSAGE MARKING, MULTI-COMPONENT, RIDE WAS AND ASSAGE MARKING, MULTI-COMPONENT, LANE INDICATION AR ROW CONSTRUCTION ENGINEERING MOBILIZATION AND DEMOBILIZATION REE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., R	EACH EACH US UFT UFT UFT LEFT EACH EACH US EACH US EACH US EACH US EACH IS EACH EACH EACH EACH EACH EACH EACH EACH	1 27 1 1 1 1 1 1 1 1 1 2349 457 758 2349 2349	\$203.50 \$650.00 \$13,000.00 \$1,40 \$1,40 \$1,40 \$2,50 \$350.00 \$350.00 \$350.00 \$1,430.00 \$	\$1,320.00 \$12,012.00 \$12,000.00 \$1,430.00 \$0.00 \$306.00 \$0.00 \$10,403.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
	5522 5533 5545 5555 5566 5577 5586 560 561 562 563 564 5655 566 563 577 572 574 577 578 579 579 579 579	205-PARST LINE L NCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10034 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 105-06445 LINE M BURNSDALE 110-01001 LINEM BURNSDALE 201-02255 LINE M BURNSDALE 201-02256 LINEM BURNSDALE 201-02256 LINEM BURNSDALE 202-02240 LINEM BURNSDALE 202-02240 LINEM BURNSDALE 203-02000 LINEM BURNSDALE 203-02000 LINEM BURNSDALE 203-02000 LINEM BURNSDALE 205-06933 LINEM BURNSDALE 205-06933 LINEM BURNSDALE 205-07490 LINEM BURNSDALE 505-11564 LINEM BURNSDALE 506-11564 LINEM BURNSDALE 507-17490 LINEM BURNSDALE 508-11560 LINEM BURNSDALE 509-11560 LINEM BURNSDALE 509-11571 LINEM BURNSDALE 509-11571 LINEM BURNSDALE 509-11571 LINEM BURNSDALE	CASTING - Z X2 CURB & GUTTER CASTING & ADJUST TO GRADE MINTERNANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 8 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R LINE, WHITE, 8 IN. PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R LINE, WHITE, 8 IN. PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R REALIST MESSAGE MARKING, MULTI-COMPONENT, RX R PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, RX R REALIST MARKING MULTI-COMPONENT, RX R MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCAMATION, COMMON QUADISTRIBUTED) TEMPORARY RILET PROTECTION GEOGRID, TYPE 18, RX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPATED AGREGATE NO. 53 HMAPATCHING, TYPE B (UNDISTRIBUTED) PECP, 7 IN. (WITH MONOUTHER CURB POCP, 7 IN. (WITH MONOUTHER CURB CURB RAMP, CONCRETE (IN.) (INCLUDE YARD WALKS) (UNDISTRIBUTED) CURB RAMP, CONCRETE (IN.) (INCLUDE YARD WALKS) (UNDISTRIBUTED) PCCP FOR APPROACHES, BIN. (COMMERCIAL APPROACHES) PCCP FOR APPROACHES, BIN. (COMMERCIAL APPROACHES) PCCP FOR APPROACHES, BIN. (COMMERCIAL APPROACHES)	EACH EACH LIS LET LET LET LET LET LET LET EACH EACH LIS LIS LET EACH EACH IS SYS SYS OVS SYS TON SYS SYS LET LET EACH EACH EACH EACH EACH EACH EACH EACH	1 1 1 1 1 1 1 1 1 1 1 2349 457 758 2349	\$203.50 \$650.00 \$13,000.00 \$1.40 \$1.40 \$2.20 \$2.20 \$350.00 \$2,000.00 \$2,000.00 \$350.00 \$1,690.00	\$1,320.00 \$12,012.00 \$12,000.00 \$0,000 \$0,000 \$0,000 \$0,000 \$0,000 \$0,000 \$0,000 \$0,000 \$0,000 \$0,000 \$0,000 \$0,000 \$0,000 \$0,000 \$0,000 \$0,000 \$0,000 \$0,000 \$1,4330.00 \$1,573.00 \$0,000 \$2,855.79 \$7,520.04 \$0,000 \$3,000 \$1,000
	\$522 \$533 \$544 \$555 \$556 \$577 \$580 \$611 \$623 \$644 \$655 \$656 \$677 \$772 \$732 \$744 \$777 \$777 \$786 \$790	205-PARST LINE L NCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10034 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 105-06845 LINE M BURNSDALE 110-01001 LINE M BURNSDALE 201-02256 LINE M BURNSDALE 201-02256 LINE M BURNSDALE 201-02256 LINE M BURNSDALE 201-02250 LINE M BURNSDALE 201-0250 LINE M BURNSDALE 205-06931 LINE M BURNSDALE 301-FVR03 LINE M BURNSDALE 301-FVR03 LINE M BURNSDALE 502-11564 LINE M BURNSDALE 502-11564 LINE M BURNSDALE 504-06070 LINE M BURNSDALE 604-06070 LINE M BURNSDALE 604-06071 LINE M BURNSDALE 604-06071 LINE M BURNSDALE 604-06071 LINE M BURNSDALE 604-06071 LINE M BURNSDALE 605-06120 LINE M BURNSDALE 601-06713 LINE M BURNSDALE	CASTING - Z X.2 CURB & GUTTER CASTING & ADJUST TO GRADE MANTERNANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, YHEIR, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHEIR, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHEIR, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRAINSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, GIOLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CRILY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CRILY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CROSSYVALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CROSSYVALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CROSSYVALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEERING MORPLIZATION AND DEMOSBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCAVATION, COMMON (INDISTIBUTED) CONCRETE REMOVE EXCAVATION, COMMON (INDISTIBUTED) COMPATED AGGREGATE NO. 53 MAR ARTCHING, TYPE 8 IUNDISTIBUTED) COMPATED AGGREGATE NO. 53 MAR ARTCHING, TYPE 8 IUNDISTIBUTED) COURS (CONCRETE (INTIME CURB PCCP, 7 IN. (INTIM MONOUTHER CURB PCCP, 19 IN. (INTIM MONOUTHER CURB PCCP, 19 IN. MIT MONOUTHER CURB PCCP 19 PA APPROACHES, BIN., (COMMERCIAL APPROACHES) PCCP 19 PA APPROACHES, BIN., (COMMERCIAL APPROACHES) HAVE BACKLORED WHITH HYDROSTICK TACKHER OR EQUIVALENT POLYMER FOREROS ON COMPROL AND STRAWMULCH HYDROSEED, WITH HYDROSTICK TACKHER OR EQUIVALENT POLYMER FOREROS ON COMPROL AND STRAWMULCH	EACH EACH US UFT UFT UFT UFT LEFT EACH EACH US EACH US EACH US EACH US EACH US EACH EACH EACH EACH EACH EACH EACH EACH	27 1 1 1 1 1 1 1 2349 467 3 940 2349 214 214	\$203.50 \$650.00 \$13,000.00 \$1,40 \$1,40 \$1,40 \$2,50 \$2,200 \$350.00 \$350.00 \$350.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,400.00 \$1,573.00 \$1,5	\$1,320.00 \$12,012.00 \$12,009.00 \$0.00 \$0.00 \$0.00 \$0.00 \$50.00 \$594.00 \$0.00 \$594.00 \$0.00 \$594.00 \$0.00 \$5,000 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1,430.00 \$0.00 \$3,655.79 \$7,520.40 \$0.00 \$3,655.79 \$7,520.40 \$0.00 \$0.00 \$1,410.300 \$0.00 \$1,412.00 \$0.00 \$0.00 \$0.00 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000
	5522 5533 5545 5555 5566 5577 5586 560 561 562 563 564 565 566 5677 572 574 577 577 578 579 580 599 599 599 599 599 599 599 59	205-PARST LINE L NCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10034 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10053 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 105-06445 LINE M BURNSDALE 110-01001 LINE M BURNSDALE 201-02255 LINE M BURNSDALE 201-02256 LINE M BURNSDALE 201-02256 LINE M BURNSDALE 201-02256 LINE M BURNSDALE 202-02240 LINE M BURNSDALE 203-02000 LINE M BURNSDALE 203-02000 LINE M BURNSDALE 203-02000 LINE M BURNSDALE 203-02000 LINE M BURNSDALE 205-0533 LINE M BURNSDALE 205-0533 LINE M BURNSDALE 205-05933 LINE M BURNSDALE 205-05931 LINE M BURNSDALE 205-06931 LINE M BURNSDALE 205-06930 LINE M BURNSDALE 2064-06065 LINE M BURNSDALE 207-173 LINE M BURNSDALE 207-173 LINE M BURNSDALE 2084-06065 LINE M BURNSDALE 2084-06065 LINE M BURNSDALE 209-06130 LINE M BURNSDALE 209-06130 LINE M BURNSDALE 209-06130 LINE M BURNSDALE 201-06446 LINE M BURNSDALE	CASTING - Z X2 CURB & GUTTER CASTING & ADJUST TO GRADE MINTERNANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHITE, 8 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, RICK RY PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, RICK RY REAL SOUR ASSAGE MARKING, MULTI-COMPONENT, RICK RY PAYEMENT MESSAGE MARKING, MULTI-COMPONENT, RICK RY REAL SOUR, SOURCE RY MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 69 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 60 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH EACH LIS LET LET LET LET LET LET LET LET LET EACH EACH LIS EACH EACH TIS EACH EACH TIS EACH EACH EACH EACH EACH EACH EACH EACH	1 27 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$203.50 \$650.00 \$13,000.00 \$1.40 \$1.40 \$2.50 \$2.50 \$2.000.00 \$2,000.00 \$6.90 \$350.00 \$1,690.00 \$	\$1,320.00 \$12,012.00 \$12,012.00 \$0,000 \$1,430,000 \$0,000 \$1,430,000 \$1,430,000 \$1,430,000 \$1,430,000 \$1,430,000 \$1,430,000 \$1,430,000 \$1,4412.000 \$1
	\$522 \$533 \$544 \$555 \$566 \$561 \$662 \$622 \$622 \$622 \$655 \$666 \$655 \$700 \$711 \$712	205-PARST LINE L NCARTHUR 808-10033 LINEL MCARTHUR 808-10033 LINEL MCARTHUR 808-10034 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10035 LINEL MCARTHUR 808-10055 LINEL MCARTHUR 105-06845 LINE M BURNSDALE 110-01001 LINE M BURNSDALE 201-02256 LINE M BURNSDALE 201-02256 LINE M BURNSDALE 201-02256 LINE M BURNSDALE 201-02250 LINE M BURNSDALE 201-0250 LINE M BURNSDALE 205-06931 LINE M BURNSDALE 301-FVR03 LINE M BURNSDALE 301-FVR03 LINE M BURNSDALE 502-11564 LINE M BURNSDALE 502-11564 LINE M BURNSDALE 504-06070 LINE M BURNSDALE 604-06070 LINE M BURNSDALE 604-06071 LINE M BURNSDALE 604-06071 LINE M BURNSDALE 604-06071 LINE M BURNSDALE 604-06071 LINE M BURNSDALE 605-06120 LINE M BURNSDALE 601-06713 LINE M BURNSDALE	CASTING - Z X.2 CURB & GUTTER CASTING & ADJUST TO GRADE MANTERNANCE OF TRAFFIC LINE, MULTI-COMPONENT, SOUD, YHEIR, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHEIR, 4 IN. LINE, MULTI-COMPONENT, SOUD, YHEIR, 4 IN. LINE, MULTI-COMPONENT, SOUD, WHITE, 8 IN. TRAINSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, GIOLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CRILY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CRILY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CROSSYVALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CROSSYVALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, CROSSYVALK LINE, WHITE, 6 IN. PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW CONSTRUCTION ENGINEERING MORPLIZATION AND DEMOSBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING) TREE 68 IN., REMOVE (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCAVATION, COMMON (INDISTIBUTED) CONCRETE REMOVE EXCAVATION, COMMON (INDISTIBUTED) COMPATED AGGREGATE NO. 53 MAR ARTCHING, TYPE 8 IUNDISTIBUTED) COMPATED AGGREGATE NO. 53 MAR ARTCHING, TYPE 8 IUNDISTIBUTED) COURS (CONCRETE (INTIME CURB PCCP, 7 IN. (INTIM MONOUTHER CURB PCCP, 19 IN. (INTIM MONOUTHER CURB PCCP, 19 IN. MIT MONOUTHER CURB PCCP 19 PA APPROACHES, BIN., (COMMERCIAL APPROACHES) PCCP 19 PA APPROACHES, BIN., (COMMERCIAL APPROACHES) HAVE BACKLORED WHITH HYDROSTICK TACKHER OR EQUIVALENT POLYMER FOREROS ON COMPROL AND STRAWMULCH HYDROSEED, WITH HYDROSTICK TACKHER OR EQUIVALENT POLYMER FOREROS ON COMPROL AND STRAWMULCH	EACH EACH US UFT UFT UFT UFT LEFT EACH EACH US EACH US EACH US EACH US EACH US EACH EACH EACH EACH EACH EACH EACH EACH	27 1 1 1 1 1 1 1 2349 467 3 940 2349 214 214	\$203.50 \$650.00 \$13,000.00 \$1,40 \$1,40 \$1,40 \$2,50 \$2,00 \$350.00 \$2,000.00 \$350.00 \$3,700.00 \$3,	\$1,320.00 \$12,012.00 \$12,009.00 \$0.00 \$0.00 \$0.00 \$0.00 \$50.00 \$594.00 \$0.00 \$594.00 \$0.00 \$594.00 \$0.00 \$5,000 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1,430.00 \$0.00 \$3,655.79 \$7,520.40 \$0.00 \$3,655.79 \$7,520.40 \$0.00 \$0.00 \$1,410.300 \$0.00 \$1,412.00 \$0.00 \$0.00 \$0.00 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000 \$0.000

					,		
		715-94530 LINE M BURNSDALE	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	EACH	2	\$203.50	\$407.00
		720-FWR10 LINE M BURNSDALE	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	EACH	1	\$203.50	\$203.50
\vdash		720-FWR31 LINE M BURNSDALE 720-FWR37 LINE M BURNSDALE	CASTING, 24" SOLID SANITARY MAINHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED) CASTING - 2" X 2" CURB & GUTTER CASTING & ADJUST TO GRADE	EACH EACH		\$660.00 \$858.00	\$660.00
-		801-FWR01 LINE M BURNSDALE	MAINTENANCE OF TRAFFIC	LS	- 4	\$7,000.00	\$1,716.00
		808-10033 LINE M BURNSDALE	LINE, MULTI-COMPONENT, SOLID, WHITE, 4 IN.	เศ	 	\$1.40	\$0.00
		808-10034 LINEM BURNSDALE	LINE, MULTI-COMPONENT, SOLID, YELLOW, 4 IN.	ιff		\$1.40	\$0.00
		808-10036 LINEM BURNSDALE	LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN.	LFT		\$1.40	\$0.00
		808-10037 LINEM BURNSDALE	LINE, MULTI-COMPONENT, SOLID, WHITE, BIN.	LFT	ļ	\$2.50	\$0.00
	596	BOB-10051 LINE M BURNSDALE	TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN.	UFT		\$24.00	\$0.00
ļ	597	808-10052 LINE M BURNSDALE 808-10053 LINE M BURNSOALE	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R.X.R.	EACH EACH		\$350.00 \$2,000.00	\$0.00 \$0.00
		808-10056 LINE M BURNSDALE	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 61N.	LFT	 	\$6.90	\$0.00
		608-10077 LINE M BURNSDALE	PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW	EACH	† · · · · ·	\$350.00	\$0.00
		105-06845 LINE N CHURCH	CONSTRUCTION ENGINEERING	LS	1	\$2,405.00	\$2,405.00
		110-01001 LINE N CHURCH	MOBILIZATION AND DEMOBILIZATION	LS	1	\$8,443.50	\$8,443.50
		201-02255 LINE N CHURCH	TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH		\$1,600.00	\$0.00
		201-02260 LINE NICHURCH	TREE 30 IN., REMOVE (RICLUDES STUMP GRINDING)	EACH	1	\$1,430.00	\$1,430.00
ļ		201-02265 LINE N CHURCH	TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH		\$2,200.00	\$0.00
-		201-02270 LINEN CHURCH 202-02240 LINEN CHURCH	TREE GO IN., REMOVE PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	EACH SYS	1950	\$5,000.00 \$12.82	\$0.00 \$24,999.00
		202-93615 UNE N CHURCH	CONCRETE REMOVE	SYS	483	\$15.07	\$7,278.81
1		203-02000 UNE NCHURCH	EXCAVATION, COMMON (UNDISTIBUTED)	CYS	7.7	\$40.00	\$0.00
		205-06933 LINE N CHURCH	TEMPORARY INLET PROTECTION	EACH		\$102.00	\$0.00
		214-11796 ENE N CHURCH	GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	5Y\$	780	\$8.36	\$6,520.80
		301-FWR03 LINE NICHURCH	COMPATED AGGREGATE NO. 53	TON	670.5	\$34.10	\$22,664.05
<u> </u>		304-07490 LINE N CHURCH	HMA PATCHING, TYPE B (UNDISTRIBUTED)	TON	10	\$302.50	\$3,025.00
 	***************************************	502-FWR01 LINEN CHURCH	PCCP, 7* IN. WITH MONOLITHIC CURB	SYS	1950	\$47.00	\$91,650.00
}	615 616	502-11564 LINEN CHURCH 604-FV/R01 LINEN CHURCH	PCCP, 7 IN. (PAVEMENT) DETECTABLE WARNING SURFACES	SYS		\$50.00 \$300.00	\$0.00 \$0.00
H	617	504-96070 LINE N CHURCH	SIDEWALK, CONCRETE (4 IX.) (INCLUDE YARD WALKS) (UNDISTRIBUTED)	SYS	257	\$58.00	\$14,906.00
		604-06086 LINE N CHURCH	CURB RAMP, CONCRETE	SYS	39	\$110.00	\$4,290.00
		605-06120 LINEN CHURCH	CURB, CONCRETE (TYPE IIA, PIN CURB ON AFTER STREET POURED)	LFT		\$12.50	\$0.00
		610-07713 LINE NICHURCH	PCOP FPR APPROACHES, 8 IN. (COMMERCIAL APPROACHES)	LFT	141	\$74.00	\$10,434.00
<u> </u>	621	610-98446 LINE N CHURCH	PCCP FOR APPROACHES, 6 IN. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	SYS	46	\$68.00	\$3,128.00
ļ		611-08233 LINEN CHURCH	MAYLBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MAYLBOXES AND TYPES) (IF IN CONFLICT)	EACH	1	\$220.00	\$220.00
		621-FWR01 UNE N CHURCH 621-FWR19 UNE N CHURCH	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH TOPSOIL	TON	867	\$2.53 \$51.00	\$2,193.51 \$1,530.00
 	624 625	715-FYR19 LINE N CHURCH	P;PE - 12*CMP	LFT	30	\$51.00 \$80.00	\$1,530.00 \$0.00
	625	715-FYR39 LINE N CHURCH	PIPE, TYPE 4, CIRCULAR, GIN. WIAGGREGATE FOR UNDERDRAIN	LFT	1300	\$10.34	\$13,442.00
		715-94530 LINE N CHURCH	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	EACH	5	\$203.50	\$1,017.50
		720-FWR10 LINE N CHURCH	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	EACH	1	\$203.50	\$203.50
	629	720-FYR31 LINE N CHURCH	CASTING, 24" SOLID SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	EACH	2	\$650.00	\$1,320.00
L		720-FWR37 LINEN CHURCH	CASTING - 2" X 2" CURB & GUTTER CASTING & ADJUST TO GRADE	EACH	2	\$858.00	\$1,716.00
	631	801-FYYR01 LINE N CHURCH	MAINTENANCE OF TRAFFIC	LS	1	\$9,000.00	\$9,000.00
		808-10033 LINEN CHURCH	LINE, MULTI-COMPONENT, SOLID, WHITE, 4 IN.	LFT LFT	 	\$1.40	\$0.00
		808-10034 LINEN CHURCH 808-10036 LINEN CHURCH	LINE, MULTI-COMPONENT, SOLID, YELLOW, 4 IN. LINE, MULTI-COMPONENT, BROXEN, YELLOW, 4 IN.	LFT		\$1.40 \$1.40	\$0.00 \$0.00
	635	808-10037 LINEN CHURCH	UNE, MULTI-COMPONENT, SOUD, WHITE, BIN.	LFT		\$2.50	\$0.00
<u> </u>		808-10051 LINEN CHURCH	TRANSVERSE MARKING, MULTI-COMPONENT, STOP LIKE, WHITE, 24 IN .	LFT	14	\$22.00	\$308.00
	637	808-10052 UNE NICHURCH	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	EACH		\$350.00	\$0.00
	638	808-10053 LINEN CHURCH	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R	EACH		\$2,000.00	\$0.06
	639	808-10056 LINEN CHURCH	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 6 IN.	LFT	60	\$6.60	\$396.00
ļ		808-10077 LINEN CHURCH	PAVEMENT MESSAGE MARKUNGS MULTI-COMPONENT LANE INDICATION AR ROW	EACH		\$350.00	\$0.00
<u> </u>	641 642	105-06845 LINE O ELZEY 110-01001 LINE O ELZEY	CONSTRUCTION ENGINEERING	LS LS	1	\$2,792.00 \$8,169.50	\$2,702.00 \$8,169.50
		201-02255 UNE O ELZEY	MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH	1	\$1,600.00	\$0.00
—	644	201-02250 LINE O ELZEY	TREE 30 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH	1	\$1,800.00	\$0.00
	645	201-02265 LINE O ELZEY	TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH		\$2,200.00	\$0.00
	646	201-02270 LINE O ELZEY	TREE 60 IN., REMOVE	EACH	Ĺ	\$5,000.00	\$0.00
	647	202-02249 LINE O ELZEY	PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT)	SYS	5805	\$12.76	\$74,071.80
		202-93615 LINE O ELZEY	CONCRETE REMOVE	SYS	1175.4	\$14.96	\$17,583.98
<u> </u>		203-02000 LINE O ELZEY	EXCAVATION, COMMON (UNDISTIBUTED) TEMPORARY INLET PROTECTION	CYS EACH	 _	\$40.00 \$102.00	\$0.00
-	650 651	205-06933 LINE O ELZEY 214-11796 LINE O ELZEY	GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED)	SYS	2322	\$102.00 \$8.36	\$204.00 \$19,411.92
	652		COMPATED AGGREGATE NO. 53	TON	1575	\$35.64	\$56,133.00
		304-07490 LINE O ELZEY	HMA PATCHING, TYPE B (UNDISTRIBUTED)	TON	5		\$1,512.50
	654	502-FWR01 LINE DELZEY	PCCP, 7" IN VATH MONOLITHIC CURB	SYS	5005	\$47.00	\$272,635.00
ļ		502-11564 LINE O ELZEY	PCCP, 71M. (PAVEMENT)	SYS		\$50.00	\$0.00
 	-	604-FWR01 LINE O ELZEY	DETECTABLE WARNING SURFACES	EACH	- 2	\$250.00	\$500.00 \$31,169.20
—	657 658	604-06070 LINE O ELZEY 604-08086 LINE O ELZEY	SIDEWALK, CONCRETE (4 I/L) (INCLUGE YARD WALKS) (UNDISTRIBUTED) CURB RAMP, CONCRETE	SYS SYS	537.4 113	\$58.00 \$110.00	\$31,169.20 \$12,430.00
 		605-06120 UNE O ELZEY	CURB, CONCRETE (TYPE NA, P.N. CURB ON AFTER STREET POURED)	LFT	113	\$110.00	\$12,430.00
1		610-07713 LINE O ELZEY	PCCP FPR APPROACHES, 8 IN. (COMMERCIAL APPROACHES)	ភោ	301	\$74.00	\$22,274.00
		610-08446 LINE O ELZEY	PCCP FOR APPROACHES, 61M. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	SYS	224	\$68.00	\$15,232.00
	662	611-08233 UNE O ELZEY	MAILBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MAILBOXES AND TYPES) (IF IN CONFLICT)	EACH	3	\$220.00	\$660.00
		621-FYVR01 EINE O ELZEY	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	SYS	2580	\$2.53	\$6,527.40
 		621-FWR19 UNE O ELZEY	TOPSO/L	TON	200	\$51.00	\$10,200.00
		715-FWR27 LINE O ELZEY 715-PWR39 LINE O ELZEY	PiPE - 12*CMP PiPE, TYPE 4, CIRCULAR, 6 I/I. W/AGGREGATE FOR UNDERDRAIN	LFT LFT	3870	\$80.00 \$10.01	\$0.00 \$35,738.70
———	667	715-94530 LINE O ELZEY	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	EACH	3870	\$203.50	\$1,831.50
		720-FWR10 LINE O ELZEY	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	EACH	7	\$203.50	\$1,424.50
	669	720-FWR31 LINE O ELZEY	CASTING, 24" SOUD SANITARY MARHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	EACH	1	\$660.00	\$660.00
		720-PWR37 LINE O ELZEY	CASTING - 2'X 2' CURB & GUTTER CASTING & ADJUST TO GRADE	EACH	6		\$5,148.00
<u></u>		801-FWR01 LINE O ELZEY	MAINTENANCE OF TRAFFIC	LS	1	\$10,000.00	\$10,000.00
		808-10033 LINE O ELZEY	LINE, MULTI-COMPONENT, SOLID, WHITE, 4 IN.	LFT		\$1.40	\$0.00
——		808-10034 LINE O ELZEY 808-10036 LINE O ELZEY	LINE, MULTI-COMPONENT, SOLID, YELLOW, 4 RI. LINE, MULTI-COMPONENT, BROXEN, YELLOW, 4 IN.	LFT		\$1.40 \$1.40	\$0.00
-		808-10035 LINE O ELZEY	UNE, MULTI-COMPONENT, SOLID, WHITE, BIN.	LFT		\$2.50	\$0.00
		808-10051 LINE O ELZEY	TRANSVERSE MARKING, MULTI-COMPONENT, STOP LINE, WHITE, 24 IN.	LFT	13	\$22.00	\$285.00
		808-10052 UNE O ELZEY	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, DHLY	EACH		\$350.00	\$0.00
	678	808-10053 LINE O ELZEY	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, R X R	EACH		\$2,000.00	\$0.00
ļ		808-10056 LINE O ELZEY	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 614.	LFT	80	\$6.60	\$528.00
<u> </u>		808-10077 LINE O ELZEY	PAVEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW	EACH		\$350.00	\$0.00
		105-06845 LINE POLD TRAIL	CONSTRUCTION ENGINEERING	LS LS	1	\$3,301.50	\$3,301.50 \$11,226.50
		110-01001 UNE POLD TRAIL 201-02255 UNE POLD TRAIL	MOBILIZATION AND DEMOBILIZATION TREE 18 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH	1 2	\$11,226.50 \$1,358.50	\$11,226.50
		201-02253 UNE POLD TRAIL	TREE SO HI., REMOVE (INCLUDES STUMP GRINDING)	EACH	1	\$1,430.00	\$1,430.00
		201-02265 LINE POLD TRAIL	TREE 48 IN., REMOVE (INCLUDES STUMP GRINDING)	EACH		\$2,200.00	\$9.00

	662 201-02270 LINE P DLD TRAIL 667 202-02240 LINE P DLD TRAIL 668 202-93615 LINE P DLD TRAIL 669 203-02060 LINE P DLD TRAIL 669 203-06931 LINE P DLD TRAIL 669 203-06931 LINE P DLD TRAIL 669 203-0497803 LINE P DLD TRAIL 669 304-07490 LINE P DLD TRAIL 669 304-07490 LINE P DLD TRAIL 669 604-074864 LINE P DLD TRAIL 669 604-074864 LINE P DLD TRAIL	IREE GO IN., REMOVE PAVEMENT REMOVAL (INCLUDES INTEGRAL CURB and COMPOSITE PAVEMENT) CONCRETE REMOVE EXCAVATION, COMMON (UNDISTIBUTED) IEMPORARY BULET PROTECTION GEOGRIO, TYPE 18, BX 1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTABUTED) COMPATED AGGREGATE NO. 53 HMA PATCHING, TYPE B (UNDISTRIBUTED) PCCP, 7 IB. LYNTH MONOUTHIC CURB PCCP, 7 IB. LYNTH MONOUTHIC CURB	EACH	8175 1451 6 3270 2100 2	\$5,000.00 \$12.65 \$16.17 \$40.00 \$102.00 \$8.36 \$35.86 \$302.50	\$0.00 \$103,413.75 \$23,462.67 \$0.00 \$612.00 \$27,337.20 \$75,306.00 \$605.00
	698 202-93615 LINE P OLD TRAU 699 203-02000 LINE P OLD TRAU 699 205-6993 LINE P OLD TRAU 691 214-11796 LINE P OLD TRAU 692 301-PYR03 LINE P OLD TRAU 693 304-07490 LINE P OLD TRAU 693 502-FYR01 LINE P OLD TRAU 695 502-FYR01 LINE P OLD TRAU 696 604-FYR01 LINE P OLD TRAU	CONCRETE REMOVE EXCAVATION, COMMON (UNDISTRUITED) ITEMPORARY INLET PROTECTION GEOGRID, TYPE 18, BX 1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPATED AGGREGATE NO. 53 INAM PATICHING, TYPE B (UNDISTRIBUTED) PCCP, 2" IN. YNTH MONOUTHIC CURB PCCP, 2" IN. YNTH MONOUTHIC CURB	SYS CYS EACH SYS TON TON SYS	1451 6 3270	\$16.17 \$40.00 \$102.00 \$8.36 \$35.86	\$23,462.67 \$0.00 \$612.00 \$27,337.20 \$75,306.00
	689 203-02000 LINE P OLD TRAIL 690 205-06931 LINE P OLD TRAIL 691 214-11796 LINE P OLD TRAIL 692 201-PVR03 LINE P OLD TRAIL 693 304-07490 LINE P OLD TRAIL 694 502-FVR01 LINE P OLD TRAIL 695 502-11564 LINE P OLD TRAIL 696 604-FVR01 LINE P OLD TRAIL	EXCAVATION, COMMON (UNDISTIBUTED) TEKPORARY IN. ET PROTECTION GEOGRIO, TYPE 18, BX 1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTRIBUTED) COMPATED AGGREGATE NO. 53 HMA PATCHING, TYPE B (UNDISTRIBUTED) PCCP, 7" IN. WITH MONOLITHIC CURB PCCP, 7" IN. WITH MONOLITHIC CURB	CYS EACH SYS TON TON SYS	6 3270	\$40.00 \$102.00 \$8.36 \$35.66	\$0.00 \$612.00 \$27,337.20 \$75,306.00
	690 205-06933 LINE P OLD TRAIL 691 214-11796 LINE P OLD TRAIL 692 301-FW60 3 LINE P OLD TRAIL 693 304-07490 LINE P OLD TRAIL 694 502-FW601 LINE P OLD TRAIL 695 502-11564 LINE P OLD TRAIL 696 604-FW801 LINE P OLD TRAIL	TEMPORARY BLET PROTECTION GEOGRIO, TYPE IB, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTA-BUTED) COMPATED AGGREGATE ROL. 53 HAM PATCHING, TYPE B (UNDISTRIBUTED) PCOP, 7' BA, WITH MONOUTHIC CURB PCOP, 7' BA, WITH MONOUTHIC CURB	EACH SYS TON TON SYS	3270	\$102.00 \$8.36 \$35.66	\$612.00 \$27,337.20 \$75,306.00
	691 214-11796 LINE P OLD TRAIL 692 301-FWR03 LINE P OLD TRAIL 693 304-07490 LINE P OLD TRAIL 694 502-FWR01 LINE P OLD TRAIL 695 502-11594 LINE P OLD TRAIL 696 504-FWR01 LINE P OLD TRAIL	GEOGRID, TYPE 18, BX-1200 OR APPROVED EQUAL (INCLUDES EXCAVATION) (UNDISTABUTED) COMPATED AGGREGATE NO. 53 HMA PATCHING, TYPE B (UNDISTABUTED) PCCP, 7 IR LYTH MONOUTHIC CURB PCCP, 7 IR LYTH MONOUTHIC CURB	TON TON TON SYS		\$8.36 \$35.86	\$27,337.20 \$75,306.00
	692 301-FWR03 LINE P OLD TRAIL 693 304-07490 LINE P OLD TRAIL 694 502-FWR01 LINE P OLD TRAIL 695 502-11594 LINE P OLD TRAIL 696 504-FWR01 LINE P OLD TRAIL	COMPATED AGGREGATE NO. 53 HIMA PATCHING, TIPE B (UNDISTRIBUTED) PCCP, 7" RI, WITH MONOUTHIC CURB PCCP, 7" RI, WALEHEIT)	TON TON SYS		\$35.86	\$75,306.00
	693 304-07490 LINE P OLD TRAIL 694 502-FWR01 LINE P OLD TRAIL 695 502-11564 LINE P OLD TRAIL 696 504-FWR01 LINE P OLD TRAIL	HMA PATCHING, TYPE B (UNDISTRIBUTED) PCCP, 7' IN. WITH MONOUTHIC CURB PCCP, 7' IN. (PAVEMENT)	TON SYS	2		
	694 502-FWR01 LINE P OLD TRAU 695 502-11564 LINE P OLD TRAU 696 604-FWR01 LINE P OLD TRAU	PCCP, 7' BL (YATH MONOUTHIC CURB PCCP, 7' BL (PAVEMENT)	SYS	1		
	695 502-11564 LINE P OLD TRAIL 696 504-FWR01 LINE P OLD TRAIL	PCCP, 7 IN. (PAVEMENT)			\$50.00	\$0.00
	696 604-FWR01 LINE P OLD TRAIL			8175	\$48.00	\$392,400.00
		DETECTABLE WARNING SURFACES	EACH	6	\$250.00	\$1,500.00
	697 604-06070 LINE P OLD TRAIL	SIDEWALK, CONCRETE (4 IN.) (INCLUDE YARD WALKS) (UNDISTRIBUTED)	SYS	540	\$58.00	\$31,320.00
	698 504-03086 LINE P OLD TRA!L	CURB RAMP, CONCRETE	SYS	122	\$110.00	\$13,420.00
	699 605-06120 LINE POLD TRAIL	CUAB, CONCRETE (TYPE IIA, PIN CURB ON AFTER STREET POURED)	LFT	3723	\$12.50	\$46,537.50
	700 610-07713 UNE P OLD TRAIL	PCCP FPR APPROACHES, B IN. ICOMMERCIAL APPROACHES!	LFT	521	\$74.00	\$38,554.00
	701 610-08446 UNE P OLO TRAIL	PCCP FOR APPROACHES, 61N. (RESIDENTIAL DRIVES) (UNDISTRIBUTED)	SYS	268	\$68.00	\$18,224.00
	702 611-08233 LINE P OLD TRAIL	MAYLBOX ASSEMBLY, RESET SINGLE AND DOUBLE (INCLUDES ALL MAYLBOXES AND TYPES) (IF IN CONFLICT)	EACH	3	\$220.00	\$660.00
	703 621-FWR01 LINE PIOLD TRAIL	HYDROSEED, WITH HYDROSTICK TACKIFIER OR EQUIVALENT POLYMER FOR EROSION CONTROL AND STRAW MULCH	SYS	2934	\$2.53	\$7,423.02
	704 621-FWR19 LINE P OLO TRAIL	TOPSOIL	TON	160	\$51.00	\$8,160.00
	705 715-FWR27 LINE POLD TRAIL	PIPE - 12" CMP	LFT		\$80.00	\$0.00
	706 715-FWR39 LINE POLD TRAIL	PIPE, TYPE 4, CIRCULAR, 6 IN, WAGGREGATE FOR UNDERDRAIN	LFT	5318	\$8,97	\$47,702.46
	707 715-94530 LINE POLD TRAIL	ADJUST WATER VALVE TO GRADE (CURB BOX AND VALVE BOX)(UNDISTRIBUTED)	EACH	2	\$203.50	\$407,00
	708 720-PWR10 LEGEP OLD TRAIL	CASTING, ADJUST TO GRADE (UNDISTRIBUTED)	EACH	22	\$203.50	\$4,477.00
	709 720-FWR31 LINE PIOLD TRAIL	CASTING, 24° SOLID SANITARY MANHOLE, FURNISH AND ADJUST TO GRADE (UNDISTRIBUTED)	EACH	3	\$660.00	\$1,960.00
	710-720-FWR37 LINE POLOTRAIL	CASTING - 2' X 2' CURB & GUTTER CASTING & ADJUST TO GRADE	EACH	1	\$960.00	\$0.00
	711 801-FWR01 LINE P OLD TRAIL	MAINTENANCE OF TRAFFIC	ιs	1	\$21,000.00	\$21,000.00
	712 808-10033 LINE POLD TRAIL	LINE, MULTI-COMPONENT, SOLID, WHITE, 41N.	LFT	100	\$1.10	\$110.00
	713 808-10034 LINE P OLD TRAIL	LINE, MULTI-COMPONENT, SOUD, YELLOW, 4 IN.	UFT	570	\$1.10	\$627.00
	714 808-10036 LINEP OLD TRAIL	LINE, MULTI-COMPONENT, BROKEN, YELLOW, 4 IN.	LFT	240	\$1.10	\$264.00
	715 608-10037 LINEP OLD TRAIL	DRE, MULTI-COMPONENT, SOLED, WHITE, B.IN.	ĿFT	50	\$2.20	\$110.00
	716 608-10051 UNE P OLD TRAIL	TRANSVERSE MARKING, MULTI-COMPONENT, STOP BINE, WHITE, 24 IN .	LFT	27	\$22.00	\$594.00
	717 608-10052 LINE P OLD TRAIL	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, ONLY	EACH	1	\$275.00	\$275.00
	718 608-10053 LINE P OLD TRAIL	PAVEMENT MESSAGE MARKING, MULTI-COMPONENT, RIXIR	EACH		\$2,000.00	\$0.00
	719 808-10056 LINE P OLD TRAIL	TRANSVERSE MARKING, MULTI-COMPONENT, CROSSWALK LINE, WHITE, 61N.	LFT	120	\$6.60	\$792.00
	720 808-10077 LINE P OLD TRAIL	PAYEMENT MESSAGE MARKINGS MULTI-COMPONENT LANE INDICATION AR ROW	EACH	1	\$275.00	\$275.00
llowance						\$150,000.00
	721 10904299	V/ork Allowance	DOŁ.	150000	\$1.00	\$150,000.00
Base Bld Tota	otal;					\$6,680,662.37

Drug Policy Acknowledgement Form

Contractor acknowledges the City of Fort Wayne has in place a Drug and Alcohol Policy that applies to any Contractor doing business with the City. A copy of this policy is available for inspection on the City of Fort Wayne website at: http://www.cityoffortwayne.org/purchasing-home.html. As a condition of being awarded any contract, the successful bidder shall sign this Drug Policy Acknowledgement and agree to be bound by those provisions of the policy that may be applicable. A copy of this form will be retained by the City of Fort Wayne.

The undersigned, on behalf of the Contractor deposes a	nd states that the Contractor acknowledges the City	of Fort
Wayne's Alcohol and Drug Policy.		
	Name of Company	
Ву: _		

Name and Title

E-Verify Affidavit

Pursuant to Indiana Code 22-5-1.7, Contractor agrees and shall enroll in and verify the work eligibility status of all newly hired employees of the contractor through the E-Verify program. E-Verify means the electronic verification of work authorization program of the Illegal Immigration Reform and Immigration Responsibility Act of 1996 (P.L. 104-208). Division C, Title IV, s.403(a), as amended, operated by the United States Department of Homeland Security or a successor work authorization program designated by the United States Department of Homeland Security or other federal agency authorized to verify the work authorization status of newly hired employees under the Immigration Reform and Control Act of 1986 (P.L. 99-603). Contractor is not required to verify the work eligibility status of all newly hired employees of Contractor through the E-verify program if the E-Verify program no longer exists.

The undersigned, on behalf of the Contractor, being first duly sworn, deposes and states that the Contractor does not knowingly employ an unauthorized alien. The undersigned further affirms that, prior to entering into its contract with the City, the undersigned Contractor will enroll in and agrees to verify the work eligibility status of all its newly hired employees through the E-Verify program.

	Name of Company
	Ву:
	Title
	ACKNOWLEDGEMENT
STATE OF INDIANA)	
COUNTY OF ALLEN) SS	
Name, Title, who being first duly sworn up	State and County, personally appeared the within named Company by on his/her oath states that he/she is a duly authorized agent of the execute the foregoing Declaration, and acknowledged the same as
WITNESS my hand and seal this	day of
My Commission Expires:	
	Signature of Notary Public
Resident ofCount	
	Printed Name

COUNCIL DIGEST SHEET

Enclosed with this introduction form is a tab sheet and related material from the vendor(s) who submitted bid(s). Public Works is providing this information to Council as an overview of this award.

Community Crossings Grant 2025

RFPs & BIDS

Bid/RFP#	0721C
Awarded To	
Amount	
Conflict of interest on file?	
Number of Registrants	
Number of Bidders	3
Required Attachments	Council Digest Supplemental, Bid Tabulation, Award, Contract

EXTENSIONS

Date Last Bid Out	N/A
# Extensions Granted	N/A
To Date	

SPECIAL PROCUREMENT

Contract #/ID	0721C
(State, Federal,	
PiggybackAuthority)	
Sole Source/	N/A
Compatibility Justification	

BID CRITERIA (Take Buy Indiana requirements into consideration.)

Most Responsible, Responsive Lowest	X Yes	□No	If no, explain below	
If not lowest, explain				

COUNCIL DIGEST SHEET

COST COMPARISON			
Increase/decrease amount from prior years For annual purchase (if available).	N/A		
DESCRIPTION OF PR	OJECT / NEED		
Identify need for project &			
describe project; attach	Please see attached Council Digest Supplemental		
supporting documents as			
necessary.			
REQUEST FOR SUSPI			
Provide justification if			
prior approval is being requested.	IVA		
equesiea.			
FUNDING SOURCE			
Account Information.			
	Community Crossings Grant & LIT-ED		



COMMON COUNCIL DIGEST SHEET – SUPPLEMENTAL

Community Crossings Grant 2025

Action Requested:

Requesting an Ordinance approving the **Community Crossings Grant 2025** project pursuant to the Board of Public Works Resolution #0721C and an award to **Malott Contracting, Inc** in the amount of \$6,680,662.37.

Note: Malott Contracting was the lowest, most responsive bidder among 3 bidders. Malott Contracting's bid was just below the Engineer's Estimate for this project. \$1.5 million of this project will be paid for with the Community Crossings Grant.

Description and Scope of the Work:

Improve the Westchester Neighborhood and S.W. Waynedale Neighborhood, by the removal of the existing concrete streets and replacing with new concrete streets. The removal and replacement of select existing sidewalk and drive approaches. Removing existing curb ramps and replacing with new ADA compliant curb ramps. There will be subsurface drainage installed and the replacement and adjustment of existing castings with the restoration of disturbed areas.